
555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

SE-2092 45406-29015

45406-29016

ES-479R

CET-4

MARK II

CORONA

68-71

70-73 IN R/L

SE-2101R 45046-39055

45046-39056

TE-451L

HILUX 68-72
OUT R 

SE-2101L 45047-39035

45047-39036

TE-451L

HILUX 68-72
OUT L

SE-2102 45406-39035

45406-39036

45407-39015

45407-39016

TE-453R

TE-454R

HILUX 68-72

IN R/L

SE-2111R 45044-29108

45044-29017

TE-450R

HIACE 67-71
R

DISCO

NTINUED

SE-2111L 45045-29018

45045-29017

TE-450L

HIACE 67-71
L

DISCO

NTINUED

SE-2113R 45044-29035

TE-484R

CET-13R

TOYOACE

STOUT

HIACE

71-73

71-72

71-72

OUTER R

MALE RHT
M17×1.5

SE-2113L 45045-29035

45046-29105

ES-2565L

TE-484L

CET-13L

TOYOACE

STOUT

HIACE

HIACE  TRUCK

71-73

72-73

72-82

77-85

OUTER R/L

MALE LHT
M17×1.5

SE-2121 45047-19016 COROLLA,SPRINTER 69-70 OUR R/L

SE-2131 45046-20010

45046-20011

45046-21010

45046-29025

45046-29035

45046-29045

45047-20010

45047-20011

45047-29015

ES-481L

TE-185L

CET-5

CORONA 64-73

OUT R/L

SE-2141 45046-29095

45047-19035

ES-2385

TE-428L

TE-557L

CET-64

COROLLA,SPRINTER

STARLET

LITEACE

70-74

73-74

79-82 OUT R/L

SE-2142 45046-19055

TE-427

CET-6

COROLLA,SPRINTER

STARLET

70-74

73-74 IN R/L

SE-2151R 45046-39036

CET-7R

COASTER

DYNA

69-72

69-72
R

SE-2151L 45047-39026

CET-7L

COASTER

DYNA

69-72

69-72
L

SE-2158R 45044-39015

45044-39025

DYNA /DYNA200

TOYOACE

89-92

95-99
RH

SE-2158L 45045-39015

45045-39025

DYNA /DYNA200

TOYOACE

89-92

95-99
LH

TOYOTA
TIE ROD END



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

SE-2161 45046-19015

45046-19065

45046-19075

45046-19085

45046-19095

45046-19135

45046-29075

45046-29145

45046-29155

ES-476L

TE-489L

CET-23

 

 

 

MARK II(CRESSIDA)

CRESTA

CHASAR

CAMRY

CORONA

CARINA, CELICA

COROLLA, SPRINTER

SATRLET

KIJANG,TAMARAW

   (BUV)

TOWNACE, MASTERACE

   VAN, WAGON

TOWNACE TRUCK

TOWNACE, LITEACE

TRUCK

76-84

80-84

77-84

80-82

73-82

70-81

81-

74-79

79-81

82-83

79-87

81-83

74-78

  -80

81-86

OUTER R/L

MALE LHT
M14×1.5

SE-2162 45406-19015

45406-19016

45406-19025

45406-19045

45046-19048

45406-19055

45406-19065

45406-19075

ES-2046R

TE-490R

SE-2164

CET-24

TE-564R

CARINA, CELICA

COROLLA, SPRINTER

70-75

74-79

80-82

78-82

82-

82-87

75-81

81-

70-81

82-83

79-87

INNER R/L

MALE RHT
M14×1.5

SE-2172 45406-39055

45406-39056

CET-20

CROWN 71-74
IN R/L

SE-2182 45406-29095

45406-29085

45406-29035

ES-2519R

CET-14

HIACE

HIACE TRUCK

72-82

77-85
INNER R/L

MALE RHT
M17×1.5

SE-2191 45046-29055

45046-29056

CET-18

MARK II 72-76
OUT R/L

SE-2192 45406-29045

45406-29046

ES-482R

TE-653R

CET-5

MARK II 72-76

IN R/L

SE-2201R 45046-39085

ES-2309

TE-486L

CET-15R

HILUX 72-78
OUTER R

MALE LHT
M17×1.5

SE-2201L 45047-39055

ES-2092R

TE-487L

CET-15L

HILUX 72-78
OUTER L

MALE LHT
M17×1.5

SE-2202 45406-39065

ES-2093R

TE-488R

CET-16

HILUX 72-78
INNER R/L

MALE RHT
M17×1.5

SE-2205R 45046-39815

45046-37133

45046-39645

45046-39745

45046-39795

45420-2700-JN

DYNA (BU410)

DYNA (XZU 732)

HINO WU-720

HINO RANGER

04-

17-

12-

03-
OUTER R M18×1.5



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

SE-2205L 45047-39515

45047-37103

45047-39395

45047-39475

45047-39535

45430-2700-JN

DYNA (BU410)

DYNA (XZU 732)

HINO WU-720

HINO RANGER

04-

17-

12-

03-
OUTER L M18×1.5

SE-2212R 45406-29055

45406-29056

45406-29065

TE-4493R

CET-19R

CORONA

KIJANG,TAMARAW

   (BUV)

73-78

  -80

81-86
INNER R

MALE RHT
M14×1.5

SE-2212L 45407-29015

45407-29016

ES-2009R

TE-494R

CET-19L

CORONA 73-78

INNER L

MALE LHT
M14×1.5

SE-2232 45406-39075

TE-542R

CET-20

CROWN 74-83
IN R/L

SE-2241R 45044-29025 LITEACE 70-79 R

SE-2241L 45045-29025 LITEACE 70-79 L

SE-2251R 45046-29065

TE-627R

CET-52R

TOYOACE

STOUT

73-79

73-
R

MALE RHT
M20×1.5

SE-2251L 45047-29025

TE-627L

CET-52L

TOYOACE

STOUT

73-79

73-
L

MALE LHT
M20×1.5

SE-2292 45406-29075

ES-2370

TE-650R

MARK II(CRESSIDA)

CHASER

76-80

77-80
INNER R/L

MALE RHT
M14×1.5

SE-2361R 45046-29085

45046-36010

45046-39035

45046-39037

45046-39095

45046-29086

CET-3R

COASTER

DYNA

TOYOACE

72-82

69

72-77

77-84

84-

85-

OUTER R

MALE RHT
M21×1.5

SE-2361L 45047-29035

45047-39025

45047-39027

45047-39065

45047-29036

TE-598L

CET-3L

COASTER

DYNA

TOYOACE

72-82

69

72-77

77-84

84-

85-

OUTER L

MALE LHT
M21×1.5

SE-2371 45046-39115

45046-39075

TE-541L

TE-569R

CET-12

CROWN 71-83

OUT R/L

SE-2392 45406-29105

ES-2371

TE-651R

CET-33

MARK II(CRESSIDA)

CRESTA

CHASER

80-84

80-84

80-84

INNER R/L

MALE RHT
M14×1.5

SE-2402 45047-39075

45047-39076

ES-2180R

CET-28

HILUX 4WD 79-81

L

SE-2404 45047-39085

ES-2366

ES-2515R

TE-3672R

CET-29

HILUX 4WD 81-83

L



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

SE-2471 45046-29115

45046-29125

45046-39105

45046-39106

45046-39125

45046-39165

45046-39175

45046-39215

45046-39235

45046-39375

ES-2376

ES-2508L

TE-12471

HILUX  SURF

HILUX 4WD

HIACE VAN,WAGON

& COMMUTER

HIACE VAN 4WD

HIACE TRUCK

KIJANG,TAMARAW(BUV)

78-

79-83

85-

82-

86-

85-

81-86
OUTER R/L

MALE LHT
M17×1.5

SE-2472 45406-29115

45406-39085

45406-39086

45406-39095

45406-39115

45406-39125

45406-39155

ES-2374

ES-2375

ES-2509R

HILUX

KIJANG,TAMARAW(BUV)

78-

81-86

INNER R/L

MALE RHT
M17×1.5

SE-2475 45046-T2475 TOYOTA TRUCK 77-

SE-2482 45406-29145

45406-29175

45047-35050

SE-2572

CET-32

ES-2524R

TE-643R

TE-800

HIACE VAN.WAGON

& COMMUTER

HIACE TRUCK

82-

85

95-
INNER R/L

MALE RHT
M17×1.5

SE-2492 45047-39095

45047-39165

SE-3552

CET-42

COASTER 82-

IN R/L M21×1.5

SE-2502 45406-29135

ES-2271R

CET-60

TOWNACE,MASTERACE

  VAN,WAGON

82-85
IN R/L M14×1.5

SE-2511R 45046-57010

45046-59015

TRUCK,BUS 69-83 R

SE-2511L 45047-57010

45047-59015

TRUCK,BUS 69-83 L

SE-2541 45046-29135

ES-2270R

TE-649R

CET-25

CORONA

CARINA,CELICA

MR2

COROLLA,SPRINTER

83-84

84

84-

83-84

OUTER R/L

FEMALE RHT
M12×1.25

SE-2561R 45046-39185

CET-63R

DYNA,TOYOACE 84- R

MALE RHT
M21×1.5

SE-2561L 45046-39135

45047-39115

SE-2491

CET-41

CET-63L

DYNA,TOYOACE 84-

OUTER R/L

MALE LHT
M21×1.5

SE-2571 45046-35080

45046-35H01

ES-2718

TE-669R

CET-57

HILUX 4WD 83-

OUTER R

MALE LHT
M21×1.5



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

SE-2581 45046-29056

45046-29055

45046-39155

TE-642L

CET-39

CET-18

MARK Ⅱ

CROWN

72-76

83-87

87-91 OUTER R/L

MALE LHT
M17×1.5

SE-2582 45406-39105

45406-39145

TE-711R

SE-2812

CET-40

CET-69

CROWN 83-87

INNER R/L

MALE RHT
M17×1.5

SE-2610RX 45040-69040X

CEFJ-69NR

LAND CRUISER

45046-69035

45045-69015

45046-69025

45047-69025

45046-69045

64-75
R

L

R

L

5PCS/SET

SE-2610LX 45040-69045X

CEFJ-69NL

LAND CRUISER

45046-69035

45045-69015

45046-69055

45047-6905

45046-69055

64-75
L

R

L

R

5PCS/SET

SE-2611 45045-60010

45045-60011

45045-60012

45045-60013

45045-69015

ES-2582L

LAND CRUISER 64-75

69-80

74-84 MALE LHT M17×1.5

SE-2612 45046-60030

45046-60031

45046-60032

45046-60033

45046-69025

ES-2588R

TE-471R

LAND CRUISER

               NO.2

64-75

69-80

74-84
MALE RHT M17×1.5

SE-2613 45047-60010

45047-60011

45047-60012

45047-60013

45047-69025

TE-472L

LAND CRUISER

               NO.3

64-75

74-84

MALE LHT M17×1.5

SE-2614 45046-60040

45046-60042

45046-60H00

45046-69035

ES-2589

TE-469R

LAND CRUISER

               NO.4

64-75

69-80

74-84 MALE RHT M21×1.5

SE-2617 45045-60071

45046-60010

45046-60011

45046-60012

45046-60013

45046-60050

45046-60051

LAND CRUISER

               NO.7

64-75

69-80

74-84
MALE LHT M21×1.5

SE-2618 45046-60020

45046-60021

45046-60022

45046-60023

45046-60060

45046-60061

LAND CRUISER

               NO.8

64-75

69-80

74-84 MALE LHT M21×1.5



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

SE-2620RX 45040-69050X

CEFJ-69R

LAND CRUISER

45046-69035

45045-69015

45046-69025

45046-69045

64-75

69-80

74-84

R

L

R

L

4PCS/SET

SE-2620LX 45040-69055X

CEFJ-69L

LAND CRUISER

45046-69035

45045-69015

45046-69025

45046-69055

69-80

L

R

L

R

4PCS/SET

SE-2630RX 45040-69060X

CEFJ-80R

LAND CRUISER

45044-69045

45045-69035

45046-69105

45047-69065

80-
R

R

L

R

4PCS/SET

SE-2630LX 45040-69065X

CEFJ-80L

LAND CRUISER

45044-69035

45045-69035

45046-69115

45047-69065

80-
L

R

R

L

4PCS/SET

SE-2631 45047-69065

45047-69035

45046-69155

ES-2594R

TE-631R

CET-48

LAND CRUISER 80-

84-

84- RHD/LHD

MALE RHT
M23×1.5

SE-2632 45046-69105

TE-631L

CET-50

LAND CRUISER 80-

84-
L

MALE LHT
M23×1.5

SE-2633 45046-69115

45046-69116

45046-69075

45046-69155

CET-47

LAND CRUISER 80-

84- R

MALE LHT
M23×1.5

SE-2634 45045-69025

45045-69035

45045-69045

45045-69046

45045-69075

TE-630R

CET-46

LAND CRUISER 80-

84-

90-

99-

RHD/LHD

MALE RHT
M23×1.5

SE-2635 45044-69045

45044-69065

TE-269R

CET-49

LAND CRUISER 80-
R

MALE LHT
M21×1.5

SE-2636 45044-69055

45044-69035

CET-45

LAND CRUISER 80- L

MALE LHT
M21×1.5



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

SE-2651 45046-09090

45046-19175

45046-29265

45046-29305

45046-8Y001

ES-2382

TE-648R

CET-59

CET-80

CAMRY,VISTA

CORONA

CARINA,CELICA

CSRINA 4WD

COROLLA,SPRINTER

COROLLA HB/LB

VITZ

TERCEL,CORSA

& COROLLA II

RA-4

ECHO

WISH

KIJANG

86-

84-87

85-

84-

96-

84-87

87-

95-00

98-01

00-

86-

94-

03

03-

OUTER R/L

FEMALE RHT
M14×1.5

SE-2671 45046-29145

45046-29205

45046-29555

ES-2268R

ES-2988

TE-647

CET-65

MARK II(CRESSIDA)

& CRESTA,CHASER

CROMN CCMFORT

84-

88-

93-

95-
OUTER R/L

FEMALE RHT
M14×1.5

SE-2692 45406-29155

CET-8

KIJANG(BUV) 86-
IN R/L

SE-2701 45046-19165

CET-66

STARLET 84- OUTER R/L

FEMALE RHT
M12×1.25

SE-2730RX 45040-69070X

CEFJ-84R

LAND CRUISER

45044-69075

45045-69045

45046-69105

45047-69065

84-
R

R

L

L

4PCS/SET

SE-2730LX 45040-69075X

CEFJ-84L

LAND CRUISER

45044-69085

45045-69045

45047-69065

45046-69115

84-
L

R

L

R

4PCS/SET

SE-2735 45044-69075

45044-69076

45044-691035

CET-53

LAND CRUISER 84-

90-

99-

R

MALE LHT
M21×1.5

SE-2736 45044-69085

45044-69086

45044-69145

CET-54

LAND CRUISER 84-

90-

99-

LHD

MALE LHT
M21×1.5

SE-2740RX 45040-69080X

CEFJ-84NR

LAND CRUISER

45044-69095

45045-69055

45047-69065

45046-69125

84-
R

L

R

L

4PCS/SET

SE-2740LX 45040-69085X

CEFJ-84NL

LAND CRUISER

45044-69105

45045-69055

45047-69065

45046-69125

84-
L

R

R

L

4PCS/SET

SE-2741 45046-69125

45046-69H06

CET-56

LAND CRUISER 84- RHD/LHD

MALE LHT
M23×1.5

SE-2742 45045-69055

CET-51

LAND CRUISER 84- RHD/LHD

MALE RHT
M21×1.5

SE-2743 45044-69095

CET-36

LAND CRUISER 84-
R

SE-2744 45044-69105

CET-55

LAND CRUISER 84-
L



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

SE-2750RX 45040-69100X

CEFJ-90NR

LAND CRUISER

45047-69085

45046-69145

45044-69076

45045-69046

90-
L

L

R

L

4PCS/SET

SE-2750LX 45040-69105X

CEFJ-90NL

LAND CRUISER

45046-69155

45047-69085

45045-69046

45044-69086

90-
R

L

L

R

4PCS/SET

SE-2751 45046-69127

CET-138

LAND CRUISER 90- L

MALE LHT
M23×1.5

SE-2751RX 45040-69101X

45040-69110X

LAND CRUISER 90-

SE-2752 45046-69065

45046-69145

LAND CRUISER 90- L

MALE LHT
M23×1.5

SE-2752RX 45040-69102X

CEFJ-99R

LAND CRUISER

45046-69135

45047-69085

45044-69135

45045-69075

99-
R

L

R

R

4PCS/SET

SE-2752LX 45040-69107X

(4PCS/SET)

LAND CRUISER

SE-2951R

SE-2951L

SE-2754

SE-2756

4PCS/SET

SE-2753 45046-69116

45046-69155

LAND CRUISER 90- R

SE-2754 45045-69046

45045-69075

LAND CRUISER 90-

99-
L

SE-2755 45044-69046

45044-69076

45044-69135

LAND CRUISER 90-

99- R

SE-2756 45044-69086

45044-69145

LAND CRUISER 90-

99-
R

SE-2811 45046-39195

CET-68

CROWN 87- OUTER R/L

MALE LHT
M17×1.5

SE-2821R 45046-29165

ES-3396

CORONA 87- OUTER R

FEMALE RHT
M15×1.5

SE-2821L 45047-29045

ES-3395

CORONA 87- OUTER L

FEMALE RHT
M15×1.5

SE-2841 45046-39255

45046-39256

TE-3720

CET-72

HILUX 4WD 90-

R

MALE LHT
M21×1.5

SE-2842 45047-35050

45047-35H01

45047-39155

45047-39156

TE-3721

TE-655L

SE-2722

CET-58

CET-73

HILUX 4WD 90-

OUTER L

MALE RHT
M21×1.5

SE-2852

(SE-2722)

45406-39135

45406-39165

45406-39175

45406-39185

ES-3003RL

ES-3192

SE-2722

CET-67

CET-75

HILUX 4WD

HILUX SURF

HILUX PICK UP

85-

91-95

89-

INNER R/L

MALE RHT
M17×1.5



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

SE-2871 45046-29215

TE-994

CET-70

HIACE VAN,WAGON

& COMMUTER

89-
OUTER R/L

FEMALE RHT
M17×1.5

SE-2921 45046-29185

45046-29186

ES-2986

CET-93

LITEACE

LITEACE TRUCK

KIJANG

88-

88-

91-

OUTER R/L

FEMALE RHT
M14×1.5

SE-2931 45046-09190

45046-09230

45046-09540

45046-29255

45046-59115

45046-09700

ES-3306

CAMRY

WINDOM

SIENNA

HARRIER

LEXUS RX300

MATRIX

VOLZ

VITZ

AVENSIS

YARIS

YARIS(NHP130)

91-

91-

98-03

97-

99-03

03-05

02-04

05-

03-

06-

11-

OUTER R/L

FEMALE RHT
M15×1.5

SE-2941 45046-19205

45046-19206

45046-19216

ES-3353

WA3353

CET-84

STARLET

SOLUNA

89-

96-
OUTER R/L

FEMALE RHT
M12×1.25

SE-2950RX 45040-69090X

CEFJ-90R

LAND CRUISER

45046-69135

45047-69085

45045-69065

45044-69115

90-
R

L

R

4PCS/SET

SE-2950LX 45040-69095X

CEFJ-90L

LAND CRUISER

45046-69135

45047-69085

45045-69065

45044-69125

90-
R

L

L

4PCS/SET

SE-2951R 45046-69126

45046-69135

CET-87

LAND CRUISER 90- OUTER R

MALE LHT
M23×1.5

SE-2951L 45047-69066

45047-69067

45047-69085

CET-86

LAND CRUISER 90-
OUTER L

MALE RHT
M23×1.5

SE-2953R 45045-69065

CET-77

LAND CRUISER 90- R/L

MALE RHT
M21×1.5

SE-2953L 45044-69097

CET-139

LAND CRUISER 90- L

MALE LHT
M21×1.5

SE-2954 45044-60H04

45044-69095

45044-69115

CET-78

LAND CRUISER 90-

84- OUTER R

MALE LHT
M21×1.5

SE-2955 45044-60H05

45044-69105

45044-69125

SE-2744

CET-79

CET-55

LAND CRUISER 90-

OUTER L

MALE LHT
M21×1.5

SE-2991R 45046-29275

45046-29335

TE-2991R

CORONA,CELICA

CARINA

92-

96-
OUTER R

FEMALE RHT
M15×1.5

SE-2991L 45047-29075

45047-29105

TE-2991L

CORONA,CELICA

CARINA

92-

96-
OUTER L

FEMALE RHT
M15×1.5



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

SE-3111R 45046-87303

45046-87601

45046-87680

TE-600R

BLIZZARD 80-84

84-

SE-3111L 45047-87303

45047-87380

TE-600L

BLIZZARD 80-84

84-

SE-3142 45047-87680 BLIZZARD 80-84

84-
L

SE-3146 45047-87681

45047-87606

BLIZZARD 80-84
R

SE-3233R 45046-87705 DAIHATSU CHARADE 93-
SE-3233L 45047-87705 DAIHATSU CHARADE 93-
SE-3292R 45406-87681 ROCKY

FEROZA

89-99

89-
IN R

SE-3292L 45407-87681 ROCKY

FEROZA

89-99

89-
IN L

SE-3361R 45046-BZ100

(SE-3277R)

ALZA 09-
OUT R

SE-3361L 45047-BZ100

(SE-3277L)

ALZA 09-
OUT L

SE-3371R 45046-BZ110 MYVI 11- OUT R

SE-3371L 45047-BZ110 MYVI 11- OUT L

SE-3511 45046-29285 MARK Ⅱ(CRESSIDA),

CRESTA,CHASER

92- OUTER R/L

FEMALE RHT
M14×1.5

SE-3521R 45046-29235

CET-94

ESTIMA 90- OUTER R

FEMALE RHT
M14×1.5

SE-3521L 45047-29065

CET-95

ESTIMA 90- OUTER L

FEMALE RHT
M14×1.5

SE-3551 45046-39275

CET-96

COASTER 93- OUTER R/L

MALE LHT
M21×1.5

SE-3552

(SE-2492)

45047-39095

45047-39165

SE-2492

CET-42

COASTER 93-

82- INNER R/L

MALE RHT
M21×1.5

SE-3561R 45046-39335

45046-39355

CET-103

LAND CRUISER PRADO

HILUX

4RUNNER

96-

95-

96-02

OUTER R

MSLE RHT
M20×1.5

SE-3561L 45047-39215

CET-104

LAND CRUISER PRADO

HILUX

4RUNNER

96-

95-

96-02

OUTER L

MALE RHT
M20×1.5

SE-3581R 45046-29365

CET-100

AVENSIS 98- OUTER R

FEMALE RHT
M14×1.5

SE-3581L 45047-29125

CET-101

AVENSIS 98- OUTER L

FEMALE RHT
M14×1.5

SE-3591 45046-06080

CET-74

CAMRY

CAMRY USA

94-97

97-

OUTER R/L

FEMALE RHT
M16×1.5

SE-3601R 45046-09120

45046-59025

45046-59026

45046-59045

45046-B0010

CET-99

YARIS(VITZ)ECHO

FUN CARGO,PLATZ

PLATZ

ECHO

VIOS

99-

02-

99-05

99-05

00-02

02-

OUTER R

FEMALE RHT
M12×1.25

SE-3601L 45047-09040

45047-59025

45047-59026

45047-59035

45047-B0010

CET-98

YARIS(VITZ)ECHO

FUN CARGO,PLATZ

PLATZ

ECHO

VIOS

99-

02-

99-05

99-05

00-02

02-

OUTER L

FEMALE RHT
M12×1.25

SE-3611 45046-39285

CET-109

TACOMA 2WD 95- OUTER L

FEMALE RHT
M15×1.5

SE-3631 45046-39385

ES-2987

HILUX 4WD 97-99

97-03

97-04

97-01

OUTER



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

SE-3632 45406-39185 HILUX 4WD 97-99

97-03

97-04

97-01

IN

SE-3641R 45046-02010

45046-02040

45046-02050

45046-09160

45046-09360

45046-09490

45046-19265

45046-49025

45046-49115

COROLLA

COROLLA HB(UKP)

COROLLA SED/EG(UKP)

COROLLA HB

ALTIS

WISH

BELTA

YARIS

00-

01-02

02-

03-

03-

03-

05-

OUTER R

FEMALE RHT
M14×1.5

SE-3641L 45047-02010

45047-02040

45047-09230

45047-09050

45047-09150

45047-19115

45047-49045

CET-115L

COROLLA

COROLLA HB(UKP)

COROLLA SED/EG(UKP)

COROLLA HB

ALTIS

WISH

BELTA

YARIS

00-

01-02

02-

03-

03-

03-

05-

OUTER L

FEMALE RHT
M14×1.5

SE-3661R 45046-39295

CET-113R

TACOMA 4WD 95-00 OUTER R

MALE RHT
M20×1.5

SE-3661L 45047-39175

CET-113L

TACOMA 4WD 95-00 OUTER L

MALE RHT
M20×1.5

SE-3681 45046-29325

45046-29375

45046-29385

CET-114

HIACE

HIACE REGIUS

95-

97-99 OUTER R/L

FEMALE RHT
M15×1.5

SE-3701 45046-29195

45046-39265

CET-125

TOWNACE 4WD

TOWNACE

LITEACE

88-96

88-96

93-98

OUTER R/L M14×1.5

SE-3741R 45460-39365

45460-39395

45460-39455

CET-133R

MARK Ⅱ4WD

CRESTA 4WD

CHASER 4WD

ARISTO

93-96

92-96

92-96

91-

OUTER R M14×1.5

SE-3741L 45470-39125

45470-39145

45470-39165

CET-133L

MARK Ⅱ4WD

CRESTA 4WD

CHASER 4WD

ARISTO

93-96

92-96

92-96

91-

OUTER L M14×1.5

SE-3751R 45460-09010

45460-29425

45460-39615

CET-117R

CAMRY

CAMRY USA

HIGHLANDER

ESTIMA

PREVIA

01-03

02-

01-03

00-03

00-03

00-03

OUTER R

FEMALE RHT
M15×1.5

SE-3751L 45470-09010

45470-29185

45470-39215

CET-117L

CAMRY

CAMRY USA

HIGHLANDER

ESTIMA

PREVIA

01-03

02-

01-03

00-03

00-03

00-03

OUTER L

FEMALE RHT
M15×1.5

SE-3753R 45460-09050

45460-09110

45460-09140

45460-39635

CET-121

CET-153

CAMRY

CAMRY USA

WIMDOM

GZ CAMRY

03-04

06-

04-

07-

03-

07-

OUTER R M15×1.5



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

SE-3753L 45470-09040

45470-09080

45470-09090

45470-39225

CET-122

CET-154

CAMRY

CAMRY USA

WIMDOM

GZ CAMRY

03-04

06-

04-

07-

03-

07-

OUTER L M15×1.5

SE-3761R 45460-59015

CET-127R

CELSIOR

LEXUS GS350

LEXUS GS400

LEXUS GS430

89-94

98-03

98-00

01-02

OUTER R M14×1.5

SE-3761L 45470-59015

CET-127L

CELSIOR

LEXUS GS350

LEXUS GS400

LEXUS GS430

89-94

98-03

98-00

01-02

OUTER L M14×1.5

SE-3811R 45046-69195

CET-119

LAND CRUISER 98-02

99-02

98

OUTER R M20×1.5

SE-3811L 45047-69100

CET-120

LAND CRUISER 98-02

99-02

98

OUTER L M20×1.5

SE-3813L 45047-69115

CET-141

LAND CRUISER 03-

05-

98-

OUTER L M20×1.5

SE-3813R 45046-69205

CET-140

LAND CRUISER 03-

05-

98-

OUTER R M20×1.5

SE-3841 45046-39505

CET-118

LAND CRUISER PRADO

HILUX SURF

4RUNNER

LEXUS GX470

02-

03-05

03-

OUTER R/L
M15×1.5

SE-3851R 45046-39465

CET-129

TUNDRA

SEQUOIA

00-03

01-02
OUTER R M18×1.5

SE-3851L 45047-39295

CET-130

TUNDRA

SEQUOIA

00-03

01-02
OUTER L M18×1.5

SE-3861R 45046-09210

CET-144

TUNDRA 03-04 OUTER R M18×1.5

SE-3861L 45047-09090

CET-145

TUNDRA 03-04
OUTER L M18×1.5

SE-3871R 45046-BZ010

45046-BZ050

45046-BZ120

SE-T551R

CET-184

AVANZA

AVANZA

X-ENIA

X-ENIA

03-

12-

03-

12-

RH

SE-3871L 45047-BZ010

45046-BZ050

45047-BZ120

SE-T551L

CET-185

AVANZA

AVANZA

X-ENIA

X-ENIA

03-

12-

03-

12-

LH  

SE-D011
45046-BZ180

SE-3874

TOYOTA CALYA

DAIHATSU SIGRA

PERODUA AXIA

16-

17-

15-

R/L

MALE RHT
M14×1.5

SE-D041
45046-B9430 ROCKY

FERIZA

19-

19-
R/L

MALE RHT
M14×1.5

SE-T923
45046-BZ250

45046-BZ280

(SE-D041)

TOYOTA RAIZE

DAIHATSU ROCKY

PERODUA ATIVA

19-

19-
R/L

MALE RHT
M14×1.5



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

SE-3881 45046-09250

45046-09251

45046-09261

45046-09260

45046-09320

45046-09330

45046-09780

45047-09840

CET-146

HILUX VIGO

KIJANG INNOVA

TACOMA

04-

04-

05-08

OUTER R/L M15×1.5

SE-3891 45046-09280

45046-09281

45046-09310

CET-147

HILUX VIGO 4WD

FORTUNER

HILUX VIGO

04-

05-

05-
OUTER R/L M14×1.5

SE-3903 45460-09060

45460-29435

45460-49035

45460-49075

CET-123

HIGHLANDER

KLUGER

HARRIER

LEXUS RX330

LEXUS RX350

LEXUS RX400H

HARRIER

04-

03-

03-06

06-

04-

08-

08-

07-

OUTER R/L M15×1.5

RAV 4

ISIS

NOAH

VOXI 4WD

NOAH 4WD

00-

04-

01-

01-

01-

OUTER R

FEMALE RHT

WISH

CALDINA

VOXY

NOAH

03-05

02-05

01-

01-

OUTER L

RAV 4

ISIS

NOAH

VOXI 4WD

NOAH 4WD

00-

04-

01-

01-

01-

OUTER L

FEMALE RHT

WISH

CALDINA

VOXY

NOAH

03-05

02-05

01-

01-

OUTER R

SE-3931R 45046-09070

45046-09200

45046-59205

CET-112R

COROLLA USA

S.  US COROLLA

AQUA(14-15inch)※

SIENTA

PREMIO

03-

02-

13-※

15-

07-

OUTER R

FEMALE RHT
M15×1.5

SE-3931L 45047-02030

45047-09080

45047-59145

CET-112L

COROLLA USA

S.  US COROLLA

AQUA(14-15inch)※

SIENTA

PREMIO

03-

02-

13-※

15-

07-

OUTER L

FEMALE RHT
M15×1.5

SE-3971 45046-29456

CET-150

HIACE 04-

13-
OUTER R/L M15×1.5

SE-3981R 45460-39575

45460-59035

CET-151

MARK Ⅱ

MARK Ⅱ BLIT

CROWN

CROWN MAJESTA

VEROSSA

BREVIS

ALTEZZA

00-02

00-02

99-03

99-03

01-04

01-

98-05

OUTER R M14×1.5

SE-3921R 45046-49095

CET-116R

M15×1.5

SE-3921L 45047-49025

CET-116L

M15×1.5



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

SE-3981L 45470-39205

45470-59035

CET-152

MARK Ⅱ

MARK Ⅱ BLIT

CROWN

CROWN MAJESTA

VEROSSA

BREVIS

ALTEZZA

00-02

00-02

99-03

99-03

01-04

01-

98-05

OUTER L M14×1.5

SE-T021R 45046-59195

45046-59225

45046-59255

45046-09530

45046-0D040

CET-166

VITZ

AQUA(14-15inch)※

BELTA

BELTA(185/60R15 5.5J)

BELTA(175/65R14 5.5J)

YARIS

VIOS

COROLLA/AXIO

05-

11-13※

11-

06-

05-08

07-

08-

12-

OUTER R M12×1.25

SE-T021L 45047-59135

45047-59155

45047-59165

45047-09250

45047-0D040

CET-167

VITZ

AQUA(14-15inch)※

BELTA

BELTA(185/60R15 5.5J)

BELTA(175/65R14 5.5J)

YARIS

VIOS

COROLLA/AXIO

05-

11-13※

11-

06-

05-08

07-

08-

12-

OUTER L M12×1.25

SE-T042R

45046-29295 CARINA

CELICA

CORONA

CURREN

93-

93-

93-

94-

R

SE-T042L

45047-29085 CARINA

CELICA

CORONA

CURREN

93-

93-

93-

94-

L

SE-T051 45046-29425

45046-0F010

45046-09430

AVENSIS

COROLIA VERSO

03-05

04- OUTER R/L M16×1.5

SE-T061R 45046-09295

381764

CET-164

AYGO

PEUGEOY 107

CITROEN C1

05-

05-

05-
OUTER R M12×1.25

SE-T061L 45047-09125

381763

CET-165

AYGO

PEUGEOY 107

CITROEN C1

05-

05-

05-

OUTER L M12×1.25

SE-T081 45046-BZ060

45046-BZ130

TERIOS(F700) 07-
OUT R/L

SE-T121R 45046-69235

CET-168

LAND CRUISER

LEXUS LX450D/570

LEXUS LX450D/570

07-

05-

17-

OUTER R M16×1.5

SE-T121L 45047-69145

CET-169

LAND CRUISER

LEXUS LX450D/570

LEXUS LX450D/570

07-

05-

17-

OUTER L M16×1.5

SE-T131R 45460-59085

CET-170

LEXUS LS460 06-
OUTER R M15×1.5

SE-T131L 45470-59095

CET-171

LEXUS LS460 06-
OUTER L M15×1.5

SE-T141R 45460-59095 LEXUS LS600H

      LS600HL

07-

07-
OUTER R

SE-T141L 45470-59105 LEXUS LS600H

      LS600HL

07-

07-
OUTER L

SE-T173R 45460-80005

CET-200R

CAMRY HYBIRD 12- OUTER R

SE-T173L 45470-39345

CET-200L

CAMRY HYBIRD 12- OUTER L

SE-A302 45046-69255 Land Cruiser 300 21- R/L



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

SE-A371R 45046-29565

SE-3972R

HIACE

GRANVIA

19-

19-
OUT R

SE-A371L 45047-29225

SE-3972L

HIACE

GRANVIA

19-

19-
OUT L

SE-A411R 45460-09280

45460-09290

45460-09320

45460-80008

SE-T174R

AVALON

CAMRY

LEXUS ES350

18-

17-

18- OUTER R

SE-A411L 45470-09180

45470-09190

45470-09200

45470-39365

SE-T174L

AVALON

CAMRY

LEXUS ES350

18-

17-

18- OUTER L

SE-A501R 45046-K9015 YARIS KSP210

AQUA MXPK1

YARIS CROSS

SIENTA

20-

20-

20-

22-

RH

SE-A501L 45047-K9015 YARIS KSP210

AQUA MXPK1

YARIS CROSS

SIENTA

20-

20-

20-

22-

LH

SE-A591
45046-69255 LAND CRUISER 300 21-

OUT R/L

SE-T181R 45046-09560

CET-174

TUNDRA

SEQUOIA

07-

08-
OUTER R M22×1.5

SE-T181L 45047-09260

CET-175

TUNDRA

SEQUOIA

07-

08-
OUTER L M22×1.5

SE-T201R 45046-29355

CET-176

LITE ACE 4WD 99-04 OUTER R M14×1.5

SE-T201L 45047-29115

CET-177

LITE ACE 4WD 99-04 OUTER L M14×1.5

SE-T221R 45046-49195

45046-09650

CET-142

RAV4

LEXUS HS250H

MIRAI(JPD10)

06-

09-

14-20

OUTER R M16×1.5

SE-T221L 45047-49135

45047-09310

CET-143

RAV4

LEXUS HS250H

MIRAI(JPD10)

06-

09-

14-20

OUTER L M16×1.5

SE-A391 45460-49105

45460-49095

45460-29455

RAV4

HARRIER

NOAH/VOXY

19-

20-

22-

OUT R/L M16×1.5

SE-A461 45460-09300

45460-09310

RAV4(USA) 19- OUT R/L M16×1.5

SE-T231R 45046-39415

45046-39416

45046-37042

EFJ10-06100

CET-158

DYNA 200 4100

DYNA 200 4600

DYNA/TOYOACE

DYNA XZU600

99-

00-

99-

21-

OUTER R

MALE RHT
M22×1.5

SE-T231L 45047-39255

45047-39256

45047-37042

EFJ10-06110

CET-159

DYNA 200 4100

DYNA 200 4600

DYNA/TOYOACE

DYNA XZU600

99-

00-

99-

21-

OUTER L

MALE RHT
M22×1.5

SE-T233R S4540-E0390 TOYOTA TRUCK FD 10.4T 03- OUTER R

MALE RHT
M25×1.5

SE-T233L S4550-E0390 TOYOTA TRUCK FD 10.4T 03- OUTER L

MALE RHT
M25×1.5

SE-T241R 45046-39426

45046-39425

CET-178

DYNA

DYNA/TOYOACE

99-

99- OUTER R

SE-T241L 45047-39266

45047-39265

CET-179

DYNA

DYNA/TOYOACE

99-

99- OUTER L



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

SE-T291R 45460-39715

CET-162

LEXUS GS300

LEXUS GS350

LEXUS GS430

LEXUS IS250,IS350

06-

07-

06-

06-

OUTER R M14×1.5

SE-T291L 45470-39255

CET-163

LEXUS GS300

LEXUS GS350

LEXUS GS430

LEXUS IS250,IS350

06-

07-

06-

06-

OUTER L M14×1.5

SE-T311R 45046-29416

CET-156

DYNA 150 PICK UP 3000

DYNA 250 PICK UP 3000

98-

01-

OUTER R

MALE RHT
M22×1.5

SE-T311L 45047-29146

CET-157

DYNA 150 PICK UP 3000

DYNA 250 PICK UP 3000

98-

01-

OUTER L

MALE RHT
M22×1.5

SE-T351R 45046-09570

45046-09591

45046-19415

CET-172

AURIS

COROLLA RUMION

PRIUS V

PRIUS A(ALPHA)

PRIUS+

LEVIN(HYBRID)

07-

08-

11-

11-

12-

14-

OUTER R M15×1.5

SE-T351L 45047-09270

45047-09291

45047-19215

CET-173

AURIS

COROLLA RUMION

PRIUS V

PRIUS A(ALPHA)

PRIUS+

LEVIN(HYBRID)

07-

08-

11-

11-

12-

14-

OUTER L M15×1.5

SE-T361 45046-09610

45046-09620

45046-09640

45046-19425

45046-19435

CET-180

AURIS

COROLLA

USA COROLLA

08-

09-

08- OUTER R/L

SE-T371 45046-09600

CET-183

USA CORILLA 08- OUT R/L

SE-T391R 45460-49055

45460-09180

CET-181

KLUGER

VENZA

HIGHLANDER

LEXUS RX350/450h

08-

08/11-

08-

09-

OUT R

SE-T391L 45470-49025

45470-09020

KLUGER

VENZA

HIGHLANDER

LEXUS RX350/450h

08-

08/11-

08-

09-

OUT L

SE-T401 45046-69245 LAND CRUISER PRADO

4RUNNER

LEXUS GX460

LAND CRUISER PRADO

09-

10-

10-

17-

OUT R/L

SE-T421R 45046-09720

45046-09750

45046-09760

CET-201R

SE-T022R

VIOS

YARIS

SIENTA

13-

14-

16- OUTER R M14×1.5

SE-T421L 45047-09370

45047-09380

45047-09390

CET-201L

SE-T022L

VIOS

YARIS

SIENTA

13-

14-

16- OUTER L M14×1.5

SE-T441R 45046-49145

CET-160

PRIUS 03- OUTER R

SE-T441L 45047-49075

CET-161

PRIUS 03- OUTER L

SE-T438R 45460-49025

45460-59025

CET-131

LEXUS LS400

CELSIOR

94-00

95-00 OUT R M14×1.5



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

SE-T438L 45470-49015

45470-59025

CET-132

LEXUS LS400

CELSIOR

94-00
OUT L M14×1.5

SE-T471R

(SE-3991R)

45460-09040

45460-59055

45460-59115

SE-3991R

CET-124R

CET-186

SIENNA

ESTIMA

ALPHARD(HV)

ALPHARD(G/V)

ESTIMA

04-

03-

03-

02-

03-

OUTER R M16×1.5

SE-T471L

(SE-3991L)

45470-09030

45470-59035

45470-59135

SE-3991L

CET-124L

CET-187

SIENNA

ESTIMA

ALPHARD(HV)

ALPHARD(G/V)

ESTIMA

04-

03-

03-

02-

03-

OUTER L M16×1.5

SE-T481R 45046-29515

CET-188

ESTIMA

PREVIA

ALPHARD

LEXUS LM350/LM300H

06-

06-

06-

20-

OUTER R

SE-T481L 45047-29195

CET-189

ESTIMA

PREVIA

ALPHARD

LEXUS LM350/LM300H

06-

06-

06-

20-

OUTER L

SE-T486R 45460-09400 SIENNA XV70 21- OUT R

SR-T486L 45470-09230 SIENNA XV70 21- OUT L

SE-T491R 45047-49055

CET-203R

AVENSIS VERSO

IPSUM

IPSUM

01-

01-

01-

OUT R

OUT L
SE-T491L 45046-49125

CET-203L

AVENSIS VERSO

IPSUM

IPSUM

01-

01-

01-

OUT L

OUT R
SE-T521R 45046-49225

CET-192

PRIUS

LEXUS CT200H

09-

10- OUT R

SE-T521L 45047-49165

CET-193

PRIUS

LEXUS CT200H

09-

10- OUT L

SE-T531R 45046-B9210

45046-B9060

PASSA

BB

BOON(DAIHATSU)

10-

05-10

06-

10-

OUT R

SE-T531L 45047-B9150

45047-B9060

PASSA

BB

BOON(DAIHATSU)

10-

05-10

06-

10-

OUT L

SE-T561R 45046-09660

45046-05070

CET-198

COROLLA VERSO

AVENSIS

09-

08- OUT R

SE-T561L 45047-09320

45047-05060

CET-199

COROLLA VERSO

AVENSIS

09-

08- OUT L

SE-T581 45046-29405

CET-155

DYNA 150 2500 RWD 01-
OUTER R/L M18×1.5

SE-T801R 45460-09210 SIENNA ASL30 10- OUT R

SE-T801L 45470-09130 SIENNA ASL30 10- OUT L

SE-T971 45046-39785 DYNA(XZU378) 04- OUT R/L

SE-T993R 45460-59045

0121-UCF30RH

CET-135

LEXUS SC430

CELSIOR

01-03

00-06 OUTER R M14×1.5

SE-T993L 45470-59045

0121-UCF30LH

CET-136

LEXUS SC430

CELSIOR

01-03

00-06 OUTER R M14×1.5

SE-A021R 45046-39305 DYNA 200 (BU100) 95- OUT R



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

SE-A021L 45047-39185 DYNA 200 (BU100) 95- OUT L

SE-A041R 45046-39325

CET-204R

DYNA200 95-
OUT R

SE-A041L 45047-39205

CET-204L

DYNA200 95-
OUT L

SE-A051R 45463-30130

CET-211R

MARK X 04-
OUT R

SE-A051L 45464-30060 MARK X 04- OUT L

SE-A071R 45046-B9320

45046-B9080

SE-3212R

CET-208R

RUSH

TERIOS

13-

13- OUTER R

SE-A071L 45047-B9270

45047-B9070

SE-3212L

CET-208L

RUSH

TERIOS

13-

13- OUTER L

SE-A111R 45046-F9010

45046-09A10

45046-F4010

45046-49255

45046-09A00

45046-09890

PRIUS

C-HR

YARIS GR

COROLLA ALTIS

COROLLA CROSS

LEXUS UX200

LEXUS 250h

YARIS CROSS

AURIS

15-

16-

20-

19-

20-

18-

18-

21-

18-

OUT R

SE-A111L 45047-F9010

45047-09A10

45047-F4010

45047-49195

45047-09420

45047-09440

PRIUS

C-HR

YARIS GR

COROLLA ALTIS

COROLLA CROSS

LEXUS UX200

LEXUS 250h

YARIS CROSS

AURIS

15-

16-

20-

19-

20-

18-

18-

21-

18-

OUT L

SE-A121 45046-09800

45046-09810

45046-09820

HILUX (TGN 136/8)

FORTUNER (TGN 166)

INNOVA

FORTUNER(GUN156)

15-

15-

17-

20-

OUTER R/L M16×1.5

SE-A331 45046-BZ210 RUSH F800 18- OUTER R/L

SE-A341 45460-49085 LEXUS RX450H

LEXUS RX200T

LEXUS RX350

15-

15-

15-

OUTER R/L

SE-A521 45460-09370

45460-49135

HIGH LANDER

SOLTERRA(SUBARU)

BZ4X

LEXUS RX3550/450/500

20-

22-

22-

22-

OUTER R/L

CET-102R 45460-19235

45460-29365

SUPRA/SUPRA TURBO

SOARER

LEXUS SC300

LEXUS SC400

93-97

91-00

94-00

92-94

OUTER R

FEMALE RHT
M14×1.5

CET-102L 45470-19065

45470-29135

SUPRA/SUPRA TURBO

SOARER

LEXUS SC300

LEXUS SC400

93-97

91-00

94-00

92-94

OUTER L

FEMALE LHT
M14×1.5

CET-106 45047-19075 MR2 90-00 OUTER L

FEMALE LHT
M14×1.5

CET-107 45046-19195 MR2 90-00 OUTER R

FEMALE RHT
M14×1.5

CET-126R 45046-49085 CELICA 00-02 OUTER R M14×1.5
CET-126L 45047-49015 CELICA 00-02 OUTER L M14×1.5
CET-131 45460-49025

45460-59025

LEXUS LS400

CELSIOR

95-00 OUTER R M14×1.5

CET-132 45470-49015

45470-59025

LEXUS LS400

CELSIOR

95-00 OUTER L M14×1.5



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

CET-134 45460-29295 VAN 4WD 87-88 OUTER R/L M14×1.5
CET-135 45460-59045

0121-UCF30RH

CET-135

LEXUS SC430

CELSIOR

01-03
OUTER R M14×1.5

CET-136 45470-59045 LEXUS SC430 01-03 OUTER L M14×1.5
CET-148 45046-09340

45046-69245

TACOMA 4WD

LAND CRUISER PRADO

4RUNNNER

LEXUS GS460

05-

09-

10-

10-

OUTER R/L M16×1.5

CET-184 45046-BZ050

45046-BZ120

AVANZA 03-
OUTER R

CET-185 45047-BZ050

45047-BZ120

AVANZA 03-
OUTER L

CET-201R 45046-09720
CET-201L 45047-09370
SE-A081R 45046-09681

CET-202R

Toyota ETIOS

YARIS SEDAN

10-

10-
OUT R

SE-A081L 45047-09341

CET-202L

Toyota ETIOS

YARIS SEDAN
OUT L

CET-206 45046-39445 OUT CET-206
CET-207R SU003-00833 OUT R
CET-207L SU003-00834 OUT L
CET-209R 45046-29315 OUT R
CET-209L 45047-29095 OUT L
CET-210R 45046-65010 OUT R
CET-210L 45047-65010 OUT L
CET-211L 45464-30050 OUT L

SE-4041R 48570-14800

48570-20500

CEN-29R

DATSUN PICK UP 65-72
R

SE-4041L 48580-14800

48580-20500

CEN-29L

DATSUN PICK UP 65-72
L

SE-4071R 48520-18000

48520-18001

48520-0G300

SUNNY

SUNNY TRUCK

VANETTE

66-69

66-70

75-78

OUR R

OUT R/L
SE-4071L 48640-18000

48640-18001

48640-0G300

SUNNY

SUNNY TRUCK

VANETTE

66-69

66-70

75-78

OUT L

IN R/L
SE-4072R 48521-18000

48521-18001

SUNNY

SUNNY TRUCK

66-69

66-70
IN R 

SE-4072L 48641-18000

48641-18001

SUNNY

SUNNY TRUCK

66-69

66-70
IN L

SE-4091R 48520-H1001

CEN-4R

SUNNY

SUNNY TRUCK

70-73

71-75
OUT R 

SE-4091L 48640-H1001

CEN-4L

SUNNY

SUNNY TRUCK

70-73

71-75
OUT L

48520-A0600

48520-U0100

48520-U5200

ES483R

BLUEBIRD

SILVIA,GAZELLE

VIOLET

SUNNY

OUTER R

FEMALE RHT

48520-N8425

48640-G2500

48640-G2525

SE-4491R

CEN-2R

CEN-53R

VANETTE

VANETTE LARGO

SILVIA,GAZELLE OUTER R/L

NISSAN
TIE ROD END

SE-4101R 68-76

75-79

73-77

71-77

75-77

78-85

82-86

81-83

M14×1.5



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

48640-A0600

48640-U0100

48640-U5200

BLUEBIRD

SILVIA,GAZELLE

VIOLET

SUNNY

OUTER L

FEMALE LHT

48520-G2500

48520-G2525

48640-N8425

SE-4491L

CEN-2L

VANETTE

VANETTE LARGO

SILVIA,GAZELLE OUTER R/L

48521-A0600

48521-U0100

48521-U5200

48641-G2525

BLUEBIRD

SILVIA,GAZELLE

VIOLET

SUNNY

INNER R

FEMALE LHT

48641-G2525

48521-N8425

VANETTE

VANETTE LARGO

SILVIA,GAZELLE

INNER L

INNER R
48641-A0600

48641-U0100

48641-U5200

ES-2442R

ES-489R

BLUEBIRD

SILVIA,GAZELLE

VIOLET

SUNNY

INNER L

FEMALE LHT

48521-G2525

48641-N8425

VANETTE

VANETTE LARGO

SILVIA,GAZELLE

INNER R

INNER L
SE-4104L 48641-U5200 BLUEBIRD

AUSTER,STANZA

VIOLET

SUNNY

71-76

77-81

77-81

73-77

IN L

SE-4141R 48520-H5025

48520-W5025

ES-2439R

CEN-6R

SILVIA,GAZELLE

AUSTER,STANZA

VIOLET

SUNNY

SUNNY TRUCK

79-81

77-81

77-81

73-77

77-81

OUTER R

FEMALE RHT
M14×1.5

SE-4141L 48640-H5025

48640-W5025

ES-2440L

CEN-6L

SILVIA,GAZELLE

AUSTER,STANZA

VIOLET

SUNNY

SUNNY TRUCK

79-81

77-81

77-81

73-77

77-81

OUTER L

FEMALE LHT
M14×1.5

SE-4142R 48521-H1001

48521-H5025

48521-W5025

ES-2441L

ES-496L

SE-4092R

CEN-5R

CEN-7

SUNNY

SUNNY TRUCK

SILVIA,GAZELLE

AUSTER,STANZA

VIOLET

SUNNY

SUNNY TRUCK

70-73

71-75

79-81

77-81

77-81

73-77

73-77

77-81

75-

INNER R

FEMALE LHT
M14×1.5

SE-4142L 48641-H1001

48641-H5025

48641-W5025

SE-4092L

CEN-5L

SUNNY

SUNNY TRUCK

SILVIA,GAZELLE

AUSTER,STANZA

VIOLET

SUNNY

SUNNY TRUCK

79-81

77-81

77-81

73-77

73-77

77-81

75-

INNER L

FEMALE LHT
M14×1.5

SE-4161 48520-01W00

48520-41W00

48520-01G25

ES-2472L

SE-4671

CEN-40

DATSUN PICK UP

DATSUN PICK UP 4WD

79-85

80-83
OUTER R/L

MALE LHT
M18×1.5

SE-4162 48521-01W00

ES-2473R

CEN-8

DATSUN PICK UP 79-85 INNER R/L

MALE RHT
M18×1.5

SE-4102R 68-76

75-79

73-77

71-77

75-77

78-85

82-86

M14×1.5

SE-4102L 68-76

75-79

73-77

71-77

75-77

78-85

82-86

81-83

M14×1.5

SE-4101L 68-76

75-79

73-77

71-77

75-77

78-85

82-86

81-83



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

SE-4171R 48520-01F25

48520-W1025

ES-2274R

CEN-22R

LEOPARD

BLUEBIRD

SILVIA,GAZELLE

80-86

79-83

83-

OUTER R

FEMALE RHT
M14×1.5

SE-4171L 48640-01F25

48640-W1025

ES-2273R

CEN-22L

LEOPARD

BLUEBIRD

SILVIA,GAZELLE

80-86

79-83

83-

OUTER L

FEMALE LHT
M14×1.5

SE-4311 48520-Q0125

48520-S0101

48520-S0102

48520-S0125

ES-2119L

CEN-16

LAUREL

SKYLINE

BLUEBIRD

72-80

72-81

76-79

79-83

OURER R/L

MALE LHT
M18×1.5

SE-4312 48521-Q0125

48521-S0101

48521-S0102

48521-S0103

48521-S0125

48521-S0126

ES-2085R

CEN-17

FAIRLADY-2

LAUREL

SKYLINE

BLUEBIRD

78-81

72-80

82-81

76-79

79-83

INNER R/L

MALE RHT
M18×1.5

SE-4321 48520-J0100

48520-J0125

48520-J0127

48640-J0100

48520-J0125

48520-J0127

CEN-28

JUNIOR 70-76

OUT R/L

SE-4322 48521-J0100

48521-J0125

48521-J0127

48641-J0100

48641-J0125

CEN-32

JUNIOR 70-76

IN R/L

SE-4331R 48520-E0100

48520-Y0100

48570-B5000

48570-B9525

CEN-1R

CEDRIC,GLORIA

DATSUN PICK UP

69-79

72-79
OUT R/L

SE-4331L 48521-E0100

48521-Y0100

48580-B5000

48580-B9525

CEN-1L

CEDRIC,GLORIA

DATSUN PICK UP

69-79

72-79
IN R/L

SE-4341 48520-M0225

48520-M3025

ES-2139R

PULSAR

LANGLEY

CHERRY

78-82

80-82

74-78

OUTER R/L

FEMALE RHT
M12×1.25

SE-4381R 48570-82100

48570-J5100

48520-01J00

ES-2569R

CEN-10R

ATLAS

CONDOR

CABALL

CLIPPER

BISON

SAFARI

81-

81-

69-81

71-81

76-81

80-87

R

MALE RHT
M22×1.5

SE-4381L 48580-82100

48580-J5100

48570-01J00

ES-2572L

CEN-10L

ATLAS

CONDOR

CABALL

CLIPPER

BISON

SAFARI

81-

81-

69-81

71-81

76-81

80-87

L

MALE LHT
M22×1.5

SE-4391 48520-V0125

CEN-23

CEDRIC,GLORIA 79-83 OUT R/L

SE-4392R 48521-V0125

CEN-33R

CEDRIC,GLORIA 79-83 IN R 



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

SE-4392L 48641-V0125

CEN-33L

CEDRIC,GLORIA 79-83 IN L

SE-4401 48520-P6501

48520-P9001

48640-P6500

48520-P9001

CEN-21

FAIRLADY-Z 78-83

OUT R/L

SE-4411 48520-P6525

CEN-37

FAIRLADY-Z 78-81 OUT R/L

SE-4431R 31036-6402P

48561-B6000

48561-B6025

HOMER,CABSTAR

CARAVAN,HOMY

65-75

73-75 R

SE-4431L 31214-6402P

48571-B6000

48571-B6025

HOMER,CABSTAR

CARAVAN,HOMY

65-75

73-75 L

SE-4461R 48561-T3001

48561-T3025

ES-2485L

CEN-19

ATLAS

HOMER,CABSTAR

CARAVAN,HOMY

82-

76-81

75-86

R

MALE LHT
M20×1.5

SE-4461L 48571-T3001

48571-T3025

ES-2486R

CEN-20

ATLAS

HOMER,CABSTAR

CARAVAN,HOMY

82-

76-81

75-86

L

MALE LHT
M20×1.5

SE-4471 48520-J0126

CEN-24

JUNIOR 76-84 OUTER R/L

MALE LHT
M20×1.5

SE-4472 48521-J0126

CEN-25

JUNIOR 76-84 INNER R/L

MALE RHT
M20×1.5

SE-4481 48520-01E00

48520-01E25

48520-01E26

48520-02E00

48520-02E25

48520-02E26

48520-0M025

48520-50J25

48520-50Y00

48520-50Y25

48520-73J25

48520-D0100

48520-D0125

48520-D0126

1N00-32-280

ES-2276R

SE-4581

CEN-9

AUSTER,STANZA

SUNNY

SUNNY 4WD

LAUREL SPIRIT

LAUREL SPIRIT 4WD

PULSAR, LANGLEY

& LIBERTA VILLA

PULSAR 4WD

LANGLEY 4WD

& LIBERTA VILLA 4WD

SUNNY, PULSAR

& DATSUN AD VAN

MAZDA FAMILIA

81-85

81-85

85-

82-86

87-

82-86

86-

87-

82-

02-

OUT R/L

SE-4492R 48521-N8425

CEN-54R

SILVIA,GAZELLE 81-83
IN R 

SE-4492L 48641-N8425

CEN-54L

SILVIA,GAZELLE 81-83
IN L

SE-4494L 48641-D8025 SILVIA,GAZELLE 81-83 IN L

SE-4501R 48570-11J00

48570-11J25

48570-C6060

48570-C6079

48570-C8400

48570-C8410

CEN-52

SAFARI

PATROL

87-91

82-86

INNER L

SE-4501L 48570-C7600 SAFARI

PATROL

87-91

82-86
INNER R



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

SE-4502 48520-C6000

48520-C8000

48520-C8010

D8520-C6000

CEN-57

SAFARI 80-87

L

SE-4506L 48520-C6060

48520-C6079

48520-C8400

48520-C8410

CEN-71

CEN-51

SAFARI

PATROL

87-91

82-86

INNER R

SE-4506R 48520-C7600 SAFARI 80-87 R

SE-4519 48520-A03G0

48520-A06G0

SUNNY

(SENTRA,TSURU)

91-
OUTER R/L

SE-4521 48520-01L25

CEN-30

LAUREL

SKYLINE

80-84

81-85

OUTER R/L

MALE LHT
M14×1.5

SE-4522 48521-01L25

CEN-31

LAUREL

SKYLINE

80-84

81-85
IN R/L

SE-4552 48521-41W00

CEN-27

DATSUN PICK UP 4WD 80-83
IN R/L

SE-4561R 48520-50W00

CEN-12R

DATSUN PICK UP 4WD 83-85
OUT R

SE-4561L 48640-50W00

CEN-12L

DATSUN PICK UP 4WD 83-85
OUT L

SE-4562R 48521-50W00

CEN-13R

DATSUN PICK UP 4WD 83-85
IN R

SE-4562L 48641-50W00

CEN-13L

DATSUN PICK UP 4WD 83-85
IN L

SE-4571 48520-V5001

48520-V5025

48520-V6600

48640-V5001

48520-V5401

CEN-34

CEDRIC,GLORIA 83-87

OUTER R/L

MALE LHT
M16×1.5

SE-4572R 48521-V5001

48521-V5025

48521-V6600

48641-V5401

CEN-35

CEDRIC,GLORIA 83-87

83-87 INNER R

MALE RHT
M16×1.5

SE-4572L 48641-V5001

48641-V5001

48641-V5025

CEN-36

CEDRIC,GLORIA 83-87

83-87 INNER L

MALE LHT
M16×1.5

SE-4591

(SE-4771)

48520-35F25

48520-4B000

48520-50A00

48520-50A25

48520-50A26

48520-53M25

48520-Q5200

48520-Q5601

SUNNY

LAUREL SPIRIT

PULSAR,LANGLEY

& LIBERTA VILLA

85-

86-

86-
OUTER R/L

FEMALE RHT
M12×1.25

SE-4601 48520-01P25

CEN-39

FAIRLADY-Z 83-86
OUT R/L

SE-4603 48520-21P25

CEN-49

FAIRLADY-Z 86- OUTER R/L

FEMALE RHT
M14×1.5

SE-4611R 48570-90028

48570-90065

CEN-14

NISSAN UD TRUCK -79
R

SE-4611L 48571-90028

48571-90065

CEN-15

NISSAN UD TRUCK -79
L



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

SE-4621 48520-41L00

48520-41L25

48520-41L26

48520-41L27

CEN-48

LEOPARD

LAUREL

SKYLINE

86-

84-

85-
OUTER R/L

FEMALE RHT
M14×1.5

SE-4631R 48520-01N25

48641-01N25

CEN-72

CARAVAN,HOMY 86-88 OUTER R

INNER L

FEMALE LHT

M16×1.5

SE-4631L 48640-01N25

48521-01N25

CEN-73

CARAVAN,HOMY 86-88 OUTER L

INNER R

FEMALE RHT

M16×1.5

SE-4641R 48520-G5101

48520-G5125

48640-31C00

CEN-55R

VANETTE

VANETTE LARGO

VANETTE LARGO 4WD

85-

86-

86-

OUTER R

FEMALE LHT

OUTER L

M14×1.5

SE-4641L 48640-G5101

48640-G5125

48520-31C00

CEN-55L

VANETTE

VANETTE LARGO

VANETTE LARGO 4WD

85-

86-

86-

OUTER L

FEMALE LHT

OUTER L

M14×1.5

SE-4642R 48521-G5101

48521-G5125

CEN-56R

VANETTE

VANETTE LARGO

85-

86-

INNER R

FEMALE RHT M14×1.5

SE-4642L 48641-G5101

48641-G5125

VANETTE

VANETTE LARGO

85-

86-

INNER L

FEMALE LHT M14×1.5

SE-4672 48521-01G25

CEN-41

DATSUN PICK UP 85- INNER R/L

MALE RHT
M18×1.5

SE-4681 48520-31G25

48520-7F000

ES-3002R

DATSUN PICK UP

TERRANO

85-

86-
OUTER R/L

MALE RHT
M16×1.5

SE-4682 48570-31G25

48520-7F001

ES-3051L

DATSUN PICK UP

TERRANO

85-

86-
INNER R/L

MALE LHT
M16×1.5

SE-4691 48520-53E25

CEN-66

BLUEBIRD 87- OUTER R/L

FEMALE RHT
M12×1.25

SE-4711 48520-10V25

48520-45V25

CEDRIC,GLARIA 87- OUTER R/L

FEMALE RHT
M14×1.5

SE-4721 48520-18V25

48640-18V25

CEDRIC,GLARIA 87- OUTTER R/L

MALE LHT
M16×1.5

SE-4722R 48521-18V25

CEN-46R

CEDRIC,GLARIA 87- INNER R

MALE RHT
M16×1.5

SE-4722L 48641-18V25

CEN-46L

CEDRIC,GLARIA 87- INNER L

MALE RHT
M16×1.5

SE-4731 48520-27N25

48520-VH025

CEN-75

CARAVAN,HOMY

URVAV       for P.S.

88- OUTER R/L

FEMALE RHT
M14×1.5

SE-4751 48520-61G25

48520-7F000

CEN-81

DATSUN PICK UP 4WD

TERRANO

92- OUTER R/L

MALE RHT
M16×1.5

SE-4752 48520-7F001

48570-61G25

CEN-82

DATSUN PICK UP 4WD

TERRANO

92- INNER R/L

MALE LHT
M16×1.5

SE-4761 48520-88E25

48520-88E26

MAXIMA 88- OUTER R/L

FEMALE RHT
M14×1.5

SE-4801 48520-G5225

CEN-91

VANETTE 88-93 OUTER R/L

FEMALE RHT
M14×1.5

SE-4811 48520-4F125

48520-6F625

ES-1258

MICRA

MARCH

92-

93-
OUTTER R/L

FEMALE RHT
M12×1.25

SE-4812 48520-01B25

48520-41B25

48520-17B25

CEN-158

CEN-78

MICRA

CUBE

MARCH

82-92

99-

92-
OUTER R/L

FEMALE RHT
M12×1.25

SE-4821 48520-2S485

D8520-VK91A

CEN-95

PICK UP 2WD 97- INNER

MALE LHT
M18×1.5



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

SE-4822 48521-2S485

D8521-VK91A

PICK UP 2WD 97- INNER

MALE RHT
M18×1.5

SE-4825R 48520-0T825 UD ATLAS CONDOR H41 WIDE CAB

NISSAN CONDOR

NISSAN CIVI;IAN

92-95

91-

88-98

OUTER

FEMALE R
M24×1.5

SE-4825L 48570-0T825 UD ATLAS CONDOR H41 WIDE CAB

NISSAN CONDOR

NISSAN CIVI;IAN

92-95

91-

88-98

OUTER

FEMALE L
M24×1.5

SE-4831 48520-0P725

48520-0P726

48520-0W025

48520-3S525

48520-8H300

D8520-0P725

D8520-VK90A

CEN-98

PICK UP

TERRANO

X-TRAIL

PATHFINDER

FRONTIER

FRONTIER 4WD

SERENA

CEDRIC

GLORIA

CIMA

SERENA

REOPARD

PRESIDENT

PRESAGE

AVENIR

DUTSUN

97-

95-

00-

04-

01-02

03-04

01-04

99-05

91/6-93/6

08/2-09/3

99/6-00/6

99/6-97/10

08/2-09/3

98/6-01/8

98/11-00/5

97/1-97/2

OUTER

FEMALE RHT
M14×1.5

SE-4832 48570-3S525

CEN-99

PICK UP 4WD

FRONTIER

97-

01-04
IN R/L M14×1.5

SE-4871 48520-0C025

48520-0M085

48520-15U25

48520-15U26

48520-60Y25

48520-71L25

48520-8J025

48520-AU025

1N06-32-280

CEN-80

MAXIMA

CEFIRO

PULSSR/ALMERA

SUNNY

LAUREL

ALTIMA

MAXIMA

INFINITI I30

MAZDA FAMILY

95-98

94-

99-

99-

90-

94-

93-

02-04

02-

OUTER R/L

FEMALE RHT
M14×1.5

SE-4891R 48520-VB025

D8520-VS40A

CEN-106

SAFARI 97-
OUTER R M20×1.5

SE-4891L 48570-VB025

D8570-VS40A

CEN-107

SAFARI 97-
OUTER L M20×1.5

SE-4893R 48520-VD225 SAFARI Y61 04- OUTER R

SE-4893L 48570-VD225 SAFARI Y61 04- OUTER L

SE-4901 48520-2B003

48520-2B025

48520-4Z025

CEN-100

SENTRA

ALMERA

01-

95- OUTER R/L M12×1.25

SE-4921 48520-0E025

48520-2B025

48520-2B000

48520-2B003

48520-72E25

CEN-70

CEN-76

BLUEBIRD

BLUEBIRD 4WD

AVENIR WAGON 4WD

PRARIE 4WD

ALTIMA

91-

87-89

90-93

88-90

92-93

OUTER R/L

FEMALE RHT
M14×1.5

SE-4941R 48520-9Y025

D8520-9Y025

D8520-9Y00B

46495-52000

CEN-113

TEANA

SM7

03-

04-
OUTER R M14×1.5



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

SE-4941L 48640-9Y025

D8640-9Y025

D8640-9Y00B

46490-52000

CEN-114

TEANA

SM7

03-

04-
OUTER L M14×1.5

SE-4951R 48520-3U025

D8520-EW00A

D8640-EW00A

48527-1U61A

CEN-115

TIIDA

GRAND LIVINA

VERSA

CUBE USA

BLUEBIRD SYLPHY

04-

07-

07-

09-

OUTER R M12×1.25

SE-4951L 48640-3U025

D8640-EW00A

D8520-EW00A

48647-1U61A

TIIDA

GRAND LIVINA

VERSA

CUBE USA

04-

07-

07-

09-

OUTER L M12×1.25

SE-4971 48520-VW025

48520-VW026

48520-VW225

D8520-3XA0A

5-86130-677-0

CEN-117

CARAVAN

UPVAN

COMO

CARAVAN

01-

01-

01-

09-
OUTER R/L M20×1.5

FRONTIER 05- OUTER R

PATHFINDER

XTERRA

05-

05-
OUTER L

FRONTIER 05- OUTER L

PATHFINDER

XTERRA

05-

05-
OUTER R

SE-4982R D8520-3KA0B

CEN-147R

MURANO

PATHFINDER

15-

15-
OUTER R M14×1.5

SE-4982L D8640-3KA0A

CEN-147L

MURANO

PATHFINDER

15-

15-
OUTER L M14×1.5

SE-N010 48520-U6000 LUXGEN U6 16- OUT R/L

SE-N018R D8520-1LB0A

ME-9853L

PATROL(Y62) 10-
OUT R

SE-N018L D8640-1LB0A

ME-9853R

PATROL(Y62) 10-
OUT L

SE-N071R 48520-AX600

CEN-130

MICAR(EURO) 02-04
OUTER R M14×1.5

SE-N071L 48640-AX600

CEN-131

MICAR(EURO) 02-04
OUTER L M14×1.5

SE-N073R 48520-5192R

48520-4680R

CESS-4R

CE-0632R

RENAULT

FLUENCE

MEGANE III

SCENIC III

10-

08-

09-

OUT R M14×1.5

SE-N073L 48520-2710R

48520-9049R

CESS-4L

CE-0632L

RENAULT

FLUENCE

MEGANE III

SCENIC III

10-

08-

09-

OUT L M14×1.5

SL-N073 54618-0002R

54618-0006R

54618-2227R

54618-8879R

RENAULT FLUENCE 10-

FRONT R/L M10×1.25

SE-N081R 48520-AX602

48520-00QAF

7701474493

CEN-124

MICAR(EURO) 04-07

OUTER R M14×1.5

SE-N081L 48640-AX602

48520-00QAE

7701474492

CEN-125

MICAR(EURO) 04-07

OUTER L M14×1.5

SE-N121 48520-CB025

D8520-CB025

CEN-105

MURANO 05-

04- OUTER R/L M14×1.5

SE-N141 48520-CK025

CEN-112

QUEST 04-
OUTER R/L M16×1.5

SE-4981R 48520-EA025

48520-EA01J

CEN-111

M16×1.5

SE-4981L 48640-EA025

48610-EA025

48640-EA01J

M16×1.5



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

SE-N151R 48520-JA00A

D8520-JA00A

D8520-1AA0A

D8520-JA80J

D8520-1AA1A

D8520-1AA1B

CEN-120

ALTIMA

MURANO

INFINITI QX70 (S51)

07-

08-

08-
OUTER R M12×1.25

SE-N151L 48640-JA00A

D8640-JA00A

D8640-1AA0A

D8640-JA80J

D8640-1AA1A

D8640-1AA1B

CEN-121

ALTIMA

MURANO

INFINITI QX70 (S51)

07-

08-

08-
OUTER L M12×1.25

SE-N191 48520-2S420B PICK UP 01- OUTER

SE-N192 48521-2S420B PICK UP 01- IN

SE-N201R 48527-JD01A

D8E20-JG00A

D8520-JG00A

D8520-JY00A

CEN-132

QASHQAI

X-TRAIL

ROGUE

DUARIS

ROGUE USA

07-

07-

09-

08-09

07-

08-09

OUTER R M14XP1.5

SE-N201L 48647-JD01A

D8F40-JG00A

D8640-JG00A

D8640-JY00A

CEN-133

QASHQAI

X-TRAIL

ROGUE

DUARIS

ROGUE USA

07-

07-

09-

08-09

07-

08-09

OUTER L M14XP1.5

SE-N221R D8520-EN00A

MQ-700059

CEN-134

48811-50Z00

SERENA (C26)

LANDY(SUZUKI)

06-

07- OUT R M14XP1.5

SE-N221L D8640-EN00A

MQ-700060

CEN-135

48812-50Z00

SERENA (C26)

LANDY(SUZUKI)

06-

07- OUT L M14XP1.5

SE-N242R

(SE-N581R)

D8520-4BA0A X-TRAIL

SUPER ROGUE

14-

18-
OUT R

SE-N242L

(SE-N581L)

D8640-4BA0A X-TRAIL

SUPER ROGUE

14-

18-
OUT L

SE-N251R D8520-EB70A

CEN-144

NAVARA

TERRA

07-

16-
OUT R

SE-N251L D8640-EB70A

CEN-143

NAVARA

TERRA

07-

16-
OUT L

SE-N281R 48520-EA01J PATHFINDER 05- OUT R

SE-N281L 48640-EA01J PATHFINDER 05- OUT L

SE-N291R D8520-ET00A

48520-ET00A

CEN-128

SENTRA 07-
OUTER R M12×1.25

SE-N291L D8640-ET00A

48640-ET00A

CEN-129

SENTRA 07-
OUTER L M12×1.25

SE-N292R D8520-3DN1A SENTRA B17 14- OUTER R

SE-N292L D8640-3DN1A SENTRA B17 14- OUTER L

SE-N331R D8520-1HMOA

D8520-1HJ0A

D8520-1HA0A

CEN-142

MARCH K13

LATIO N17T

MICRA

DATSUN GO/GO+

12-

12-

10-

12-

OUT R

SE-N331L D8640-1HM0A

D8640-1HJ0A

D8640-1HA0A

CEN-141

MARCH K13

LATIO N17T

MICRA

DATSUN GO/GO+

12-

12-

10-

12-

OUT L



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

SE-N341R D8520-1KA0A

D8520-3RA1A

D8520-3SG1A

D8520-1KE1A

D8520-4FJ0A

CEN-153R

JUKE

SYLPHY

PULSAR

SENTRA

ESQ

10-

12-

01-

07-

06-

OUT R

SE-N341L D8640-1KA0A

D8640-3RA1A

D8640-3SG1A

D8640-1KE1A

D8640-4FJ0A

CEN-153L

JUKE

SYLPHY

PULSAR

SENTRA

ESQ

10-

12-

01-

07-

06-

OUT L

SE-N361 48520-HA000

MQ-904410

S47P-32-280

CEN-137

VANETTE 2WD

BONGO 2WD(MAZDA)

MITSUBISHI DELICA

99-

99-

99-
OUT R/L M14×1.5

SE-N371L 48640-CG085

D8640-CG80A

D8E20-CG80A

CEN-122

INFINITI FX35,FX45 03-06

OUTER R M14×1.5

SE-N371R 48520-CG025

D8520-CG80A

D8E20-CG80A

CEN-123

INFINITI FX35,FX45 03-06

OUTER L M14×1.5

SE-N801R D8520-4KH0A

CEN-110

NP300(S23X)

FRONTIER

TITAN(A61)

14-

14-

15-

OUT R

SE-N801L D8640-4KH0A

CEN-111

NP300(S23X)

FRONTIER

TITAN(A61)

14-

14-

15-

OUT L

SE-N881R D8520-5RB0A KICKS P15X 16- OUT R

SE-N881L D8640-5RB0A KICKS P15X 16- OUT L

SE-N891R D8520-4AF1A SENTRA B17U 16- OUTER R

SE-N891L D8640-4AF1A SENTRA B17U 16- OUTER L

SE-C011R D8520-5RY0A KICKS (P15T) 20- OUTER R

SE-C011L D8640-5RY0A KICKS (P15T) 20- OUTER L

SE-C021R D8520-6CA0A ALTIMA(L34) 18- OUTER R

SE-C021L D8640-6CA0A ALTIMA(L34) 18- OUTER L

SE-C071 48520-1PA0A TITAN

NV

A61

F80

15-

11-
OUT R/L

SE-C072 48510-1PA0A-1

48630-1PA0A-1

For SIDE ROD ASSY

48510-1PA0A

48630-1PA0A

TITAN

NV

A61

F80 15-

11-
IN R/L

SE-C091R D8520-5NA0A INFINITI QX50 J55X 17- OUT R

SE-C091L D8640-5NA0A INFINITI QX50 J55X 17- OUT L

SE-C111R
DH520-6LB0A

D8520-6LB0A

SENTRA B18 20-
OUT R

SE-C111L
DH640-6LB0A

D8640-6LB0A

SENTRA B18 20-
OUT L

SE-C121R D8520-6SA0A PATHFINDER R53 21- OUT R

SE-C121L D8640-6SA0A PATHFINDER R53 21- OUT L



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

SE-7561 48810-60810

48810-61J00

48810-60J00

48810-63J00

48810-58JA0

48520-4A0A1

48520-4A00A

1A04-32-280

48810M68K00

48810-68K00

CES-22

MQ-505862

MQ-512969

1A07-32-280A

SWIFT

APV

WAGON R

SWIFT SPORT

MOCO(MAZDA)

CAROL(MAZDA)

ALTO

MINICAB

SCRUM TRUCK

AZ WAGON

04-

05-

04-

08-

03-

05-

08-

11-

03-

OUTER R/L M12X1.25

CEN-11R 48520-78500 LAUREL

FAIRLADY-Z

68-72

75-78

OUTER R

FAMALE RHT
M14×1.5

CEN-11L 48640-78500 LAUREL

FAIRLADY-Z

68-72

75-78

OUTER L

FAMALE LHT
M14×1.5

CEN-68 48520-J7000 SKYLINE,PINTART FEMALE RHT M14×1.5

SE-N741 48520-50J25

48520-2J025

CEN-97

PRIMERA

INFINITI G20

90-96

99-02
OUTER

FEMALE RHT
M14×1.5

CEN-101 48520-CA025 MURANO 03- OUTER R/L M16×1.5

CEN-104 48520-33P25

48520-33P26

INFINITI G50

FAIRLADY-Z

CEFIRO

300ZX

89-

89-00

90-94

89-96

OUTER R/L M14×1.5

ARMADA

TITAN

INFINITI QX56

ARMADA

PATRIL

05-

04-

04-

16-

10-

OUTER L

PATHFINDER 04- OUTER R

ARMADA

TITAN

INFINITI QX56

ARMADA

PATRIL

05-

04-

04-

16-

10-

OUTER R

PATHFINDER 04- OUTER L

SE-N443R 82 01 108 332

48520-00Q1A

TERRANO 3

RENAULT DAICA

RENAULT DUSTER

RENAULT KAPTU

14-

15-

15-

16-

OUT R

SE-N443L 82 01 108 339

48520-00Q1B

TERRANO 3

RENAULT DAICA

RENAULT DUSTER

RENAULT KAPTU

14-

15-

15-

16-

OUT L

SE-N501R D8520-1JA0B

CEN-148R

QUEST 10-
OUT R

SE-N501L D8640-1JA0B

CEN-148L

QUEST 10-
OUT L

SE-N541R D8520-1CA0B INFINITI FX35

INFINITI FX35

INFINITI FX37

INFINITI QX70

08-

08-

08-

13-

OUT R

SE-N541L D8640-1CA0B INFINITI FX35

INFINITI FX35

INFINITI FX37

INFINITI QX70

08-

08-

08-

13-

OUT L

SE-N551R D8520-JF00B GT-R 07- OUT R

SE-N551L D8640-JF00B GT-R 07- OUT L

SE-N441R 48520-7S025

D8640-1LA1D

CEN-109 M16×1.5

SE-N441L 48640-7S025

D8520-1LA1D

CEN-108 M16×1.5



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

SE-N591R D8520-3KA0B

48520-5BC0A

CEN-147R

MURANO(Z52Z) 16-
OUT R

SE-N591L D8640-3KA0A

48640-5BC0A

CEN-147L

MURANO(Z52Z) 16-
OUT L

SE-N601R D8520-3TA0A

D8520-4RG0A

D8520-3GJ0C

CEN-146R

MAXIMA

TEANA

ALTIMA

15-

13-

13-
OUT R M14×1.5

SE-N601L D8640-3TA0A

D8640-4RG0A

D8640-3GJ0C

CEN-146L

MAXIMA

TEANA

ALTIMA

15-

13-

13-
OUT L M14×1.5

SE-N622 48520-10J00 SAFARI 87- IN

SE-N623 48520-01J10

48570-30T25

PATROL Y60

SAFARI Y60

ATLAS/CONDOR

87-

87-

89-

OUT R

SE-N624 48570-01J10

48520-30T25

PATROL Y60

SAFARI Y60

ATLAS/CONDOR

87-

87-

89-

OUT L

SE-N571R 48520-EG025

D8520-EG025

D8520-EG026

D8520-EG00C

D8520-4GA0A

CEN-118

INFINITI M35/45

INFINITI EX25/30d/35/37

INFINITI G25/35/37

INFINITI M25/30d/35

06-

11-

10-

10-
OUTER R M14×1.5

SE-N571L 48640-EG025

D8640-EG025

D8640-EG026

D8640-EG00C

D8640-4GA0A

CEN-119

INFINITI M35/45

INFINITI EX25/30d/35/37

INFINITI G25/35/37

INFINITI M25/30d/35

06-

11-

10-

10-
OUTER L M14×1.5

SE-N657R D8520-6SA0A Pathfinder

Infiniti QX60

20-

20-
RH

M12X1.25

M16X1.5
SE-N657L D8640-6SA0A Pathfinder

Infiniti QX60

20-

20-
LH

M12X1.25

M16X1.5
SE-N921R D8520-1JB0A

D8520-1JB0B

ELGRAND(E52) 10-
OUT R

SE-N921L D8640-1JB0A

D8640-1JB0B

ELGRAND(E52) 10-
OUT L

SE-N941R D8520-4EA0A QASHQAI (J11E)

KADJAR RENAULT

14-

15-
OUT R

SE-N941L D8640-4EA0A QASHQAI (J11E)

KADJAR RENAULT

14-

15-
OUT L

SE-N991R D8520-6XJ0A NOTE 20- OUT R

SE-N991L D8640-6XJ0A NOTE 20- OUT L

CEN-126 D8520-AL525

48520-AL525

SE-350ZR

INFINITI G35 COUPE 03-07
OUTER R M14×1.5

CEN-127 D8640-AL585

48640-AL585

SE-350ZL

INFINITI G35 COUPE 03-07
OUTER L M14×1.5

CEN-136 48520-HA200 VANETTE 4WD 99- OUT R/L M14×1.5

SE-N631L D8640-1HK0A

CEN-145L

VERSA

VERSA NOTE

12-

14-
OUT L

SE-N631R D8520-1HK0A

CEN-145R

VERSA

VERSA NOTE

12-

14-
OUT R

CEN-146R D8520-3TA0A OUT R

CEN-146L D8640-3TA0A OUT L

CEN-149R D8520-1CA0B OUT R

CEN-149L D8640-1CA0B
OUT L



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

CEN-151 48520-1PA0A
OUT CEN-151

SE-7071 ES-2194R

MA-159984

MA-169614

MB-122781

MB-122782

MB-166982

MB-378704

TE-463L

CEM-1

STARION

GALANT

GALANT Σ,Λ

& ETERNA Σ,Λ

LANCER

LANCER VAN

LANCER-EX

LANCER-CELESTE

FORTE(L200)

82-

69-76

86-80

80-84

81-86

73-79

77-84

79-87

75-80

78-

86-

OUTER R/L

MALE LHT
M14×1.5

SE-7072 MA-159982

MA-169613

TE-464R

CEM-2

GALANT

LANCER

LANCER VAN

LANCER-CELESTE

69-76

73-79

77-84

75-80

INNER R/L

MALE RHT
M14×1.5

SE-7112R ES-2198L

MB-076004

MB-077664

MB-378702

TE-522L

CEM-4

GALANT Σ,Λ

& ETERNA Σ,Λ

LANCER-EX

76-80

80-83

81-86

79-87

80-86

INNER R

FEMALE LHT
M14×1.5

SE-7112L ES-2197R

MB-076003

MB-076663

MB-122779

MB-166980

MB-378701

TE-523L

TE-523R

CEM-5

STARION

GALANT Σ,Λ

LANCER-EX

FORTE(L200)

82-

76-80

80-84

81-86

79-87

78-

86-

INNER L

MALE LHT
M14×1.5

SE-7152R MB-122011

MB-122012

ES-2199R

CEM-6

FORTE(L200) 78-

86- INNER R

FEMALE RHT
M14×1.5

SE-8021 269-2524

56820-21000

56820-21100

56821-21000

ES-2171R

MB-006314

MB-006358

MB-076531

MB-166426

MB-185441

MB-315629

MT-142181

TE-552R

SE-7161

CEM-3R

LANCER-FIORE

MIRAGE

DELICA(L300)

MINICAB

82-83

80-83

68-82

80-84

OUTER R/L

FEMALE RHT
M14×1.5

SE-7162 MB-006315

MB-006359

MB-076532

MB-166427

MT-142182

MT-166426

TE-551L

CEM-3L

DELICA(L300)

MINICAB

68-82

80-84

INNER R/L

FEMALE LHT
M14×1.5

MITSUBISHI
TIE ROD END



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

SE-7163 MN-186124

MR-977606

JTE-420

Colt

Colt Ralliart Version R

02-

06- OUT R/L

SE-7164 4422A051

MN-161820

MN-150705

Eclipse

Endeavor (USA)

Galant

Lancer

Galant Fortis

Lancer Evolution X

06-

03-

06-

06-

03-

03-

OUT R/L

SE-7172R ES-2278R

ES-2482R

ES-2482L

MB-109858

MB-166592

MB-166981

MB-378703

TE-554L

CEM-8

GALANT Σ,Λ

& ETERNA Σ,Λ

LANCER-EX

80-84

81-86

83-87

IN R

SE-7211R 13501-13100

13501-13600

13527-28900

MC-805518

MC-810259

CEM-20R

FUSO TRUCK(4tons) 65-84

84-

R

MALE RHT
M22×1.5

SE-7211L 13501-13000

13501-13500

13527-28800

MC-810258

CEM-20L

FUSO TRUCK(4tons) 65-84

84- L

MALE LHT
M22×1.5

SE-7221R MC-891648

MW-033301

TE-561R

CEM-7R

CANTER 73-
R

MALE RHT
M20×1.5

SE-7221L MC-891647

MW-033300

TE-561L

CEM-7L

CANTER 73-
L

MALE LHT
M20×1.5

SEK-8031 48520-6A0A0

48520-6A00B

PW-510185

56820-00500

56820-02000

56820-02500

56820-28000

56821-28000

ES-2759

ES-2937RL

TE-729R

TE-730R

SE-7241

SE-7301

SE-7371

CEM-14

SE-7301

LANCER CEDIA

MIRAGE

LANCER-FIORE

& MIRAGE

ALNCER-FIORE

&MIRAGE

LANCER

FTO

PROTON PERSONA

PROTON WIRA

PROTON

PROTON SAGA

LANCER CEDIA WAGON

CLIPPER

LANCER/MIRAGE

00-

12-

83-85

86-

87-91

91-

95-

88-91

00-

94-

92-93

03-

00-03

03-05

95-

OUTER R/L

FEMALE RHT
M12×1.25

SE-7251 ES-2246L

MB-241171

MB-315775

MR-241032

SE-7771

CEM-39

CEM-9

PAJERO(MONTERO)

DELICA(L300) 4WD

FORTE(L200) 4WD

STRADA

82-

82-86

80-

86-

96-98

OUTER R/L

MALE LHT
M16×1.5



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

SE-7252 ES-2245R

MB-241206

MB-315776

MR-296274

CEM-10

PAJERO(MONTERO)

DELICA(L300) 4WD

FORTE(L200) 4WD

STRADA

82-

82-86

80-

86-

96-98

INNER R/L

MALE RHT
M16×1.5

SE-7261 ES-2347

ES-2906

MB-192430

MB-192499

MB-489434

MB-564991

MB-573885

MB-616286

MB-912519

TE-3612R

TE-615R

SE-7231

CORDIA,TREDIA

CARDIA,TREDIA 4WD

CHARIOT

CHARIOT 4WD

DELICA(L300)

DEBONAIR

GLANT Σ,Λ

& ETERNA Σ,Λ

GALANT

MINICAB

82-

84-

83-

96-

82-86

86-

86-

83-87

87-

84-

OUTER R/L

FEMALE RHT M14×1.5

SE-7262 MB-288119

TE-551R

TE-616L

CEM-13

DELICA(L300)

MINICAB

82-86

86-

84-

OUTER R/L

FEMALE LHT

OUT R/L

M14×1.5

SE-7281 MB241172 MINICAB 80-84 OUT R/L

SE-7282 MB241207 MINICAB 80-84 IN R/L

SE-7301 4422A027

4422A028

4422A054

4422A063

4422A070

4422A141

MB-241982

MB-489407

MB-527169

MB-597605

MB-598023

MB-910276

MR-465092

MR-476457

MR-535996

SE-7241

SE-7371

LANCER CEDIA

MIRAGE

LANCER-FIORE & MIRAGE

ALNCER-FIORE &MIRAGE

LANCER FTO

PROTON PERSONA

PROTON WIRA

PROTON

PROTON SAGA

LANCER CEDIA WAGON

CLIPPER

LANCER/MIRAGE

i(HA1W)

PAJERO MINI

DELICA MIN

00-

12-

83-85

95-

88-91

00-

94-

92-93

03-

00-03

03-05

95-

05-

98-

22-

OUT R/L

SE-7311 56872-43000

56872-43010

56872-47300

56872-4A000

56872-4A600

ES-3044RL

MB-527650

MB-864164

TE-715R

CEM-15

CEKH-9

GRACE

GRACE TOUR

STAREX

LIBERO

PORTER

87-93

93-03

97-07

00-

87-04 OUTER R/L

FEMALE RHT
M14×1.5

SE-7331 MB-347599

MR-162710

SE-7761

CEM-38

DELICA 92-
OUTER R/L

FEMALE RHT
M14×1.5

SE-7332 MB-347600

CEM-48

DELICA 92-
IN R/L

SE-7341L MC-805517

CEM-17L

FUSO TRUCK 84-
L

SE-7361R MB-162811

CEM-18R

CANTER 85- R

MALE LHT
M20×1.5



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

SE-7361L MB-162810

CEM-18L

CANTER 85- L

MALE LHT
M20×1.5

SE-7721 ES-3386RL

MB-296275

MB-831043

MR-296275

TE-976

CEM-27

PAJERO

MONTERO

STRADA

90-

98-

96-98 OUTER R/L

MALE LHT
M16×1.5

SE-7722 ES-3387RL

MC-831044

CEM-28

PAJERO 90- INNER R/L

MALE RHT
M16×1.5

SE-7731 MB-564855

CEM-25

PICK UP 2WD 89-
MALE LHT M16×1.5

SE-7732 MB-564553

MB-564853

MR-241031

TE-3723

PICK UP 2WD

STRADA

89-

96-98 MALE RHT M16×1.5

SE-7741R MC-806271

MK-309051

FUSO  88- R

SE-7741L MC-806270

MK-309050

FUSO 88-
L

SE-7761

(SE-7331)

MR-162710

MB-347599

L300

L400

94-

96-
R/L

SE-7781R MR-319390

MR-319876

CEM-50R

ADVENIURE

KUDA

FREECA

JOLIE

98-

OUTER R

SE-7781L MR-267445

MR-319875

CEM-50L

ADVENIURE

KUDA

FREECA

JOLIE

98-

OUTER L

SE-7831R MC-891398

MC-891913

ML-106243

MK-309192

MK-309712

MK-384673

MK-997629

CEM-53

CANTER 95/4-

96/4-

98/2-

98/7-

99/3-

R

MALE RHT
M22×1.5

SE-7831L MC-891397

MC-891912

ML-106242

MK-309191

MK-309711

MK-384672

MK-997628

MK-997638

CEM-54

CANTER 95/4-

96/4-

98/2-

98/7-

99/3-
L

MALE LHT
M22×1.5

SE-7841R 4422A010

MR-508136

CEM-51R

PAJERO

MONTERO

TRITON 4WD

99-

01-03

05-

OUTER R M16×1.5

SE-7841L 4422A009

MR-508135

CEM-51L

PAJERO

MONTERO

TRITON 4WD

99-

01-03

05-

OUTER L M16×1.5

SE-7891R MC-891911

MK-384668

MK-996333

MK-997509

ML-106235

ML-309710

CEM-57

48520-HJ00B

CANTER

CANTER

N450 ATLAS

93-

98/10-

13-

OUT R M20×1.5



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

SE-7891L MC-891910

MK-384667

MK-996332

MK-997508

ML-106234

MK-309709

CEM-58

48520-HJ00A

CANTER

CANTER

N450 ATLAS

93-

98/10-

13-

OUT L M20×1.5

SE-7893R MK-526773 CANTER(FB6、FE5、FE6) 93- OUT R

SE-7893L MK-526772 CANTER(FB6、FE5、FE6) 93- OUT L

SE-7921 MK-363168

MK-363169

MC-117897

MC-118044

CANTER 99-02

R/L

SE-7922 MK-384330 CANTER (FB70BB) 03-06 R/L

SE-7931R MC-832323

MK-428158

CANTER 90-93
R

SE-7931L MC-832322

MK-428157

CANTER 90-93
L

SE-7941 4422A008T

4422A016

CEM-62

TRITON

ZINGER

05-

06- OUTER R/L

SE-B011 4422A018

4422A002

4422A052

MR-491380

MR-548285

MN-161077

MR-508650

381774

CEM-49

CEM-59

CEM-64

OUTLANDER

OUTLANDER USA

GALANT FORTIS

AIRTREK

RVR

ASX

GRANDIS

LANCER (G.EXP)

05-

07-

07-

01-

10-

10-

03-

17-

OUTER R/L M14×1.5

SE-B321R 4422A146

4422A128

SE-B012R

XPANDER

LIVINA

17-

19- OUT R

SE-B321L 4422A145

4422A127

SE-B012L

XPANDER

LIVINA

17-

19- OUT L

SE-B021R PW-895007 SAGA(BT3) 08- OUT R

SE-B021L PW-895006 SAGA(BT3) 08- OUT L

SE-B041R 4422A038

CEM-60

PAJERO 06-
OUT R

SE-B041L 4422A037

CEM-61

PAJERO 06-
OUT L

SE-B141R 4422A097

SE-7841R

TRITON

L200

15-

15-
OUT R

SE-B141L 4422A096

SE-7841L

TRITON

L200

15-

15-
OUT L

SE-B211 4422A051 LANCER EVOLUTION 07- OUT R/L

SE-B261 4422A110 TRITON (KJ3T) 15- OUT R/L

SE-B263R PW990670  IRIZ PERSONA II 13- OUT R

SE-B263L PW990669  IRIZ PERSONA II 13- OUT L

SE-B381R 48520-W020P

4422A166

OUTLANDER PHEV 21-
OUT R

SE-B381L 48640-W020P

4422A165

OUTLANDER PHEV 21-
OUT L

SE-B391R MK363170 CANTER 00- OUT R

SE-B391L MK363171 CANTER 00- OUT L

SE-S141 MQ-501111

48810-54M00

DELICA D:2

SOLIO

11-

10-
OUT R/L

CEM-29 91243-15301 LIFT TRUCKS MALE RHT M20×1.5

CEM-30 91243-15701 LIFT TRUCKS MALE LHT M20×1.5



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

CEM-31 91255-10800 LIFT TRUCKS MALE RHT M18×1.5

CEM-32 91255-04600 LIFT TRUCKS MALE RHT M22×1.5

CEM-33 97854-10020

(CDM-9)

LIFT TRUCKS
MALE RHT M22×1.5

CEM-34 91843-51200 LIFT TRUCKS MALE LHT M22×1.5

CEM-36 91243-21100 LIFT TRUCKS MALE RHT M20×1.5

CEM-37 91243-31200 LIFT TRUCKS MALE LHT M20×1.5

CEM-40 5241623-08 KOMATSU FORKLIFT MALE RHT M22×1.5

CEM-41 5241623-09 KOMATSU FORKLIFT MALE LHT M22×1.5

CEM-42R 34C-24-11600

3ED-24-11210

KOMATSU FORKLIFT
MALE RHT M24×1.5

CEM-42L 34C-24-11700

2ED-24-11200

KOMATSU FORKLIFT
MALE LHT M24×1.5

CEM-44R 34B-24-11600 KOMATSU FORKLIFT MALE RHT M20×1.5

CEM-44L 34B-24-11700 KOMATSU FORKLIFT MALE LHT M20×1.5

CEM-45R 3EC-24-11600 KOMATSU FORKLIFT MALE RHT M22×1.5

CEM-45L 3EC-24-11700 KOMATSU FORKLIFT MALE LHT M22×1.5

CEM-46R 9025064-01 KOMATSU FORKLIFT MALE RHT M20×1.5

CEM-46L 9025064-02 KOMATSU FORKLIFT MALE LHT M20×1.5

CEM-47R 9005403-01

9005403-02

KOMATSU FORKLIFT
MALE RHT M20×1.5

CEM-47L 9005403-03

9005403-04

KOMATSU FORKLIFT
MALE LHT M20×1.5

CEM-49 MR-508650

MR-548285

GALANT

ECLIPSE

STSRTUS(DODGE)

SEBRING(CHRYSLER)

LANCER

OUTLANDER

99-

00-

01-

01-

03-

03-

FEMALE RHT M12×1.25

CEM-52 MB-584200 3000GT 95-99 REAR R/L M12×1.25

CEM-55 MB-910859 3000GT 98- OUTER R/L M14×1.5

CEM-56 MN-150705

MN-161820

ENDEAVOR

ECLIPSE

04-

06-
OUTER R/L M14×1.5

CEM-63 4422A070

SE-1091 0603-99-324

060399-325

2541-99-324A

3874-99-324

D27Z-3A131A

D77Z-3A131A

ES-2073L

TE-192L

CEMZ-2

PROCEED(COURIER)

       (B1600,B1800)

       (B2000,B2200)

BONGO

65-80

68-77 OUTER R/L

MALE LHT
M16×1.5

SE-1092 0603-99-322

0603-99-323

2541-99-322A

3874-99-322

D27Z-3A130A

D77Z-3A130A

ES-2074R

TE-191R

CEMZ-1

PROCEED(COURIER)

       (B1600,B1800)

       (B2000,B2200)

BONGO

65-80

68-77 INNER R/L

MALE RHT
M16×1.5

SE-V850R 271598

CEVO-3

VOLVO 850/940/960

VOLVO S90

VOLVO V70

92-98

96-98

96-02

OUT R

MAZDA
TIE ROD END



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

SE-V850L 271599

CEVO-4

VOLVO 850/940/960

VOLVO S90

VOLVO V70

92-98

96-98

96-02

OUT L

SE-3W1ZR 3W1Z3A130BA

ES-3693

FORD CROWN VICTORIA

LINCOLN TOWN CAR

03-11

03-10
OUT R

SE-3W1ZL 3W1Z3A130BB

ES-3694

FORD CROWN VICTORIA

LINCOLN TOWN CAR

03-11

03-10
OUT L

DEG-1R 9005918 CHEVROLET SAIL 05-09 R

DEG-1L 9005917 CHEVROLET SAIL 05-09 L

SE-409L ES409L CHEVROLET C10/20/30 71-74 L

SE-2019R ES2019L GMC SIERRA 2500 04 R

SE-2019L ES2019R GMC SIERRA 2500 04 L

SE-2020R ES2020R CHEVROLET TRUCK 73-98 R

SE-2020L ES2020L CHEVROLET TRUCK 73-98 L

SE-2033R ES2033R CHEVROLET BLAZER 95- R
SE-2033L ES2033L CHEVROLET BLAZER 95- L
SE-2034R ES2034R CHEVROLET MAILBU 78-83 R

SE-2034L ES2034L CHEVROLET MAILBU 78-83 R

SE-2057 ES2057 FORD TRUCK 86-97 R/L
SE-3379 ES3379 FORD SCORPIO 2.9 85-94 R

SE-3380 ES3380 FORD SCORPIO 2.9 85-94 L

SE-800473 ES800473 FORD EDGE 07-14 R

SE-800474 ES800474 FORD EDGE 07-14 L

SE-1653R YS4Z-3A130AA FORD FOCUS 00-03 R

SE-1653L YS4Z-3A130AB FORD FOCUS 00-03 L

SE-2153R ES2153R FORD TEMPO 90-94 R

SE-2153L ES2153L FORD TEMPO 90-94 L

SE-2072R ES2072

1693300503

BENZ A180 W169 04
R

SE-2072L 1693300603 BENZ A180 W169 04 L

SE-2216R ES2216R CHEVROLET CAVALIER

BUICK SKYHAWK

03-89

02-90
R

SE-2216L ES2216L CHEVROLET CAVALIER

BUICK SKYHAWK

03-89

02-90
L

SE-3095R ES3095R JEEP SUV 91-06 R

SE-3095L ES3095L JEEP SUV 91-06 L

SE-3238 ES3238 BUICK RIVIERA 92-96 R/L

SE-3365 ES3365 FORD F150/250 97-04 R/L

SE-4050 324050 OPEL CORSA 93-97 R/L

SE-4055R 324055 OPEL ASTRA 98-05 R

SE-4056L 324056 OPEL ASTRA 98-05 L

SE-S150R ES150R FORD P300/400/500 77- R

SE-S150L ES150L FORD P300/400/500 77- L

SE-S387R ES387R FORD MUSTANG 69-73 R

SE-S387L ES387L FORD MUSTANG 69-73 L

SE-S419R ES419R VW BEETLE 67-75 R

SE-S419L ES419L VW BEETLE 67-75 L

SE-1191R DG9Z-3A130A FORD FUSION 13-18 OUT R

SE-1191L DG9Z-3A130B FORD FUSION 13-18 OUT L

SE-1131 0662-993-24

CEMZ-23

FAMILIA TRUCK 68-71
OUTER R/L

SE-1132 0662-99-322

CEMZ-24

FAMILIA TRUCK 68-71
IN R/L

SE-1134 0483-99-322

0662-32-240A

0662-99-322A

2113-99-322

0662-99-322A

2469-99-322

TE-505R

CEMZ-7

FAMILIA PRESTO

FAMILIA TRUCK

72-75

71-76

IN R/L

SE-1151 52088511 JEEP CHEROKEE 52-18 OUT SE-1151

SE-1161 52088461 JEEP GRAND CHEROKEE 52-18 OUT SE-1161

SE-1169 52088869AA JEEP GRAND CHEROKEE 99-04 OUT SE-1169



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

SE-1170 52088870AA JEEP GRAND CHEROKEE 99-04 OUT SE-1170

SE-1178R 68543865AA JEEP GRAND CHEROKEE 21- OUT R

SE-1178L 68543867AA JEEP GRAND CHEROKEE 21- OUT L

SE-2249 ES-2249 CHEVROLET
SE-1181 0223-99-324

0223-99-325

2958-99-324

TE-443L

TE-444L

LUCE

BONGO

68-73

68-77 OUT R/L

SE-1182 0223-99-322

0223-99-323

2958-99-322

TE-445R

TE-446R

LUCE

BONGO

68-73

68-77

IN R/L

SE-1191 0305-32-280A

0305-99-324

0305-99-324A

0483-99-324

2113-99-324

2370-99-324

2469-99-324

TE-479L

CEMZ-3

CAPELLA

CAPELLA-RE

FAMILIA PRESTO

FAMILIA TRUCK

70-74

70-74

70-75

71-76 OUT R/L

SE-1192 0305-99-322

0305-99-322A

2370-99-322

CEMZ-13

CAPELLA

CAPELLA-RE

FAMILIA PRESTO

70-74

70-74

70-72
IN R/L

SE-1211 0866-99-324

0866-99-324A

0866-99-324B

1177-99-324

1177-99-324A

1524-99-324

4084-99-324A

4084-99-324B

8531-99-324

ES-2133L

TE-514L

SE-1281

CEMZ-6

LUCE

LUCE-RE

SAVANNA(RX-3)

GRAND FAMILIA

(808,818)

CAPELLA(626)

FAMILIA(GLC)

72-74

72-74

71-75

71-75

78-82

76-85
OUTER R/L

FEMALE LHT
M14×1.5

SE-1212 0866-99-322

0899-99-322

1524-99-322

3625-99-322

CEMZ-5

CAPELLA(616,618)

CAPELLA-RE(RX-2)

SAVANNA(RX-3)

GRAND FAMILIA

(808,818)

74-75

74-75

71-75

71-75

IN R/L

IN R/L

SE-1214 BK213289AA TOURNEO 14 R/L

SE-1221R 0559-99-322

CEMZ-4R

TITAN 71-77
R

SE-1221L 0559-99-323

CEMZ-4L

TITAN 71-77
L

SE-1251 1175-99-324A

ES-2405L

CEMZ-15

LUCE(929,929L)

LUCE-RE(RX-4,RX-9)

COSMO

COSMO-RE

SAVANNA(RX-3)

GRAND FAMILIA

(808,818)

74-81

74-81

75-81

75-81

75-77

75-78

OUTER R/L

FEMALE LHT
M14×1.5



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

SE-1252 1175-99-322A

8038-99-322

ES-2406R

CEMZ-16

LUCE(929,929L)

LUCE-RE(RX-4,RX-9)

COSMO

COSMO-RE

CAPELLA(616,618)

CAPELLA-RE(RX-2)

SAVANNA(RX-3)

GRAND FAMILIA

(808,818)

74-81

75-81

75-81

75-77

75-77

75-77

75-78

INNER R/L

FEMALE RHT
M14×1.5

SE-1261 1269-99-324 CAPELLA(616,618)

CAPELLA-RE(RX-2)

75-77

75-77
OUT R/L

SE-1271 8021-99-324

ES-2355

ES-2400L

CEMZ-14

SAVANNA(RX-7)

FAMILIA PRESTO

FAMILIA TRUCK

78-85

75-76

76-79
OUT R/L

SE-1281 8531-99-324 CAPELLA(626) 80-82 OUT SE-1281

SE-1282 8021-99-322

8531-99-322

CAPELLA(626)

SAVANNA RX-7

80-82

75-85

INNER R/L

FEMALE RHT M14×1.5

SE-1322 8173-99-322

ES-2182R

TE-568R

CEMZ-19

CAPELLA(626) 78-80

IN R/L

SE-1331 1391-99-324

TE-592L

CEMZ-8

BONGO 77-80 OUTER R/L

FEMALE LHT
M14×1.5

SE-1332 1391-99-322

8AH1-32-280

ES-2281R

G351-32-280

H001-99-324

TE-593R

TE-678R

(SE-1381)

BONGO

LUCE(929,929L)

LUCE-RE(RX-9)

COSMO

COSMO-RE

CAPELLA(626)

&TELSTAR(FORD)

77-80

81-86

86-

81-86

86-

81-

81-

82-87

87-

87-

INNER R/L

FEMALE RHT

OUTER R/L

M14×1.5

SE-1341R 1363-99-322

TE-606R

W023-99-322

CEMZ-10R

TITAN 77-80

80-

R

MALE RHT
M18×1.5

SE-1341L 1363-99-323

TE-606L

W023-99-323

CEMZ-10L

TITAN 77-80

80-

L

MALE LHT
M18×1.5

SE-1351 B001-99-324

B001-99-325

B037-99-324

ES-2353

ES-2354

ES-2401MR

TE-562L

TE-562R

(SE-1351R)

(SE-1351L)

CEMZ-18

FAMILIA(323)

& LASER(FORD)

80-85

OUTER R/L

FEMALE RHT
M12×1.25

SE-1371 E17Z-3A131A

TE-590L

UA01-99-324

CEMZ-20

PROCEED(COURIER)

(B1600,B1800)

(B2000,B2200)

80- 
OUTER R/L

FEMALE LHT
M14×1.5



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

SE-1372 E17Z-3A130A

E17Z-3A130B

ES-2362

ES-2416R

ES-2995RL

TE-589R

UA01-99-322

UA01-99-323

UB39-99-322

CEMZ-21

PROCEED(COURIER)

(B1600,B1800)

(B2000,B2200)

PROCEED(COURIER)

(B1600,B2000,B2200)

80-

80-87
INNER R/L

FEMALE RHT
M14×1.5

SE-1381 8AH1-32-280

H001-99-324

ES-2281R

MAZDA 929

B2200

-2-18
OUT SE-1381

SE-1515 8AG1-32-280 MAZDA 626 28-18 OUT SE-1515

SE-1S71 1S713289AA

1S7C3290AB

1S7J3290BB

21849

1138313

1138314

4118933

4118934

50921849

FORD METROSTAR 03-

OUT S71

SE-1411 OK710-32-240

S083-99-324

48520-025

48520-051

48520-052

ES-2481

TE-579

CEMZ-11

BONGO

BESTA

NISSAN VANETTE

86-

83-

94-
OUTER R/L

FEMALE RHT
M14×1.5

SE-1433R 1433273 FORD MONDEO 4 08- OUTER R

SE-1433L 1433274 FORD MONDEO 4 08- OUTER L

SE-1441 8AB1-32-280

8AB1-99-280

8AG1-32-280

ES-2827RL

KB092-32-280

KB093-32-280

KKY01-32-280

MB092-32-280

TE-3624R

TE-733R

SE-1515

CEMZ-25

CEMZ-30

CEKK-11

FAMILIA(323,GLC)

& LASWER(FORD)

FAMILIA,LASER 4WD

PRIDE(KIA)

84-

85-

85-

OUTER R/L

FEMALE RHT
M12×1.25

SE-1461 8AS1-32-240

8AS1-32-240A

S231-32-240A

48520-HC425

48520-HC426

48520-HC427

CEMZ-39

BONGO 4WD

VANETTE 4WD

84-

94-

OUTER R/L M14×1.5

SE-1521 ES-2361

ES-2415L

UB39-99-324

UH71-32-280

CEMZ-26

PROCEED(COURIER)

(B1600,B2000)

(B2200,B2500)

(B2600,B2900)

RANGER(FORD) 2WD

84-

02-

95-

OUTER R/L

FEMALE LHT
M14×1.5



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

SE-1532 8AU2-32-270

ES-2992RL

UH74-32-250

CEMZ-28

PROCEED(COURIER)

(B1600,B2000)

(B2200,B2500)

(B2600,B2900)

RANGER(FORD)

87-

02-

98-

INNER R/L

FEMALE RHT
M14×1.5

SE-1541 8AU1-32-280

ES-2996R

TE-3667L

UH74-32-280

CEMZ-29

PROCEED(COURIER) 4WD

(B2200,B2500)

(B2600,B2900)

RANGER(FORD) 4WD

87-

02-

98-

OUTER R/L

FEMALE LHT
M14×1.5

SE-1551 56820-07000

8AB2-32-280

B455-32-280

ES-3251RL

F4BZ-3A130-A

K9992-11-201

MDX50-32-280

TE-840

CEMZ-34

CEKK-12

CEF-22

FAMILIA (323)

RIO

AVELLA

89-

OUTER R/L

FEMALE RHT
M12×1.25

SE-1555 5143555AC COMMANDER

GRAND CHEROKEE

05-

06-10
OUT SE-1555

SE-1556 5143556AC COMMANDER

GRAND CHEROKEE

05-

06-10
OUT SE-1556

SE-1561 8AG3-32-280

8AG4-32-280

F02Z-3A130A

GA2A-32-280A

SE-1591

CEMZ-32

CEMZ-33

CAPELLA(626)

CRONOS

89-91

98-02

91- OUTER R/L

FEMALE RHT
M14×1.5

SE-1841 EC01-32-280A USA TRIBUTE 00- OUT SE-1575

ES-3173R/L 4762861AA PT CRUISER 00-12 OUT R/L M14X1.5

EV-404 68039889AA PT CRUISER 00-12
IN R/L

M14X1.5

M14X1.5
SE-1581 8AL1-32-280

LA01-32-280

CEMZ-35

MPV 89- OUTER R/L

FEMALE RHT

M16×1.0

M14×1.5

SE-1591 BJ5P-32-280

GA2A-32-280A

8AG4-32-280

MAZDA 323

MAZDA 626

BONGO

CAPELLA

FAMILIA

MPV

MX6

98-04

97-02

95-05

88-02

98-03

99-06

91-98

OUTER R/L

FEMALE RHT

SE-1601 6C11-3289AA

1763989

BK21-3289AA

GK29-3289AA

FORD TRANSIT

FROD TOURNEO

12-

14- OUTER R/L

SE-1605 9014600048 BENZ SPRINTER 90-18 OUTER R/L

SE-1606 0003300335

0003300635

0003382410

0004633227

0003308535

0004607248

BENZ G-CLASS (W463)

G320

G500

G55 AMG

94-07

OUT R/L

SE-1608 1138313 FORD MONDEO III 07- OUTER R/L

SE-1618 1202317 FORD TRANSIT 00- OUTER R/L

SE-1611 BB5Z-3A-130B FORD EXPLORER 11-17
SE-1631R G26A-32-280

GJ6E-32-280

GJ6E-32-280A

CEMZ-41

ATENZA

MAZDA6

02-

03- OUTER R M14×1.5



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

SE-1631L G26A-32-290

GJ6E-32-290

GJ6E-32-290A

CEMZ-42

ATENZA

MAZDA6

02-

03- OUTER L M14×1.5

SE-1633R 6E5Z-3280AAR FORD ESCAPE M7

FORD FOCUS AU

TRANSIT CONNECT

06-08

04-12

07-

OUTER R

SE-1633L 6E5Z-3280AAL FORD ESCAPE M7

FORD FOCUS AU

TRANSIT CONNECT

06-08

04-12

07-

OUTER L

SE-7G1Z 7G1Z-5A757AB

LG101924

FORD ECO SPORT 09-
OUT R/L

SE-1216A LG141216-1 FORD EXPLORER 06- OUT R/L

SE-1522 UB39-99-322 PROCEED(COURIER)

(B1600,B1800)

(B2000,B2200)

PROCEED(COURIER)

(B1600,B2000,B2200)

80-

80-87

OUT 

SE-1618 1202317(MK5) FORD FOCUS MK5 05- OUT R/L

SE-T001R T001-32-280 MAZDA XEDOS 9 93-03 OUT R

SE-T001L T001-32-290 MAZDA XEDOS 9 93-03 OUT L

SE-1706 4797706 CHRYSLER VOYAGER II 95-01 OUTER R/L

SE-1711R JX6C-3C4367AA

2194042

FOCUS 18-
OUT R

SE-1711L JX6C-3C4237AA

2194040

FOCUS 18-
OUT L

SE-1822R DA8A-32-280 MAZDA 2 16- OUTER R

SE-1822L DA8A-32-290 MAZDA 2 16- OUTER L

SE-1891R GHT2-32-280

D09H-32-280

SE-1634R

MAZDA6

MAZDA3

DEMIO

15-

15-

14-

OUTER R M14×1.5

SE-1891L GHT2-32-290

D09H-32-290

GJR9-32-290

SE-1634L

MAZDA6

MAZDA3

DEMIO

15-

15-

14-
OUTER L M14×1.5

SE-M041R F151-32-280

SE-RX8R

MAZDA RX8

MAZDA RX8

03-08

08-12
OUTER R

SE-M041L F151-32-290

SE-RX8L

MAZDA RX8

MAZDA RX8

03-08

08-12
OUTER L

SE-M071R D350-32-280

D350-32-280A

MAZDA2

DEMIO

VERISA

02-07

03-08

06-

R M14X1.5

SE-M071L D350-32-290

D350-32-290A

MAZDA2

DEMIO

VERISA

02-07

03-08

06-

L M14X1.5

SE-M131R DA8A-32-280

DA8A-32-280A

MAZDA2(DJ) 14-
OUTER R

SE-M131L DA8A-32-290

DA8A-32-290A

MAZDA2(DJ) 14-
OUTER L

SE-M231R BDTS-32-280

SE-1892R

MAZDA3 19-
OUT R M14×1.5

SE-M231L BDTS-32-290

SE-1892L

MAZDA3 19-
OUT L M14×1.5

SE-M241R GBEF-32-280 MAZDA 6 19- OUT R

SE-M241L GBEF-32-290 MAZDA 6 19- OUT L

SE-M261R GS3L-32-280 MAZDA 6(GH1) 09- OUT R M14X1.5

SE-M261L GS3L-32-290 MAZDA 6(GH1) 09- OUT L M14X1.5

SE-1641 ZZPO-32-365A

5L5Z3A130AA

CEMZ-50

PICK UP

(FORD)RANGER

98-05

01-05

06-

OUTER R/L M14×1.5

SE-1651R BP4L-32-280

48520-HA00A

CEMZ-45

MAZDA AXELA

MAZDA 3

03-

04-10

09-

OUTER R M17×1.5



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

SE-1651L BP4L-32-290

48521-HA00B

CEMZ-46

MAZDA AXELA

MAZDA 3

03-

04-10

09-

OUTER L M17×1.5

SE-1655L 3M51-3289AC FORD FOCUS 04- OUT L

SE-1655R 3M51-3290AC FORD FOCUS 04- OUT R

SE-1657R 7G91-3289AB

6G91-3289AB

1433273

FORD GALAXY

FORD MONDEO

FORD S-MAX

LAND ROVER FREELANDER

VOLVO S80

VOLVO V70

06-13

07-13

06-13

06-13

06-13

06-13

R M18X1.5

SE-1657L 7G91-3290AB

6G91-3290AB

1433274

FORD GALAXY

FORD MONDEO

FORD S-MAX

LAND ROVER FREELANDER

VOLVO S80

VOLVO V70

06-13

07-13

06-13

06-13

06-13

06-13

R M18X1.5

SE-1671 S47S-32-280

CEMZ-51

BONGO 07-
OUTER R/L

SE-1721 UR56-32-280

CEMZ-62

BT-50 2WD 56-18 OUT SE-1721

SE-1722 UR56-32-250

CEMZ-61

BT-50 2/4WD 07-
INNER RHD

SE-1731 UR61-32-280

CEMZ-63

BT-50 4WD 07-
OUTER RHD

SE-1751R D521-32-280B

CEMZ-55

DEMIO 05-
OUT R

SE-1751L D521-32-290B

CEMZ-56

DEMIO 05-

OUT L

SE-1771R TD11-32-280

TD11-32-280A

EG21-32-280

EG21-32-280A

EG21-32-280B

L206-32-280

CEMZ-54

CX-9

CX-7

MPV

07-

07-

05-
OUT R

SE-1771L TD11-32-290

TD11-32-290A

EG21-32-290

EG21-32-290A

EG21-32-290B

L206-32-290

CEMZ-53

CX-9

CX-7

MPV

07-

07-

05-

OUT L

SE-1791L GS1D-32-290

CEMZ-58

MAZDA 6 07-
OUT L

SE-1791R GS1D-32-280

CEMZ-57

MAZDA 6 07-
OUT R

SE-1801R D651-32-280

D653-32-280

D651-32-280

CEMZ-59

MAZDA 2

DEMIO

07-

11-

11-
OUT R

SE-1801L D651-32-290

D653-32-290

D651-32-290

CEMZ-60

MAZDA 2

DEMIO

07-

11-

11-
OUT L

SE-M101 TK48-32-280A

SE-1812

CX-9

CX-8(KG5P)

18-

18-
OUT R/L



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

SE-1861 KD31-32-280

CEMZ-64

CX-5 10-
OUT R/L

SE-1862 D10E-32-280

SE-M031

CEMZ-68

CX-3 15-
OUT R/L

SE-M091 K123-32-280

CEMZ-76

CX-5 17-
OUT R/L M14X1.5

SE-M016L BP4K-28-101 MAZDA 3 04- R

SE-M016L BP4K-28-105 MAZDA 3 04- L

SE-1901R K670-32-240

CEKK-6

CERES(KIA) 90-
R 

SE-1901L K670-32-280

CEKK-5

CERES(KIA) 90-
L

SE-1921R ES-3486

OK011-32-291A

KIA

SPORTAGE

93-
OUTER R 

SE-1921L ES-3487

OK011-32-271A

KIA

SPORTAGE

93-
OUTER L

SE-1922R ES-3484

OK011-32-250A

OK011-32-292A

KIA

SPORTAGE

93-
INNER R 

SE-1922L ES-3485

OK011-32-240A

OK011-32-272A

KIA

SPORTAGE

93-
INNER L

SE-7561 48810-60810

48810-61J00

48810-60J00

48810-63J00

48810-58JA0

48520-4A0A1

48520-4A00A

1A04-32-280

48810M68K00

48810-68K00

CES-22

MQ-505862

MQ-512969

SWIFT

APV

WAGON R

SWIFT SPORT

MOCO(MAZDA)

CAROL(MAZDA)

ALTO

MINICAB

SCRUM TRUCK

04-

05-

04-

08-

03-

05-

08- OUTER R/L M12X1.25

SE-9421 E112-32-280 ESCAPE(FORD) 2.3

TRIBUTE

06-

03-
OUTER R/L

SE-9925R WG9925430200 HOWO 10- RH M30X1.5R

SE-9925L WG9925430100 HOWO 10- LR M30X1.5L

SE-M081R UC2M-32-280 RANGER 2W 13- OUT R M14×1.5

SE-M081L UC2M-32-290 RANGER 2W 13- OUT L M14×1.5

SE-M083R UC2N-32-280

AB313289BA

1727227

SE-UC2MR

FORD RANGER

FORD EVEREST

MAZDA BT50

13-

15-

13-
OUTER R M14×1.5

SE-M083L UC2N-32-290

AB313290BA

1729241

SE-UC2MR

FORD RANGER

FORD EVEREST

MAZDA BT50

13-

15-

13-
OUTER L M14×1.5

CEMZ-17 1907-99-324A

1907-99-324

CAPELLA(616,618)

CAPELLA-RE(RX-2)

74-75

74-75
OUTER R/L

CEMZ-36 8AL2-32-280 MPV 4WD 92-98 OUTER R/L

FEMALE RHT
M14×1.5

CEMZ-37 0647-32-510A LIFT TRUCKS 51-18 MALE LHT M20×1.5

CEMZ-38 0647-32-450 4WD TRUCK 00- MALE RHT M18×1.5

CEMZ-40 YL8Z-3A130-GA TRIBUTE,ESCAPE(FORD) 01- FEMALE RHT M16×1.5

CEMZ-43 F151-32-280 RX-8 04- OUTER R M14×1.5

CEMZ-44 F151-32-290 RX-8 04- OUTER L M14×1.5

CEMZ-47 T001-32-280 MILLENIA 95-97 OUTER R M14×1.5

CEMZ-48 T001-32-290 MILLENIA 95-97 OUTER L M14×1.5



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

SE-1143 NA01-32-280

8AN1-32-280

CEMZ-49

SE-NA01

MIATA

MX-5

May-90

OUTER R/L M12×1.25

CEMZ-52 NE51-32-280A (MX-5)MIATA 06- OUTER R/L

SE-1803R 8V51-3C437AA ECOSPORT 12- OUT R

SE-1803L 8V51-3C367AA ECOSPORT 12- OUT L

CEMZ-65R GHT2-32-280 MAZDA 6 15- OUT R

CEMZ-65L GHT2-32-290

GJR9-32-290

MAZDA 6 15-
OUT L

SE-M022R DE90-32-280

DD32-32-280

2S6J-3289AC

1202548

MAZDA2

FIESTA V

FIESTA VAN

FCUSIO

02-07

01

03-

04-

OUT R M14×1.5

SE-M022L DE90-32-290

DD32-32-290

2S6J-3290AC

1202549

CEMZ-66L

MAZDA2

FIESTA V

FIESTA VAN

FCUSIO

02-07

01

03-

04-

OUT L M14×1.5

SE-1147 N243-32-280

CEMZ-69

MAZDA MX-5 15-
OUT R/L

SE-6011 53560-679-004

53560-SC2-003

53560-SC2-004

TN ACTY

TN ACTY 4WD

79-85

83-85
IN R/L

OUT R/L

SE-6021 269-2430

53540-611-010

53540-659-003

53540-679-004

53540-SA0-003

53540-SA2-003

53540-SB0-003

53540-SB2-003

53540-SB2-013

53540-SC2-003

53540-SC2-004

ES-2095R

TE-681R

CEHO-1

ACCORD

VIGOR

PRELUDE

QUINT

QUINT INTEGRA

BALLADE

CR-X

CIVIC

CITY

TODAY

TN ACTY

TN ACTY 4WD

76-

81-

78-87

80-85

85-

80-86

83-87

72-87

81-86

84-86

85-

79-85

83-85

83-

OUTER R/L

FEMALE RHT

M12×1.25

SE-6121R 53540-SC2-901 TN ACTY

TN ACTY 4WD

85-

85-

OUT R/L

IN R/L
SE-6121L 53560-SC2-901 TN ACTY

TN ACTY 4WD

85-

85- IN R/L

OUT R/L

SE-6131R 34-ES-3447

53540-SD4-003

ES-2811R

TE-850

CEHO-5R

LEGEND 85-

OUTER R

FEMALE RHT
M12×1.25

SE-6131L 34-ES-3446

53560-SD4-003

ES-2812L

TE-852L

CEHO-5L

LEGEND 85-

OUTER L

FEMALE LHT
M12×1.25

HONDA
TIE ROD END



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

SE-6161 53540-SF1-004

ES-2942

CEHO-9

PRELUDE 87-

87- OUTER R/L

FRONT

FEMALE RHT

M12×1.25

SE-6165 53550-SF1-004

ES-2945

CEHO-10

PRELUDE 87- OUTER R/L

REAR

FEMALE RHT

M14×1.5

SE-6171R 53540-S04-003

53540-S04-013

53540-SH0-A01

53540-SH3-003

53540-SH3-013

53540-SR0-A01

53540-SR3-003

53540-ST7-003

ES-2943

ES-2944

ES-3331R

TE-575R

TE-781R

SE-6191R

CEHO-3R

CEHO-8R

CR-X

CIVIC

ACCORD

87-

87-

97-

OUTER R

FEMALE RHT
M14×1.5

SE-6171L 53560-S04-003

53560-S04-013

53560-SH3-003

53560-SH3-013

53560-SR0-A01

53560-SR3-003

53560-ST7-003

ES-2946

ES-2947

ES-3332R

TE-576L

TE-619L

TE-718L

SE-6191L

CEHO-3L

CR-X

CIVIC

ACCORD

87-

87-

97-

OUTER L

FEMALE LHT
M14×1.5

SE-6181R 53540-S84-A01

53540-SM4-003

53540-SM4-004

ACCORD

ODYSSEY

INSPIRE

94-

94-99

98-

OUTER R

FEMALE RHT
M14×1.5

SE-6181L 53560-S84-A01

53560-SM4-003

53560-SM4-004

ACCORD

ODYSSEY

INSPIRE

94-

94-99

98-

OUTER L

FEMALE LHT
M14×1.5

SE-6231 53540-SX8-N00

53540-SX8-N01

53540-SX8-T01

53540-S2K-003

SE-6233

SE-6261

CEHO-12

CITY

LOGO

96-98

99-02

OUTER R/L

FEMALE RHT

M12×1.25

SE-6241 53541-S5A-003

CEHO-13

CIVIC

CIVIC FERIO

CR-V

00-

01-

OUTER R/L

FEMALE RHT
M14×1.5

SE-6242 53541-S5A-B11 CRV -II

CIVIC II

00-

01-

OUTER R/L

FEMALE RHT
M14×1.5



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

SE-6271 53541-S7A-003

53540-S9A-003

53542-SCV-A01

SE-H321

CEHO-27

ELEMENT

ACURA RSX

STREAM

INTEGRA

03-06

02-06

01-06

01-

OUTER R/L M14×1.5

SE-6301R 53540-SAA-003

53540-SEL-T01

CEHO-17

FIT ARIA

FIT

CITY

JAZZ

02-

01-

03-

03-

OUTER R M12×1.25

SE-6301L 53560-SAA-003

53560-SEL-T01

CEHO-18

FIT ARIA

FIT

CITY

JAZZ

02-

01-

03-

03-

OUTER L M12×1.25

SE-6366 53542-S3Y-A00

CEHO-42

NISIGHT 1月6日
R/L M14×1.5

SE-6432R 45420-2700 HINO TRUCK 03- OUTER R

SE-6432L 45430-2700 HINO TRUCK 03- OUTER L

SE-6533R 53157-HP5-003 HONDA SXS 1000 19- REAR R

SE-6533L 53158-HP5-003 HONDA SXS 1000 19- REAR L

SE-6612R 7313-20061 SUBARU LIBERO

BUS (E10/E12)

83-97
OUT R

SE-6612L 7313-20071 SUBARU LIBERO

BUS (E10/E12)

83-97
OUT L

SE-H053R 53540-S30-N21

CEHO-053R

PRELUDE 96-00
OUTER R M14×1.5

SE-H053L 53560-S30-N21

CEHO-053L

PRELUDE 96-00
OUTER L M14×1.5

SE-H521R 53540-T5R-003

53540-TST-003

53540-T5A-003

SE-6303R

CITY

FIT

15-

16- OUTER R M14×1.5

SE-H521L 53560-T5R-003

53560-TST-003

53560-T5A-003

SE-6303L

CITY

FIT

15-

16- OUTER L M14×1.5

SE-H541R 53540-T2A-A01

CEHO-52R

SE-H052R

ACCORD HYBRID 13-
OUTER R

SE-H541L 53560-T2A-A01

CEHO-52L

SE-H052L

ACCORD HYBRID 13-
OUTER L

SE-H761 53540-TAA-023

53540-TXA-013

53540-TXA-003

STEPWGN(RP1)

STEPWGN(RP6,7)

N-VAN

15-

22-

19-

OUTER R

SE-H771R 53540-TLA-A51

53540-TLA-A01

SE-6389R

CRV

CRV-2WD

18-

17- OUTER R M14×1.5

SE-H771L 53560-TLA-A51

53560-TLA-A01

SE-6389L

CRV

CRV-2WD

18-

17- OUTER L M14×1.5

SE-6311R 53540-SDA-A01

CEHO-15R

ACCORD 03-

03-
OUTER R

FEMALE RHT
M14×1.5

SE-6311L 53560-SDA-A01

CEHO-15L

ACCORD 03-

03- OUTER L

FEMALE LHT
M14×1.5

SE-6371R 53540-ST3-E02

53540-ST3-E03

EURO CIVIC 95- R

SE-6371L 53560-ST3-E02

53560-ST3-E03

EURO CIVIC 95- L



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

SE-6381R 53540-SNA-A01

53540-SNA-A02

53540-SNE-A02

CEHO-25

CIVIC

CIVIC COUPE

CIVIC SEDAN

05-

06-

06-
OUTER R M14×1.5

SE-6381L 53560-SNA-A01

53560-SNA-A02

53560-SNE-A01

53560-SNE-A02

CEHO-26

CIVIC

CIVIC COUPE

CIVIC SEDAN

05-

06-

06- OUTER L M14×1.5

SE-6391 53540-SHJ-A01

CEHO-23

ODYSSEY USA 05-
OUTER R/L M14×1.5

SE-6393 53540-SHJ-A51

CEHO-24

ODYSSEY  USA 05-
OUTER R/L M14×1.5

SE-6411R 53540-S3V-A02

CEHO-16R

PILOT 03- OUTER R

FEMALE RHT
M14×1.5

SE-6411L 53560-S3V-A02

CEHO-16L

PILOT 03- OUTER L

FEMALE LHT
M14×1.5

SE-H011R 53540-SFE-003

53540-SLE-013

CEHO-37

ODYSSEY 03-08
OUTER R M14X1.5

SE-H011L 53560-SFE-003

53560-SLE-013

CEHO-38

ODYSSEY 03-08
OUTER L M14X1.5

SE-H021 53540-SWA-A01

53540-SWA-A02

CR-V 06-

08-
OUTER R/L M14X1.5

SE-H023 53540-TG2-U02

SE-H431

BRIO 13-
OUTER R/L

SE-H024 53540-S0X-A02

CEHO-14

ODYSSEY 2WD 99- OUTER R/L

FEMALE RHT

M14×1.5

SE-H041R 53540-S4X-003

CEHO-43

ODYSSEY 99-03
OUTER R

SE-H041L 53560-S4X-003

CEHO-44

ODYSSEY 99-03
OUTER L

SE-H051R 53540-TA0-A01

53560-SMG-003

53560-TR0-A01

CEHO-32

ACCORD

IACCORD 4DOOR

INSPIRE

CIVIC 1.4L，1.8L

EURO CIVIC

09-

08-09

08-

06-

OUTER R

OUT L

M12×1.25

SE-H051L 53560-TA0-A01

53540-SMG-003

53540-TR0-A01

CEHO-33

ACCORD

IACCORD 4DOOR

INSPIRE

CIVIC 1.4L，1.8L

EURO CIVIC

09-

08-09

08-

06-

OUTER L

OUT R

M12×1.25

SE-H052R 53540-T2A-A01

CEHO-52R

ACCORD 13-
OUTER R

SE-H052L 53560-T2A-A01

CEHO-52L

ACCORD 13-
OUTER L

SE-H053R 53540-SJK-003 ELYSION 04-12
OUTER R

SE-H053L 53560-SJK-003 ELYSION 04-12
OUTER L

SE-H061 53540-SLN-A01

CEHO-31

USA FIT 07-
OUTER R/L M12×1.25

SE-H081R 53540-TK4-A01

53540-STX-A02

CEHO-35

ACURA TL

ACURA MDX

PILOT

09-

07-

09-

OUTER R M14X1.5

SE-H081L 53560-TK4-A01

53560-STX-A02

CEHO-46

ACURA TL

ACURA MDX

PILOT

09-

07-

09-

OUTER L M14X1.5



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

SE-H111R 53540-TF0-003

CEHO-47

FIT

FREED

MOBILIO

BRV

09-

09-

14-

16-

OUTER R

SE-H111L 53560-TF0-003

CEHO-48

FIT

FREED

MOBILIO

BRV

09-

09-

14-

16-

OUTER L

SE-H171R 53540-SFA-003 LIFE OUT R
OUT R

SE-H171L 53560-SFA-003 LIFE OUT R
OUT L

SE-H221R 53540-SMJ-003 CIVIC TYPE-R EURO

EURO CIVIC

09-

06-
OUTER R

SE-H221L 53560-SMJ-003 CIVIC TYPE-R EURO

EURO CIVIC

09-

06-
OUTER L

SE-H261 53540-S47-013

53540-S47-951

STEP WAGON

S2000

96-01

99-
OUT R/L

SE-H281R 53540-SZW-003 STEPWGN(PK1) 09- OUT R

SE-H281L 53560-SZW-003 STEPWGN(PK1) 09- OUT L

SE-H331L 53560-SMA-013 HONDA STREAM 06- OUT R

SE-H331R 53540-SMA-013 HONDA STREAM 06- OUT L

SE-H361 53540-T4G-003 N BOX 11- OUT R/L

SE-H371 53540-S3A-003

CEHO-60

ACTY VAV 99-
OUT R/L

SE-H421 53540-SJ6-R01

53540-SJ6-003

ACTY VAV 90-
OUT R/L

SE-H471R 53540-T7J-003

53540-T7A-003

CEHO-66R

SE-H112R

HRV

VEZEL

VEZEL HYBRID

15-

13-

18-
OUTER R M14X1.5

SE-H471L 53560-T7J-003

53560-T7A-003

CEHO-66L

SE-H112L

HRV

VEZEL

VEZEL HYBRID

15-

13-

18-
OUTER L M14X1.5

SE-H481R 53540-T6A-J01 ODYSSEY (RC1) 13- OUT R

SE-H481L 53560-T6A-J01 ODYSSEY (RC1) 13- OUT L

SE-H501R 53540-T0A-A11

53540-T0A-A01

53540-T0A-A12

53540-T1G-E01

53540-T1W-A01

SE-6388R

CEHO-49

CRV 12-

OUTER R

SE-H501L 53560-T0A-A11

53560-T0A-A01

53560-T0A-A12

53560-T1G-E01

53560-T1W-A01

SE-6388L

CEHO-50

CRV 12-

OUTER L

SE-H831R 53540-TBA-A01

53540-TET-H01

SE-H505R

CEHO-65R

CIVIC

CIVIC(USA)

16-

17- OUTER R

SE-H831L 53560-TBA-A01

53560-TET-H01

SE-H505L

CEHO-65L

CIVIC

CIVIC(USA)

16-

17- OUTER L

SE-H836R 53540-T60-A02 CIVIC 23- R

SE-H836L 53560-T60-A02 CIVIC 23- L



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

SE-H837R 53520-T20-A02 CIVIC(USA) 21- R

SE-H837L 53560-T20-A02 CIVIC(USA) 21- L

SE-H811R 53540-TZ5-A01 PILOT (YF5)

PASSPORT

RIDGELINE

16-

19-

19-

OUTER R

SE-H811L 53560-TZ5-A01 PILOT (YF5)

PASSPORT

RIDGELINE

16-

19-

19-

OUTER L

SE-H831R 53540-TBA-A01

53540-TET-H01

SE-H505R

CIVIC CF1 18-
OUTER R

SE-H831L 53560-TBA-A01

53560-TET-H01

SE-H505L

CIVIC CF1 18-
OUTER L

SE-H851R 53540-TZ7-A01 ACURA TLX AWD 15-
OUTER R

SE-H851L 53560-TZ7-A01 ACURA TLX AWD 15-
OUTER L

SE-H911R 53540-SEP-A02 ACURA TL 14-
OUTER R

SE-H911L 53560-SEP-A02 ACURA TL 14-
OUTER L

SE-H971R 53540-TVA-A02

53540-TVA-A03

ACCORD

ACCORD (USA)

17-

17-
OUTER R

SE-H971L 53560-TVA-A02

53560-TVA-A03

ACCORD

ACCORD (USA)

17-

17-
OUTER L

SE-H641 53540-TTA-013 N BOX(JF3) 17-
OUT R/L

SE-H661 53540-SXS-A02

CEHO-34

USA CRV (RE) 07-
OUT R/L

SE-H731R 53540-TY2-A01

CEHO-54R

LEGEND HYBRID (KC2) 15-
OUTER R

SE-H731L 53560-TY2-A01

CEHO-54L

LEGEND HYBRID (KC2) 15-
OUTER L

SE-G031R
53540-TMB-A01

53540-3A0-A01

CRV HYBRID(USA)

CRV

20-

23-
OUT R

SE-G031L
53560-TMB-A01

53560-3A0-A01

CRV HYBRID(USA)

CRV

20-

23-
OUT L

SE-G081R 53540-3M0-003

53540-3M0-013

VEZEL e:HEV

VEZEL

21-

21-
OUT R M14X1.5

SE-G081L 53560-3M0-003

53560-3M0-013

VEZEL e:HEV

VEZEL

21-

21-
OUT L M14X1.5

CEHO-2R 53540-SP0-013 LEGEND,ACURA 91- OUTER R M14×1.5
CEHO-2L 53560-SP0-013 LEGEND,ACURA 91- OUTER L M14×1.5
CEHO-11R 53560-SS0-003 PRELUDE 92-97 OUTER R M14×1.5
CEHO-11L 53540-SS0-003 PRELUDE 92-97 OUTER L M14×1.5
SE-6312R 53540-SZ3-003 ACURA 96-04 OUTER R M14×1.5
SE-6312L 53560-SZ3-003 ACURA 96-04 OUTER L M14×1.5
CEHO-21 53540-SEP-A02 ACURA 04- OUTER R M14×1.5
CEHO-22 53560-SEP-A02 ACURA 04- OUTER L M14×1.5
CEHO-28 53540-SL0-A01 ACURA NSX 95-05 OUTER R M12×1.25
CEHO-29 53560-SL0-A01 ACURA NSX 95-05 OUTER L M12×1.25

SE-H651 53540-SJC-A01

CEHO-30

RIDGELINE

ODYSSEY

06-

11-
OUTER R/L

CEHO-34 53540-SXS-A01 CR-V 07- OUTER R/L M14×1.5
CEHO-39 53560-SJA-014 ACURA RL 05- OUTER L M14X1.5
CEHO-40 53540-SJA-014 ACURA RL 05- OUTER R M14X1.5
CEHO-42 53542-S3Y-A00 INSIGHT 01-06 OUTER R/L
SE-H025 53540-TG0-U02 BRIO 14- OUTER R
CEHO-51 53540-S47-951 SM-X 96- R/L
CEHO-53R 53540-S30-N21 PRELUDE 96- OUTER R
CEHO-53L 53560-S30-N21 PRELUDE 96- OUTER L
CEHO-54R 53540-TY2-A01 LEGEND 15- OUTER R



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

CEHO-54L 53560-TY2-A01 LEGEND 15- OUTER L
CEHO-56R 53541-S3Y-020 ISNIGHT 00- OUTER R
CEHO-56L 53542-S3Y-020 ISNIGHT 00- OUTER L
CEHO-57R 53540-TP6-A01 CROSSCOUR 10- OUTER R
CEHO-57L 53560-TP6-A01 CROSSCOUR 10-

OUTER L

CEHO-58R 53540-TZ5-A01 ACURA MX-D

PILOT

15-

15-
OUTER R

CEHO-58L 53560-TZ5-A01 ACURA MX-D

PILOT

15-

15-
OUTER L

CEHO-59 53540-TX4-A02 ACURE RD-X 13- R/L

SE-5011R 9-43150-033-0

9-43150-071-0

CEIS-19R

TRUCK (6 ton) 60-72
R M24×1.5R

SE-5011L 9-43150-034-0

9-43150-072-0

CEIS-19L

TRUCK (6 ton) 60-72
L M24×1.5L

SE-5021R 9-43150-038-0

9-43150-053-0

9-43150-601-0

9-43150-605-0

9-43150-612-0

TE-607R

CEIS-1R

ISUZU BUS

ELF

ELF ROUTE VAN

73-

61-84

85- R

MALE RHT
M18×1.5R

SE-5021L 9-43150-039-0

9-43150-054-0

9-43150-602-0

9-43150-606-0

9-43150-613-0

TE-607L

CEIS-1L

ISUZU BUS

ELF

ELF ROUTE VAN

73-

61-84

85- L

MALE LHT
M18×1.5L

SE-5041R 1-43150-090-0

9-43150-025-0

9-43150-133-0

CEIS-9R

TRUCK (8 ton) 59-72

R M36×1.5R

SE-5041L 1-43150-091-0

9-43150-026-0

9-43150-134-0

CEIS-9L

TRUCK (8 ton) 59-72

L M36×1.5L

SE-5081R 94021476

94025674

94025980

5-44352-011-0

5-44352-015-0

5-44352-015-1

5-44352-015-2

9-44352-070-0

9-44352-602-0

9-44352-629-0

9-44352-639-0

TE-595R

FASTER

(CHEVROLET-LUV)

72-81

R

MALE RHT
M16×1.5R

ISUZU
TIE ROD END



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

SE-5081L 94021477

94025675

94025981

5-44352-012-0

5-44352-016-0

5-44352-016-1

5-44352-016-2

5-44352-640-0

8-944352-016-2

9-44352-071-0

9-44352-603-0

9-44352-630-0

9-44352-640-0

TE-595L

CEIS-2L

 

FASTER

(CHEVROLET-LUV)

72-81

L

MALE LHT
M16×1.5L

SE-5091R 1-43150-042-1/2

1-43150-141-1/2

1-43150-041-4

1-43150-435-0

CEIS-8R

TRUCK (8 ton) 73-83

R M36×1.5R

SE-5091L 1-43150-043-1/2

1-43150-142-1/2

1-43150-042-4

1-43150-436-0

CEIS-8L

TRUCK (8 ton) 73-83

L M36×1.5L

SE-5111R 1-43150-088-0

1-43150-115-0

1-43150-214-0

9-43150-088-0

9-43150-115-0

9-43150-169-0

CEIS-10R

TURCK (6 ton) 73-84

R M24×1.5R

SE-5111L 1-43150-089-0

1-43150-116-0

1-43150-215-0

9-43150-089-0

9-43150-116-0

9-43150-170-0

CEIS-10L

TRUCK (6 ton) 73-84

L M24×1.5L

SE-5121 94203348

8-94203-348-1

8-94203-348-2

8-94241-329-1

ES-2316

TE-491R

CEIS-3

GEMINI 74-85

OUTER R/L

FEMALE RHT M14×1.5R

SE-5131R 1-43150-056-0

1-43150-113-1

1-43150-113-2

1-43150-294-1

1-43150-367-1

FORWARD 70-84

R M20×1.5R



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

SE-5131L 1-43150-057-0

1-43150-114-1

1-43150-114-2

1-43150-295-1

9-43150-156-0

9-43150-160-0

9-43150-185-0

TE-721L

CEIS-11L

CEIS-13L

FORWARD 70-84

L M20×1.5L

SE-5141 94028225

94224701

94237351

5-44352-026-0

8-94237-351-0

8-94237-351-1

8-94357-351-0

8-94357-351-1

8-97031-933-0

ES-2144R

TE-596R

CEIS-4

BIG HORN

PANEL TRUCK

FASTER

(CHEVROLET LUV)

FASTER 4WD

PANTHER

81-

83-

81-

79-

00-
OUTER R/L

FEMALE RHT M14×1.5R

SE-5161 8-94124-586-0

8-94233-476-1

TE-727R

CEIS-6L

FARGO 81-
OUTER R/L

MALE RHT
M16×1.5R

SE-5162 94233475

8-94124-585-1

8-94233-475-1

8-94369-925-0

TE-728L

CEIS-6R

FARGO 81-

INNER R/L

MALE LHT
M16×1.5L

SE-5171R 8-94103-222-2

8-94419-608-2

8-94419-608-3

TE-517R

CEIS-5R

ELF 84-

R

MALE RHT
M20×1.5R

SE-5171L 8-94103-223-2

8-94419-609-2

8-94419-609-3

TE-517L

CEIS-5L

ELF 84-

L

MALE LHT
M20×1.5L

SE-5181R 1-43150-139-6

1-43150-439-1

CEIS-7R

ISUZU TRUCK(10 ton) -83
R M50×1.5R

SE-5181L 1-43150-140-6

1-43150-440-1

CEIS-7L

ISUZU TRUCK(10 ton) -83
L M50×1.5L

SE-5221 8-94109-041-1

8-94109-041-2

8-94109-041-3

ES-2962RL

TE-716R

CEIS-12

GEMINI 85-

OUTER R/L

FEMALE RHT M12×1.25R

SE-5251R 1-43150-340-1

1-43150-493-0

CEIS-16R

FORWARD(7 ton) 84-
R M36×1.5R

SE-5251L 1-43150-341-1

1-43150-494-0

CEIS-16L

FORWARD(7 ton) 84-
L M36×1.5L



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

SE-5261R 1-43150-349-0

1-43150-349-1

1-43150-563-1

1-43150-630-1

CEIS-14R

ISUZU TRUCK(10 ton) 83-

R M50×1.5R

SE-5261L 1-43150-350-0

1-43150-350-1

1-43150-564-1

1-43150-631-1

CEIS-14L

ISUZU TRUCK(10 ton) 83-

L M50×1.5L

SE-5271R 1-43150-351-0 ISUZU TRUCK(10 ton) 83-
R M36×1.5R

SE-5271L 1-43150-352-0 ISUZU TRUCK(10 ton) 83-
L M36×1.5L

SE-5281R 94459480

8-94419-408-0

8-94459-480-0

8-94459-480-1

8-94459-480-2

8-97020-953-1

8-97940-616-0

8-97956-902-A

920-373

ES-2953

TE-967

FASTER

BIGHORN

MU

RODEO 2WD

RODEO 4WD

TROOPER LUV 2.3

PASSPORT 2WD

PASSPORT 4WD

PANTHER

OPRL FRONTERA

88-

86-

97-

89-

01-

91-97

91-97

94-97

94-97

R

FEMALE RHT
M14×1.5

SE-5281L

CEIS-21

94459481

8-94419-409-0

8-94459-481-0

8-94459-481-1

8-94459-481-2

8-97020-954-0

8-97020-954-1

8-97020-954-2

8-97940-617-0

8-97956-903A

920-374

ES-2954

FASTER

BIGHORN

MU

RODEO 2WD

RODEO 4WD

TROOPER LUV 2.3

PASSPORT 2WD

PASSPORT 4WD

PANTHER

OPRL FRONTERA

88-

86-

97-

89-

01-

91-97

91-97

94-97

94-97

L

FEMALE LHT
M14×1.5

SE-5283R 8-97107-320-0 NPR , NKR 96- RH

SE-5283L 8-97107-319-0 NPR , NKR 96- LH

SE-5321R 8-97107-348-0

8-97142-100-1

8-97222-509-0

8-97039-462-0

8-97107-348-2

8-97018-722-0

8-97142-100-0

CEIS-22

ELF

ELF NPR

93-

99-

R

MALE RHT
M20×1.5R

SE-5321L 8-971047-349-0

8-971047-349-2

8-97142-101-1

8-97222-510-0

8-97039-463-0

8-97108-723-0

8-97142-101-0

CEIS-23

ELF

ELF NPR

93-

99-

L

MALE LHT
M20×1.5L

SE-5351R 1-43150-679-2

1-43150-761-1

CEIS-24R

FORWARD 90-

96-
R

MALE RHT
M20×1.5

SE-5351L 1-43150-680-0

1-43150-762-1

CEIS-24L

FORWARD 90-

96-
L

MALE LHT
M20×1.5



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

SE-5361 8-97304-855-0

8-97304-928-0

8-98055-746-0

CEIS-25

D-MAX 02-

OUTER R/L M14×1.5

SE-5362R 8-97956-902-0

8-97956-902-A

BIG HORN

MONTEREY

PICK UP TFR

TROOPER

VEHICROSS

91-02

91-94

88-03

92-00

97-00

OUTER R

SE-5362L 8-97956-903-0

8-97956-903-A

BIG HORN

MONTEREY

PICK UP TFR

TROOPER

VEHICROSS

91-02

91-94

88-03

92-00

97-00

OUTER L

SE-5371R 1-43150-801-0

1-43150-643-0

1-43150-643-1

1-43150-643-2

1-43150-736-0

GIGA

GIGA MAX

FORWARD

95-99

99-06

00-02 OUTER R

SE-5371L 1-43150-802-0

1-43150-644-0

1-43150-644-1

1-43150-644-2

1-43150-737-0

GIGA

GIGA MAX

FORWARD

95-99

99-06

00-02 OUTER L

SE-5381 8-98056-551-0 D-MAX 4WD

MU-X

07-

14-
OUT R/L

SE-5421 8-97107-346-0

8-98008-838-0

1K01-32-276

ELF

MAZDA TITAN

04-

05-

OUT R/L

SE-5451R 8-98228-102-0 GIGA 94-
OUTER R

SE-5451L 8-98228-103-0 GIGA 94-
OUTER L

SE-5461R 1-43150-856-0

8-98228-100-0

GIGA 03-04

13-
OUT R

SE-5461L 1-43150-857-0

8-98228-101-0

GIGA 03-04

13-
OUT L

CEIS-26 8-97160-395-0

8-97170-450-0

WIZARD(RODEO)MU(AMIGO,RODEO

SPORT)

PASSPORT(HONDA)

AXIOM

98-

98-03

02-03

OUTER R/L

FEMALE RHT M14×1.5

CEIS-27 8-12471-300-0

12471300

HOMBRE 4WD 98-00
R

CEIS-28 8-12471-301-0

12471301

HOMBRE 4WD 98-00
L

CEIS-29 8-26100-286-0

26100286

ASCENDER 03- L

MALE LHT
M16×1.5

CEIS-30 8-26100-287-0

26100287

ASCENDER 03- R

MALE LHT
M16×1.5

SE-2141 45046-29095

45047-19035

ES-2385

TE-428L

TE-557L

CET-64

DELTA 750 79-82

OUT R/L M14×1.5L

DAIHATSU
TIE ROD END



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

SE-2142 45046-19055

CET-6

CHARMANT 81-83
OUTER R/L M14×1.5R

SE-2161 45046-19065

45046-19075

45046-19085

45046-19095

45046-19135

45046-29075

ES-476L

TE-489L

CET-23

CHARMANT

DELTA WIDE VAN

& WAGON

74-81

81-83

76-85

OUTER R/L M14×1.5L

SE-2162 45046-19015

45046-19016

45046-19025

45046-19045

45046-19055

45046-19065

45046-19075

ES-2046R

TE-490R

TE-564R

SE-2164

CET-24

 

CHARMANT

DELTA 750

DELTA WIDE VAN

& WAGON

81-83

79-81

76-82

INNER R/L M14×1.5R

SE-2502 45406-29135

ES-2271R

DELTA WIDE VAN

& WAGON

82-85 INNER R/L

MALE RHT
M14×1.5R

SE-3071R 2713-4742

2713-4752

45047-87501

45047-87502

45056-87501

45056-87502

CED-1R

HIJET 68-81

79-83

OUTER R

IN L
M14×1.5R

SE-3071L 2713-4741

2713-4752

45046-87501

45046-87502

45057-87501

45057-87502

CED-1L

HIJET 68-81

79-83

IN R

OUT L
M14×1.5L

SE-3091 45046-87202 FELLOW MAX 70-73 OUTER R/L M12×1.25R

SE-3093 45046-87203

CED-13

FELLOW MAX

CUORE

73-77

77-80 OUTER R/L M12×1.25R

SE-3101R 45046-87302

CED-3R

DELTA 73-77
R

SE-3101L 45047-87302

CED-3L

DELTA 73-77
L

SE-3111R 45046-87303

45046-87601

45046-87680

TE-600R

CED-2R

TAFT

RUGGER

DELTA

79-84

84

77- R
MALE RHT

M20×1.5R

SE-3111L 45047-87303

45047-87380

TE-60L

CED-2L

RUGGER

DELTA

84-

77- L
MALE RHT

M20×1.5L

SE-3121 45046-87701

ES-2559R

TE-684R

CED-4

CHARDE 77-82

OUT R/L
FEMALE RHT

M12×1.25R

SE-3142 45047-87680

CED-5

TAFT

RUGGER

79-84

84-89
L M22×1.5L



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

SE-3146 45047-87606

45047-87681

TAFT 79-84
R M22×1.5L

SE-3151 45046-87280

45046-87281

CUORE,MIRA 80-85
OUT R/L M12×1.25R

SE-3161R 45046-87282

45046-87283

45046-87285

45046-87780

45046-97203

45046-97204

45046-B9220

ES-2619

CED-9R

CHARDE

CUORE,MIRA

MIRA 4WD

LEEZA

MIRA

CUORE

83-86

85-

85-

86-

85-90

90-

94-98

OUT R 
FEMALE RHT

M12×1.25R

SE-3161L 45047-87281

45047-87281

45047-87282

45047-87285

45047-87780

45047-97203

45047-B9160

ES-2620

CED-9L

CHARDE

CUORE,MIRA

MIRA 4WD

LEEZA

MIRA

CUORE

83-86

85-

85-

86-

85-90

90-

94-98

OUT L
FEMALE RHT

M12×1.25R

SE-3171R 45046-87503

45046-87504

45046-87580

CED-7R

HIJET

HIJET 4WD

81-86

83-

96-

86-

82-86

IN L/OUT R

INNER R/L

IN L/OUT R

FEMALE RHT

M14×1.5

SE-3171L 45047-87503

45047-87504

45047-87580

CED-7L

HIJET

HIJET 4WD

81-86

83-

96-

86-

82-86

IN L/OUT R

INNER R/L

IN L/OUT R

FEMALE LHT

M14×1.5

SE-3181R 45046-87380

CED-10R

DELTA 84-
R

MALE RHT

M20×1.5
SE-3181L 45047-87381

CED-10L

DELTA 84-
L

MALE RHT

M20×1.5
SE-3196 45047-87682 RUGGER 84- R M22×1.5R

SE-3211R 45046-87881

45046-87782

45046-87783

45046-87784

TE-723R

CED-6R

CHARDE

ESPAS

87-

OUTER R
FEMALE RHT

M12×1.25

SE-3211L 45047-87781

45047-87782

45047-87783

45047-87784

TE-723L

CED-6L

CHARDE

ESPAS

87-

OUTER L
FEMALE RHT

M12×1.25

SE-3242 45047-87685

CED-8

TAFT 89-
L

SE-3261R 45046-87683

CED-11R

RUGGER

TAFT

93-97

95-
OUTER RHT

MALE RHT

M20×1
SE-3261L 45047-87687

CED-11L

RUGGER

TAFT

93-97

95-
OUTER LHT

MALE LHT

M20×1
SE-3262R 45406-87682

CED-12R

RUGGER

TAFT

93-97

95-
INNER R

MALE LHT

M20×1
SE-3262L 45407-87682

CED-12L

RUGGER

TAFT

93-97

95-
INNER L

MALE RHT

M20×1



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

SE-3271 45046-87Z03

45046-B9100

45046-87401

45046-87402

CED-13

TARUNA

HIJET

99-

07-
OUTER R/L M12×1.25

SE-3281R 45046-B9020

45046-BZ020

MYVI

SIRION

05-07

07-
R

SE-3281L 45047-B9020

45047-BZ020

MYVI

SIRION

05-07

07-
L

SE-3291R 45046-87681

45046-87682

ROCKY 88-89
R

SE-3291L 45047-87683

45047-87684

ROCKY 88-89
L

SE-3292R 45406-87681

45406-87680

ROCKY

FEROZA

89-99
R

SE-3292L 45407-87681

45407-87680

ROCKY

FEROZA

89-99
L

SE-3311R 45046-B9280

45046-B9290

45046-BZ090

CET-190

GRAND MAX

LITEACE

TOWNACE

07-

07-

08-

08-

OUTER R

SE-3311L 45047-B9230

45047-B9240

45047-BZ090

CET-191

GRAND MAX

LITEACE

TOWNACE

07-

07-

08-

08-

OUTER L

SE-3331
45046-BZ330

45046-BZ190

SE-D013

MYVI MK3(M800)

(※PERODUA)

NEW Sirion

17-

19- OUT R/L M14X1.5

SE-3381 45046-B9391 MIRA e:S 11- OUT R/L

SE-3391 45047-B9080

45047-97502

HIJET 07-
OUT R/L

SE-3421R 45046-87583 HIJET 94-98 OUT R

SE-3421L 45047-87583 HIJET 94-98 OUT L

SE-3461 45046-B9190

45046-B9191

45046-B9400

45046-B9410

45046-B9412

DAIHATSU COPEN

DAIHATSU CUORE

DAIHATSU MIRA VAN

DAIHATSU MOVE

DAIHATSU TANTO

DAIHATSU WAKE

SUBARU STELLA

SUBARU PLEO

TOYOTA PIXIS

14-

07-13

06-18

14-

13-19

14-

14-

10-18

17-

OUT R/L

SE-3871R

45046-BZ010

45046-BZ050

45046-BZ120

SE-T551R

CET-184

AVANZA

AVANZA

X-ENIA

X-ENIA

03-

12-

03-

12-

RH

SE-3871L

45047-BZ010

45046-BZ050

45047-BZ120

SE-T551L

CET-185

AVANZA

AVANZA

X-ENIA

X-ENIA

03-

12-

03-

12-

LH  

SE-T531R 45046-B9210

45046-B9060

PASSA

BB

BOON(DAIHATSU)

10-

05-10

06-

10-

OUT R

SE-T531L 45047-B9150

45047-B9060

PASSA

BB

BOON(DAIHATSU)

10-

05-10

06-

10-

OUT L

SE-T831R 45460-09230 CAMRY HYBRID 12-15 OUTER R M15XP1.5
SE-T831L 45470-09140 CAMRY HYBRID 12-15 OUTER L M15XP1.5
SE-T841R 45047-49015

SE-3642R

VISTA(ZZV50) 98-
OUT RH



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

SE-T841L 45046-49085

SE-3642L

VISTA(ZZV50) 98-
OUT LH

SE-T921 45046-BZ140

SE-BZ140

TOYOTA AGAY

DAIHATSU AYLA

12-
OUTER R/L

SE-T931 45046-39825

45046-39445

45046-39555

45046-39365

DYNA/TOYOACE

DYNA  XZU306

DYNA  XZU348

DUTRO BU346

99-04

02-04

04-06

04-

OUT R/L

SE-T971 45046-39785

45046-37120

DYNA(XZU378)

DYNA (XZC605)

TOYOACE

04-

11-

11-

OUT R/L

CET-194 45460-09210 SIENNA 11-
OUTER R M18XP1.5

CRT-195 45470-09130 SIENNA 11-
OUTER L M18XP1.5

SE-3401L 45046-87510 HIJET 99-04 OUTER L

SE-3401R 45047-87510 HIJET 99-04 OUTER R

SE-3411R 45047-B9090 HIJET 4WD 04- OUTER R

SE-3411L 45046-B9110 HIJET 4WD 04- OUTER L

SE-7431R 48810-60001

CES-1R

CARRY 72-79
OUT R/IN L

SE-7431L 48820-60001

CES-1L

CARRY 72-79
OUT R/IN L

SE-7441 48810-78000

48810-78001

48810-78002

ES-2561R

CES-4

CERVO

FRONTE

ALTO

ALTO 4WD

82-

79-84

79-84

79-84

OUT R/L

SE-7451R 48810-79000

TE-812

CES-3R

CARRY,EVERY

DAMAS(LABO)

CARRY 4WD

79-85

85-

81-85

85

R MALE RHT

M14×1.5

SE-7451L 48820-79000

CES-3L

CARRY,EVERY

CARRY 4WD

79-85

85-

81-85

85

L
MALE LHT

M14×1.5

SE-7461 96052290

48520-4A0A0

48810-50G10

48810-50G20

48810-60B00

48810-76G00

48810-82000

48820-60B00

1A0-32-280

ES-3043

ES-3110

TE-3628R

CES-5

CULTUS

WAGON R

MOCO (NISSAN)

WAGON R RR

WAGON R WIDE

WAGON R PLUS

EAGON R SOLIO

BALENO

USA SWIFT

MAZDA AZ WAGON

83-

98-

02-04

00-

98-00

00-01

00-

97-99

99-01

00-

96-

98-01

98-02

OUR R/L
FEMALE RHT

M12×1.25

SE-7471R 48810-63002

CES-2R

JIMNY (LJ80) 77-82

SE-7471L 48820-63002

CES-2L

JIMNY (LJ80) 77-82

SE-7472 48850-73000

CES-9

JIMNY (LJ80) 77-82
R

SE-7476 48850-73010 JIMNY (LJ80) 77-82 L

SUZUKI
TIE ROD END



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

SE-7481R 48810-60A00

48810-80000

48810-81A01

48810-83300

61-ES-0103-F

ES-3045RL

CES-6R

CES-25

JIMNY  81-

OUTER R
MALE RHT

M16×1.5

SE-7481L 48820-80000

48820-80001

48820-80002

48820-81A01

CES-6L

JIMNY 81-83

OUTER L
MALE LHT

M16×1.5

SE-7482 48860-80000

CES-10

JIMNY 81-83
R

SE-7484 48870-80000

48870-80001

48870-80002

CES-7

JIMNY 82-

L

SE-7488 48870-80060

CES-11

JIMNY 82-
R

SE-7491 48810-84000

48810-84001

CES-12

FRONTE

ALTO

ALTO 4WD

SUZUKI WAGON R

AZ WAGON

84-

84-

84-

97-98

94-98

OUT R/L
MALE RHT

M12×1.25

SE-7493R 48810-85020 ALTO 92-96 OUT R

SE-7493L 48820-85020 ALTO 92-96 OUT L

SE-7542 48820-60A00

48820-77E00

61-ES-0102-F

SE-7572

CES-13

ESCUDO

(VITARA)

88-

INNER R/L
MALE LHT

M16×1.5

SE-7561 48810-60810

48810-61J00

48810-60J00

48810-63J00

48810-58JA0

48520-4A0A1

48520-4A00A

1A04-32-280

48810M68K00

48810-68K00

CES-22

MQ-505862

MQ-512969

SWIFT

APV

WAGON R

SWIFT SPORT

MOCO(MAZDA)

CAROL(MAZDA)

ALTO

MINICAB

SCRUM TRUCK

IGNIS

04-

05-

04-

08-

03-

05-

08- OUTER R/L M12X1.25

SE-7571 48810-77E00

CES-14

ESCUDO

(VITARA)

95-
OUT R/L

MALE RHT

M16×1.5
SE-7572 48820-77E00 ESCUDO

(VITARA)

95-
IN R/L

MALE RHT

M16×1.5
SE-7591R 48810-65D00

48810-65D01

48810-67D00

1A51-32-280A

CES-16R

GRAND VITARA

VITARA

ESCUDO

PORCEED LEVANTE

99-

99-04

97-

97-

R
FEMALE RHT

M14×1.5

SE-7591L 48820-65D00

48820-65D01

48820-67D00

1A51-32-270A

CES-16L

GRAND VITARA

VITARA

ESCUDO

PORCEED LEVANTE

99-

99-04

97-

97-

L
FEMALE RHT

M14×1.5



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

SE-7641 48810-79J01

48810-79J00

48810-65J00

48810-B79J0

48810-73R00

48810M65M00

CES-17

ME-9960

71742770

71750067

SX4(RW416)

SX4(AKK414)

SX4 S-CROSS

VITARA(APK416)

SWIFT V

ESCUDO

GRAND VITARA

ESCUDO

CARRY (AEV415)

ERTIGA

FIAT Sedici

06-15

16-

16-

14-

17-

05-08

06-16

15-

19-

18-

06-

OUTER R/L
FEMALE RHT

M14×1.5

SE-7661 48810-65J00 GRAND VITARA 06-
OUTER R/L M14×1.5

SE-7681R 48810-68H00

48810-68H01

48520-4A00E

MQ-505861

1A06-32-280A

NV100

MINICAB

CARRY

EVERY

13-

14-

13-

13-

OUT R

SE-7681L 48820-68H00

48820-68H00

48520-4A00F

MQ-505864

1A06-32-290A

NV100

MINICAB

CARRY

EVERY

13-

14-

13-

13-

OUR L

SE-7682 48810-78J00 SUZUKI XL 07- R/L

SE-S011R 48810-68L00

48810-74L00

48810M74L00

SE-S041R

CES-23

SWIFET SPORT

SWIFT DZIRE

ERTIGA

SWIFT

11-

12-

13-

12-

OUTER R

SE-S011L 48820-68L00

48820-74L00

48820M74L00

SE-S041L

CES-24

SWIFET SPORT

SWIFT DZIRE

ERTIGA

SWIFT

11-

12-

13-

12-

OUTER R

SE-S071R 48810-57L00

CES-26R

KIZASHI 09-
OUT R

SE-S071L 48820-57L00

CES-26L

KIZASHI 09-
OUT L

SE-S171R 48810-62R01

48810-62R00

48810-74P00

1A10-32-280A

MB-512948

MB-510878

ALTO

WAGON R

ALTO LAPIN

SPACIA

SOLIO

CAROL-MAZDA

DELICA D2-MITSUBISHI

IGNIS(FF21S)

14-

17-

15-

17-

15-

15-

15-

15-

OUT R

SE-S171L 48820-62R01

48820-62R00

48820-74P00

1A04-32-290A

MB-512949

MB-510880

ALTO

WAGON R

ALTO LAPIN

SPACIA

SOLIO

CAROL-MAZDA

DELICA D2-MITSUBISHI

IGNIS(FF21S)

14-

17-

15-

17-

15-

15-

15-

15-

OUT L

SE-S193R 48810-64P00

48520-4A00H

1A03-32-280

MQ-508481

EVERY 4WD

NV100 CLIPPER 4WD(NISSAN)

SCRUM NAN 4WD(MAZDA)

SCRUM WAGON 4WD(MAZDA)

MINICAB 4WD

15-

15-

15-

15-

15-

OUT R

SE-S193L 48820-64P00

48520-4A00J

1A03-32-290

MQ-508482

EVERY 4WD

NV100 CLIPPER 4WD(NISSAN)

SCRUM NAN 4WD(MAZDA)

SCRUM WAGON 4WD(MAZDA)

MINICAB 4WD

15-

15-

15-

15-

15-

OUT L



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

SE-S201

SE-7641

48810-52S00

48810-73R00

CARRY 19-
OUT R/L M14×1.5

SE-S231 48810M68P00

48810-68P00

SWIFT 19-
OUT R/L M14×1.5

SE-S301 48810M62S00

48810-62S00

S-PRESSO 19-
OUT R/L

CES-18R 48810-85Z00 FORENZA

RENO

04-

05-
OUTER R M14×1.5

CES-18L 48820-85Z00 FORENZA

RENO

04-

05-
OUTER L M14×1.5

CES-19 48810-86Z10 VERONA 04-06
OUTER R/L M14×1.5

SE-S111R 48810-78A00

48810-78A01

1A03-32-280A

CES-20

CARRY VAN

SCRUM TRUCK

99-

02- OUTER R M12×1.25

SE-S111L 48820-78A00

48820-78A01

1A03-32-290A

CES-21

CARRY VAN

SCRUM TRUCK

99-

02- OUTER L M12×1.25

SE-S271R 48820-78R00 JIMNY(JB64W)

JIMNY SIERRA

18-

18-
OUTER R

SE-S271L 48810-78R00 JIMNY(JB64W)

JIMNY SIERRA

18-

18-
OUTER L

SE-S311R 48810M74L10 CIAZ 18- OUT R
SE-S311L 48820M74L10 CIAZ 18- OUT L

SE-6441R S4542-02250

S4540-E0170

DOLPHIN

RANGER(RHD)

85-

92-
OUTER R

SE-6441L S4543-02180

S4550-e0170

DOLPHIN

RANGER(RHD)

85-

92-
OUTER L

SE-6451R 45420-2740

S4540-E0110

PROFIA 04-
OUT R

SE-6451L 45430-2740

S4550-E0110

PROFIA 04-
OUT L

SE-6611R 7313-20000

ES-2189R

TE-816R

CESU-1R

LEONE

LEONE 4WD

79-84

79-84 OUTER R

FEMALE RHT
M14×1.5

SE-6611L 7313-20010

ES-2188R

TE-816L

CESU-1L

LEONE

LEONE 4WD

79-84

79-84 OUTER L

FEMALE RHT
M14×1.5

SE-6621R 31320-GA101

31320-GA102

LEONE

LEONE 4WD

84-

84-

OUTER R

FEMALE RHT
M14×1.5

SE-6621L 31320-GA111

31320-GA112

ES-2910

TE-702L

CESU-3L

LEONE

LEONE 4WD

84-

84- OUTER L

FEMALE LHT
M14×1.5

SE-6631 7313-20020

ES-3076

TE-3076

CESU-5

JUSTY 84-
OUTER R/L

FEMALE RHT
M12×1.25

SE-6641R 31320-GA190

CESU-4R

LEGACY 89- OUTER R

FEMALE RHT
M14×1.5

SE-6641L 31320-GA200

CESU-4L

LEGACY 89- OUTER L

FEMALE LHT
M14×1.5

SUBARU
TIE ROD END



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

SE-6651 34141-AA041

34141-AA042

34141-AC010

34141-AC0109E

34161-SA001

CESU-8

CESU-6

CESU-7

IMPREZA 4WD

LEGACY Ⅱ,Ⅲ

FORESTER

BAJA

FORESTER

ASCENT

OUTBACK

OUTBACK

93-

94-

98-

03-

15-

18-

09-14

15-20

OUTER R/L

FEMALE RHT
M14×1.5

SE-6652 34161-SA001 SUBARU XV 12- OUTER R/L

FEMALE LHT
M14×1.5

SE-6701 34131-KC040 PLEO(RA1) 98- OUT R/L

SE-6751 34161-FL000 IMPREZA SPORT GT6 16-

OUT R/L

SE-6801R 34161-AL000 OUTBACK(BS9) 14-

OUT R

SE-6801L 34161-AL010 OUTBACK(BS9) 14-

OUT L

CESU-2 6315-10070
SE-6421R 45420-1050

3-310-6612-07

RANGER
R M20×1.5R

SE-6421L 45430-1050

3-310-6611-07

RANGER
L M20×1.5L

SE-6431R 45420-1550

45420-1600

45420-1611

45420-1690

RANGER

R

SE-6431L 45430-1550

45430-1600

45430-1611

45430-1690

RANGER

L

SE-A181R 34161-CA000

SU003-00833

CESU-9R

CET-207R

SUBARU BRZ

TOYOTA 86

SCION FR-S

12-16

12-16

12-
OUT R M14X1.5

SE-A181L 34161-CA010

SU003-00834

CESU-9L

CET-207L

SUBARU BRZ

TOYOTA 86

SCION FR-S

12-16

12-16

12-
OUT L M14X1.5

SEK-8041R 56820-2E900

CEKH-35R

TUCSON (HYUNDAI)

SPORTAGE (KIA)

05-

05-
OUTER R

SEK-8041L 56820-2E000

CEKH-35L

TUCSON(HYUNDAI)

SPORTAGE(KIA)

05-

05-
OUTER L

SEK-8051R 56820-38900

57780-38900

CEKH-28

CEKK-26R

CEKH-26R

SONATA (HYUNDAI)

AMANTI (KIA)

OPTIMA/MAGENTIS (KIA)

02-

04-06

01-06 OUTER R

HYUNDAI
TIE ROD END



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

SEK-8051L 56820-38000

57780-38000

CEKH-29

CEKK-26L

CEKH-26L

SONATA (HYUNDAI)

AMANTI (KIA)

OPTIMA/MAGENTIS (KIA)

02-

04-06

01-06 OUTER L

SEK-8061 56820-22000

56820-25000

56820-28200

56820-28500

56820-28520

56820-29500

56820-37000

56820-37010

56820-37100

56820-1C010

56820-1C080

56820-2F000

56820-3B000

CEKH-7

ACCENT (HYUNDAI)

ELANTRA (HYUNDAI)

TIBURON (HYUNDAI)

SPECTRA5 (KIA)

SPECTRA(NEW STYLE) (KIA)

00-06

00-

03-08

05-09

04-09

OUT R/L

SEK-8081R 56820-1E900

56820-1G900

CEKH-36R

CEKK-31R

VERNA(ACCENT)

VERNA HYBRID

05-

05- FEMALE RHT M14×1.5

SEK-8081L 56820-1E000

56820-1G000

CEKH-36L

CEKK-31L

VERNA(ACCENT)

VERNA HYBRID

05-

05- FEMALE RHT M14×1.5

SEK-8261R 56820-4D101 GRAND CARNIVAL(KIA) 05-14 OUT R

SEK-8261L 56820-4D001 GRAND CARNIVAL(KIA) 05-14 OUT L

SEK-8291R 96407486 LACETTI 02- OUT R

SEK-8291L 96407485 LACETTI 02- OUT L

SEK-8361R 94583708

CEKD-6R
SEK-8361L 94583709

CEKD-6L
SEK-8371R 324038

9014-0006

96275019

0784-6485

2600-1806

M-38930

CEKD-1R

CEKD-5

CEO-5

LANOS(DAEWOO) 86-97

86-97

90-97

88-93

94-97

94-97

97-

OUTER RHT

FEMALE LHT
M16×1.5

SEK-8371L 324039

96275018

0784-6495

2600-1807

2602-3685

CEKD-1L

LANOS(DAEWOO) 86-97

86-97

90-97

88-93

94-97

94-97

97-

OUTER LHT

FEMALE LHT
M16×1.5

SEK-8311 96626667

4803429

CEKD-17

CHEVROLET CAPTIVA

OPEL ANTARA

VAUXHALL ANTARA

06-11

06-11

06-

OUT R/L M14X1.5

SEK-8551 0K9A2-32-280 CREDOS(KIA) ※
SEK-8601 521136

93741077

MATIZ (M100)

MATIZ (M300)

98-

09-
OUT R/L

SEK-8851R 56820-4R500 SONATA HYBRID(HYUNDAI) 11-
OUT R

SEK-8851L 56820-4R000 SONATA HYBRID(HYUNDAI) 11-
OUT L

SEK-8881R
56825-E6090 SONATA HYBRID 15-

RH



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

SEK-8881L
56820-E6000 SONATA HYBRID 15-

LH

CEKH-1 56820-11000

56820-11020

PONY Ⅰ

PONY Ⅱ

95-82

82-90

OUTER

MALE LHT
M14×1.5

CEKH-2 56810-11000

56810-11020

56810-11060

PONY Ⅰ

PONY Ⅱ

95-82

82-90 INNER

MALE RHT
M14×1.5

CEKH-5 56820-31000 STELLAR 77-88 FEMALE RHT
M14×2

CEKH-6 56820-36000

56820-M2000

56882-44000

56882-44002

(CEKH-10R)

SONATA

PORTER

SANTAMO

88-93

87-96

96-02

FEMALE RHT M14×1.5

CEKH-10L 56872-44000

56872-44002

PORTER

PORTER 1.25TON

87-96
FEMALE LHT M14×1.5

CEKH-11R 56890-44520

56890-44530

PORTER 1.25TON 89-
MALE RHT M20×1.5

CEKH-11L 56880-44520

56880-44530

PORTER 1.25TON 89-
MALE LHT M20×1.5

CEKH-12R 56890-45000

56891-45000

MIGHTY D6 HD 3TON 87-
MALE RHT M20×1.5

CEKH-12L 56880-45000

56881-45000

MIGHTY D6 HD 3TON 87-
MALE LHT M20×1.5

CEKH-13R 56890-62000 5T TRUCK E1 HD 4.5~5TON

MINI BUS

90-98

95-
FEMALE RHT M27×1.5

CEKH-13L 56880-62000 5T TRUCK E1 HD 4.5~5TON

MINI BUS

90-98

95-
FEMALE LHT M27×1.5

CEKH-14R 56890-69000

56890-69010
M42×1.5

CEKH-14L 56880-69000

56880-69010
M42×1.5

CEKH-16R 56890-92100 BUS L2-L8(EXC/L7)

M1-M9 HD ALL

78-

FEMALE RHT M42×1.5

CEKH-16L 56880-92100 BUS L2-L8(EXC/L7)

M1-M9 HD ALL

78-

FEMALE LHT M42×1.5

CEKH-17 56881-KS200A M42×1.5

CEKH-18 56882-KS200
CEKH-19 MB-166765

S2370706

SB000037

HB568120

GALLOPER

GALLOPER Ⅱ

TERACAN

91-98

98-03

01-06

OUTER

MALE LHT
M16×1.5

CEKH-20 MB-166766

S2370704

SB000036

HB568110

GALLOPER

GALLOPER Ⅱ

TERACAN

91-98

98-03

01-06

INNER

MALE RHT
M16×1.5

CEKH-21 57705-56820B 97.3-

00-
CEKH-23 56872-43010 96.4-
CEKH-24 56890-6A001 5 TON TRUCK E/G UP GRADE 98- FEMALE RHT M33×1.5

CEKH-25 56880-6A001 5 TON TRUCK E/G UP GRADE 98- FEMALE LHT M33×1.5

CEKH-26 56890-7F500 23 TON DUMP 98- FEMALE RHT M42×1.5

CEKH-27 56880-7F500 23 TON DUMP 98- FEMALE LHT M42×1.5

CEKH-30R 56880-5H000 MIGHTY Ⅱ 98- MALE RHT M22×1.5

CEKH-30L 56890-5H000 MIGHTY Ⅱ 98- MALE LHT M22×1.5

CEKH-32R 56890-5A000 COUNTY 98- MALE RHT M22×1.5

CEKH-32L 56880-5A000 COUNTY 98- MALE LHT M22×1.5

CEKH-33R 56890-8A100 98- M39×1.5

CEKH-33L 56880-8A100 98- M39×1.5



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

CEKH-37R 56820-3F111

56820-3F110

NT SUNATA

TG GRANDEUR (AZERA)

06.9-07.4

07.10-
FEMALE RHT M16×1.5

CEKH-37L 56820-3F101

56820-3F100

NT SUNATA

TG GRANDEUR (AZERA)

06.9-07.4

07.10-
FEMALE RHT M16×1.5

SEK-8091R 56820-2H090

CEKH-38R

ELANTRA SEDAN

ELANTRA WAGON

FORTE SEDAN(KIA)

CEED(KIA)※

07-10

09-11

10-11

06-※

FEMALE RHT M10×1.25

SEK-8091L 56820-2H000

CEKH-38L

ELANTRA SEDAN

ELANTRA WAGON

07-10

09-11
FEMALE RHT M10×1.25

CEKH-39R 56820-2B900

56821-2B900

SANTAFE

VERACRUZ

06- FEMALE RHT M12×1.25

CEKH-39L 56820-2B000

56821-2B000

SANTAFE

VERACRUZ

06-
FEMALE RHT M12×1.25

CEKH-40 56820-47500

56820-4E040

PORTER Ⅱ

LIBERO

BONGO  Ⅲ

04-

00-

04-

FEMALE RHT M12×1.25

CEKH-42R 56820-3M950

56820-B1250

GENESIS

EQUUS

07-

09-
FEMALE RHT M14X1.5

CEKH-42L 56820-3M900

56820-B1200

GENESIS

EQUUS

07-

09-
FEMALE RHT M14X1.5

SE-HY43R 56820-4H100

CEKH-43R

STAREX GRAND 07-
FEMALE RHT M14X1.5

SE-HY43L 56820-4H000

CEKH-43L

STAREX GRAND 07-
FEMALE RHT M14X1.5

CEKH-44R 56820-2M010 GENESIS COUPE 08- FEMALE RHT

CEKH-44L 56820-2M000 GENESIS COUPE 08- FEMALE RHT

SEK-8471R 56820-3Q500

56820-2T500

56820-2T100

56820-2S050

56820-3S500

56820-3V100

56820-3Z290

56820-2S060

CEKH-45R

YF SONATA

HG GRANDUER

i40

TUCSON IX

YF SONATA

10-

10-11

11-

09-

09-10 FEMALE RHT M16X1.5

SEK-8471L 56820-3Q000

56820-2T000

56820-2T190

56820-2S000

56820-3S000

56820-3V190

56820-3Z200

56820-2S010

CEKH-45L

YF SONATA

HG GRANDUER

i40

TUCSON IX

YF SONATA

10-

10-11

11-

09-

09-10 FEMALE RHT M16X1.5

SEK-8591R 56820-0U590

56821-1R591

56820-1W090

CEKH-46R

HYUNDAI ACCENT

HYUNDAI Grand Avega

KIA Pride

KIA RIO

11-

11-

11-

10-

FEMALE RHT M16X1.5

SEK-8591L 56820-0U500

56820-1R501

56820-1W000

CEKH-46L

HYUNDAI ACCENT

HYUNDAI Grand Avega

KIA Pride

KIA RIO

11-

11-

11-

10-

FEMALE RHT M16X1.5

CEKH-47R 56820-4L090 SOLARIS 11- FEMALE RHT M14X1.5

CEKH-47L 56820-4L000 SOLARIS 11-
FEMALE RHT M14X1.5

SEK-8141R 56820-A5090

56820-B2050

56820-3X090

56820-A6090

CEKH-48R

HYUNDAI AVANTE MD

HYUNDAI i30

HYUNDAI VELOSTER

KIA Ceed

KIA Proceed

KIA Soul

10-

12-

11-

12-

12-

11-

FEMALE RHT M16X1.5



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

SEK-8141L 56820-A5000

56820-B2000

56820-3X000

56820-A6000

CEKH-48L

HYUNDAI AVANTE MD

HYUNDAI i30

HYUNDAI VELOSTER

KIA Ceed

KIA Proceed

KIA Soul

10-

12-

11-

12-

12-

11-

FEMALE RHT M16X1.5

CEKH-49R

56820-2W050

56820-4Z050

Grand Santa Fe

Maxcruz

Santa Fe

Sorento

13-

13-

12-

09-

R M16X1.5

CEKH-49L

56820-2W000

56820-4Z000

Grand Santa Fe

Maxcruz

Santa Fe

Sorento

13-

13-

12-

09-

L M16X1.5

CEKH-50R 56820-4R500 YF SONATA HYBRID 11- FEMALE RHT M16X1.5

CEKH-50L 56820-4R000 YF SONATA HYBRID 11- FEMALE RHT M16X1.5

CEKH-51R 56825-C1090

56825-D3000

SONATA

SONATA HYBRID

TUCSON

14-

14-

15-

FEMALE RHT M16X1.5

CEKH-51L 56820-C1090

56820-D3000

SONATA

SONATA HYBRID

TUCSON

14-

14-

15-

FEMALE RHT M16X1.5

CEKH-52R 56890-5H001 MIGHTY 13- MALE RHT M22×1.5

CEKH-52L 56880-5H001 MIGHTY 13- MALE LHT M22×1.5

CEKH-54R 56820-B1550

56820-B1410

GENESIS AWD 14-
FEMALE RHT M14×1.5

CEKH-54L 56820-B1500

56820-B1400

GENESIS AWD 14-
FEMALE RHT M14×1.5

CEKH-55R

56825-J7000

56825-AA000

56825-F2000

56825-K2000

KONA

Elantra

Avante

i30

Kauai

Kona

KIA Ceed

KIA ProCeed

KIA XCeed

17-

15-

16-

16-

18-

18-

18-

18-

18-

R M16X1.5

CEKH-55L

56820-J7000

56820-AA000

56820-F2000

56820-K2000

KONA

Elantra

Avante

i30

Kauai

Kona

KIA Ceed

KIA ProCeed

KIA XCeed

17-

15-

16-

16-

18-

18-

18-

18-

18-

L M16X1.5

CEKH-56R 56825-E6090 SONATA

SONATA HYBRID(PHEV)

14-

14-
CEKH-56L 56820-E6000 SONATA

SONATA HYBRID(PHEV)

14-

14-
CEKH-57R 56820-3N290 EQUUS 14.09-
CEKH-57L 56820-3N200 EQUUS 14.09-
CEKH-58L 56820-G2000

56820-G2500

56820-J2000

56820-K4000

56820-S0001

i30

i30 Fastback

Ioniq

Kauai

KONA

KIA r-Niro

KIA e-Soul

KIA E-Soul Cargo

Niro

Soul

17-

18-

16-

18-

18-

18-

19-

20-

16-

19-

OUT R M16/M12



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

CEKH-58R 56825-G2000

56825-G2500

56825-J2000

56825-K4000

56825-S0001

i30

i30 Fastback

Ioniq

Kauai

KONA

KIA r-Niro

KIA e-Soul

KIA E-Soul Cargo

Niro

Soul

17-

18-

16-

18-

18-

18-

19-

20-

16-

19-

OUT L M16/M12

CEKH-66R 56825-M5000 HYUNDAI Santa FE

HYUNDAI NEXO

KIA Telluride

18-

18-

19-

OUT R M16X1.5

CEKH-66L 56820-M5000 HYUNDAI Santa FE

HYUNDAI NEXO

KIA Telluride

18-

18-

19-

OUT L M16X1.5

CEKH-70L 56820-L1000

56825-P2000

SONATA (HYUNDAI)

KIA K5

19-

19-
OUT L M16X1.5

CEKH-70R 56825-L1000

56820-P2000

SONATA (HYUNDAI)

KIA K5

19-

19-
OUT R M16X1.5

SEK-8191 56820-0X000

CEKK-35

MORNING(PICANTO) 07- FEMALE RHT
M12×1.25

CEKK-36R 56820-2K050 i20

SOUL

08-
FEMALE RHT M14X1.5

CEKK-36L 56820-2K000 i20

SOUL

08-
FEMALE RHT M14X1.5

CEKK-40R 56820-3T290 EQUUS 14- FEMALE RHT M16×1.5

CEKK-40L 56820-3T200 EQUUS 14-

FEMALE RHT M16×1.5

CEKK-1 1363-32-510A

OH001-32-280

OK620-32-240A

(CEKK-22)

BONGO

CAPITAL

CONCORD

POTENTIA

80-87

89-96

87-96

92-01

FEMALE RHT M14×1.5

CEKK-2 1363-32-450A

1391-34-450

OK620-32-280A

BONGO 80-87

FEMALE LHT M14×1.5

CEKK-4 OS083-32-240

OK710-32-240

(CEKA-4)

BESTA

WIDE BONGO

TIPIC/TOPIC VAN/HI-TOPIC

FRONTIER 2WD

86-96

96-97

87-97

97-03

FEMALE RHT M14×1.5

SE-1901L K670-32-280

CEKK-5

CERES(KIA) 90-
L

SE-1901R K670-32-240

CEKK-6

CERES(KIA) 90-
R 

CEKK-7 OK670-32-510 CERES 4×2，4×4 FOR

K670,K672,K675,K676

83-96
FEMALE LHL M18×1.5

CEKK-8 OK670-32-450 CERES 4×2，4×4 FOR

K670,K672,K675,K676

83-96
FEMALE RHT M18×1.5

SE-1421R 0W023-32-450

1363-32-450C

(CEKA-9)

CEKK-9

TRADE

COMBI

JUMBO TITAN/SUPER TITAN

88-

89-

73-
MALE RHT M18×1.5

KIA
TIE ROD END



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

SE-1421L 0W023-32-510

1363-32-510C

(CEKA-10)

CEKK-10

TRADE

COMBI

JUMBO TITAN/SUPER TITAN

88-

89-

73-
MALE LHT M18×1.5

CEKK-12 56820-07000

F4BZ-3A130-A

MDX50-32-280

K9992-11-201

(CEKK-25)

AVELLA(ASPIRE)

AVELLA DELTA

RIO

MORNING (PICANTO)

94-99

94-99

99-04

04-

FEMALE RHT M12×1.25

CEKK-13R 0727-32-450 73-92
M20×1.5

CEKK-13L 0727-32-510 73-92 M20×1.5

CEKK-14R K850-32-450

(CEKA-14R)

RHINO

COSMOS

WIDE BOXER

88-

89-

92-

MALE RHT M27×1.5

CEKK-14L K850-32-510

(CEKA-14L)

RHINO

COSMOS

WIDE BOXER

88-

89-

92-

MALE LHT M27×1.5

SEK-8551 OK201-32-280

OK201-32-280A

OKA2-32-280

56820-M2000

CEKK-19

CEKK-23

CEKK-24

CEKK-15

SEPHIAⅠ(MENTOR,TIMOR)

SEPHIAⅡ(MENTOR,TIMOR)

SEPHIAⅠ

SEPHIAⅡ

SPECTRA

ELAN

CARENS

CREDOS(CLARUS)

92-97

97-00

97-00

00-03

00-03

96-98

99-02

95-00

FEMALE RHT M14×1.5

CEKK-16R OK011-32-280 SPORTAGE

RETONA

93-02

97-03

FEMALE RHT

INNER
M18×1.5

CEKK-16L OK011-32-230 SPORTAGE

RETONA

93-02

97-03

FEMALE LHT

OUTER
M18×1.5

CEKK-17R OK011-32-250A SPORTAGE

RETONA

93-02

97-03

FEMALE RHT

INNER
M18×1.5

CEKK-17L OK011-32-240A SPORTAGE

RETONA

93-02

97-03

FEMALE LHT

OUTER
M18×1.5

CEKK-18 OK72A-32-240

OK72A-32-240A

PREGIO

FRONTIER 4WD

BONGOⅢ COACH,VAN

95-

97-03

04-

FEMALE RHT
M14×1.5

CEKK-20R OK552-32-280 CARNIVAL(SEDONA) 98- FEMALE RHT
M14×1.5

CEKK-20L OK552-32-240 CARNIVAL(SEDONA) 98- FEMALE RHT
M14×1.5

CEKK-21R OK95A-32-280 ENTERPRISE 97-02 FEMALE RHT
M14×1.5

CEKK-21L OK85A-32-280

OK95B-32-280

ENTERPRISE 97-02 FEMALE LHT
M14×1.5

SEK-8051R 56820-38900

57780-38900

CEKH-28

CEKK-26R

CEKH-26R

SONATA (HYUNDAI)

AMANTI (KIA)

OPTIMA/MAGENTIS (KIA)

02-

04-06

01-06 OUTER R

SEK-8051L 56820-38000

57780-38000

CEKH-29

CEKK-26L

CEKH-26L

SONATA (HYUNDAI)

AMANTI (KIA)

OPTIMA/MAGENTIS (KIA)

02-

04-06

01-06 OUTER L

CEKK-27R 56820-3E900 SORENTO 02- FEMALE RHT
M14×1.5

CEKK-27L 56820-3E000 SORENTO 02- FEMALE RHT
M14×1.5

CEKK-31R 56820-1G000 PRIDE(RIO) 05- FEMALE RHT
M14×1.5

CEKK-31L 56820-1G900 PRIDE(RIO) 05- FEMALE RHT
M14×1.5



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

CEKK-32R 56820-2G900 LOTZE(MAGENTIS,OPTIMA)

CARENS(RONDO)

05-

06-

FEMALE RHT
M14×1.5

CEKK-32L 56820-2G000 LOTZE(MAGENTIS,OPTIMA)

CARENS(RONDO)

05-

06-

FEMALE RHT
M14×1.5

CEKK-33R 56820-4D100

56820-4D101

GRAND CARNIVAL

(SEDONA,ENTOURAGE)

05- FEMALE RHT
M16×1.5

CEKK-33L 56820-4D000

56820-4D101

GRAND CARNIVAL

(SEDONA,ENTOURAGE)

05- FEMALE RHT
M16×1.5

CEKK-34R 56820-2J900 MOHAVE 07- FEMALE RHT
M16×1.5

CEKK-34L 56820-2J000 MOHAVE 07- FEMALE RHT
M16×1.5

SEK-8191 56820-0X000

CEKK-35

MORNING(PICANTO) 07- FEMALE RHT
M12×1.25

CEKK-36R 56820-2K050 i20 08- FEMALE RHT M14X1.5
CEKK-36L 56820-2K000 i20 08- FEMALE RHT M14X1.5
SEK-8651R 56820-1Y000

56820-1Y551

56820-1Y550

CEKK-37R

MORNING(PICANTO)

RAY

11-

12- FEMALE LHT
M14×1.5

SEK-8651L 56820-1Y050

56820-1Y501

56820-1Y500

CEKK-37L

MORNING(PICANTO)

RAY

11-

12- FEMALE RHT
M14×1.5

CEKK-38R 56820-A7090 K3 12- FEMALE RHT
M16×1.5

CEKK-38L 56820-A7000 K3 12- FEMALE RHT
M16×1.5

CEKK-39R 56821-A9000 CARNIVAL FEMALE RHT
M16×1.5

CEKK-39L 56820-A9000 CARNIVAL FEMALE RHT
M16×1.5

CEKK-40R 56820-3T290 EQUUS 14- FEMALE RHT M16×1.5

CEKK-40L 56820-3T200 EQUUS 14- FEMALE RHT M16×1.5

CEKK-41 KH432-3280A ENTERPRISE 97-02 FEMALE RHT M14×1.5

CEKK-42R 56825-G6900 MORNING

PICANTO

PICANTO X-LINE

17-

17-

17-

FEMALE RHT M14×1.5

CEKK-42L 56820-G6000 MORNING

PICANTO

PICANTO X-LINE

17-

17-

17-

FEMALE RHT M14×1.5

CEKK-43R 56825-H8000 HYUNDAI ACCENT

HYUNDAI SOLARIS

KIA RIO

KIA RIO X-LINE

KIA STONIC

17-

17-

17-

17-

17-

FEMALE RHT M14×1.5

CEKK-43L 56820-H8000 HYUNDAI ACCENT

HYUNDAI SOLARIS

KIA RIO

KIA RIO X-LINE

KIA STONIC

17-

17-

17-

17-

17-

FEMALE RHT M14×1.5

CEKH-64L
56820-J5000

56820-J5300

GENESIS G70

KIA Stinger

17-

17-
OUT L M16X1.5

CEKH-64R
56825-J5000

56825-J5300

GENESIS G70

KIA Stinger

17-

17-
OUT R M16X1.5

CEKH-65L 56820-C9000 ix25 19- OUT L M14X1.5

CEKH-65R
56820-C9090

ix25 19-
OUT R M14X1.5

CEKH-66R 56825-M5000 HYUNDAI Santa FE

HYUNDAI NEXO

KIA Telluride

18-

18-

19-

OUT R M16X1.5

CEKH-66L 56820-M5000 HYUNDAI Santa FE

HYUNDAI NEXO

KIA Telluride

18-

18-

19-

OUT L M16X1.5



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

CEKH-69L 56820-C8000 i20 14- OUT L M14X1.5

CEKH-69R
56820-C8900

i20 14-
OUT R M14X1.5

CEKH-4 56820-02500 VISTO(ATOS) 97-03 FEMALE RHT
M12×1.25

CEKH-7 56820-25000

56820-2F000

CERATO(SPECTRA) 03- FEMALE RHT
M12×1.25

SEK-8041R 56820-2E900

CEKH-35R

TUCSON (HYUNDAI)

SPORTAGE (KIA)

05-

05-
OUTER R

SEK-8041L 56820-2E000

CEKH-35L

TUCSON(HYUNDAI)

SPORTAGE(KIA)

05-

05-
OUTER L

CEKH-37R 56820-3F110 OPIRUS(AMANTI) 06.5-07 FEMALE RHT
M16×1.5

CEKH-37L 56820-3F100 OPIRUS(AMANTI) 06.5-07 FEMALE RHT
M16×1.5

CEKH-38R 56820-2H090 CEE'D

FORTE

FORTE HYBRID

06-

08-

09-

FEMALE RHT
M10X1.25

CEKH-38L 56820-2H000 CEE'D

FORTE

FORTE HYBRID

06-

08-

09-

FEMALE LHT
M10X1.25

SEK-8611R 56820-2P000

CEKH-39R

SORENTO R 09-
FEMALE RHT

M12×1.25

SEK-8611L 56820-2P900 SORENTO R 09-
FEMALE RHT

M12×1.25

SEK-8101R 56820-3K010

56820-3K510

CEKH-41R

OPIRUS(AMANTI) 08-
OUT R M16×1.5

SEK-8101L 56820-3K000

56820-3K500

CEKH-41L

OPIRUS(AMANTI) 08-
FEMALE RHT

M16×1.5

CEKH-42R 56820-3M950 K9 12- FEMALE RHT
M14×1.5

CEKH-42L 56820-3M900 K9 12- FEMALE LHT
M14×1.5

CEKH-45R 56820-3Q500

56820-2T500

56820-2T100

YF SONATA

HG GRANDUER

i40

10-

10-11

11-

FEMALE RHT M16X1.5

CEKH-45L 56820-3Q000

56820-2T000

56820-2T190

YF SONATA

HG GRANDUER

i40

10-

10-11

11-

FEMALE RHT M16X1.5

CEKH-46R 56820-1W090

56820-1R501

PRIDE 11- FEMALE RHT
M16×1.5

CEKH-46L 56820-1W000

56820-1R501

PRIDE 11- FEMALE RHT
M16×1.5

CEKH-48R 56820-A5090 AVANTE MD 10- FEMALE RHT M16X1.5
CEKH-48L 56820-A5000 AVANTE MD 10- FEMALE RHT M16X1.5
CEKH-49R 56820-2W050 SANTAFE DM

MAXCRUZ

12-

13-
FEMALE RHT

M16X1.5

CEKH-49L 56820-2W000 SANTAFE DM

MAXCRUZ

12-

13-

FEMALE RHT
M16X1.5

CEKH-50R 56820-4R500 YF SONATA HYBRID 11-
FEMALE RHT M16X1.5

CEKH-50L 56820-4R000 YF SONATA HYBRID 11-
FEMALE RHT M16X1.5

CEKH-51R 56825-C1090

56825-D3000

SONATA

SONATA HYBRID

TUCSON

14-

14-

15-

FEMALE RHT M16X1.5

CEKH-51L 56820-C1090

56820-D3000

SONATA

SONATA HYBRID

TUCSON

14-

14-

15-

FEMALE RHT M16X1.5

CEKH-56R 56825-E6090 SONATA

SONATA HYBRID(PHEV)

14-

14-



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

CEKH-56L 56820-E6000 SONATA

SONATA HYBRID(PHEV)

14-

14-
CEKA-1R AA100-32-280 TOWINER 92- FEMALE RHT

M14×1.5

CEKA-1L AA100-32-240 TOWINER 92- FEMALE LHT
M14×1.5

CEKA-2 AA161-32-280 TOWINER LPG 94- FEMALE RHT
M14×1.5

CEKA-3R OK550-32-510 ROCSTA

ROCSTA R-2

90-93

93-97
MALE RHT M18×1.5

CEKA-3L OK550-32-450 ROCSTA

ROCSTA R-2

90-93

93-97
MALE RHT M18×1.5

CEKA-6R AA92D-34-450

G013-31-500A

TRUCK ALL(AM SERIES/GRANTO)

BUS ALL(AM SERIES/GRANBIRD)

84-

81- M42×1.5

CEKA-6L AA92D-32-510

G013-31-600A

TRUCK ALL(AM SERIES/GRANTO)

BUS ALL(AM SERIES/GRANBIRD)

84-

81-
M42×1.5

SEK-8401R 93740723

SE-CH21R

CHEVROLET KALOS

CHEVROLET AVEO

09-

09-
OUT-R

SEK-8401L 93740722

SE-CH21L

CHEVROLET KALOS

CHEVROLET AVEO

09-

09-
OUT-L

SE-7063A 107063 CHEVROLET SILVERADO 07- OUT R/L

SR-2340 45503-10020

45503-19015

45503-19045

ES-2190R

EV-165

EV-281

CRT-1

COROLLA,SPRINTER

COROLLA LEVIN

& SPRINTER TRUENO

TERCEL,CORSA

STARLET

CHARMANT(DAIHATSU)

79-83

81-83

82-87

83-87

78-82

78-84

R/L
M14×1.5

M14×1.5

SR-2410 45503-22010

45503-29015

45503-29016

45503-29125

45503-59125

EV-167

EV-242

CRT-3

SOARER

MARK II(CRESSIDA)

CORONA

CARINA,CELICA

TOWNACE,MASTERACE

VAN,WAGON

TOWNACE,LITEACE

TRUCK

LITEACE VAN,WAGON

81-86

80-84

82-87

81-86

81-

85-

86-

85-

R/L M14×1.5

M14×1.5

SR-2450 45503-29085

45503-39015

ES-2241RL

EV-179

CRT-8

CAMRY,VISTA 82-86

R/L M14×1.5

M14×1.5

SR-2520 45503-19025

ES-3125

EV-168

CRT-4

COROLLA LEVIN

& SPRINTER TRUENO

SPRINTER CARIB 4WD

TERCEL,CORSA

& COROLLA II

85-87

82-

82-86

R/L M14×1.5

M14×1.5

SR-2540 45503-29025

CRT-7

CORONA 83
R/L

SR-2550 3410369

269-5093

45503-19035

ES-2250R

EV-178

CRT-2

CORONA

CARINA,CELICA

COROLLA,SPRINTER

83-84

84

83-84 R/L M14×1.5

M12×1.25

TOYOTA
RACK END



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

SR-2551 269-5087

45503-19055

ES-2248R

EV-188

CRT-5

CORONA

CARINA,CELICA

COROLLA,SPRINTER

83-84

84

83-84
R/L M14×1.5

M12×1.25

SR-2640 45503-29045

45503-29075

45503-29105

45503-29605

45503-39025

ES-2833

SR-2641

CRT-15

CRT-16

CORONA

CARINA

CARINA

CORONA

CAMRY,VISTA

CORONA

CARINA

CELICA-LB

85-

85-

88-92

88-92

86-

85-

85-

85-

R/L
M14×1.5

M14×1.5

SR-2650 45503-19036

45503-19125

45503-19135

ES-2383

ES-2977

EV-190

EV-239

EV-240

SR-2800

SR-2801

CRT-6

CRT-13

CORONA

CARINA,CELICA

COROLLA,SPRINTER

COROLLA,SPRINTER

COROLLA,SPRINTER

84-87

84-

84-87

87-

87-
R/L

M14×1.5

M14×1.5

SR-2651 45503-19056

ES-2381

EV-189

CRT-10

CORONA

CARINA,CELICA

COROLLA,SPRINTER

84-87

84-

84-87

R/L M14×1.5

M14×1.5

SR-2660 45503-19065

45503-19066

EV-284

CRT-42

MR2 84-89

R/L

SR-2670 45503-29065

CRT-20

MARK II(CRESSIDA)

& CRESTA,CHASER

84-
R/L

M14×1.5

M14×1.5
SR-2671 45503-29035 MARK II(CRESSIDA)

& CRESTA,CHASER

84-
R/L

SR-2680L 45503-29045

ES-2267R

EV-198

CRT-19

CRT-9R

MARK II(CRESSIDA)

& CRESTA,CHASER

84-88

84-88

R/L

R

M14×1.5

M14×1.5

SR-2680L 269-2824

45503-29055

ES-2269R

EV-199

CRT-9L

MARK II(CRESSIDA)

& CRESTA,CHASER

84-88

L M14×1.5

M14×1.5

SR-2710 45503-29145 HIACE 86- R/L

SR-2700 45503-19075

CRT-11

STARLET 84- R/L M12×1.25

M12×1.25
SR-2760 45503-19116

ES-3119

EV-278

CRT-12

TERCEL,CORSA

& COROLLA II

86-

R/L
M12×1.25

M14×1.5

SR-2770 45503-29095

45503-29135

ES-2979

EV-210

CRT-40

TOWNACE,MASTERACE

VAN,WAGON

TOWNACE,LITEACE

TRUCK

LITEACE VAN,WAGON

85-

86-

85-

85-92

R/L
M14×1.5

M14×1.5

SR-2780 45503-29235

SR-2922

CRT-74

T0WNACE VAN 4WD

LITEACE 4WD

88-96

88-96 R/L
M14×1.5

M14×.15



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

SR-2820 45503-29155

CRT-21

CORONA

CARINA Ⅱ

87-
R/L

M14×1.5

M15×1.5
SR-2821 45503-29165

ES-3397

CRT-22

CORONA

CARINA Ⅱ

87-
R/L

M14×1.5

M15×1.5

SR-2870 45503-29255

CRT-17

HIACE VAN.WAGON

& COMMUTER

89-
R/L

M14×1.5

M17×1.5
SR-2871 45503-29265

CRT-18

HIACE VAN.WAGON

& COMMUTER

89-
R/L

M14×1.5

M17×1.5
SR-2910 45503-29335

45503-59025

45503-59035

CRT-33

KIJANG 91-
R/L M14×1.5

M14×1.5

SR-2916 45503-19085

45503-29175

SUPRA 82-93
R/L

SR-2917 45504-19015 SUPRA 82-93 R/L

SR-2920 45503-29215

CRT-23

LITEACE

LITEACE TRUCK

88-

88-
R/L

M14×1.5

M14×1.5
SR-2930 45503-29355

45503-39055

45503-39135

ES-3321

ES-3340

EV-301

CRT-25

CAMRY

WINDOM

MARK II

SIENNA

AVALON

91-01

96-

97-

98-03

00-02
R/L

M14×1.5

M15×1.5

SR-2940 45503-19155

45503-19195

ES-3354

CRT-26

STARLET

TECEL

89-

95- R/L
M12×1.25

M12×1.25

SR-2960 45503-19205

45503-29385

EV-302

CRT-27

COROLLA  91-

95-

95-00
R/L

M14×1.5

M14×1.5

SR-2961 45503-09130

45503-19175

45503-19215

45503-29365

EV-303

CRT-28

COROLLA

COROLLA HB/LB(UKP)

RAV-4

91-

95-

95-00

98-01

94-

LOW

R/L

M14×1.5

M14×1.5

SR-2970 45503-29245

ES-2332

EV-286

CRT-37

CELICA

CORONA EXIV

CARINA ED

89-

R/L
M14×1.5

M15×1.5

SR-2990 45503-29615

45503-29435

CRT-34

CORONA,CELICA

CARINA

92-
R/L

M14×1.5

M15×1.5

SR-2991 45503-29475

CRT-45

CORONA,CELICA,

CARINA

92-96
R/L

M14×1.5

M15×1.5
SR-3233 45503-87701
SR-3252 45503-87516 DAIHATSU CHARADE 93-
SR-3500 45503-29305

45503-29185

CRT-35

MARK II (CRESSIDA)

&CRESTA,CHASER

CROMN CCMFORT

88-96

95- R/L
M14×1.5

M14×1.5

SR-3502 45503-29195

45503-29315

CRESTA 88-92
R/L

SR-3510 45503-29485

CRT-36

MARK II (CRESSIDA)

&CRESTA,CHASER

92-00
R/L

M14×1.5

M14×1.5

SR-3520 45503-29285

45503-29295

ES-3384

EV-307

CRT-44

ESTIMA 90-00

R/L

M14×1.5

M14×1.5



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

SR-3560 45503-39075

45503-39078

EV-433

F57-23-280AA

CRT-50

LAND CRUIZER PRADO

HILUX

4RUNNER

TACOMA

96-

95-

96-02

95-03

R/L(FEMALE)

M18×1.5

M20×1.5

SR-3570 45503-19185

45503-19235

CRT-43

TERCEL

SOLUNA

94-

96- R/L
M12×1.25

M12×1.25

SR-3580 45503-05020

45503-05050

CRT-46

AVENSIS Mar-98
R/L

M16×1.5

M14×1.5

SR-3590 45503-06080

45503-8Y001

CRT-31

CAMRY

CAMRY AUS

94-97

97- R/L
M16×1.5

M16×1.5

SR-3600 45503-52010

45503-59045

EV-410

CRT-47

YARIS(VITZ)ECHO

FUN CARGO

PLATZ

ECHO

99-

99-

99-

00-

R/L
M14×1.5

M12×1.25

SR-3610 45503-39065

45503-39066

CRT-49

TACOMA 95-03
R/L

M14×1.5

M15×1.5

SR-3640 45503-02050

45503-09220

45503-12130

45503-19255

CRT-54

COROLLA

COROLLA HB(UKT)

COROLLA SED/WG(UKP)

ALTIS

WISH

ALTIS

00-

01-02

02

02-03

03-

R/L
M14×1.5

M14×1.5

SR-3650 45503-19265

45510-12430LR

45510-12431LR

CRT-115

COROLLA 4WD

COROLLA SPACIO

PREMIO

WISH

COROLLA AXIO

00-

01-

01-

03-

06-

R/L

SR-3670 45503-19245

CRT-55

SOLUNA W/O GLI ATM 96-
R/L

M12×1.25

M12×1.25
SR-3671 45503-19235

CRT-76

SOLUNA  (GLI ATM) 96-
R/L

M12×1.25

M12×1.25
SR-3680 45503-29565

CRT-56

HIACE 95-
R/L

M14×1.5

M15×1.5
SR-3701 45503-29405
SR-3711 45503-09090

45503-09100

45503-0B010

45503-0B020

45503-29665

CRT-57

KIJANG

TOWNACE

96-

96-

R/L

SR-3720 1-004-014

45503-29445

45503-29625

CRT-58

CARINA 96-

92- R/L
M14×1.5

M14×1.5

SR-3740 45503-29535

CRT-75

MARK Ⅱ 4WD

MARK Ⅱ

92-96

96-00
R/L

M14×1.5

M14×1.5
SR-3750 45503-09230

45503-39225

EV-420

CRT-61

CAMRY

CAMRY USA

01-

01- R/L
M14×1.5

M15×1.5

SR-3760R 45503-39095

45503-59015

ES-3221

EV-241

EV-243

CRT-66

CELSIOR

SUPRA

CROWN

ARISTO

LEXUS LS400

LEXUS GS300

89-94

93-98

91-98

91-96

95-00

95-97

R
M14×1.5

M14×1.5

SR-3760L 45504-59015

45504-59025

CRT-68

CELSIOR

SUPRA

CROWN

89-94

93-98

91-98

L M14×1.5

M14×1.5



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

SR-3770 45503-29685 TOMN ACE 96/10- R/L

SR-3810 45503-69015 LAND CRUISER Feb-98 R/L

SR-3811 45503-69025 LAND CRUISER 03- R/L

SR-3820 45503-09260

45503-09290

CRT-111

VIOS 02-
R/L

SR-3840 45503-39235

45503-39265

EV-80379

CRT-77

LAND CRUISER

LAND DRUISER PRADO

4RUNNER

HILUX SURF

LEXUS GX470

02-

02-

03-05

03-

R/L
M22×1.5

M15×1.5

SR-3860 45503-09240

45503-09120

CRT-60

TUNDRA

SEQUOIA

03-06

00-02 R/L

SR-3870 45503-BZ010

45503-BZ010

CRT-106

AVANZA

XENIA

03-
R/L

SR-3871 45503-B0010 AVANZA 1.0 03- R/L

SR-3880 45503-09320

45503-09321

45503-09330

45503-09331

45503-09340

45503-OK110

45510-28120-ER

45510-28121-ER

45510-28122-ER

CRT-89

HILUX VIGO

FORTUNER

HILUX

KIJANG INNOVA

HILUX (GUN112)

NOAH/VOXY

04-

05-

05-

04-

15-

07-10
R/L

M14×1.5

M15×1.5

SR-3900 45503-49085

EV-449

CRT-78

KLUGER

CAMRY

HIGHLANDER 2WD/4WD

00-03

01-04

01-03

R/L
M14×1.5

M15×1.5

SR-3901 45503-09270

45503-49125

CRT-96

KLUGER

HIGHLANDER

HARRIER

04-

04-06

04-

R/L
M14×1.5

M15×1.5

SR-3920 45503-49055

EV-442

RAV 4 00-03 R/L
M14×1.5

M15×1.5
SR-3930 45503-02060

45503-02070

45503-09400

CRT-53

COROLLA USA

COROLLA S. US

03-

02- R/L
M14×1.5

M15×1.5

SR-3940 45503-49025

45503-49095

EV-447

CRT-73

HARRIER 99-

97-03 R/L
M14×1.5

M15×1.5

SR-3960 45503-01030

45503-09430

CRT-62

MATRIX

VOLTZ

03-

R/L
M14×1.5

M15×1.5

SR-3970 45503-29836

CRT-116

HIACE 04-

13- R/L

SR-3980 45503-29785

45503-39105

CRT-84

MARK Ⅱ

ALTEZZA

00-05

98-00 R/L
M14×1.5

M14×1.5

SR-3990 45503-09250

CRT-64

SIENNA 03-
R/L

M14×1.5

M16×1.5



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

SR-T020 45503-0D080

45503-52070

45503-52140

For GEAR ASSY

45510-52140

CRT-95

45510-52351LR

VITZ

BELTA

YARIS

VIOS

COROLLA AXIO

PRIUS C

New VITZ

05-

06-

06/2-

07-

15-

11-

13-

R/L
M14×1.5

M14×.15

SR-T022A RE-T00207 VITZAA 00- R/L

SR-T030 45503-29575

CRT-90

HI-ACE VAN

HIACE REGIUS

HIACE 4WD

HIACE REGIUS 4WD

95-99

99-04
R/L

M14×1.5

M15×1.5

SR-T040 45503-29515

CRT-70

CELICA

CORONA EXIV

94-99

93-
R/L

M14×1.5

M14×.15
SR-T050 45503-0F010

CRT-104

AVENSIS

COROLLA VERSO

03-05

04-
R/L

SR-T080 45503-BZ050 TERIOS

RUSH

07- R/L

SR-T081 45503-BZ110 RUSH(F700) 10- R/L

SR-T090 45503-29846

CRT-97

HIACE 4WD 04-
R/L

M14×1.5

M15×1.5
SR-T110 45510-28210LR

45510-28230LR

NOAH

VOXY

ESQUIRE

14-

14-

14-

R/L

SR-T120 45503-60030 LAND CRUISER

LEXUS LX450D/570

LEXUS LX450D/570

07-

07-

15-

R/L

SR-T130 45503-59145

45503-59155

CRT-107

LS460 06-
R/L

SR-T150L 45504-39025

CRT-98

ARISTO

LEXUS GS300

91-97

93-97
R/L

M18×1.5

M14×.15
SR-T170 45503-09420

45503-09500

45503-39275

CRT-85

AVALON

GZ CAMRY

CAMRY (ACV40)

05-07

07-

06-11
R/L

M14×1.5

M15×.15

SR-T180 45503-0C020

45503-0C030

TUNDRA

SEQUOIA

07-

08-
R/L

SR-T190 45503-29395

45503-29665

45503-0B020

45503-09100

CRT-101

LITE ACE

TOWNACE

KIJNG

99-04

R/L
M14X1.5

M14X1.5

SR-T200 45503-29755

CRT-102

LITE ACE 4WD 02-

02-04

99-02

R/L
M14X1.5

M14X1.5

SR-T204 45503-29685 LITE ACE 04- R/L

SR-T210 45503-42020

45503-49165

USA RAV-4

RAV-4

04-05
REAR R/L

SR-T211

(SR-A150)

45503-49035

CRT-71

CELICA 00-02
R/L

M14×1.5

M14×.15



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

SR-T220 45510-48061LR

45510-48060LR

45510-48051LR

45510-48050LR

45503-42030

45510-42160LR

45510-0R040LR

45510-0R050LR

For GEAR ASSY

45510-42080

45510-42230

45510-42240

45510-42120

45510-42130

45510-42140

45510-42250LR

45510-42251LR

45510-0R041LR

45510-42160

45510-0R040

45510-0R050

For GEAR ASSY

45510-48061

45510-48060

HARRIER HYBRID

USA RAV-4

2.4L Base Limi ted Model

RVA-4(ASA4)

RAV4(NAP)

13-

06-

14-

18-

R/L

SR-T250 45503-80004

45510-28240LR

NOAH 4WD

NOAH/VOXY

01-06

14-
R/L

SR-T260 45503-29825

45510-68040LR

45510-68030LR

45510-68031LR

CRT-79

SCION

WISH

02-

03-
R/L

M14×1.5

M15×1.5

SR-T270 45503-30070

CRT-93

LEXUS GS300

LEXUS GS350

LEXUS GS430

LEXUS IS250

LEXUS IS350

06-

07-

06-

06-

06-

R/L
M14×1.5

M15×1.5

SR-T280 45503-39155

CRT-83

LEXUS GS300

LEXUS GS350

LEXUS GS430

LEXUS IS250

LEXUS IS350

98-05

R/L
M14×1.5

M14×1.5

SR-T290 45503-30080

CRT-94

LEXUS GS300

LEXUS GS350

LEXUS GS430

LEXUS IS250

LEXUS IS350

06-

07-

06-

06-

06-

R/L
M14×1.5

M14×1.5

SR-T320 45503-09480

CRT-87

TACOMA 05-
R/L

M14×1.5

M15×1.5
SR-T330 45503-09490

45503-09550

CRT-88

TACOMA 05-
R/L

M14×1.5

M16×1.5

SR-T360 45503-02200

45503-12450

45510-02600-RE

45510-68021-RE

45510-02660LR

45510-20100LR

45510-68040LR

45510-68030LR

45510-68031LR

ALTIS

USA COROLLA

WISH

ALTIS

PREMIO

ISIS

08-

08-

16-

13-

07-

13-

R/L



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

SR-T370 45503-02150

45503-02170

For GEAR ASSY

45510-02150

45510-02170

45510-02171

45510-02490

USA COROLLA

MATRIX

COROLLA-AZE141

COROLLA-ZRE172

08-

08-

13-

14-18 R/L

SR-T390 45503-0E030

45503-48010

45510-0T010LR

45510-0T011LR

45510-0E060LR

For Arm

45510-48010

48810-0E030

KLUGER

HIGHLANDER

VENZA

HIGHLANDER

08-

19-

15-17

15- R/L

SR-T400 45503-60040

CRT-114

LAND CRUISER PRADO

LEXUS GX460

09-

10-
R/L

SR-T410 45503-0D090

45503-52060

45503-52320

CRT-105

45510-52370LR

YARIS

PRIUS C

06-

06- R/L

SR-T420 45510-0D460

45510-0D460_ER

45510-0D340_ER

CRT-121

VIOS

YARIS

LIMO(Vietnam)

13-

16-

16-
R/L

M14×1.5

M14×1.5

SR-T440 45503-47030

45510-0D510LR

CRT-91

PRIUS 05-09
R/L

M14×1.5

M14×1.5

SR-T460 45503-29765

CRT-108

ESTIMA 00-03
R/L

SR-T470 45503-59075

CRT-109

ESTIMA

PREVIA

ALPHARD(HV)

ALPHARD(G/V)

03-

03-

03-

02-

R/L

SR-T480 45503-28160

45503-28080

45510-28191LR

45510-58060LR

For GEAR ASSY

45500-28080

45510-58020

45510-58050

45510-28171LR

45510-28170LR

45510-28191

45510-58060

ESTIMA

PREVIA

ALPHARD

ALPHARD(AYH30)

ESTIMA HYBRID

VELLFIRE/ALPHARD/HV

LEXUS LM350/LM300H

06-

06-

08-

15-

16-

15-

20-

R/L

SR-T490 45503-49105

CRT-122

AVENSIS VERSO

IPSUM

01-
R/L

SR-T510 45503-35070

CRT-110

4RUNNER

FJ CRUISER

10-

10-
R/L

SR-T520 45503-76030

45503-76020

45503-47060

45503-47070

For GEAR ASSY

45510-47060

45510-47070

45510-47040LR

45510-47050LR

LEXUS CT200H

PRIUS

10-

09-

R/L

SR-T530 45503-B1020 PASSO

BB

10-

05-10

06-

R/L



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

SR-T540 45503-12340

45503-12360

45503-12380

45510-02690LR

For GEAR ASSY

45510-12340

45510-12360

45510-12380

45510-02390

45510-12471LR

COROLLA RUMION

COROLLA

SCION XB

LEVIN HYBRID

AURIS

07-

11-

11-

17-

06- R/L

SR-T550 45503-BZ120

45503-BZ160

45503-BZ220

45503-12380

For GEAR ASSY

45510-BZ120

45510-BZ160

45510-BZ130

CRT-120

AVANZA 11-

R/L

SR-T560 45503-0F040

For GEAR ASSY

45510-0F040

COROLLA VERSO 09-
R/L

SR-T580 45503-29425

SR-T234

CRT-113

DYNA 01-
R/L

SR-T720 45503-52241

45510-52400

45510-52410

45510-52420

45510-52172LR

45510-52182LR

AQUA

PROBOX(NCP160)

RACTIS

13-

14-

05- R/L

SR-T730 45503-19145

CRT-48

MR2 90-95
R/L

M12×1.25

M14×1.5
SR-T740 45503-19225 COROLLA 95- R/L

SR-T750 45503-39305

CRT-100

FJ CRUISER 07-
R/L

M22×1.5

M15×1.5
SR-T760 45503-39315

CRT-99

CAMRY HYBRID 07-
R/L

M14×1.5

M15×1.5
SR-T790 45503-49115 IPSUM 01-09 R/L

SR-T800 45510-08020LR

45510-08010LR

FOR GEAR ASSY

45510-08020

SIENNA

SIENNA

10-

14-
R/L

SR-T810 45510-75010LR

45510-47100LR

45510-47110LR※

For GEAR ASSY

45510-75010

SAI 09-

R/L

SR-T820 45503-39085

CRT-51

TACOMA 2WD 95-00
R/L

M14×1.5

M15×1.5
SR-T830 45510-06041LR

45510-06011LR

45510-33041LR

For GEAR ASSY

45510-06041

CAMRY HYBRID

CAMRY (ASV50)

12-15

14-
R/L

SR-T840 45503-39165 VISTA 96- R/L

SR-T850 45503-97401 DUET(M100A) 00- R/L

SR-T860 45510-20110LR

45510-68051LR

45510-68050LR

45503-49175

PREMIO(ZRT265)

WISH(ZGE25)

07-

09- R/L

SR-T870 45503-52040 SIENTA 03- R/L

SR-T890 45503-B1010 PASSO 04-06 R/L



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

SR-T900 45510-05090-RE

45510-05110-RE

45500-05050LR

AVENSIS

SR-T910 45503-29275 HIACE 89- R/L

SR-T920 45503-BZ140 DAIHATSU AYLA 12- R/L

SR-T930 45503-39195

45503-39145

CRT-124

TOYOTA  Dyna 99-04
R/L

SR-T940 45503-37030 HINO 300

TOYOTA DYNA

07-

06-
R/L

SR-A060 45503-59085 ALPHARD 02- R/L

SR-A080 45503-0D041

CRT-112

Toyota ETIOS

YARIS SEDAN

10-

10-
R/L

SR-A090 45510-75020LR

45510-62050LR

LEXUS HS250H

LEXUS HS250H

MIRAI

09-

13-15

14-

R/L

SR-A100 45510-52031LR

FOR GEAR ASSY

45510-52031LR

45510-52381LR

45510-52380LR

VITZ(KSP 90) 05-

R/L

SR-A101 45510-52290LR

45510-52291LR

45510-52231LR

VITZ NSP130 10-
R/L

SR-A110 45510-28120-RE

45510-28121-RE

45510-28122-RE

45510-12540LR

45510-12550LR

45510-47160LR

45510-47170LR

45510-52430LR

45510-K0040LR

45510-K0050LR

45510-L0060LR

45510-K0070LR

45510-02380LR

45510-02410LR

45510-02420LR

45510-02430LR

NOAH/VOXY

COROLLA SPORT

CRROLLA SEDAN

GR YARIS

COROLLA(UKP)

LEVIN HYBRID

11-

18-

19-

20-

19-

19-

R/L

SR-A111 45510-47140LR

45510-47150LR

PRIUS ZVW50 15-
R/L

SR-A112 45510-02360

45510-02580

45510-12530

45510-47160

45510-47170

PRIUS

ALTIS

COROLLA

COROLLA HB

16-

19-

19-

18-

R/L
M14X1.5

M16X1.5

SR-A120 45503-OK070

45503-OK130

44250-OK710LR

FORTUNER

HILUX(KUN125)

FORTUNER(GUN156)

16-

15-20- R/L

SR-A130 45510-28131LR

45510-28130LR

45510-28220LR

For GEAR ASSY

45510-28131

45510-28130

NOAH/VCXY

VOXY(ZRR80)

07-

14-

R/L

SR-T140 45510-28150-RE

45510-28151-RE

45510-28250LR

NOAH/VOXY

NOAH/VOXY/ESQUIRE

VOXY(ZRR85)

07-

14-

14-

R/L

SR-A180 SU003-00832

CRT-123

CRSU-19

31460-CA000

BRZ

86 (ZN6) TOYOTA

BRZ (ZC6) SUBARU

12-

12-

21-
R/L



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

SR-A220 45503-53010 IS200t

IS250

IS300

IS300h

IS350

15-

R/L

SR-A230 45503-30160

CRT-126

IS200t

IS250

IS300

IS300h

IS350

CROWN HYBRID

13-

R/L

SR-A280 45510-15010LR

For GEAR ASSY

45510-15010

JPN TAXI 17-
R/L

SR-A302 45503-60050 Land Cruiser 300 21- R/L

SR-A330 45503-BZ210 RUSH(F800) 18- R/L

SR-A370
45503-29180

45503-26180

SR-3972

HIACE

GRANVIA

19-

19- R/L

SR-A390 44250-42190LR ※

44250-42190LR ※

44250-42200LR ※

44250-42240LR ※

45510-02820LR ※

44250-42240LR ※

44250-0R011LR ※

44250-0R012LR ※

44250-0R022LR ※

44250-0R030LR ※

44250-42170LR ※

For GEAR ASSY

44250-42190 ※

44250-42200 ※

RAV4(NAP)

RAV4(AXAH5)

20-

19-

R/L

SR-A410 44250-07150LR

42250-07130LR

44250-06500LR

44250-33621LR

AVALON(AXXH50)

CAMRY HYBRID

CAMRY(AXVA70)

BYD ATTO-3

18-

19-

17-
R/L

SR-A420 45510-10240LR◎

45510-10250LR◎

45510-52440_ER

45510-F4010LR

45510-F4020LR

45510-0A050_ER

45510-47180LR

45510-47190LR

45510-0A060LR

For GEAR ASSY

45510-10240

45510-F4010

TOYOTA C-HR

COROLLA CROSS

GP YARIS

PRIUS

16-

18-

20-

22-

R/L
M16×1.5

M14×1.5

SR-A470 45503-05050 AVENSIS(AZT220) 01- R/L

SR-A500 45510-SA500 YARIS KSP210

AQUA MXPK1

YARIS CROSS

SIENTA

20-

20-

20-

22-

R/L

SR-A520 44250-0E040LR

For GEAR ASSY

44250-0E040

HIGHLANDER 20-

19- R/L

SR-A530
45460-WAA02-1

45470-WAA02-1

SUPRA 19-
R/L

SR-A550 45504-BZ010 TOWNACE

LITEACE/TOWNACE

13-20

13-
R/L



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

SR-A560 455003-BZ240

45503-BZ240-001

1H01-32-119

TOWNACE

LITEACE/TOWNACE

GRANMAX(DAIHATSU)

BONGO(MAZDA)

20-

20-

07-

20-

R/L

SR-A570 44250-08090LR

44250-08100LR

For GEAR ASSY

44250-08090

SIENNA 21-

20-

20-
R/L

SR-A580 45510-28200LR

45510-28260LR

For GEAR ASSY

45510-28200

45510-28260

HOAH

NOAH/VOXY

22-

22-

22- R/L

SR-A590 45503-60050 LAND CRUISER 300 21- R/L

SR-A610 44250-78040LR

44250-78030LR For

GEAR ASSY

44250-78040

44250-78030

LEXUS NX250

LEXUS NX450H+

LEXUS350/350H/250

LEXUS NX450H+

AAZA20

AAZA2#,AAZH

20,AAZH25,TA

ZA25

AAZH26

21-

21-

21-

R/L

CRT-24 45503-990DL

45503-05010

ZF
R/L

M14×1.5

M14×1.5
CRT-32 45503-02010 COROLLA 94-

R/L
M16×1.5

M14×1.5
CRT-63 45503-01040

(CRT-86)

MATRIX 03-
R/L

M14×1.5

M15×1.5
CRT-65 45503-19165 MR2 91-95

R/L
M14×1.5

M14×.15
SR-T070 45503-59065

CRT-67

CELSIOR

LEXUS LS430

01-06
R/L

M18×1.5

M14×.15
CRT-69 45503-49165 RAV4 03-05

R/L
M14×1.5

M15×.15
CRT-72 45503-39035 T100 PICK UP 2WD 93-98

R/L
M14×1.5

M14×.15
CRT-79 45503-29825 SCION

WISH

02-

03-
R/L

M14×1.5

M15×.15
CRT-80 45503-52030 SCION 02-

R/L
M14×1.5

M14×.15
CRT-81 45503-49135 HIGHLANDER 06-

R/L
M14×1.5

M15×1.5
CRT-82 45504-59025 LEXUS LS400 95-00 L M14×1.5

M14×1.5
CRT-86 45503-09450 MATRIX 04- R/L

CRT-92 45503-49075 PRIUS 01-03
R/L

M18×1.5

M14×1.5
CRT-103 45503-17040

CRT-106

MR2 SPYDER 00-05 M14X1.5

M12X1.25
CRT-117 45503-29775
CRT-123 SU003-00832

CRT-125 45503-39045

CRT-126 45503-30160
CRT-127 45503-53010

NISSAN
RACK END



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

SR-4170 48521-01F00

48521-41L00

48521-P9001

48521-W1000

48521-W1001

48531-P9001

ES-2275R

EV-162

CRN-3

LEOPARD

FAIRLADY Z

LAUREL

SKYLINE

BLUEBIRD

SILVIA,GAZELLE

80-

81-83

83-

84-

85-

79-83

83-

R/L
M16×1.0

M14×1.5

SR-4370 269-2537

48521-M3001

48521-M3070

48521-M7000

ES-2334

EV-155

EV-163

CRN-4

PULSAR

LANGLEY

78-82

80-82

R/L

SR-4480 1002005

48521-35F00

48521-70A00

48521-70A06

48521-D0100

ES-2277L

EV-169

CRN-1

BLUEBIRD

AUSTER,STANZA

SUNNY

SUNNY 4WD

LAUREL SPIRIT

LAUREL SPIRIT 4WD

PULSAR

PULSAR 4WD

LANGLEY

& LIBERTA VILLA

LANGLEY 4WD

& LIBERTA VILLA 4WD

PRAIRIE

SUNNY, PULSAR

83-87

87-

81-

81-85

85-

85-

82-86

86-

87-

82-86

86-

86-

82-86

86-

R/L
M16×1.0

M12×1.25

SR-4510 48521-35A00

48521-35A06

48521-35A26

ES-2336

EV-181

CRN-5

SUNNY

LAUREL SPIRIT

PULSAR,LANGLEY

& LIBERTA VILLA

83-85

85-

82-86

86-
R/L

M14×1.5

M12×1.25

SR-4519 48521-A03G0

48521-A05G0

CRN-10

SUNNY(SENTRA,TSURU) 91-
FEMALE R/L 

M14×1.5

M14×1.5

SR-4710

(SR-N710)

48521-10V00

48521-10V06

48521-61V06

48521-10V08

CRN-7

CEDRIC,GLORIA

300ZX

87-

95-96
R/L

M16×1.0

M14×1.5

SR-4730 48521-27N00

48521-27N25

CRN-9

CARAVAN 88-
R/L

M16×1.0

M14×1.5

SR-4740 48521-50T00

48521-50Y00

48521-50Y25

48521-50Y26

48521-50Y27

48521-Y02G0

ES-3320

EV-322

CRN-8

SUNNY

ALEMERA for MANUAL

SENTRA for MANUAL

TSURU Ⅲ

90-

95-

98-99

R/L
M16×1.0

M12×1.25

SR-4741 48521-53M00

48521-Q5200

48521-Q5600

48521-Q5601

CRN-15

SENTRA U.S.A 90-

R/L
M16×1.5

M12×1.25



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

SR-4760

(SR-4800)

CRN-6

(CRN-17)

1002004

48521-06R05

48521-06R06

48521-06R25

48521-07E00

48521-2B025

48521-71L00

48521-71V00

48521-71V06

48521-71V08

48521-G5200

ES-3186

EV-285

EV-348

CEFIRO

MAXIMA

LAUREL

SKYLINE

PRIMERA

BLUEBIRD 4WD

PRAIRIE 4WD

VANETTE

VANETTE COACH,VAN

88-94

88-91

88-93

89-93

90-

87-

88-

92-94

88-93

88-91

R/L
M16×1.0

M14×1.5

SR-4780 48521-1M210

48521-1M225

48521-1M226

48521-1M255

48521-1M256

CRN-16

CRN-19

ALMERA POWER

SUNNY/SENTRA

95-

94-

R/L
M16×1.0

M12×1.25

SR-4840 48521-0W025

48521-0W026

EV-396

CRN-21

TERRANO

PATHFINDER

95-

96- R/L
M20×1.5

M14×1.5

SR-4850 48521-4M401

48521-4M425

48521-4M426

48521-4M427

48521-4M487

48521-4M485

48521-6M025

48521-6M026

48521-6M085

48521-6M086

SR-4851

CRN-22

CRN-23

1N06-32-240

SUNNY

SUNNY 4WD

SUNNY

BLUEBIRD SYLPHY G10

(4WD.QG18DE)

MAZDA FAMILIA VAN

98-

98-

98-

00-

02-

R/L
M16×1.0

M12×1.25

SR-4860 48521-4M526

48521-4M500

48521-4M427

48521-4M528

48521-4M587

48521-4M588

IN-RE-003

CRN-24

48521-4M586

1N19-32-240

BLUEBIRD SYLPHY G10

QR20DD

PULSAR

ALMERA

WINGROAD/AD

00-

99-

99-

98-

R/L
M16×1.0

M14×1.5

SR-4870 48521-0C005

48521-0L701

48521-40401

48521-40D25

48521-40U01

48521-40U25

48521-40U26

48521-40U85

CRN-12

INFINITI  I30

MAXIMA

CEFIRO A32

MAXIMA QX

99-04

94-00

94-00

00-03
R/L

M16×1.0

M14×1.5



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

SR-4880 1002003

48521-2Y405

48521-2Y025

48521-2Y085

48521-5Y025

48521-5Y085

48521-5Y428

48521-5Y485

CRN-25

CEFIRO

MAXIMA

SERENA C23

99-01

00-03

96-99

R/L
M16×1.0

M14×1.5

SR-4900 48521-9E000

88-4228

ES-3436

EV-401

CRN-26

ALTIMA 98-01

R/L
M14×1.5

M12×1.25

SR-4910 48521-8H300

CRN-32

48521-8H325

48521-8H327

48521-8H385

X-TRAIL 00-

R/L
M16×1.0

M14×1.5

SR-4920 48521-0E000

48521-0P701

48521-7J100

ES-3415

EV-344

CRN-42

BLUE BIRD

INFINITI G20

LAUREL

91-

99-02

93- R/L
M16×1.0

M14×1.5

SR-4930 48521-0C800

48521-0C825

48521-0C826

48521-4Z001

CRN-43

INFINITI Q45 97-01

R/L
M16×1.0

M14×1.5

SR-4940 48521-9W100

48521-9Y025

CRN-33

TEANA 03-
R/L

M16×1.0

M14×1.5

SR-4950 48521-3U025

MQ-702484

CRN-41

TIIDA

VERSA

BLUEBIRD SYLPHY

04-

07-

05-

R/L
M14×1.5

M12×1.25

SR-4960 48521-7Y000

48521-8J000

EV-427

CRN-40

ALTIMA

MAXIMA

02-

04- R/L
M16×1.0

M14×1.5

SR-4970 1316002

48521-VW025

CARAVAN

URVAN

01-

01-
R/L

SR-4971 48521-VW200 CARAVAN 01-05 R/L

SR-4972

(SR-N660)

D8521-3XA0A NV350(E26) 15-
R/L

SR-4980 48521-EA000

48521-EA01J

CRN-39

PATHFINDER

FRONTIER

XTERRA

05-

05-

05-

R/L
M20×1.0

M16×1.5

SR-4990 48521-2F011

49001-2F010LR

49200-2F010LR

49200-70J10LR

49200-80J10LR

For RACK ASSY

49001-2F011

PRIMERA 96-98

R/L

SR-N062 D8521-1LB0A PATROL (Y62) 10- R/L

SR-N153 48521-9N00A MAXIMA 08-15 R/L

SR-N370 48521-CG025 INFINITI FX35(S50) 02- R/L

SR-N372 D8E21-1CA0A

D8521-1CA0A

INFINITI FX35,FX45

INFINITI FX37

INFINITI FX50

INFINITI QX70

08-

08-

08-

08-

R/L

SR-N080 48521-AX602

For RACK ASSY

MICRA EURO 04-07
R/L



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

SR-N090 48521-4N100

48521-4N186

48521-4N186

CRN-47

SERENA 99-05

00- R/L
M16×1.0

M14×1.5

SR-N100 48521-65F01

CRN-31

240SX

200SX

Almera

95-98

94-99

95-99

R/L
M16×1.0

M14×1.5

SR-N091 48521-WF500

48521-WF525

48521-WF527

48521-WF587

48521-WF925

LIBERTY

PRAIRIE

98-

98-
R/L

M16×1.0

M14×1.5

SR-N108 D8521-8AA0A

48521-8AA0A

DATSUN GO

DATSUN GO+

14-

15-
R/L

M16×1.5

M12×1.25
SR-N110 48521-00QAA PLATINA 02- R/L

SR-N111 48521-00QAC

48521-00QAB

49001-00QAALR

PLATINA 02-
R/L

SR-N120 48521-CB025

48521-CB026

48521-CB027

CRN-35

MURANO 05-

04- R/L
M16×1.0

M14×1.5

SR-N140 48521-CK000

CRN-45

QUEST 04-
R/L

M16×1.0

M16×1.5
SR-N150 48521-JA00A

D8521-JA00A

CRN-46

ALTIMA

TEANA(J32)

07-

08- R/L
M16×1.0

M14×1.5

SR-N210 D8521-MB40A CABSTAR 07-
R/L

SR-N220 D8521-EN00A SERENA 06- R/L

SR-N230 D8521-1AA0A

D8E21-1AA0A

CRN-52

MURANO 08-
R/L

SR-N240 D8521-JD00B

D8521-JG00A

CRN-51

ROGUE

X-TRAIL

08-

09-

07-08

R/L
M22×1.5

M14×1.5

SR-N242

(SR-N580)

D8521-4BA0A

48001-4BA0CLR

48001-4BA0ALR

48001-4BA0BLR

SR-N580

NEW X-TRAIL(T32) 14-

R/L
M16×1.5

M14×1.5

SR-N250 D8521-EB70A NAVARA

TERRA

FRONTIER

07-

09-

21-

R/L

SR-N290 48521-ET00A

CRN-49

SENTRA 07-
R/L

M14×1.5

M12×1.5
SR-N292 D8521-3DN1A SANTRA B17 14- R/L

SR-N320 48521-WL025

48521-WL085

ELGRAND 02-
R/L

SR-N330 D8521-1HJ0A

D8521-3VA0A

D8521-1HA0A

48521-1HK0A

CRN-57

MARCH

VERSA NOTE

VERSA SEDAN

10-

13-

11- R/L



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

SR-N340 48521-1KA0A

48521-1KA0B

48521-1KE0B

48521-3RA1A

48521-3SG1A

D8521-1KA0A

D8521-3SG1A

48001-3NB0B

48001-3NB0CLR

For GEAR ASSY

48001-1KE0B

48001-1KA0B

JUKE(USA)

ESQ

LEAF

10-

14-

17-

R/L
M16×1.0

M12×1.25

SR-N341 D8521-5RL0A KICKS 16- R/L

SR-N360R 48521-HA002

S47P-32-250

CRN-53R

VANETTE(2WD)

BCNGO(2WD)

99-
R

SR-N360L 48521-HA001

MQ-904409

S47P-32-240A

CRN-53L

VANETTE(2WD)

BCNGO(2WD)

99-

L

SR-N380 D8521-1KE1A

48521-3RA1A

48001-1KE1CLR

48001-1KE1BLR

48001-1KE1ALR

For GEAR ASSY

48001-1KE1C

48001-1KE1B

48001-1KE1A

JUKE (F15-Asia)

SENTRA(MRA8DE)

LEAF(ZE1U)

10-

12-

17-

R/L
M14×1.5

M12×1.25

SR-N410 48510-4A00A MOOO

IGNIS

06-

06- R/L

SR-N420 48510-4A00B

1A06-32-365

MOOO

AZ WAGON

06-

05-
R/L

SR-N440 48521-7S000

D8521-1LA0A

CRN-38

ARMADA

TITAN

INFINITY QX56

PATHFINDER

ARMADA

INFINITI QX80

05-

04-

04-

04-

17-

10-

R/L
M20×1.5

M16×1.5

SR-N480 48521-91P26 CREW 93-09 R/L

SR-N490 48521-EA025

48521-WA025

EXPERT 99-
R/L

SR-N500 D8E21-1JA0A

D8521-1JA0A

CRN-66

QUEST 11

R/L

SR-N511 D8521-JK00C SKYLINE(V36) 10- R/L

SR-N530 48521-95F0A

46460-31020

46470-31020

NISSAN Almera 06-12
R/L

SR-N540

D8521-1CA0A

D8E21-1CA0A

SR-N372

INFINITI FX35,FX45

INFINITI FX37

INFINITI FX50

INFINITI QX70

08-

08-

08-

08-

R/L

SR-N550 D8521-JF00A GT-R 07- R/L

SR-N590 D8521-3KA0A INFINITI QX60 12-
SR-N600 D8521-3TA0A ALTIMA 12- R/L

SR-N640 48521-VE000 ELGRAND 97- R/L

SR-N670 48521-70A16

CRN-67

200SX 88-
R/L

SR-N680 48521-2J025 BLUEBIRD 96-
R/L



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

SR-N700 54618-6A00A KIX 08-
R/L

SR-N157 48521-0157R RENAULT R/L

SR-N760 D8521-4GA0A

D8E21-EG000

D8521-EG000

IFFINITI Q50 (V37)

IFFINITI QX50

IFFINITI Q60

13-

10-

07-

R/L

SR-N780 D8EB1-JL06A 370Z (Z34) 12- R/L

SR-N799 48521-8799R RENAULT R/L

SR-N800 48521-4KH0A NP300

FRONTIER

NAVARA D23X

11-

11-

13-

R/L

SR-N840 D8521-5TA0A SERENA 2WD (C27) 16- R/L

SR-N841 D8521-5TB4A SERENA 4WD (C27) 16- R/L

SR-N850 D8E21-JK61A

D8521-JK61A

SKYLINE 4WD 06-
R/L

SR-N870 D8521-5AA0A MURANO Z52 15- R/L

SR-N880 48001-5RB0B-RE

48001-5RL0BLR

KICKS P15X 16-
R/L

SR-N890 48521-4AF1A SENTRA(MR16DDT、MR20DE)B17U 16- R/L

SR-N920 D8521-1JB0A

D8E21-1JB0A

ELGRAND(E52) 10-
R/L

SR-N990 D8521-6XJ0A NOTE E13 20- R/L

SR-C010 D8521-5RY0A

D8521-5RL0B

KICKS (P15T) 20-

23-
R/L

SR-C020 D8521-6CA0A

48521-6CA0A

ALTIMA(L34) 18-
R/L

SR-C030 D8521-1LB0A PATROL(Y62) 10- R/L

SR-C040 D8521-5BC0A MURANO Z52Z 15- R/L

SR-C050 D8521-3GJ0C TEANA L33Z 13- R/L

SR-C060 D8521-5CA0A INFINITI Q50 16- R/L
SR-C090 D8521-5NA0A INFINITI QX50 17- R/L

SR-C110
DH521-6LB0A

48521-6LB0A

D8521-6LB0A

SENTRA B18 20-
R/L

SR-C120
48521-6SA0A

D8521-6SA0A

PATHFINDER R53 21-
R/L

SR-C150 48521-HG00B INFINITI QX30 16- R/L

CRN-14 48521-01B25

48521-17B00

48521-17B25

MICRA 85-
R/L(FEMALE)

M18×1.0

M12×1.25

CRN-18 48521-4B000 200SX

SENTRA

95-98

95-99

00-05

R/L
M14×1.5

M12×1.25

CRN-20 48521-02E00 BLUEBIRD 91-
R/L

M16×1.0

M12×1.25
CRN-27 48521-7B000 QUEST 01-

R/L(FEMALE)
M14×1.5

M14×1.5
CRN-28 48521-CA025 MURANO 03-

R/L
M16×1.0

M16×1.5
CRN-29 48521-0P701

48521-79T00

INFINITY J30

300ZX

92-97

95-96
R/L

M16×1.0

M14×1.5
CRN-34 48521-61U00

48521-68U25

INFINITY Q45

INFINITY G50

90-96

89-
R/L

M16×1.0

M14×1.5

SR-350Z

48521-AL500

48521-AL525

CRN-36

350Z

350Z

03-05

07- R
M16×1.0

M14×1.5

CRN-37 48521-AL685 350Z

INFINITY G35

03-05

03-
L

M16×1.0

M14×1.5
CRN-44 48521-AR000

48521-AR025

48521-AE085

INFINITI Q45 02-04
R/L

M16×1.0

M14×1.5

CRN-48 48521-CG025 INFINITI FX35,FX45 03-
R/L

M20×1.5

M14×1.5



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

CRN-54R 48521-HA003 VANETTE(4WD) 99-
R

M18×1.5

M14×1.5
CRN-54L 48521-HA201 VANETTE(4WD) 99-

L
M18×1.5

M14×1.5
CRN-55 D8E21-JL06A
CRN-56 D8E21-JK61A

D8521-JK61A
CRN-58 D8521-1MA0A
CRN-59 D8E21-JK60A
CRN-60 D8521-JK00C
CRN-61 D8521-JK01A
CRN-62 D8E21-EB70A
CRN-63 D8521-1HA0A
CRN-64 D8E21-1CA0D

D8521-1CA0D
CRN-65 D8E21-1CA0A

D8521-1CA0A
CRN-68 48521-6N025
CRN-69 48521-85F00

SR-7141 MB-243373

MB-315586

MB-315886

MB-501017

SR-7321

CRM-17

CRM-3

LANCER-FIORE

MIRAGE

82-83

80-83

R/L
M16×1.5

M14×1.5

SR-7140 MB-122135 LANCER-FIORE

MIRAGE

82-83

80-83
R/L

SR-7180 EV-197

MB-243329

MB-350577

MR-455425

SR-7231

CRM-6

CRM-7

GALANT Σ,Λ

& ETERNA Σ,Λ

CORDIA,TREDIA 4WD

CHARIOT 4WD

DELICA(L300)

CORDIA,TREDIA

CHARIOT

83-87

84-

86-

86- R/L
M16×1.5

M14×1.5

SR-7230 269-2842

56540-22000

56540-24000

56540-24001

56540-43000

56542-43001

56542-43010

57730-24000

ES-2345

EV-193

EV-214

EV-223

MB-266152

MB-315160

MB-532657

CRM-5

CRKH-3

GALANT Σ,Λ

& ETERNA Σ,Λ

CORDIA,TREDIA

CHARIOT

HYUNDAI EXCEL

83-87

82-

83-

90-

MALE RHT
M16×1.5

M14×1.5

SR-7240 EV-183

MB-347666

MB-532046

CRM-2

LANCER-FIORE

& MIRAGE

83-87

83- R/L
M14×1.5

M12×1.25

MISUBISHI
RACK END



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

SR-7241 0902003

ES-2915R

EV-196

MB-350718

MB-501530

CRM-4

LANCER-FIORE

& MIRAGE

83-87

83-

R/L
M16×1.5

M12×1.25

SR-7310 EV-290

MB-532971

CRM-10

DELICA(L300) 86-
R/L

M17×1.0

M14×1.5

SR-7320 MB-532972

CRM-16

DELICA(L300) 4WD 86-
R/L

M17×1.0

M14×1.5
SR-7370 MB-489606

PW-500415

CRM-11

PROTON SAGA 86-91
R/L

SR-7380 ES-3106

EV-2362

MB-501721

MB-532281

MR-131856

CRM-9

GALANT

RVR

87-

87-

91- R/L M16×1.5

M14×1.5

SR-7390 269-2794

57730-28005

ES-1215

ES-2936

MB-553249

CRM-8

LANCER-FIORE

& MIRAGE

LANCER

87-

88-91

R/L
M16×1.5

M12×1.25

SR-7700 0902007

4422A078

1H0-419-809

1H0-419-821

ES-3325

EV-215

EV-297

EV-80587

MB-910934

MB-910961

MR-130807

MR-297969

MR-491358

PW-890355

SR-7870

CRM-13

LANCER

& MIRAGE

LANCER CEDIA

FTO

LANCER/MIRAGE

91-

00-

95-

96-

94-

95-

R/L
M16×1.5

M12×1.25

SR-7750 ES-3437

EV-350

MB-949343

MR-333166

MR-403872

CRM-15

GALANT 93-

96-98

R/L
M16×1.5

M14×1.5

SR-7760 MR-151970

CRM-30

SPACE GEAR 95-
R/L

M16×1.5

M14×1.5
SR-7780 EV-216

MR-374161

MR-374835

CRM-18

ADVENIURE

KUDA

FREECA

JOLIE

98-

98-

98-

98-

R/L

SR-7810 PW-530031

PW-550281

CRM-12

PROTON WIRA 93-
R/L

M14×1.5

M12×1.25

SR-7820 MR-403099

CRM-25

LANCER 03-06
R/L

M16×1.5

M14×1.5
SR-7840 MR-510267

CRM-20

PAJERO

MONTERO

99-

01-
R/L

M16×1.5

M16×1.5
SR-7860 MR-333409

CRM-21

LANCER 96-
R/L

M16×1.5

M14×1.5



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

SR-7880 MR-594674

CRM-23

GALANT 00-

97-00
R/L

M16×1.5

M14×1.5
SR-7920 MC-081152 CANTER 99-02 R/L

SR-7940 4410A172T TRITON 05- R/L

SR-7950 4410A173T TRITON

L200

05-

15-
R/L

SR-7960 MR-244901

CRM-31

CARISMA 95-
R/L

M16×1.5

M12×1.25
SR-B010 4422A012

400169

CRM-32

DELICA

OUTLANDER

GALANT FORTIS SPORTBACK

GALANT FORTIS

OUTLANDER

12-18

09-12

09-10

09-10

07-

R/L

SR-B320 4410A960

SR-B011

XPANDER

LIVINA

17-

19-
R/L

SR-B380

4422A164

48521W010P

49001-6RA2BLR

49001-6RA1DLR

49001-6RA2ALR

49001-6RA2CLR

For GEAR ASSY

49001-6RA2B

49001-6RA1D

49001-6RA2A

49001-6RA2C

OUTLANDER PHEV

ROGUE(JAPAN Built)(NISSAN)

ROGUE(NISSAN)

21-

20-

21-

R/L

SR-B012 4422A055 GRANDIS 03- R/L

SR-B020 PW-895010 SAGA 08- R/L

SR-B021R PW-895007 SAGA 08- OUT R

SR-B021L PW-895006 SAGA 08- OUT L

SR-B022 PW-895150

PW-895151

PROTON EXORA

PROTON EXORA BOLD

PROTON PREVE

PROTON SUPRIMA S

09-11

11-22

12-22

13-22

R/L

SE-B022R PW-895153 PROTON EXORA

PROTON EXORA BOLD

PROTON PREVE

PROTON SUPRIMA S

09-11

11-22

12-22

13-22

OUT R

SE-B022L PW-895152 PROTON EXORA

PROTON EXORA BOLD

PROTON PREVE

PROTON SUPRIMA S

09-11

11-22

12-22

13-22

OUT L

SR-B040 4422A036

CRM-33

PAJERO 06-
R/L

SR-B050 4422A079

4422A057

MR-403100

CRM-26

AIRTREK 01-05

R/L
M16×1.5

M14×1.5

SR-B060

4422A076

4422A048

4422A143

DELICA

GALANT FORTIS SPORTBACK

GALANT FORTIS

RVR

OUTLANDER

OUTLANDER PHEV

ASX

OUTLANDER PHEV

09-

09-10

09-10

10-12

12-18

12-18

12-

18-

R/L

SR-B070 4422A077 GRANDIS 03- R/L

SR-B090 MR-519046

CRM-19

GALANT

ECLIPSE

99-

00-
R/L

M14×1.5

M14×1.5
SR-B120R MN-110027 Ek WAGCN 01-

R

SR-B120L MN-110026 Ek WAGCN 01-
L



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

SR-B130 MR-961113

(SR-7834)

48521-6A0A0

NV100 CLIPPER

MINICAB

12-

98- R/L

SR-B150 MR-455058 LANCER 98- R/L

SR-B160 MR-448255

CRM-29

PAJERO 98-

99-
R/L

M16×1.5

M14×1.5
SR-B170 4422A098

CRM-38

MIRAGE

ATTRAGE

SPACE STAR

12-

13-

12-

R/L
M14×1.5

M12×1.25

SR-B190 MR-131857 RVR 91- R/L

SR-B200 MN-125865

MN-125866LR

MR-961671

MR961672LR

COLT(Z25A)

COLT PLUS

02-

02- R/L

SR-B210 4422A045 LANCER EVOLUTION 07- R/L

SR-B250 MR-491077

MR-455721

MINICAB VAN 99-
R/L

SR-B263 PW922623  IRIZ PERSONA II 13- R/L

SR-N750 48521-6A00E ※

4410A929

49001-6A00FLR

49001-6A00ELR

DAYS ROOX(B21A)

EK SPACE (B11A)

DAYZ

14-

13-

13-
R/L

CRM-14 MR-131830 MAGNA 91-94
R/L

M16×1.5

M14×1.5
CRM-24 AW-350131 DIAMANTE 97-04

R/L
M16×1.5

M14×1.5
SR-B027 4422A004

4422A044

CRM-27

GALANT

ECLIPSE

04-

06- R/L
M14×1.5

M14×1.5

CRM-28 MN-101662 ENDEAVOR 04-
R/L

M16×1.5

M14×1.5

SR-V127

EV-127 FORD TAURUS

FORD AEROSTAR

FORD MUSTANG

LINCOLN CONTINENTAL

LINCOLN MARK VIII

89-97

86-97

94-04

93-98

93-98

R/L

SR-V923 EV800923 BMW 640i 12- R/L

SR-V198 EV801198 Mini COOPER 07- R/L
SR-3398 ES-3398 DODGE 97- R/L

SR-V432
EV-432 DODGE DAKOTA

DODGE DURANGO

00-

00-
R/L

SR-V441
EV-441 BMW 328i

BMW 323c

BMW 325c

00-

00-

01-

R/L

SR-V405 EV-405 CHRYSIER TOWN AND COUNTRY 01-04 R/L

SR-3463
ES-3463

EV-362

CHRYSIER 300
R/L

SR-V400
EV-400 VOLKSWAGEN BEETLE

VOLKSWAGEN GOLF

VOLKSWAGEN JETTA

98-07

99-06

99-05

R/L

SR-V408 EV-408 Chevrolet Classic 99-05 R/L

SR-3341
ES-3341 NISSAN 200SX

NISSAN SENTRA

95-98

95-06
R/L

SR-V456 EV-456 LINCOLN EXPEDITION 03-06 R/L
SR-V343 EV-343 CHEVROLET CORVETTE 97-13 R/L
SR-V370 EV-370 CHEVROLET SILVERADO 99- R/L
SR-V407 EV-407 DOGE RAM 2WD 02-05 R/L
SR-V419 EV-419 FORD FOCUS 00-06 R/L
SR-V421 EV-421 FORD EXPLORER 02-05 R/L

MAZDA/FORD
RACK END



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

SR-V461 EV-461 FORD FOCUS 02-04 R/L

SR-1164

8A5Z-3280A

AA8Z-3280A

AA8Z-3280B

EV800775

SR-6L2C

FORD TAURUS

FORD FLEX

LINCOLN MKS

LINCOLN MKT

10-12

10-12

09-12

10-12

R/L

SR-1190 DG9Z-3280A FORD FUSION 13-18 R/L
SR-1191 69EB-3064AB FORD 79- R/L
SR-1192 1272947 FORD 89- R/L

SR-1201

4048739

6790700

1659374

92FB3L519AA

89FB3L555BA

FORD FIESTA 89-95

R/L

SR-1202
6737692

F5RC3280BA

3903147

FORD MONDEO 93-96
R/L

SR-1203

1029836

7292960

95GB3L519BA

95GB3L519BB

FORD SCORPIO 94-98

R/L

SR-1204

1596574

1433271

31280658

31280002

30776250

6G913280AA

6G913280AB

6S7C3280AA

FORD GALAXY

FORD S-MAX

FORD MONDEO

VOLVO S80

VOLVO S60

VOLVO V70

VOLVO XC70

06-

06-

06-

06-

10-

07-

07-

R/L

SR-1205 AL3Z-3280A FORD F150 SVT 10- R/L

SR-1206
BB5Z-3280A

EV-800893

FORD EXPLORE 11-14
R/L

SR-1207 1370709 FORD TRANSIT 00-06 R/L
SR-1208 1370710 FORD TRANSIT 00-06 R/L

SR-1209
1714484 FORD C-MAX

FORD KUGA

FORD TRANSIT

10-

13-

13-

R/L

SR-1210
1763991 FORD TRANSIT

FORD TOURNEO

12-

12-
R/L

SR-1140R
NC10-32-240A

NC10-32-240

CRMZ-40

ROADSTER

MX-5

MIATA

03-05

98-05

98-06

R/L

SR-1140L
NC10-32-250A

NC10-32-250

CRMZ-41

ROADSTER

MX-5

MIATA

03-05

98-05

98-06

R/L

SR-1146

NA02-32-240

BF67-32-240

EV-254

ES-2826

CRMZ-9R

MIATA 90-97

R/L

SR-1220 N243-32-240 MX-5 15- R/L

SR-1350 B001-32-135

ES-2403R

ES-2768

EV-182

CRMZ-1

CRMZ-12

FAMILIA (323)

& LASER (FORD)

80-85

R/L
M14×1.5

M12×1.25

SR-1360 B038-32-135

BA29-32-135

ES-2404R

EV-160

CRMZ-5

FAMILIA (323)

& LASER (FORD)

80-85

R/L
M17×1.0

M12×1.25



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

SR-1380 ES-2409R

H001-32-240

H001-32-240A

CRMZ-3

LUCE,LUCE-RE

(922,929L,RX-4,

 RX-9)

COSMO,COSMO-RE

81-86

81-
R/L

SR-1390R 269-2675

ES-2280R

EV-131

EV187

G030-32-240

G030-32-240A

CRMZ-2R

CAPELLA(626)

& TELSTAR(FORD)

82-87

R  
M16×1.0

M14×1.5

SR-1390L 269-2674

ES-2282R

EV-132

EV-191

G030-32-250

G030-32-250A

CRMZ-2L

CAPELLA(626)

& TELSTAR(FORD)

82-87

L
M16×1.0

M14×1.5

SR-1391R ES-2284R

EV-184

G037-32-240A

G037-32-240B

G037-32-240C

CRMZ-6R

CAPELLA(626)

& TELSTAR(FORD)

82-87

R
M16×1.5

M14×1.5

SR-1391L ES-2285R

EV-185

G037-32-250A

G037-32-250B

G037-32-250C

CRMZ-6L

CAPELLA(626)

& TELSTAR(FORD)

82-87

L
M16×1.5

M14×1.5

SR-1410 ES-2483

OK710-32-115

OK711-32-115

OSA39-32-115

S083-32-115

SA39-32-115

CRMZ-4

CRKK-2

BONGO

BONGO 4WD

83-

84- MALE RHT
M17×1.0

M14×1.5

SR-1430 BC50-32-135

CRMZ-8

FAMILIA (323)

& LASER (FORD)

80-85
R/L

M17×1.0

M12×1.25
SR-1440 B092-32-240

EV-280

CRMZ-10

FAMILIA (323)

& LASER (FORD)

84-

85-

R/L
M14×1.5

M12×1.25

SR-1441 B094-32-240

CRMZ-11

FAMILIA (323)

& LASER (FORD)

84-

85-

R/L

SR-1442R B093-32-240

BF67-32-240

ES-2826

EV-254

CRMZ-9R

FAMILIA (323)

& LASER (FORD)

84-

85- R
M17×1.0

M12×1.25

SR-1442L B093-32-250

ES-2825

CRMZ-9L

FAMILIA (323)

& LASER (FORD)

84-

85-

L
M17×1.0

M12×1.25

SR-1450 B210-32-240

CRMZ-12

FAMILIA (323) 4WD

& LASER (FORD)4WD

85-

SR-1451R B211-32-240

EV-224

CRMZ-13R

FAMILIA (323) 4WD

& LASER (FORD)4WD

85-
R

SR-1451L B211-32-250

EV-225

CRMZ-13L

FAMILIA (323) 4WD

& LASER (FORD)4WD

85-
L



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

SR-1490R ES-2965

EV-232

H261-32-240A

CRMZ-14R

LUCE,LUCE-RE

(929,929L,RX-4,RX-9)

86-

R
M17×1.0

M14×1.5

SR-1490L EV-233

H260-32-240A

CRMZ-14L

LUCE,LUCE-RE

(929,929L,RX-4,RX-9)

86-
L

M17×1.0

M14×1.5

SR-1501 ES-2962

EV-228

EV-229

GJ21-22-240

GJ21-32-240

GJ22-32-240

GJ22-32-240F

GJ22-32-250

SR-1500

CRMZ-19

CEMZ-20

CAPELLA(626)

& TELSTAR (FORD)

87-

87-

87- R/L

FRONT R/L

R/L

M18×1.5

M14×1.5

SR-1550 B455-32-240

B455-32-24X

ES-3072

EV-276

F1CZ-3280A

CRMZ-21

FAMILIA 89-

R/L
M16×1.0

M12×1.25

SR-1551R B455-32-25X

B456-32-24X

B456-32-250

EV-266

F1CZ-3280A

CRMZ-22R

FAMILIA 89-

R
M16×1.0

M12×1.25

SR-1551L B456-32-25X

ES-3071

CRMZ-22L

FAMILIA 89-
L

M16×1.0

M12×1.25

SR-1552 DC35-32-240A DEMIO 16- R/L

SR-1553 D102-32-240A DEMIO 00- R/L

SR-1570 E016-32-240

E016-32-24X

E016-32-250

E016-32-25X

FAMILIA

MX3

PROTÉGÉ

94-

95-

96-97
R/L

M16×1.0

M12×1.25

SR-1575 EC01-32-240
SR-1577 4111327

1S7C-3280BB

FORD MONDEO III 01-07
R/L

SR-1580 0802012

EV-3212

EV-287

LA01-32-115

CRMZ-23

MPV 89-

R/L
M17×1.0

M14×1.5

SR-1581L LB82-32-240

CRMZ-59R

MPV 96-
L

SR-1581R LB82-32-250

CRMZ-59L

MPV 96-
R

SR-1590R ES-193

EV-295

GA2A-32-240

GE4T-32-240

GE4T-32-240A

CRMZ-26

CRMZ-27

CRMZ-60

CRONOS

626

91-

R

L

M18×1.5

M14×1.5

SR-1590L ES-3193

GA2A-32-250

CRMZ-27

CRONOS 91-
L

SR-1603 7C19-3L519AA FORD TRANSIT 02- R/L



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

SR-1606 9014600155 BENZ SPRINTER 07- R/L

SR-1613 YC153L51PAA

1763991

BK21-3L519AA

GK29-3L519AA

FORD TRANSIT

FORD TOURNEO

07-

14- R/L

SR-1622 DG9Z3280A FORD FUSION

FORD EDGE

13-

15-
R/L

SR-1630 GJ6E-32-240

GJ6E-32-24X

CRMZ-32

ATENZA

MAZDA 6

02-

03- R/L
M18×1.5

M14×1.5

SR-1650 BP4L-32-240

48521-HA00A

CRMZ-44

AXELA

MAZDA 3

LAFSTA HIGHWAY STAR

03-

04-10

11-

R/L
M14×1.5

M17×1.5

SR-1651 YS4Z-3280CB

YS4Z-3280AA

FORD FOCUS

Transit Connect

08-14

09-13
R/L

SR-1657 7G91-3289AB FORD MONDEO 04-13
R/L

M16X1.5

M18X1.5
SR-1670R S47S-32-250

CRMZ-48

BONGO 4WD

      4WD

07-

02-
R

M18X1.5

M14X1.5
SR-1670L S47S-32-240A

CRMZ-49

BONGO 4WD

      4WD

07-

02-
L

M18X1.5

M14X1.5
SR-1673 S47P-32-240

CRMZ-56R

CRMZ-56L

BONGO(2WD) 99-
R

M18X1.5

M14X1.5

SR-1700R B25D-32-240

CRMZ-36

PREMACY

PROTÉGÉ

PROTÉGÉ 5

01-

99-03

99-03

L
M16×1.0

M14×1.5

SR-1700L B25D-32-250

CRMZ-37

PREMACY

PROTÉGÉ

PROTÉGÉ 5

01-

99-03

99-03

R
M16×1.0

M14×1.5

SR-1711 JX6C-3L519AA

2194056

FOCUS 18-
IN R/L

SR-1750 D521-32-240

CRMZ-52

DEMIO 05-
R/L

SR-1770 TD11-32-240

CRMZ-54

CX9 07-
R/L

SR-1790 GS1D-32-240

CRMZ-55

MAZDA 6 07-
R/L

SR-1800 D651-32-240

D653-32-240

CRMZ-53

MAZDA 2

DEMIO

07-

11-

11-

R/L

SR-1820R S10H-32-250

CRMZ-24L

BONGO FRIENDEE 96-
L

M18×1.5

M14×1.5
SR-1820L S10H-32-240

CRMZ-24R

BONGO FRIENDEE 96-
R

M18×1.5

M14×1.5
SR-1803 CN15-3280AA ESCOSPORT 13- R/L

SR-1810 EG21-32-240

CRMZ-51

CX7 07-
R/L

M14X1.5

M14X1.5
SR-1812 KT48-32-280 CX9 18- R/L

SR-1830 LC62-32-240B

CRMZ-39

MPV 00-06
R/L

M16×1.5

M14×1.5
SR-1840 YL8Z3280EA

EC01-32-240

ES-3444

EV-320

7294415

CRMZ-31

TRIBUTE

ESCAPE(FORD)

01-

R/L
M14×1.5

M16×1.5

SR-1860 KD31-32-240A

CRMZ-57

CX-5 10-
R/L

SR-1890 GHT2-32-240A

GHY2-32-24X

CRMZ-58

ATENZA

MAZDA 3

MAZDA 6

MAZDA3(BN)

12-

13-

13-

16-

R/L
M14X1.5

M14X1.5



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

SR-M010 NA01-32-240

SR-1145

CRMZ-45

MIATA

MX-5

ROADSTER

90-98

90-98

97-

R/L
M18×1.5

M12×1.25

SR-M020 DE90-32-240

CRMZ-61

MAZDA2(DY) 03-
R/L

SR-M030 D10E-32-240

SR-1862

CX-3 15-
R/L

SR-M060 D09H-32-240

CRMZ-67

51813

DEMIO

MAZDA2

14-

14- R/L

SR-M070 D350-32-240

D350-32-240A

MAZDA2

DEMIO

VERISA

02-07

03-08

06-

R/L M16/M14

SR-M090 K123-32-240

SR-1863

CRMZ-74

CX-5 16-
R/L

SR-M061 D061-32-24XA MAZDA 121 75-02 R/L

SR-M062 B21H-32-24X

B21H-32-25X

323F

AZ-3

FAMILIA

96-98

91-98

94-98

R/L

SR-M080 UC2M-32-24XA

UC2M-32-240

AB313280AB

1775547

SR-UC2M

FORD EVEREST

FORD RANGER

MAZDA BT50

15-

13-

13- R/L

SR-M100 TK48-32-240 CX-9 16- R/L

SR-M220 ZZDA-32-240 TRIBUTE(USA) 09- R/L

SR-M220 ZZDA-32-240 TRIBUTE(USA) 09- R/L

SR-M240 GBEF-32-240 MAZDA 6 19- R/L

SR-M260
GS3L-32-24X

GS3L-32-240

MAZDA 6(GH1) 09-
R/L

SR-M270 KR9P-32-240 CX-60

CX-90

22-

23-
R/L

SR-M360R S47P-32-250 BONGO(2WD) 99- R

SR-M360L S47P-32-240A BONGO(2WD) 99- L

SR-Y379 68158379AA CHRYSLER 300

DODGE CHARGER

11-

11-
IN R/L

M14×1.5

M16×1.5
SR-Y377 68158377AA CHRYSLER 300

DODGE CHARGER

11-

11-
IN R/L

M14×1.5

M16×1.5
SR-1910 EV-288

K150-32-240

CRKK-3

KIA PRIDE 90-
R/L

SR-9410 F57Z3280AA

9L5Z3280A

RANGER(FORD) 01-

06-
R/L

SR-9420 E112-32-240 ESCAPE 2.3 06- R/L

SRK-8050 57724-38010

57724-38000

CRKH-17

CRKK-19

SONATA (HYUNDAI) 02-

R/L

SRK-8060 57755-25000

56540-25000

57724-25000

CRKH-20

ACCENT (HYUNDAI) 00-06

R/L

SRK-8070 57724-2D000

57724-2D020

CRKH-23

ELANTRA (HYUNDAI)

SPECTRA5 (KIA)

SPECTRA(NEW STYLE) (KIA)

00-06

05-09

04-09

R/L

SRK-8177 56540-A0000 CRETA 14-19 R/L

SRK-8910 56540-B2000

CRKK-49

SOUL 13-
MALE RHT

M16×1.5

M16×1.5

HYUNDAI
RACK END



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

CRMZ-7 H002-32-240C

H002-32-240

H002-32-240A

LUCE,LUCE-RE

(929,929L,RX-04,RX-9)

COSMO,COSMO-RE

81-86

81-

R/L
M16×1.5

M14×1.5

CRMZ-15 HA14-32-240A LUCE 81- R/L

CRMZ-25 LA12-32-115 MPV 89-
R/L

M17×1.0

M14×1.5
CRMZ-29 E018-32-240 MX3 92-95

R/L
M18×1.5

M12×1.25
CRMZ-30 FD01-32-240A SAVANNA 93-

R/L
M14×1.5

M12×1.25
CRMZ-34 B21H-32-24X PROTÉGÉ 97-98

R
M14×1.5

M12×1.25
CRMZ-35 B21H-32-25X PROTÉGÉ 97-98

L
M14×1.5

M12×1.25
SR-M040 F151-32-240

CRMZ-38

RX-8(SE3P) 04-
R/L

M16×1.5

M14×1.5
CRMZ-40 NC10-32-240A

NC10-32-240

MIATA

MX-5

99-05
R

M16×1.0

M12×1.25
CRMZ-41 NC10-32-250A

NC10-32-250

MIATA

MX-5

99-05
L

M16×1.0

M12×1.25
SR-T001 T001-32-240

CRMZ-42

MILLENIA

MAZDA XEDOS-9

95-96

93-03
R/L

M18×1.5

M14×1.5
CRMZ-43 T001-32-240A

T001-32-240B

MILLENIA 97-02
R/L

M16×1.5

M14×1.5
CRMZ-46 ZZCO-32-240 TRIBUTE 08-

R/L
M14X1.5

M16X1.5
CRMZ-47 1FAA-32-24X B2300

B3000

B4000

05-
R/L

M16X1.5

M14X1.5

CRMZ-50 NE51-32-240 MIATA

MX-5

06-
R/L

M16X1.0

M14X1.5
SR-1892 BDTS-32-240

CRMZ-73

MAZDA 3 19-
R/L

M14X1.5

M14X1.5

SR-5120 8-08984-058-1

8-08984-058-2

GEMINI 74-79
R/L

SR-5121 8-94234-218-1

8-94234-218-2

EV-192

EV-226

CRIS-1

PIAZZA

GEMINI

81-

79-85
R/L

M14×1.5

M14×1.5

SR-5140 94217221

8-94217-221-1

8-94217-221-2

8-94217-223-3

ES-2313

CRIS-3

CRIS-5

PANEL TRUCK

FASTER

(CHEVROLET-LUV)

83-

81

R/L
M14×1.5

M14×1.5

SR-5150 94027778

5-44350-095-0

5-44350-095-1

5-44350-095-2

5-44350-095-3

ES-2143

CRIS-2

BIG HORN

FASTER 4WD

(CHEVROLET-LUV)

81-

79

R/L
M14×1.5

M14×1.5

SR-5220 8-94109-043-1

8-94109-043-2

EV-202

CRIS-4

GEMINI 85-

R/L
M17×1.0

M12×1.25

ISUZU
RACK END



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

SR-5221 8-94110-517-1

8-94110-517-2

EV-203

CRIS-6

GEMINI 85-

R/L
M14×1.5

M12×1.25

SR-5290 8-94366-606-0

       -606-2

CRIS-5

PANTHER 91-
R/L

SR-5360 8-97304-851-0

CRIS-7

D-MAX 02-
R/L

M14×1.5

M14×1.5
SR-5362 8-97503-139-0 D-MAX

MU-X

MAZDA BT-50

20-

20-

20-

R/L

SR-5380 8-98056-550-0 D-MAX

MU-X

07-

15-
R/L

SR-5400 8-97304-853-0 D-MAX 4WD 02- R/L

SR-5420 8-97373-366-1 ELF NPR-CNG

ELF NPR-LPG

ELF NPR-HYBRID

ELF NNR/NPR

04-

04-09

05-

07-

R/L

SR-5461 8-97164-967-0

JAR7674

55-00448-SX

103-09-911

D-MAX

MU-X

11-

18- R/L

SR-5470 8-98165-055-0

55-00449-SX

STR-3511

CRIS-14

 D-Max 13-

R/L

SR-5480 8-98164-967-0 D-MAX 13- R/L

SR-5490 1K00-32-275

1K05-32-275

8-98048-487-0

8-97373-365-0

8-98051-927-0

TITAN -MAZDA

ELF (ISUZU)

04-

07-
R/L

CRIS-8 8-97126-168-0 AMIGO

AXIOM

RODEO

PODEO SPORT

98-00

02-04

98-04

01-03

R/L
M14×1.5

M14×1.5

CRIS-9 8-26095-456-0 I-280

I-350

06-
R/L

M18×1.5

M14×1.5
CRIS-10 8-89060-621-0 I-280

I-350

06-
R/L

M18×1.5

M14×1.5
CRIS-11 8-97170-435-0 AMIGO

RODEO

PODEO SPORT

98-00

98-04

01-03

R/L
M14×1.5

M14×1.5

CRIS-12 8-97304-903-0

SR-6020 53521-634-000

ES-2178R

EV-156

CRHO-1

CIVIC 72-79

R/L

SR-6030 53521-671-000

53521-671-010

53521-689-003

6313-17011

6313-37011

ES-2181R

CRHO-2

CRSU-1

ACCORD 76-81

R/L

HONDA
RACK END



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

SR-6040 53521-692-003

53521-SA0-000

53521-SA0-003

53521-SE0-000

53521-SE0-003

53521-SE0-013

53521-SE0-951

ES-2183R

EV-157

CRHO-3

ACCORD

VIGOR

PRELUDE

QUINT

BALLADE

CIVIC

CITY

81-83

85-

81-83

85-

78-83

80-85

80-83

79-83

81-84

R/L
M12×1.25

M12×1.25

SR-6060 53521-SB2-003

53521-SB2-013

ES-2352

EV-180

CRHO-5

QUINT INTEGRA

BALLADE

CR-X

CIVIC

CITY

85-

83-86

83-87

83-87

84-86

84-86

R/L
M12×1.25

M12×1.25

SR-6070 53521-SA5-000

53521-SA5-003

CRHO-4

ACCORD,VIGOR 83-85
R/L

M12×1.25

M12×1.25

SR-6100 53521-SB0-000

53521-SB0-003

53521-SF1-003

53521-SF1-013

ES-2349

EV-194

CRHO-6

PRELUDE 82-87

87-

87- R/L

FRONT R/L

M12×1.25

M12×1.25

SR-6120 53465-SC2-003 ACTY 4WD 83- for/DRAG LINK

SR-6130 53521-SD4-003

53521-SD4-013

53521-SD4-023

EV-212

CRHO-7

LEGEND 85-

R/L

SR-6165 53960-SF1-J61

CRHO-8

PRELUDE 87-
REAR R/L

SR-6170 53521-SH3-003

53521-SH3-010

53521-SH3-013

ES-2938

EV-217

CRHO-9

CR-X

CIVIC

87-

87-

R/L
M12×1.25

M14×1.5

SR-6180 53521-SM4-000

53521-SM4-003

53521-SM4-013

53521-SM4-J61

ES-3170

EV-283

CRHO-10

ACCORD 89-

R/L
M12×1.25

M14×1.5

SR-6190 53010-SR3-010

53010-ST0-000

53010-ST7-J61

CRHO-11

CIVIC

INTEGRA

91-

R/L
M12×1.25

M14×1.5

SR-6202 53010-SL5-000 VIGOR 93-
R/L

M14×1.5

M14×1.5
SR-6210 53010-SV4-000

53010-SV4-003

53010-SVA-000

ES-3394

EV-342

EV-366

CRHO-13

ACCORD

ODYSSEY

94-

94-99

R/L
M12×1.25

M14×1.5



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

SR-6220 53010-S10-000

53010-S10-003

EV-414

CRHO-17

CR-V 95-

98-01 R/L
M12×1.25

M14×1.5

SR-6230 53010-SX8-000

53010-SX8-003

53010-SX8-T00

CRHO-28

CITY 96-98

R/L
M12×1.25

M12×1.25

SR-6240 53521-S5A-000

53521-S5A-003

53521-S7A-003

53521-S6M-003

EV-469

CIVIC FERIO

CIVIC

INTEGRA(DC05)

00-

00-

01- R/L

SR-6250 53010-S84-A01

EV-415

CRHO-20

ACCORD

INSPIRE

01-02

98- R/L
M16×1.5

M14×1.5

SR-6260 53010-S04-000

53010-S04-003

53010-S04-004

53010-S04-J51

53010-SA4-003

EV-367

EV-80383

CRHO-15

CIVIC 96-99

98-

R/L
M12×1.25

M14×1.5

SR-6270 53521-S9A-003 CR-V 01- R/L

SR-6280 53010-S0A-900

CRHO-23

ACCORD 97-
R/L

M16×1.5

M14×1.5
SR-6290 53010-S87-A01

EV-423

CRHO-18

ACCORD

ACCORD COUPE USA

98-02

98-00 R/L
M14×1.5

M14×1.5

SR-6300R 53010-SEL-003

CRHO-30

FIT ARIA

JAZZ

CITY

02-

03-

R
M18×1.5

M12×1.25

SR-6300L 53011-SEL-003

CRHO-31

FIT ARIA

JAZZ

CITY

02-

03-

L
M18×1.5

M12×1.25

SR-6320 53010-S2H-J02

CRHO-34

HR-V

HR-V 4WD

98

99-

98-

99-

R/L
M14×1.5

M12×1.25

SR-6340R 53010-SAA-J01

CRHO-32

FIT

FIT 4WD

02-

02-
R

M16×1.5

M12×1.25
SR-6340L 53011-SAA-J01

CRHO-33

FIT

FIT 4WD

02-

02-
L

M16×1.0

M12×1.25
SR-6350 53010-SDA-A01

EV-80209

EV-80210

CRHO-24

ACCORD SEDAN

ACCORD COUPE

03-05

03-05 R/L
M18×1.5

M14×1.5

SR-6351 53010-SDB-A01

EV-80208

CRHO-25

ACCORD SEDAN

ACCORD COUPE

03-05

03-05 R/L
M14×1.5

M14×1.5

SR-6370 53010-ST3-G02 CIVIC EURO 95- R/L

SR-6380 53610-SNB-J01

53610-SNR-A01

CRHO-41

CIVIC

CIVIC (USA BUILT)

CIVIC COUPE

CIVIC SEDAN

05-

06-09

06-
R/L

M20×1.5

M14×1.5

SR-6389 53610-TLA-A51

SR-6389

CRV 18-
R/L

M18×1.5

M14×1.5
SR-6390 53010-SHJ-A02

CRHO-36

ODYSSEY 05-06
R/L

M16×1.5

M14×1.5
SR-6410 53010-S9V-A01

53010-S3V-A01

ACURA MDX 01-



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

SR-6305 53521-SP0-004

SR-6303 53010-T9A-003 CITY 14- R/L

SR-H010 53010-SFE-003

53010-SFE-013

CRHO-47

ODYSSEY 03-08
R/L

M18X1.5

M14X1.5

SR-H020 53010-SWA-A01

CRHO-48

CR-V 06-
R/L

M20X1.5

M14X1.5
SR-H023 53010-T7S-T01

53010-T7S-T02

HONDA HRV 14-
R/L

SR-H030 53010-SNA-A01

53010-SNE-A01

CRHO-37

CIVIC

CIVIC COUPE

CIVIC SEDAN

05-

06-09

06-

06-

R/L
M18×1.5

M14×1.5

SR-H040 53010-S3N-013

53010-S3N-003

CRHO-51

ODYSSEY 99-03
R/L

SR-H050 53610-TL1-G01

CRHO-50

ACCORD

ACCORD TOURER

ACURA TSX

09-

08-

09-

R/L

SR-H060R 53010-SLN-A00

CRHO-43

USA FIT 07-
R

M18×1.5

M12×1.25
SR-H060L 53011-SLN-A00

CRHO-44

USA FIT 07-
L

M18×1.5

M12×1.25
SR-H070 53010-TA0-A01

53010-SJK-003

CRHO-40

INSPIRE

ACCORD USA SEDAN

ACCORD USA COUPE

08-
R/L

M20×1.5

M14×1.5

SR-H080 53610-TK4-A01

CRHO-53

ACURA TL 09-
R/L

SR-H090 53010-STK-A01

CRHO-52

ACURA RDX 07-09
R/L

SR-H100 53010-STX-A01

53010-SZN-A01

CRHO-45

ACURA MDX

ACURA ZDX

07-09

10- R/L
M16×1.5

M14×1.5

SR-H110 53010-TK6-A02

CRHO-56

FIT 09-
R/L

SR-H113 53010-TX9-A01 FIT 15- R/L

SR-H114 53010-T5R-003 FIT 15- R/L

SR-H120 53010-SWC-G02

CRHO-54

CR-V 07-
R/L

SR-H130 53010-SYY-003

CRHO-55

FREED 08-
R/L

SR-H140 53010-SMG-E01

53011-SMG-E01

CRHO-46

SR-H580

EURO CIVIC 07-

R/L
M20×1.5

M14×1.5

SR-H150 53010-TF0-003

53010-TSA-K01

CRHO-49

SR-H115

CITY

FIT

FIT HYBRID

JAZZ

INSIGHT

FREED

BRV

09-

09-

11-

09-

10-

10-

15-

R/L

SR-H160R 53010-S2K-003 LIFE 99- R

SR-H160L 53011-S2K-003 LIFE 99- L

SR-H170 53010-SFA-003 LIFE

ZEST (JE1,JE2)

04-09

06-12
R/L

SR-H180 53010-SEA-900

CRHO-29

ACCORD WAGON

INSPIRE

03-07

04-06
R/L

M16×1.5

M14×1.5
SR-H210 53010-S7S-003 STEPWGA 01- R/L

SR-H230 53010-SZH-003 LIFE (JC1,JC2) 10- R/L



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

SR-H260 53010-S47-003

CRHO-71

STEP WAGON 96-01
R/L

SR-H270 53010-SHJ-A02

CRHO-36

STEP WAGON 05-

SR-H280 53010-SZW-J01 TEP WAGON

STEP WAGON SPADA

09-

09-
R/L

SR-H290 53010-S50-003

CRHO-35

SR-6S50

LOGO 96-01
R/L

SR-H330 53010-SMA-013 HONDA STREAM 06-
SR-H350 53010-SS0-000

53010-SW5-000

53010-SW5-003

CRHO-14

SR-6313

PRELUDA

LEGEND

ACURA

92-96

97-98

95-98 R/L
M14×1.25

M14×1.5

SR-H360 53010-TY0-003 N BOX 11- R/L

SR-H370R 53010-S3A-003

(SR-H380R)

ACTY VAN 99-
R

SR-H370L 53011-S3A-003

(SR-H380L)

ACTY VAN 99-
L

SR-H390 53010-S2G-003 CAPA 98-02 R/L

SR-H400R 53010-TP8-003 ACTY 4WD 09- R

SR-H400L 53011-TP8-003 ACTY 4WD 09- L

SR-H411 53010-S0X-A02

CRHO-22

ODYSSEY 2WD 02-
R/L

M16×1.5

M14×1.5
SR-H430 53010-TG2-003 BRIO(DD1) 13- R/L

SR-H450 53010-SZT-G01

SR-H025

CR-Z

AIRWAVE

10-12

05-10
R/L

M16X1.0

M14X1.5
SR-H460 53010-SZT-H01 CR-Z 12- R/L

SR-H470 53010-T7W-003

53010-S7A-003

HR-V

VEZEL

VEZEL e:HEV

16-

20-

20-

R/L

SR-H480 53610-T6A-J01 ODTSSEY(RC1)

ODTSSEY(RC2)

ODTSSEY(RC4)

13-

14-

16-

R/L

SR-H500 53010-T0A-A01

CRHO-57

CRV(RM1) 12-
R/L

SR-H520 53010-T5A-J01 FIT(GK3) 14- R/L

SR-H540 53010-T2B-A01

SR-H053

CRHO-64

ACCORD HYBIRD(CR6)

ACURA TLX

13-

15- R/L

SR-H550 53010-T5R-003

53410-T5B-003

FIT 15-
R/L

SR-H560 53410-T5B-J71 HONDA Fit 13- R/L

SR-H570 53010-TR0-A01

CRHO-58

SR-6388

USA CIVIC (FB) 12-
R/L

M20X1.5

M14X1.5

SR-H580 53010-SMG-E01

53011-SMG-E01

CRHO-46

SR-H140

EURO CIVIC 07-

R/L
M20×1.5

M14×1.5

SR-H590 53010-T2A-A01

SR-H052

CRHO-63

ACCORD 12月16日
R/L

SR-H620 53521-SCV-A01 ELEMENT(YH2) 03-
SR-H640 53010-TTA-003 N BOX(JF3,JF4) 17- R/L

SR-H650 53010-TK8-A01

CRHO-60

SR-6392

PILOT 09-
R/L

M16X1.5

M14X1.5

SR-H720 53610-TZ5-Z01 ACURA MDX (YD3) 14 R/L

SR-H730 53610-TY2-A01 LEGEND (KC2) 15- R/L

SR-H750 53610-SLE-013 ODYSSEY 08- R/L

SR-H760 53010-TAA-J01 STEPWGN(RP1) 15- R/L



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

SR-H770 53610-TLA-A51

SR-6389

CRV 16-
R/L

SR-H810 53010-TG7-A01

53010-T6Z-A01

PILOT

PASSPORT

RIDGELINE

16-

19-

17-

R/L

SR-H820 53010-TX4-A01 ACURA RDX TB3 13- R/L

SR-H830 53521-TEA-A51

53521-TBA-A01

CIVIC (FK7)

INSIGHT(ZE4)

ZRV

18-

19-

23-

R/L

SR-H860 53010-SJC-A01 RIDGELINE 06-
R/L

SR-H920 53010-TXA-003 N-VAN(JJ1,JJ2) 18-
R/L

SR-H980 53610-THR-A01 ODYSSEY USA 18-
R/L

SR-G010 53010-T9A-003

SR-6303

FIT (GK5) 14
R/L

SR-G030 53521-3A0-A11 CRV 23- R/L

SR-G060 53010-T7S-T02 HR-V 16- R/L

SR-G090 53010-3T0-J01 STEP WGN(RP6,7,8) 22- R/L

CRHO-12 53521-SK3-003
SR-6312 53521-SP0-000 LEGEND 91-96 R/L

CRHO-21 53010-S0X-A01 ODYSSEY 2WD 99-01
R/L

M14×1.5

M14×1.5
CRHO-26 53010-SDP-A01 ACCORD SEDAN

ACCORD COUPE

03-05

03-05
R/L

M14×1.5

M14×1.5
CRHO-27 53010-S3V-A01

53010-S3V-A02

53010-S9V-A01

PILOT 03-
R/L

M18×1.5

M14×1.5

CRHO-35 53010-S50-003 LOGO HATCHBACK 99-
R/L

M14×1.5

M12×1.25
CRHO-38 53521-SL0-A01 ACURA NSX 95-05

R/L
M12×1.25

M12×1.25
CRHO-39 53010-SJC-A01 RIDGELINE 06-

R/L
M20×1.5

M14×1.5
SR-H022 53010-SXS-A01

CRHO-42

CR-V 07-
R/L

M20×1.5

M14×1.5
SR-CRV4 53010-T0A-A01

CRHO-57

CR-V 12-
R/L

M16X1.0

M14X1.5
SR-6402 53010-SZA-A01

CRHO-59

PILOT 09-
R/L

M20X1.5

M14X1.5
CRHO-62 53010-S2A-003

CRHO-65 53610-TZ5-A01

CRHO-66 53010-S8R-013

CRHO-67 53010-TP6-A01

CRHO-68 53010-TX4-A01

CRHO-72 53010-SLJ-003

SR-7440 48830-78001

CRS-1

CERVO

FRONTE

ALTO

ALTO 4WD

82-

79-84

79-84

79-84

R/L

(FEMALE)
M16×1.5

M12×1.25

SUZUKI
RACK END



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

SR-7460 96052292

48830-82000

ES-3120

EV-268

CRS-2

CULTUS 83-

R/L

(FEMALE)

M14×1.5

M12×1.25

SR-7490 48830-84000

CRS-3

FRONTE

ALTO

ALTO 4WD

84-

84-

84-

R/L

(FEMALE)
M14×1.5

M12×1.25

SR-7495 48830-70F00 KARIMVN 10- R/L

SR-7550 48830-60B00

ES-3187

EV-269

CRS-4

CULTUS(FORSA)

SWIFT 1.3/1.6

90-
R/L

(FEMALE)
M12×1.25

SR-7560 48830-63J00

4709161

CRS-14

SWIFT

SWIFT SPORT

SPLASH

04-

05-

05-

08-

R/L
M18×1.5

M12×1.25

SR-7562 48830-68K00

48830M68K00

ALTO 08-
R/L

SR-7580 48830-60G00

CRS-5

BALENO 96-
R/L

M14×1.5

M12×1.25
SR-7590 48830-65D00

EV-467

CRS-6

GRAND VITARA 99-
R/L

M16×1.0

M14×1.5

SR-7600 48830-76G00

1A00-32-365

48511-4A0A0

1A00-32-365

CRS-7

WAGON R

ALTO

AZ WAGCN(MAZDA)

98-03

95-

03-
R/L

(FEMALE)

M14×1.5

M12×1.25

SR-B110 48521-6A00A

MR-448466

KIX

H53A

H58A

08-

98-

98-

R/L

SR-N020 48521-AU000 PRIMERA 01- R/L

SR-7610 48830-75F01

CRS-8

WAGON R WIDE

KARIMUN

97-99

97-99

00-

R/L

(FEMALE)

M14×1.5

M12×1.25

SR-7620 48830-67D00

CRS-12

VITARA 99-04
R/L

M14×1.5

M14×1.5
SR-7630 48830-54G00

CRS-10

AERIO 01-

03-
R/L

M14×1.5

M12×1.25
SR-7640R 48830-79J00

CRS-16

SX4 06-
R

M16×1.0

M14×1.5
SR-7640L 48830-79J10

CRS-15

SX4 06-
L

M16×1.0

M14×1.5
SR-7642 48830-80J00 SUZUKI SX4 08-16 R/L

SR-7652 48830-68K00

48830M68K00

SUZUKI ALTO 09-19
R/L

SR-7660 48830-65J00

CRS-9

GRAND VITARA 06-
R/L

M18×1.5

M14×1.5
SR-7670 48830-61J00 APV 04- R/L

SR-7671 48830-61J20 APV(NON P/STEERING)

GC415

05-
R/L

SR-7680R 48830-67H50 CARRY 05-08 R

SR-7680L 48830-67H60 CARRY 05-08 L

SR-7681 1A04-32-365A

48830-67H01

48830-67H00

SR-S110

SCRUM TRUCK 02-

R/L

SR-7690 48510-4A00E

48830-85K00

48830-72M00

1A08-32-365

MR WAGON

MOCO(NISSAN)

LAPIN

ALTO

FLAIR(MAZDA)

11-

11-

10-

08-

14-

R/L



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

SR-S010 48830-68L00 SWIFT

SWIFT SPORT

12-

12-
R/L

SR-S020 48830-70B00

A001-32-240

CRS-18

ALTO

WAGON R

91-

93-98 R/L
M14X1.5

M12X1.25

SR-S040 48830-74L00 SWIFT DZIRE

ERTIGA

12-

12-
R/L

SR-S070 48830-57L00

For GEAR ASSY

48580-57L00

KIZASHI 09-
R/L

SR-S100 48830-78F00

48830-78F01

IGNIS (RG413,RG415)

SOLIO(MA63S)

IGNIS

15-

04-

99-

R/L

SR-S120 48830-80JD0

CRS-17

SX4 07-

SR-S140 48830-54M00 SOLIO 10- R/L

SR-S170 MQ-510881

1A11-32-365

48830-74P00

DELICA D2

CAROL

HUSTLER(MR52S,MR92S)

15-

15-

20-

R/L

SR-S180 48830-52R00 SWIFT SPORT

ESCUDO

SX4-CROSS

VITARA

17-

15-

15-

15-

R/L

SR-S190R 48830-67H51

48521-4A00A

48521-4A00E

MQ-505865

MQ-507786

1A00-32-366A

EVERY

NV100 CLIPPER

MINCAB

SCRUM

15-

13-

14-

05-
R

SR-S190L 48830-67H61

48521-4A00F

MQ-505866

MQ-507787

1A00-32-376A

EVERY

NV100 CLIPPER

MINCAB

SCRUM

15-

13-

14-

05-

L

SR-S200 48830-53R00 SWIFT (ZC83S) 17- R/L

SR-S210 48830-82M00 CARRY(DA16T) 13- R/L

SR-S211R 48830-82M50

MQ-505867

1A09-32-365

48521-4A00C

CARRY(DA16T)

MINICAB TRUCK

SCRUM-MAZDA

NISSAN NT100

13-

14-

13-

13-

R/L

SR-S211L 48830-82M60

MQ-505868

1A10-32-365

48521-4A00D

CARRY(DA16T)

MINICAB TRUCK

SCRUM-MAZDA

NISSAN NT100

13-

14-

13-

13-

R/L

SR-S230 48830-68P00

48830M68P00

BALENO 16-
R/L

M14×1.5

M14×1.5
SR-S280 48830M68K00

SR-7562

48830-68K00

CELERIO

ALTO

14

09-19 R/L

SR-S290 48500-52S00

48830-73R01

NEW CARRY

ERTIGA HYBRID

19-

22-
R/L

SR-S310 48830M74L10 CIAL 18- R/L

SR-7682 48830-77A00

48830-78A00

SR-77A00

CARRY 07-
R/L

SR-N410 48830-86G00

48830-58JA0

WAGON R

ALTO

IGNIS

06-

08- R/L

SR-N420 48830-58J00 MR WAGON 06-11 R/L

SR-7661 48830-55K10

48830-55K00

SR-55K10

SUZUKI NEW SX4

NEO BALENO

07-

08- R/L
M16×1.5

M14×1.5

CRS-11 48830-50G10 SWIFT 95-97
R/L

M17×1.0

M12×1.25



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

CRS-13 48830-50GA0 SWIFT 97-01
R/L

M14X1.5

M12X1.25
CRS-19 48830-75F00 WAGON 91-

93-98
R/L(FEMALE)

M14X1.5

M12X1.25
CRS-20 48830-68L00 SWIFT 91-

93-98

R/L
M18X1.5

M14X1.25

SR-2340 45503-10020

45503-19015

45503-19045

ES-2190R

EV-165

EV-281

CRT-1

CHARMANT 81-

R/L

SR-2410 45503-22010

45503-29015

45503-29016

45503-29125

45503-59125

EV-167

EV-242

CRT-3

DELTA WIDE VAN

& WAGON

85-

R/L

SR-2770 45503-29095

45503-29135

ES-2979

EV-210

CRT-40

DELTA WIDE VAN

& WAGON

85-

R/L

SR-3120 45503-87702

CRD-2

CHARADE 79-82
R/L

M11×1.5

M12×1.25
SR-3160 45503-87703

ES-2621

CRD-3

CHARADE 83-86
R/L

SR-3210 45503-87705

CRD-4

CHARADE 87-89
R/L

M11×1.5

M12×1.25

SR-3220 45503-87708

45503-87711

CHARADE 89-
R/L

M11×1.5

M12×1.25

SR-3221 45503-87706

45503-87709

CRD-8

CHARADE 89-
R/L

SR-3222 45503-87710

CRD-10

CHAR

CHAR SEDAN

CHARDE HATCHBACK 16001

GRAN MOVE

94-

93- R/L
M12×1.25

M12×1.25

SR-3230 45503-87208

45503-87210

CRD-6

MIRA

CUORE

85-

R/L
M11×1.5

M12×1.25

SR-3231 45503-87216 DAIHATSU MIRA 90- R/L

SR-3250 45503-87501

CRD-7

ESPASS 95-
R/L

M14×1.5

M14×1.5
SR-3270 45460-87401

45503-87401

45503-87675

CRD-9

TARUNA

TERIOS

TERIOS KID

CANBARA

TERIOS / VIGO

99-

97-

97-

06-

R/L
M14×1.5

M14×1.5

DAIHATSU
RACK END



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

SR-3280 45503-BZ021

45503-BZ020

SIRION

MYVI

07-

05-07
R/L

SR-3300 45503-87215 CUORE

MIRA

94-98

94/8-98/8
SR-3310 45503-BZ080 GRAND MAX

LUXIO

08-

SR-3320 45503-97204 MOVE 98- R/L

SR-3331
45503-BZ330

45503-BZ190

MYVI MK3(M800)

(※PERODUA)

NEW Sirion

17-

19- R/L M14X1.5

SR-3350 45503-BZ040 VIVA 07- R/L

SR-3351 45503-BZ100 ALZA 1.5 09- R/L

SR-3360R 45503-BZ150 ALZA 09- R

SR-3360L 45504-BZ150 ALZA 09- L

SR-3370 45503-BZ090 MYVI 11- R/L

SR-3380 45503-B2070 MIRA e:S 11- R/L

SR-3400 45503-97202 HIJET Apr-99 R/L

SR-3401 45503-97201

CRD-11

SIRION HATCHBACK 99-
R/L

M14×1.5

M121.25
SR-3410 45503-B5020 HIJET 4WD 04- R/L

SR-3411 45503-B5010 HIJET 4WD 04- R/L

SR-3430 45503-B2010 MIRA(L260) 02- R/L

SR-3431 45503-B2020 MIRA 02- R/L

SR-3440 45503-B2080

45503-B2051

45503-B2100

CAST

HIJET Caddie

MIRA

MOVE

TANTO

WAKE

15-20

14-

13-

14-

13-

14-

R/L

SR-3441 45503-B2040 MIRA 06-08 R/L

SR-3450 45503-97203 MOIRA GINO 02-04
R/L

SR-3490 45503-B2090 COPEN-LA400K 14-
R/L

SR-3870 45503-BZ010 XENIA 03- R/L

SR-D010 45503-BZ180

SR-3874

TOYOTA CALYA

DAIHATSU SIGRA

PERODUA AXIA

16-

17-

15-

R/L
M14×1.5

M14×1.5

SR-D050 45503-B5040 HIJET CARGO(S321)

ATRAI & HIJET CARGO

17-

17-
R/L

SR-T080 45503-BZ050

45503-87401

CRT-119

TERIOS(F700)

TERIOS/VIGO

07-

06- R/L

SR-6610 7313-10010

7313-10011

7313-10060

EV-177

CRSU-3

LEONE

LEONE 4WD

79-84

79-84
R/L

M16×1.5

M14×1.5

SR-6620 31310-GA170

EV-209

CRSU-4

LEONE

LEONE 4WD

84-

84-

R/L
M14×1.5

M14×1.5

SR-6621 31310-GA120

ES-2929

EV-207

CRSU-5

LEONE

LEONE 4WD

84-

84-
R/L

SR-6622 31310-GA150

31310-GA151

EV-208

CRSU-6

LEONE

LEONE 4WD

84-

R/L
M14×1.5

M14×1.5

SUBARU
RACK END



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

SR-6630 7313-10140

7313-10210

ES-3075

EV-238

CRSU-7

JUSTY 84-

R/L
M14×1.5

M12×1.25

SR-6650 34160-AE000

34160-AE001

CRSU-10

IMPREZA

FORESTER

IMPRESSA

OUTBACK

03-

02-05

07-

09-14

R/L
M16×1.5

M14×1.5

SR-6660 34140-AA000

34140-AA030

34140-AA040

CRSU-9

34140-AA001

34140-AA002

34140-AA003

34140-AA010

34140-AA011

34140-AA012

34140-AA013

34140-AA040

FORESTER Jan-97

R/L
M14×1.5

M14×1.5

SR-6680 34160-XA010

CRSU-16

FORESTER

IMPRESSA

OUTBACK

08-

07-

15-

R/L
M16X1.5

M14X1.5

SR-6690 34160-AG00A

CRSU-14

LEGACY

OUTBACK

05-

05-
R/L

M18×1.5

M14×1.5
SR-6700R 34160-KE011

34160-OK010

PLEO 98-
R

SR-6700L 34160-KE001

34160-OK000

PLEO 98-
L

SR-6780 34160-KG010 STELLA 06- R/L

SR-6810 34160-XC000

34140-XC000

ASCENT 18-
R/L

M20X1.5

M14X1.5
SR-6820 34160-SJ000 XV

FORESTER

18-

18-
R/L

M20X1.5

M14X1.5
SR-6830 34160-XA00 USA WRX STI 13- R/L

SR-6840 34160AN00A LEGACY BW9 20- R/L

CRSU-2 6313-37020

6313-37022

SR-6601
CRSU-8 31310-GA152

SR-6602

LEONE

LEONE 4WD

84-
R/L

M14×1.5

M12×1.25
CRSU-11 34160-AE010

3416E-AE010

SR-6603

IMPREZA 03-04
R/L

M14×1.5

M14×1.5

CRSU-12 34140-AC000

SR-6604

LEGACY

BAJA

OUTBACK

98-04

03-

01-04

R/L
M14×1.5

M14×1.5

CRSU-13 34140-FC000

SR-6605

IMPREZA 98-01
R/L

M14×1.5

M14×1.5
CRSU-15 34160-XA000

SR-6606

B9 TRIBECA 06-
R/L

M20X1.5

M14X1.5
SR-6730 34160-SC020

SR-6652

CRSU-17

SUBARU XV

SUBARU XV(GP3)

FORESTER (S23)

12-

17-

15-

R/L

CRSU-18 34160-FJ000

SR-6606

HYUNDAI
RACK END



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

CRKH-1 56540-21000

56540-21001

56540-21010

56540-21100

EXCEL Ⅰ(PONY)..sxc/P.S. 85-89

FEMALE RHT
M18X1.5

M14X1.5

CRKH-2 57760-21000

57760-21001

EXCELⅠ(FOR/PWST) 85-89
MALE RHT

M16×1.5

M14×1.5
SRK-8020 57729-4A000

57730-24000

57730-28500

57730-4A000

57730-4B000

57730-43010

57755-22000

56542-4B000

CRKH-4

CRKH-9

CRKH-12

CRKH-14

EXCELⅡ(PONY)…for/P.S.

ACCENT..FOR/P.S.

ELANTRA(LANTRA)…for/P.S.

SCOUP…for/P.S.

GRACE…for/P.S.

STAREX

PORTER

89-94

94-99

90-95

90-95

87-03

97-

96-
MALE RHT

M16×1.5

M14×1.5

CRKH-5 57730-28000 ELANTRA(LANTRA)…for/P.S. 90-95

MALE RHT
M16×1.5

M12×1.25

CRKH-6 57730-33100

56540-28020

SONATA…for/MANDO P.S. 88-93
MALE RHT

M16×1.5

M14×1.5
CRKH-7 57730-33200 SONATA…for/TRW P.S. 88-93

FEMALE RHT
M14×1.5

M14×1.5
CRKH-8 57730-24100 EXCELⅡ

SCOUP

89-94

90-95
FEMALE RHT

M14×1.5

M14×1.5
SRK-8150 57716-34000

57724-3A000

57755-17000

57785-26200

CRKH-10

CRKH-18

CRKH-21

CRKH-22

SONATA Ⅱ

SONATA Ⅲ

TRAJET XG

SANTAFE

LAVITA(MATRIX)

93-95

96-98

99-

00-05

01-
MALE RHT

M16×1.5

M14×1.5

CRKH-13 57730-29000

57730-29001

AVANTE(LANTRA,ELANTRA)

TIBURON(COUPE)

95-00

96-01
MALE RHT

M16×1.5

M14×1.5
SRK-8600 521255 MATIZ (M100) 98 R/L

SRK-8660 95967277 MATIZ (M300) 09- R/L

SRK-8680 56540-02000

CRKH-16

AT0Z(ATOS,SANTRO)…exc/P.S. 97-02
MALE RHT

M14×1.5

M12×1.25
CRKH-19 57755-02000 ATOZ(ATOS,SANTRO)…for/P.S. 97-02

MALE RHT
M14×1.5

M12×1.25
SRK-8180 57755-1C000

CRKH-24

CLICK(GETS)…for/P.S. 02-
MALE RHT

M16×1.5

M14×1.5
SRK-8100 57724-3K000

57724-3K500

CRKH-25

NF SONATA

TG GRANDEUR(AZERA)

04-

05- MALE RHT
M16×1.5

M16×1.5

SRK-8040 57724-2E000

CRKH-26

TUCSON 04-
MALE RHT

M16×1.5

M16×1.5
CRKH-27 57724-37100

57724-37000

NEW GRANDEUR

DYNASTY

86-98

96-05
MALE RHT

M16×1.5

M14×1.5
CRKH-28 57717-3B000 EQUUS(CENTENNIAL) 99-

MALE RHT
M16×1.5

M14×1.5
SRK-8080 57724-1E000

57724-1E100

CRKH-29

VERNA(ACCENT,BRIO) 05/8-
MALE RHT

M16×1.5

M14×1.5



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

SRK-8090 56540-2H000

CRKH-30

HD AVANTE(ELANTRA)

i30

Cee'd

06-

06-

06- MALE RHT
M16×1.5

M14×1.5

CRKH-31 57724-3J000 VERACRUZ 06- MALE RHT
M16×1.5

M16×1.5
SRK-8400 93740229 KALOS

SRK-8440 57724-2B000

57724-2T000

CRKH-32

CRKH-64

SANTAFE 06-

MALE RHT
M16×1.5

M16×1.5

CRKH-33 57730-4F000 PORTERⅡ 04-
MALE RHT

M16×1.5

M16×1.5
CRKH-34R 57724-4H100 STAREX GRAND 07- MALE RHT

M18X1.5

M14X1.5
CRKH-34L 57724-4H000 STAREX GRAND 07- MALE RHT

M18X1.5

M14X1.5
CRKH-35 57730-47000 LIBERO for PWST 00- MALE RHT

M16X1.5

M14X1.5
CRKH-37 57724-3M900

57724-3M500

GENESIS

EQUUS

08-

09-
MALE RHT

M16×1.5

M16×1.5
CRKH-38 57724-2M000 GENESIS COUPE 08- MALE RHT

M16X1.5

M14X1.5
SRK-8590 56540-0U500

CRKH-40

ACCENT 11- MALE RHT
M16X1.5

M16X1.5
CRKH-41R 57724-4L090 SOLARIS

ACCENT

11-

10- MALE RHT
M14X1.5

M14X1.5

CRKH-41L 57724-4L000 SOLARIS

ACCENT

11-

10- MALE RHT
M14X1.5

M14X1.5

CRKH-42 57724-2S000

57724-2S010

TUCSON IX35

SPORTAGE R

09-

13-
MALE RHT

M16X1.5

M16X1.5
SRK-8620 57724-2W000

CRKH-43

Grand Santa Fe

Maxcruz

Santa Fe

Sorento

13-

13-

12-

09-

R/L M16X1.5

SRK-8140 56540-3X000

CRKH-44

AVANTE DM

i30

11-

12-
MALE RHT

M16X1.5

M16X1.5
CRKH-45 57724-3Q000

57724-2T500

YF SONATA

YF SONATA HYBRID

10-

11-
MALE RHT

M16X1.5

M16X1.5
CRKH-46 57724-3Z000 i40 11-

MALE RHT
M16×1.5

M16×1.5

CRKH-47 57724-1J000 i20 08-
MALE RHT

M16×1.5

M16×1.5

CRKH-48 57724-0X000 i10 08-
MALE RHT

M16×1.5

M12×1.25

CRKH-49 57730-47300 LIBERO for PEST 00-
MALE RHT

M16X1.5

M14X1.5

CRKH-50 57724-C1000

57724-3Z100

SONATA

SONATA HYBRID

i40

14-

14-

15-

MALE RHT
M16X1.5

M16X1.5

CRKH-51 57724-B1200 GENESIS 2WD 14-
MALE RHT

M16X1.5

M14X1.5

CRKH-52 57724-B1400 GENESIS AWD 14-
MALE RHT

M16X1.5

M14X1.5

CRKH-53 57724-D3000 TUCSON 15-
MALE RHT

M16X1.5

M16X1.5

CRKH-54R 57724-4H350 GRAND STAREX 15-
MALE RHT

M18X1.5

M14X1.5



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

CRKH-54L 57724-4H300 GRAND STAREX 15-
MALE RHT

M18X1.5

M14X1.5

CRKH-55 57724-D3100 TUCSON(4WD) 15-
MALE RHT

M16X1.5

M16X1.5

CRKH-56

56540-F2300

56540-AA000

56540-F2000

56540-G3000

Ioniq

AVANTE

KONA

Elantra

i30

Kauai

Ceed

ProCeed

e-Niro

16-

15-

17-

15-

16-

17-

18-

18-

18-

R/L M16X1.5

CRKH-57 57730-4A410

57730-4A400

STAREX(4WD) 01-07
MALE RHT

M16X1.5

M14X1.5

CRKH-58 57730-4F400 PORTERⅡ 03-
MALE RHT

M16X1.5

M16X1.5

CRKH-59 57724-3N150 EQUUS

(S/ABSORBER TYPE-AIR)

14.09-
MALE RHT

M18X1.5

M14X1.5

CRKH-60 57724-3N250 EQUUS

(3800CC-LAMBDA 2)

14.09-
MALE RHT

M18X1.5

M14X1.5

CRKH-61 57724-3T150 EQUUS

(3800CC-LAMBDA 2)

14.02-14.09
MALE RHT

CRKH-62 57724-3T250 EQUUS

(3800CC-LAMBDA 2)

14.02-14.09
MALE RHT

CRKH-72 57726-S2100 Santa Fe

Santa Fe XL

19-

20-
R/L

M16X1.5

M16X1.5
CRKH-73 56540-C8000 HYUNDAI i20

HYUNDAI i20i20 Active

14-

15-
R/L

M16X1.5

M14X1.5
CRKH-74 56540-N9000 HYUNDAI TUCSON

KIA SPORTAGE

KIA SPORTAGE HYBRID

20-

20-

21-

R/L
M16X1.5

M16X1.5

CRKH-75 56540-L1000 SONATA (HYUNDAI)

KIA K5

19-

19-
R/L

M16X1.5

M16X1.5
CRKH-76 57724-C9000 Creta(GSR) 16-

R/L
M14X1.5

M14X1.5
CRKH-77 56540-C9100 Creta 16-

R/L
M16X1.5

M14X1.5
CRKK-43 57724-3S000 SONATA 09/09-10/10

MALE RHT
M16X1.5

M16X1.5

CRKK-1R 0G037-32-240C CAPITAL

CONCORD

87-96

87-96
MALE RHT

M16×1.5

M14×1.5
CRKK-1L 0G037-32-250C CAPITAL

CONCORD

87-96

87-96
MALE RHT

M16×1.5

M14×1.5
CRKK-2 OSA39-32-115

OK711-32-115

BESTA..exc/P.S

WIDE BONGO..exc/P.S

TIPIC..exc/P.S

86-96

96-97

87-97

MALE RHT
M17×1.0

M14×1.5

SR-1910 EV-288

K150-32-240

CRKK-3

KIA PRIDE 90-
R/L

SRK-8560 KDX50-32-240

CRKK-4

AVELLA(ASPIRE)…exc/P.S

AVELLA DELTA

94-99

94-99
MALE RHT

M16×1.5

M12×1.25
CRKK-5 F0BZ-3280A

MDX18-32-240

PRIDE(FESTIVA)…exc/P.S 87-99
MALE RHT

M16×1.5

M12×1.25
CRKK-6 F4BZ-3280B

KDX53-32-240

AVELLA(ASPIRE)…exc/P.S 94-99
MALE RHT

M16×1.5

M12×1.25
CRKK-7 E8BZ-3280A FESTIVA MAN 88-89

MALE RHT
M17×1.0

M12×1.25

KIA
RACK END



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

SRK-8340 OK9A2-32-240

OK201-32-240

OK201-32-240A

OK203-32-240

OK203-32-240A

CRKK-8

CRKK-9

CREDOS

SEPHIA Ⅰ(MENTOR,TIMOR)

95-00

92-97

MALE RHT
M16×1.5

M14×1.5

CRKK-10 OK72A-32-270 PREGIO (MANUAL)

FRONTIER (2WD)

BONGO Ⅲ

95-01

97-01

97-01

MALE RHT
M17×1.0

M14×1.5

SRK-8690 OK2A1-32-240

OK2A3-32-240

CRKK-13

CRKK-11

SHUMA…exc/P.S

SEPHIA Ⅱ(MENTOR,TIMOR)…

exc/P.S

SEECTRA…exc/P.S

CARENS…exc/P.S

97-03

97-00

00-03

99-02

MALE RHT
M16×1.5

M14×1.5

CRKK-12R OK552-32-250

OK552-32-250A

CARNIVAL(SEDONA) 98-99
MALE RHT

M17×1.0

M14×1.5
CRKK-12L OK552-32-270 CARNIVAL(SEDONA) 98-99

MALE RHT
M17×1.0

M14×1.5
CRKK-15 OK993-32-240A

OK91A-32-240

POTENTIA 92-01
MALE RHT

M17×1.0

M14×1.5
CRKK-16 OK71C-32-115 HI TOPIC

BESTA

87-97

92-
MALE RHT

M17×1.0

M14×1.5
CRKK-18 OK2A2-32-240 SEPHIAⅡ(MENTOR,TIMOR)…

for/P.S.

SHUMA…for/P.S

SPECTRA…for/P.S

97-00

97-03

00-03

99-02

MALE RHT
M16×1.5

M14×1.5

SRK-8050 57724-38010

57724-3C010

57724-38000

CRKH-17

CRKK-19

SONATA (HYUNDAI) 02-

R/L

CRKK-20R 57731-3E010 SORENTO 02-
MALE RHT

M18×1.5

M14×1.5
CRKK-20L 57732-3E010 SORENTO 02-

MALE RHT
M18×1.5

M14×1.5
CRKK-21 OK95A-32-240 ENTERPRISE 97-02

MALE RHT
M16×1.5

M14×1.5

CRKK-22 KDX50-32-240A

KDX50-32-240B/C

KDX53-32-240B

RIO 99-04
MALE RHT

M16×1.5

M12×1.25

CRKK-23R OK552-32-250B CARNIVAL(SEDONA) 99-05/6
MALE RHT

M18×1.5

M14×1.5
CRKK-23L OK552-32-270A CARNIVAL(SEDONA) 99-05/6

MALE RHT
M18×1.5

M14×1.5
SRK-8380 57724-07000

57724-07001

CRKK-25

MORNING(PICANTO)…exc/P.S 04-
MALE RHT

M16×1.5

M12×1.25

SRK-8640 56540-1G000

CRKK-27

PRIDE…exc/P.S(RIO) 05-
MALE RHT

M14×1.5

M14×1.5
SRK-8641R 57724-1G100

CRKK-28R

PRIDE…exc/P.S(RIO) 05-
MALE RHT

M16×1.5

M14×1.5
SRK-8641L 57724-1G000

CRKK-28L

PRIDE…exc/P.S(RIO) 05-
MALE RHT

M16×1.5

M14×1.5
CRKK-29 57724-4D000 GRAND

CARNIVAL(SEDONA,ENTOURAGE)

05/7-
MALE RHT

M16×1.5

M16×1.5
SRK-8350 OK60A-32-270

CRKK-30

FRONTIER(POWER) 97-01
MALE RHT

M17×1.0

M14×1.5
CRKK-31 OK72A-32-270A PREGIO (POWER) 01-05

01-03

01-05

MALE RHT
M18×1.5

M14×1.5

CRKK-32 OK60A-32-270A FRONTIER(POWER) 97-01
MALE RHT

M17×1.0

M14×1.5



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

CRKK-33 OK63C-32-270A FRONTIER(4WD) 01-03
MALE RHT

M18×1.5

M14×1.5
CRKK-34 57724-2G000

57724-2G010

57724-2G100

57724-2G110

LOTZE(MAGENTIS,OPTIMA)

CARENS(RONDO)

05.9-

06- MALE RHT
M18×1.5

M16×1.5

CRKK-35 57724-3F500

57724-3F100

OPIRUS(AMANTI) 03-
MALE RHT

M16×1.5

M14×1.5
CRKK-36R 57724-1D000 CARENS(RONDO) 06-

MALE RHT
M18×1.5

M16×1.5
CRKK-36L 57724-1D010 CARENS(RONDO) 06-

MALE RHT
M18×1.5

M16×1.5
CRKK-38 56540-07600 MORNING(PICANTO)… 07-

MALE RHT
M14×1.5

M12×1.25
CRKK-39R 57731-2J000 MOHAVE（BORREGO） 07-

MALE RHT
M18×1.5

M16×1.5
CRKK-39L 57732-2J000 MOHAVE（BORREGO） 07-

MALE LHT
M18×1.5

M16×1.5
CRKK-40R 57724-2P000 SORENTO R 09-

MALE RHT
M18×1.5

M16×1.5
CRKK-40L 57724-2P100 SORENTO R 09-

MALE RHT
M18×1.5

M16×1.5
SRK-8520 56540-2K000

CRKK-41

SOUL 08-
MALE RHT

M16×1.5

M16×1.5
CRKK-42 57724-4D100 GRAND

CARNIVAL(SEDONA,ENTOURAGE)…

05-
MALE RHT

M16×1.5

M16×1.5
SRK-8120 57724-3S000

CRKK-43

YF SONATA 09/09-10/10
MALE RHT

M16×1.5

M16×1.5
CRKK-44 57724-A4000 CARENS 13-

MALE RHT
M16×1.5

M16×1.5
CRKK-45 57724-1Y500

57724-1Y501

RAY

MORING(PICANTO)

12-

11-
MALE RHT

M20×1.5

M14×1.5
SRK-8700 56540-A7000

CRKK-46

K3

FORTE

13-

14-
MALE RHT

M16×1.5

M16×1.5
CRKK-47 56540-A6000 C'EED 12-

MALE RHT
M16×1.5

M16×1.5
CRKK-48 57724-A9000 CARNIVAL 14-

MALE RHT
M16×1.5

M16×1.5
CRKK-50 57724-C5000 SORENTO 15-

MALE RHT
M16×1.5

M16×1.5
CRKK-51 57724-1Y600 MORNING 15-

MALE RHT
M16×1.5

M14×1.5
CRKK-52 57724-D4000

CRKK-53 KH430-3224XA ENTERPRISE 97-02
MALE RHT

M14×1.5

M14×1.5
CRKK-54 57755-2K000 SOUL 08-12

MALE RHT
M16×1.5

M16×1.5
CRKK-55 56540-G6000 Morning

Picanto

Picanto X-LINE

17-

17-

17-

R/L
M16×1.5

M14×1.5

CRKK-57 56540-H8100 Stonic 17
R/L

M16×1.5

M14×1.5

CRKK-58
57724-C5100

57724-C5400

57724-C5600

Santa Fe

Sorento

18-

14- R/L
M16×1.5

M16×1.5

CRKK-59
57724-07101

57724-07100

Morning

Opirus

Picanto

04-11

06-12

04-11

R/L
M16×1.5

M12×1.25

CRKK-60R
57724-4E050 Bongo 06-

R
M18×1.5

M16×1.5

CRKK-60L
57730-4E050 Bongo 06-

L
M18×1.5

M16×1.5



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

CRKK-63
56540-K0000 e-Soul

e-Soul Cargo

Soul

19-

20-

19-

R/L
M16×1.5

M16×1.5

CRKK-65
56540-R0000 Carnival 22-

R/L
M16×1.5

M16×1.5

CRKH-66
56540-H7000 KIA PEGAS 18-

R/L
M16×1.5

M14×1.5

CRKH-67
57724-4Z000 Santa Fe 12-

R/L
M16×1.5

M16×1.5

CRKH-69
56540-J3000 Veloster 17-

R/L
M16×1.5

M16×1.5

CRKH-70
56540-K2000 Venue 20-

R/L
M16×1.5

M16×1.5

CRKH-71
57726-S2000 Santa Fe

Santa Fe XL

19-

19-
R/L

M16×1.5

M16×1.5

CRKH-72
57726-S2100

Santa Fe

Santa Fe XL

19-

19-
R/L

M16×1.5

M16×1.5

CRKH-73
56540-C8000 i20

i20 Active

14-

15-
R/L

M16×1.5

M14×1.5

CRKH-74
56540-N9000 TUCSON

SPORTAGE

SPORTAGE HYBRID

20-

21-

21-

R/L
M16×1.5

M16×1.5

CRKH-75
56540-L1000

SONATA 19-
R/L

M16×1.5

M16×1.5

CRKH-76
57724-C9000 Creta 16-

R/L
M14×1.5

M14×1.5

CRKH-77
56540-C9100 Creta 16-

R/L
M16×1.5

M14×1.5

CRKH-78

FOR 56820-CN000 PORTER

PORTER II HYBRID

BONGO

BONGO III HYBRID

FRONTIER

19-

19-

20-

20-

20-

R/L
M16×1.5

M16×1.5

CRKH-79
56540-CG000 STARIA 21-

R/L
M16×1.5

M16×1.5

SRK-8680 56540-02000

CRKH-16

VISTO（ATOS）…esc/P.S. 97-03
MALE RHT

M14×1.5

M12×1.25
CRKH-19 57755-02000 VISTO（ATOS）…esc/P.S. 97-03

MALE RHT
M14×1.5

M12×1.25
SRK-8070 57724-2D000

57724-2D020

CRKH-23

ELANTRA (HYUNDAI)

SPECTRA5 (KIA)

SPECTRA(NEW STYLE) (KIA)

00-06

05-09

04-09

R/L

CRKH-25 57724-3K500 OPIRUS(AMANTI)for HPS 09-
MALE RHT

M16×1.5

M16×1.5
SRK-8040 57724-2E000

CRKH-26

TUCSON 04-
MALE RHT

M16×1.5

M16×1.5
SRK-8080 57724-1E000

57724-1E100

VERNA(ACCENT,BRIO) 05/8- MALE RHT
M16×1.5

M14×1.5
SRK-8090 56540-2H000

CRKH-30

HD AVANTE(ELANTRA)

i30

06-

06-
MALE RHT

M16×1.5

M14×1.5
CRKH-37 57724-3M900

57724-3M500

K9 12-
MALE RHT

M16×1.5

M16×1.5

CRKH-40 56540-0U500 PRIDE 12-
MALE RHT

M16×1.5

M16×1.5

CRKH-42 57724-2S000

57724-2S010

TUCSON IX 09-
MALE RHT

M16X1.5

M16X1.5

CRKH-43 57724-2W000 SANTAFE DM

MAXCRUZ

12-

13-
MALE RHT

M16X1.5

M16X1.5



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

CRKH-39 57724-3Q000 KIA OPTIMA(TF) 10-
MALE RHT

M16X1.5

M16X1.5

CRKH-45 57724-2T500 YF SONATA

YF SONATA HYBRID

HG GRANDEUR(AZERA)

10-

11-

11-

MALE RHT
M16X1.5

M16X1.5

CRKH-64 57724-2T000 AZERA

GRANDER

SONATA

11-

11-

09-

MALE RHT
M16X1.5

M16X1.5

CRKH-55 57724-D3100 TUCSON(4WD) 15-
MALE RHT

M16X1.5

M16X1.5
CRKH-61 57724-3T150 EQUUS

(3800CC-LAMBDA 2)

14.02-14.09
MALE RHT

CRKH-62 57724-3T250 EQUUS

(3800CC-LAMBDA 2)

14.02-14.09
MALE RHT

SR-CH20 96535300 CHEVROLET KALOS

CHEVROLET AVEO

09-

09-
R/L

SS-2040 45460-20020

45460-20021

CORONA 64-69 R/L DISCONTINUED

SS-2110R 45460-29015

45460-29016

HIACE 67-71 R 

SS-2110L 45470-29015

45470-29016

45470-29017

HIACE 67-71
L

SS-2111R 45460-29065 HIACE 71-72 R

SS-2111L 45470-29035 HIACE 71-72 L

SS-2130 45460-29045 CORONA 70-73
R/L

SS-2140 45460-19025 COROLLA,SPRINTER

STARLET

70-74

73-74
R/L

SS-2160 45460-19055

45460-19065

45460-19085

45460-19095

45460-19135

SS-2350

CST-4

CARINA,CELICA

COROLLA,SPRINTER

70-75

74-79

R/L

SS-2161 45460-19056

45460-19175

45460-29145

45470-19025

ES-2498A

CST-7

CAMRY

CORONA

CARINA,CELICA

80-82

78-82

82-

82-87

75-81

81-

R/L

SS-2180 45460-29066

45460-29125

45460-29185

ES-2520A

CST-8

HIACE

HIACE TRUCK

72-82

77-85 R/L

SS-2190 45460-29076 MARK II 72-76 R/L

SS-2200R 45460-39065

CST-2R

HILUX 72-78
R

SS-2200L 45470-39035

CST-2L

HILUX 72-78
L

SS-2210R 45460-29085

CST-1

CORONA 73-78
R

SS-2210L 45470-29046

45470-29045

CST-14

CORONA 73-78
L

SS-2240R 45460-29055

CST-12R

LITEACE 70-79
R DISCONTINUED

SS-2240L 45470-29025

CST-12L

LITEACE 70-79
L DISCONTINUED

TOYOTA
SIDE ROD ASSY



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

SS-2290 45460-29115

CST-13

MARK II (CRESSIDA)

& CHASER

76-80
R/L

SS-2320 45046-19105

45460-19105

45460-19125

45460-19215

ES-2243R

SS-2340

CET-22

COROLLA LEVIN

& SPRINTER TRUENO

STARLET

83-87

78-80 OUTER R/L

FEMALE RHT
M14×1.5

SS-2321 45460-19145

CET-37

STARLET 80-84 OUTER R/L

FEMALE RHT
M14×1.5

SS-2330 45046-19115

45047-19065

45460-19115

45460-19125

45470-19015

CET-34

TERCEL,CORSA 78-82

R/L

SS-2350 45460-19135

45460-19095

COROLLA,SPRINTER 79-81

82-83

79-87

81-83

R/L

SS-2370 45460-39125

45460-39075

CST-6

CROWN 74-83
R/L

SS-2390 45460-29195

CST-5

MARK II (CRESSIDA)

& CHASER

CRESTA

80-84

80-84

R/L

SS-2400 45460-39116

45460-39115

CST-15

HILUX 4WD 79-81

SS-2401 45460-39145

CST-16

HILUX 4WD 81-83

SS-2410 45460-16165

45460-29205

45460-29225

ES-2242R

CET-35

CET-30

SOARER

MARK II (CRESSIDA)

CORONA

CARINA,CELICA

81-86

80-84

82-87

81-86

81-

OUTER R/L

FEMALE RHT
M14×1.5

SS-2411 45460-19155

CET-31

CORONA

CARINA,CELICA

82-

81-86

81-

OUTER R/L

FEMALE RHT
M14×1.5

SS-2450 45460-39165

CET-82

CAMRY,VISTA 82-86 OUTER R/L

FEMALE RHT
M14×1.5

SS-2470 45460-29215

45460-39095

45460-39096

45460-39155

45460-39215

45460-39225

45460-39305

45470-39085

CST-3

HILUX

KIJANG,TAMARAW

        (BUV)

78-

81-86

R/L

SS-2480 45460-29265

CST-9

HIACE VAN.WAGON

& COMMUTER

82-85
R/L

SS-2481 45460-29285

45470-29075

CST-20

HIACE VAN.WAGON

& COMMUTER

HIACE TRUCK

85-
R/L

SS-2490 45460-39175

45470-39045

COASTER 82-
R/L

SS-2500R 45460-29255 TOWNACE,MASTERACE

VAN,WAGON

82-85
R

SS-2500L 45470-29065 TOWNACE,MASTERACE

VAN,WAGON

82-85
L



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

SS-2520R

(SS-2521R)

CET-61R

(CET-62R)

45460-19185

45460-19195

45460-19205

TERCEL,CORSA

& COROLLA II

82-86
OUTER R

FEMALE RHT
M14×1.5

SS-2520L 45470-19035

45470-19045

45470-19055

SS-2521L

CET-61L

CET-62L

TERCEL,CORSA

& COROLLA II

82-86

OUTER L

FEMALE RHT
M14×1.5

SS-2570 45460-39205

CST-23

HILUX 4WD 83-

SS-2580 45460-39195

CST-11

CROWN 83-87
R/L

SS-2610 45460-69025

45460-60031

LAND CRUISER 64-75

69-80

74-84
SS-2615 45460-69035 LAND CRUISER 64-75

69-80

74-84
SS-2630 45460-69095 LAND CRUISER 80-
SS-2635 45460-69105 LAND CRUISER 80-
SS-2671 45460-29145RX

CST-22

MARK II (CRESSIDA)

CHASER & CRESTA

84-88

SS-2720 45460-39135

45460-39245

45460-39335

45460-39355

45460-39505

45470-39055

45470-39115

CST-24

HILUX 4WD 85-

97-

R/L

SS-2730 45460-69125 LAND CRUISER 84-

SS-2735 45460-69135 LAND CRUISER 84-
SS-2740 45460-69115

45460-69116

LAND CRUISER 84-

SS-2770 45460-29315

45470-29085

CET-71

TOWNACE,MASTERACE

VAN.WAGON

TOWNACE,MASTERACE

TRUCK

LITEACE VAN.WAGON

85-

86-

85-

R/L

FEMALE RHT
M14×1.5

SS-2800 45460-19125RX COROLLA 85-92 R/L

SS-2810 45460-39275

45470-39075

CROWN 87- R/L

SS-2811R 45460-39265

CST-18R

CROWN 87- R

SS-2811L 45470-39065

CST-18L

CROWN 87- L

SS-2840 45460-39255

CST-25

HILUX 4WD 90- R/L

SS-2930 45460-29355RX CAMRY USA 93-02 R/L

SS-2950 45460-69155 LAND CRUISER 90- R/L

SS-2960 45460-29385RX COROLLA 93-00 R/L

SS-3140 45460-87680 BRIZZARD 80-84
SS-3145 45460-87681 BRIZZARD 80-84
SS-3190 45460-87682 BRIZZARD 84-
SS-3195 45460-87683 BRIZZARD 84-
SS-3500 45460-29305RX

CST-28

MARK II (CRESSIDA) 88- R/L

SS-3530 45460-19225

CET-108

SOARER

SUPRA

86-91
OUTER R/L

FEMALE RHT
M14×1.5

SS-3550 45460-39385

CST-27

COASTER 93-
R/L

SS-3620 45460-39485

CST-30

HILUX 97-
R/L

SS-3880 45460-09321RX HILUX VIG0 06-
R/L



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

SS-3970 45460-29836RX HIACE 04- R/L

SS-4070R 48510-18000

48510-18001

SUNNY

SUNNY TRUCK

66-69

66-70
R DISCONTINUED

SS-4070L 48630-18000

48630-18001

SUNNY

SUNNY TRUCK

66-69

66-70
L DISCONTINUED

SS-4090R 48510-H1001

48510-H1000

CSN-20R

SUNNY

SUNNY TRUCK

70-73

71-75 R

SS-4090L 48510-H1001

48510-H1000

CSN-20L

SUNNY

SUNNY TRUCK

70-73

71-75 L

SS-4100R 48510-A0600

48510-H5800

48510-H5858

48510-U0100

CSN-1R

BLUEBIRD

SILVIA,GAZELLE

VIOLET

SUNNY

68-76

75-79

73-77

75-77

R

SS-4100L 48630-A0600

48510-H5800

48510-H5825

48510-U0100

CSN-22L

BLUEBIRD

SILVIA,GAZELLE

VIOLET

SUNNY

68-76

75-79

73-77

71-77

75-77

L

SS-4110R 48510-20500

48510-B5000

48510-B9525

CSN-1R

DATSUN PICK UP 65-79

R

SS-4110L 48630-20500

48630-B5000

48630-B9525

CSN-1L

DATSUN PICK UP 65-79

L

SS-4120R 48510-H1025

48510-H5000

48510-H5025

CSN-12R

SUNNY

SUNNY TRUCK

73-77

73-77

75-

R

SS-4120L 48630-H1025

48630-H5025

48630-H5000

CSN-12L

SUNNY

SUNNY TRUCK

73-77

73-77

75-

L

SS-4140R 48510-W5000

48510-W5025

ES-2447A

CSN-3R

AUSTER,STANZA

VIOLET

SUNNY

77-81

77-81

77-81
R

SS-4140L 48630-W5000

48630-W5025

ES-2448A

CSN-3L

AUSTER,STANZA

VIOLET

SUNNY

77-81

77-81

77-81
L

SS-4160 48510-01W00

48630-01W00

ES-2474A

CSN-4

DATSUN PICK UP 79-85

R/L

SS-4190R 48510-C07G0

48510-G2500

48510-G2525

ES-2603A

CSN-10R

VANETTE

VANETTE LARGO

78-85

82-86
R

SS-4190L 48630-G2500

48630-G2525

ES-2573A

CSN-10L

VANETTE

VANETTE LARGO

78-85

82-86 L

NISSAN
SIDE ROD ASSY



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

SS-4310 48510-Q0125

48510-S0125

48630-S0125

CSN-7

LAUREL

SKYLINE

BLUEBIRD

72-80

72-81

76-79

79-83

R/L

SS-4390R 48510-V0100

48510-V0100

CSN-5R

CEDRIC,GLORIA 79-83
R

SS-4390L 48630-V0100

48630-V0125

CEDRIC,GLORIA 79-83
L

SS-4431R 48510-2T025

48510-R8000

48510-R8025

48510-T3026

48510-T3060

48510-T3065

CSN-2R

ATLAS

HOMER,CABSTAR

CARAVAN,HOMY

82-92

92-

78-81

78-86 R

SS-4431L 48520-R8000

48520-R8025

48520-T3026

48520-T3060

48520-T3065

48630-2T025

CSN-2L

ATLAS

HOMER,CABSTAR

CARAVAN,HOMY

82-92

92-

78-81

78-86 L

SS-4460R 48510-T3001

48510-T3025

HOMER,CABSTAR

CARAVAN,HOMY

76-78

75-78
R

SS-4460L 48520-T3001

48520-T3025

HOMER,CABSTAR

CARAVAN,HOMY

76-78

75-78
L

SS-4480 48510-11A27

48510-35A26

48510-70A25

48510-D0125

CSN-28

AUSTER,STANZA

SUNNY

SUNNY 4WD

LAUREL SPIRIT

LAUREL SPIRIT 4WD

PULSAR,LANGLEY

& LIBERTA VILLA

PULSAR 4WD

LANGLEY 4WD

& LIBERTA VILLA 4WD

SUNNY,PULSAR

81-85

81-83

83-85

85-

82-86

87-

82-86

86-

87-

82-

R/L

SS-4490R 48510-N8225

CSN-23R

SILVIA,GAZELLE 79-81 R 

SS-4490L 48630-N8225

CSN-23L

SILVIA,GAZELLE 79-81
L

SS-4491R 48510-N8425

CSN-13R

SILVIA,GAZELLE 81-83
R

SS-4491L 48630-N8425

CSN-13L

SILVIA,GAZELLE 81-83
L

SS-4492L 48630-D8025 SILVIA,GAZELLE 81-83 L

SS-4510 48510-35A00

48510-35A14

CSN-31

SUNNY 82-86

SS-4520 48510-01L25

CSN-6

LAUREL

SKYLINE

80-84

81-85

R/L

SS-4550 48510-41W00

48630-41W00

CSN-11

DATSUN PICK UP 4WD 80-83
R/L

SS-4560R 48610-50W00

CSN-14R

DATSUN PICK UP 4WD 83-85
R



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

SS-4560L 48630-50W00

CSN-14L

DATSUN PICK UP 4WD 83-85
L

SS-4570R 48510-V5001

48510-V5025

48510-V6600

48510-V6625

48630-V5401

48630-V5425

48630-V6625

CSN-8

CEDRIC,GLORIA 83-87

83-87

R

R/L

SS-4570L 48630-V5001

48630-V5025

48630-V5026

CSN-9

CEDRIC,GLORIA 83-87

L

SS-4580 48510-01E26

CSN-27

AUSTER,STANZA

BLUEBIRD

85-

83-87
R/L

SS-4590 48510-50A26

48510-50A27

CSN-25

SUNNY

PULSAR,LANGLEY

& LIBERTA VILLA

85-

86- R/L

SS-4591 48510-50A25

48510-51A25

48510-53A25

48510-53A26

CSN-26

SUNNY

LAUREL SPIRIT

PULSAR,LANGLEY

& LIBERTA VILLA

85-

86-

86- R/L

SS-4592 48510-X08G1 SUNNY 90- R/L

SS-4620 48510-41L00

48510-41L25

48630-41L00

48630-41L25

CSN-19

LAUREL

LEOPARD

SKYLINE

84-

86-

85- RHD/LHD

SS-4630 48510-01N25

48630-01N25

CSN-30

CARAVAN,HOMY 86-
R/L

SS-4640R 48510-G5101

48510-G5125

CSN-24R

VANETTE

VANETTE LARGO

85-

86- R

SS-4640L 48630-G5101

48630-G5125

CSN-24L

VANETTE

VANETTE LARGO

85-

86- L

SS-4670 48510-01G25

48630-01G25

CSN-15

DATSUN PICK UP 85-
R/L

SS-4680 48510-31G25

48510-7F000

48630-31G25

ES-2386A

CSN-16

DATSUN PICK UP 4WD

TERRANO

85-

86-
R/L

SS-4720R 48510-18V25

CSN-17

CEDRIC,GLORIA 87-
R

SS-4720L 48630-18V25

CSN-18

CEDRIC,GLORIA 87-
L

SS-4740 1N00-32-E60

48510-50Y25

CSN-29

SUNNY 90-94
R/L

SS-4750 48510-61G25

CSN-32

DATSUN PICK UP 4WD 92-
R/L

SS-4820 48510-2S425

48510-2S485

48510-8B425

48630-2S485

48630-8B425

D8510-VK91A

D8630-VK91A

PICK UP

FRONTIER

97-

01-02

R/L



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

SS-4830 48510-3S525

D8510-VK90A

PICK UP 4WD

FRONTIER

97-

01-04
R/L

SS-N190 48630-2S420B PICK UP 01-
R/L

CSN-36R 48510-1PA0A
CSN-36L 48630-1PA0A

SS-7110R ES-2462A

MB076002

CSM-2R

GALANT Σ,Λ

& ETERNA Σ,Λ

76-83

81-86

R

SS-7110L ES-2427A

MB076001

GALANT Σ,Λ

& ETERNA Σ,Λ

76-83
L

SS-1250 1175-99-324X

CSZM-1

LUCE (929,929L)

LUCE-RE (RX-4,RX-9)

74-81

84-81
R/L

SS-1275 T001-34-D00A MILLENIA 92- REAR

SS-1920L OK011-32-270 KIA Sportage 93- L

SS-1920R OK011-32-290 KIA Sportage 93- R

SS-1368 ATV 150 CC SIDE ROD ASSY
SS-8251 UTV 250CC SIDE ROD ASSY
SS-LT01 MAZDA 3 SIDE ROD ASSY 04-

SS-5080 94021333

94025676

94025982

5-44357-008-

5-44357-014-1

5-44357-014-2

9-44357-631-0

9-44357-698-0

9-44357-700-0

CSIS-1

FASTER

(CHEVROLET-LUV)

72-81

R/L

SS-5140 8-94217-221-X

CSIS-2

FASTER

(CHEVROLET-LUV)

81-
R/L

SS-5280 8-94459-478-0

CSIS-3

FASTER 88-
R/L

SS-5283 8-97107-318-0 ELF/NPR ISUZU 94- R/L

SS-5300 8-94419-406-1

8-94419-407-2

8-94459-493-2

CSIS-5

BIGHORN 86-

R/L

SS-2320 45046-19105

45460-19105

45460-19125

45460-19215

ES-2243R

SS-2340

CET-22

COROLLA LEVIN

& SPRINTER TRUENO

STARLET

83-87

78-80 OUTER R/L

FEMALE RHT
M14×1.5

SS-2240R 45460-29055

CST-12R

LITEACE 70-79
R DISCONTINUED

MAZDA
SIDE ROD ASSY

ISUZU
SIDE ROD ASSY

DAIHATSU
SIDE ROD ASSY

MITSUBISHI
SIDE ROD ASSY



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

SS-2240L 45470-29025

CST-12L

LITEACE 70-79
L DISCONTINUED

SS-2320 45046-19105

45460-19105

45460-19125

45460-19215

ES-2243R

SS-2340

CET-22

COROLLA LEVIN

& SPRINTER TRUENO

STARLET

83-87

78-80
R/L

SS-2160 45460-19055

45460-19065

45460-19085

45460-19095

45460-19135

SS-2350

CST-4

COROLLA,SPRINTER

CARINA,CELICA

COROLLA,SPRINTER

79-81

82-83

79-87

81-83

70-75

74-79

R/L

SS-2500R 45460-29255 DELTA WIDE VAN

& WAGON

82-85
R

SS-2500L 45470-29065 DELTA WIDE VAN

& WAGON

82-85
L

SS-2770 45460-29315

45470-29085

DELTA WIDE VAN

& WAGON

85-
R/L

SS-3140 45460-87680 TAFT 79-84

SS-3145 45460-87681 TAFT 79-84

SS-3190 45460-87682 RUGGER (ROCKY) 84-
SS-3195 45460-87683 RUGGER (ROCKY) 84-

SB-2041 04435-20010

04435-20011

43307-20010

43307-20011

43310-29015

BJ-68

K-9008

CBT-1

CORONA

KIJANG,TAMARAW

        (BUV)

LITEACE

64-73

  -80

81-86

70-79 UP R/L

SB-2042 10299

04436-20030

04436-20031

43308-20010

43308-20030

43330-29025

43330-29026

43330-29035

BJ-69

CBT-2

CORONA

KIJANG,TAMARAW

        (BUV)

LITEACE

64-73

  -80

81-86

70-79

LOW R/L

SB-2062 43308-12010

43308-12015

43308-12016

COROLLA,SPRINTER 66-70
LOW R/L

TOYOTA
BALL  JOINT



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

SB-2081 43360-39015

43360-39016

43360-39025

43360-39045

43360-39055

43360-39065

43350-39015

43350-39016

43350-39025

43350-39055

43350-39065

SB-2811

CBT-30

CBT-3

CROWN

HILUX

KIJANG,TAMARAW

        (BUV)

67-87

87-

68-83

81-86
UPPER R/L

SB-2082 43330-39015

43330-39025

43340-39015

43340-39025

BJ-115

CBT-4

CROWN 67-74

LOW R/L

SB-2091 43307-22011

46607-22010

BJ-235

MARK II 68-71
UP R/L

SB-2092 43308-22010

BJ-283

MARK II 68-71
LOW R/L

SB-2102 04436-30010

43330-29015

43330-39035

BJ-67

CBT-18

HILUX

HIACE

68-72

67-72
LOW R/L

SB-2111 10030

43350-29025

43350-39026

43360-29025

43360-39035

CBT-11

HIACE

HIACE TRUCK

67-82

77-85

UPPER R/L

SB-2142 10023

43308-12020

BJ-113

CBT-5

COROLLA,SPRINTER

STARLET

70-74

73-78 LOWER R/L

SB-2162 10022

10447

43308-12030

13308-19035

BJ-145

K-9083

CBT-9

CAMRY,VISTA

CORONA

CARINA,CELICA

COROLLA,SPRINTER

COROLLA LEVIN

80-82

78-82

82-87

82-87

82-

70-81

81-86

81-

81-

74-79

79-87

81-87

LOW R/L

SB-2202 10336

43330-39045

43340-39075

BJ-127

K-9047

CBT-6

HILUX

HIACE

HIACE TRUCK

KIJANG,TAMARAW

        (BUV)

72-83

72-82

77-85

81-86

LOWER R/L



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

SB-2211 43350-29015

43360-29015

43360-29035

43360-29045

BJ-128

CBT-7

MARK II

CORONA

72-76

73-78

UPPER R/L

SB-2212 10036

10300

43330-29045

43330-29046

43330-29055

43330-29056

43330-29066

43330-29095

43340-29025

43340-29026

43340-29035

43340-29036

43340-29045

43340-29075

BJ-129

CBT-8

MARK II

CORONA

LITEACE

72-76

73-78

79-82

LOWER R/L

SB-2281 43310-29025

CBT-23

TOWNACE VAN.WAGON

TOWNACE TRUCK

76-82

78-82
UP R/L

SB-2282 43330-29085

43340-29065

CBT-31

TOWNACE VAN.WAGON

TOWNACE TRUCK

76-82

78-82 LOW R/L

SB-2292 10025

43308-29015

43308-29115

BJ-232

K-9085

CBT-12

SOARER

MARK II (CRESSIDA)

CRESTA

CHASER

CARINA,CELICA

81-86

76-84

84-

80-84

84-

77-84

84-

81-86

LOWER R/L

SA-2322 48068-19095

CBT-22

STARLET 80-84 LOW R/L

(ARM ASSY)
SA-2495 45490-39195 COASTER  LHD 82-05 LHD

SB-2332 104116

43308-16010

43308-16016

43308-16020

K-9290

TERCEL,CORSA 78-82

LOW R/L

SB-2381 10385

43350-29035

43350-29036

43350-29076

43350-29085

43360-29055

43360-29056

BJ-173

FA1477

K-9626

CBT-29

KIJANG (BUV)

TOWNACE,MASTERACE

VAN.WAGON

TOWNACE,LITEACE

TRUCK

LITEACE VAN,WAGON

TOWNACE/LITEACE/SPACIA

86-

82-

82-86

86-

79-82

82-85

85-

96-

UP R/L



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

SB-2452 10374

10436

43330-39135

43330-39275

43330-39345

BJ-231

CAMY-2.0

FA1727

K-9352

SB-3542

CBT-16

CAMRY,VISTA

MR2

82-

87-94

LOWER R/L

SB-2471 10028

43350-39035

43350-39075

43350-39115

BJ-238

BJ-300

K-9343

CBT-14

CBT-36

HILUX 83-95

93-

UPPER R/L

SB-2472 10437

10438

43330-39165

43340-39145

BJ-239

BJ-301

K-9344

CBT-15

HILUX 83-89

LOWER R/L

SB-2481 10031

43350-29045

43350-29055

43350-29056

43360-29065

43360-29075

43360-29076

BJ-236

CBT-20

BJ-302

HIACE VAN.WAGON

& COMMUTER

HIACE TRUCK

85-85

85-89

UPPER R/L

SB-2482 10032

43330-29125

43330-29155

43330-29295

43340-29105

BJ-237

BJ-266

BJ-303

CBT-21

CBT-37

HIACE VAN.WAGON

& COMMUTER

HIACE TRUCK

HIACE VAN

82-85

85-89

85-89

LOWER R/L

SB-2491 43350-36010 COASTER 82-
UP R/L

SB-2492R 48068-36010 COASTER 82-93 R



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

SB-2492L 48069-36010 COASTER 82-93

L

SB-2502 10444

43330-0B020

43330-29115

43330-29175

43330-29245

43340-29095

BJ-225

K-9533

CBT-25

KIJANG (BUV)

TOWNACE,MASTERACE

             VAN WAGON

TOWNACE,LITEACE

                   TRUCK

LITEACE VAN WAGON

TOWNACE/LITEACE/SPACIA

86-

82-

96-

82-96

96-

82-85

85-

96-

LOW R/L

SB-2522 10443

43330-19025

BJ-234

CAMRY-2.0小心

K-9345

CBT-24

MR2

SPRINTER CARIB 4WD

TERCEL,CORSA

& COROLLA II

TRUCK

LITEACE VAN-WAGON

84-95

82-

82-86

86-

82-85

85-

LOWER R/L

SB-2542 10006

10386

43330-29135

43330-29136

43330-29137

43330-29138

43330-29139

43330-29205

BJ-233

K-9342

CBT-13

CORONA

CARINA,CELICA

COROLLA,SPRINTER

83-87

84-

83-87

LOWER R/L

SB-2582 43330-39055

43330-39065

43330-39095

43330-39105

43330-39115

43330-39145

43330-39155

43330-39225

43330-39235

43340-39015

CROWN 74-87

87-99

LOWER R/L



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

SB-2642 10302

43330-29145

43330-29146

43330-29186

BJ-260

BJ-360

K-9387

CBT-33

CBT-32R

CBT-32L

CORONA

CARINA,CELICA

85-89

87-92

85-89

87-

LOWER R/L

SB-2702 104157

43330-19045

43330-19075

BJ-272

K-9379

CBT-19

TERCEL,CORSA

& COROLLA II

STARLET

86-90

84-89

LOWER R/L

SB-2721 10435

43350-39045

43350-39085

43360-39075

43360-39085

BJ-264

K-9482

CBT-27

HILUX 4WD

HILUX SURF

HILUX PICK UP

85-

88-

97-

UPPER R/L

SB-2722 10434

43330-29105

43330-29215

43330-29345

43330-39195

43330-39255

43340-39175

43340-39235

BJ-265

K-9587

CBT-28

HILUX 4WD

HIACE VAN 4WD

HIACE VAN,WAGON

COMMUTER 4WD

85-88

88-89

86-89

88-89

95-

88-95

89-93

01-

LOWER R/L

SB-2802R 104111

43330-19065

43330-19066

BJ-270

K-9523

CBT-32R

COROLLA,SPRINTER 87-

LOW R 

SB-2802L 104110

43340-19015

43340-19016

BJ-271

K-9525

CBT-32L

COROLLA,SPRINTER 87-

LOW L

SB-2832 104169

43330-39245

43330-39295

43330-39445

43340-39225

BJ-371

BJ-372

FA2051

HILUX

K-9645

CBT-35

HILUX  88-

89-

97-

LOWER R/L



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

SB-2852 104188

43330-39265

43330-39315

43330-39835

43340-39245

BJ-502

BJ-553

FA2054

K-9519

CBT-42

HILUX 4WD

HILUX SURF

PICK UP

88-

97-

88-

LOWER R/L

SB-2871 43350-29065

43350-29095

BJ-837

HIACE

CBT-34

HIACE VAN.WAGON

& COMMUTER

89-95

UPPER R/L

SB-2873 43350-29095 HIACE 89-95 UPPER R/L

SB-2932 104218

43330-06020

43330-06021

43330-09021

43330-09051

43330-09140

43330-26021

43330-39285

43330-39435

K-9499

CBT-39

CAMRY

WINDAM

CAMRY AUS

VISTA

SIENNA

HARRIER

LEXUS RX300

PRONSRD

91-

91-96

97-02

94-97

98-00

97-

99-03

00-03

LOWER R/L

SB-2942R 43330-19085

K-9741

TERCEL-R

CBT-38R

CBT-38R/L

STARLET 89-

90-94
LOWER R

SB-2942L 43340-19025

K-9740

TERCEL-L

CBT-38L

STARLET 89-

LOWER L

SA-2962R 48068-12130-1

(48068-12130+SB-
SA-2962L 48069-12130-1

(48069-12130+SB-
SB-2962 104229

43330-02020

43330-19095

43330-29265

43330-29315

43330-29375

43330-49045

43330-49065

K-9742

SB-2992

CBT-40

CBT-43

For Arm

48068-29265

48068-49045

48068-49065

48069-29265

48069-49045

CORONA

CARINA

CORINA 4WD

IPSUM

AVENSIS VERSO

91-

95-

92-96

93-

98-01-01

96-

LOWER R



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

SB-2972 1014187

43330-29225

43330-29325

43330-29326

43330-49025

BJ-550

CORONA-ST-180

K-9649

CBT-41

CELICA

CORONA

CARINA ED

RAV-4  ※

89-

94-※
LOWER R/L

SB-3291 43350-87680 ROCKY 88-99 UP R/L

SB-3292 43330-87680 ROCKY 88-89 LOW R/L

SB-3512R 43330-29275

43330-29355

43330-29356

43330-29385

43330-29415

43330-59085

43330-59105

SB-3832R

SB-3834R

SB-3836R

CBT-44R

MARK II(CRESSIDA)

& CRESTA,CHASER

PROGRES

BREVIS

96-00

96-00

98-00

02-

01-
LOWER R

SB-3512L 43340-29085

43340-29145

43340-29146

43340-29165

43340-29185

43340-59085

43340-59105

SB-3832L

SB-3834L

SB-3836L

CBT-44L

MARK II(CRESSIDA)

& CRESTA,CHASER

PROGRES

BREVIS

96-00

96-00

98-00

02-

01-
LOWER L

SB-3522 43330-29235

CBT-45

ESTIMA 90-
LOWER R/L

SB-3551 43350-39095

CBT-47

COASTER 93-95
UP R/L

SB-3561 43310-34030

43310-35061

43310-35071

43310-35081

43310-39016

43310-39085

CBT-48

CBT-77

LAND CRUISER PRADO

HILUX

TUNDRA

4RUNNER

SEQUOIA

SEQUOIA 2WD

SEQUOIA 4WD

TUNDRA 2WD

TUNDRA 4WD

96-

95-

00-

95-03
UPPER  

SB-3562R 43330-39415

43330-39466

43330-39585

SB-3802R

SB-3804R

SB-3806R

CBT-49R

LAND CRUISER PRADO

HILUX

96-

LOW  R

SB-3562L 43340-39325

43340-39356

43340-39465

SB-3802L

SB-3804L

SB-3806L

CBT-49L

LAND CRUISER PRADO

HILUX

96-

LOW L



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

SB-3602 43308-09010

43308-09070

43308-09071

43308-09080

43308-09081

43308-0H010

43308-19176

43308-59035

43308-59055

43308-59065

43308-59095

48068-59075-1

48069-59057-1

3520Q2-1

3521L3-1

CBT-56

48068-K9000-BJ

48069-K9000-BJ

48068-09201-1

YARIS(VITZ)ECHO

VITZ

FUN CARGO

PLATZ

VIOS

SUCCEED

ECHO

AYGO

BELTA

YARIS

SIENTA

YARIS  NEW

YARIS KSP210

AQUA MXPK1

YARIS CROSS

99-

06-

06-

06-

06-

05-

99-

99-

02-

07-

20-

16-

20-

20-

20-

LOWER R/L

SA-3602R 48068-59035

48068-09010

VITS

VIOS

99-

02-
LOW R

SA-3602L 48069-59035

48069-09010

VITS

VIOS

99-

02-
LOW L

SA-3555 45070-36030 COASTER(BB40) 93- LHD

SA-T022R 48068-59145

48068-09081

48068-09150

48068-59095

48068-59135

VITZ

VIOS

14-

LOW R

SA-T022L 48069-59135

48069-09071

48069-09140

48069-59095

48069-59125

VITZ

VIOS

14-

LOW L

SA-T422R 48068-09230 VIOS NCP150 13- LOW R

SA-T422L 48069-09240 VIOS NCP150 13- LOW L

SA-T442R 48068-47040 PRIUS(NHW20) 03- LOW R

SA-T442L 48069-47040 PRIUS(NHW20) 03- LOW L

SA-T812R 46068-12300-1

(48068-12300

+SB-T222)

PRIUS V

COROLLA HB

COROLLA SED

COROLLA/AURIS(JPP)

11-

07-

08-

10-

12-

15-

LOW R

SA-T812L 46069-12300-1

(48069-12300

+SB-T222)

PRIUS V

COROLLA HB

COROLLA SED

COROLLA/AURIS(JPP)

11-

07-

08-

10-

12-

15-

LOW L

SB-3611R 43350-39105

CBT-52R

TACOMA 95-03
UPPER R

SB-3611L 43360-39095

CBT-52L

TACOMA 95-03
UPPER L

SB-3612R 43330-39355

43330-39565

SB-3782R

CBT-53R

TACOMA 2WD 01-

95-00
LOWER R



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

SB-3612L 43340-39275

43340-39445

SB-3782L

CBT-53L

TACOMA 2WD 01-

95-00 LOWER L

SB-3621 43350-19115

43350-39125

CBT-51

HILUX 97-
UPPER R/L

SB-3642 43330-02070

43330-02097

43330-09070

43330-09090

43330-09230

43330-09220

43330-19115

43330-19185

43330-09B21

CBT-46

COROLLA

COROLLA. US.

COROLLA HB/LB

COROLLA B(UKP)

COROLLA SED/WG(UKP)

ALTIS

WISH

RAV-4

COROLLA USA

PRIUS ZVW50

YARIS CROSS/HV

COROLLA/ALTIS

CRROLLA CROSS

00-

02-

98-01

01-

02-

02-

03-

00-03

03-05

15-

20-

20-

20-

LOWER R/L

SB-3662R 43330-39815

43330-39366

43330-39367

43330-39556

SB-3792R

SB-3794R

SB-3796R

CBT-55R

TACOMA 4WD 01-

95-98

LOW R

SB-3662L 43340-39585

43340-39286

43340-39287

43340-39436

SB-3792L

SB-3794L

SB-3796L

CBT-55L

TACOMA 4WD 01-

95-98

LOW L

SB-3672 43330-09080

43330-0A001

43330-0A010

43330-0A011

43330-19145

CBT-58

SOLUNA 96-

LOW R/L

SB-3682 43330-29215

43330-29345

HIACE

HIACE VAN,WAGON

COMMUTER(4WD)

HIACE TRUCK

HIACE

95-

88-95

89-93

01-

LOW

SB-3702R 43330-29165

43330-29166

CBT-61

TOWNACE VAN 4WD

TOWNACE TRUCK 4WD

LITEACE VAN 4WD

LITEACE TEUCK 4WD

88-92

92-96

88-92

92-96

LOWER R

SB-3702L 43340-29115

43340-29116

CBT-62

TOWNACE VAN 4WD

TOWNACE TRUCK 4WD

LITEACE VAN 4WD

LITEACE TEUCK 4WD

88-92

92-96

88-92

92-96

LOWER L

SB-3742R 43330-29285

43330-29365

43330-29366

43330-39505

43330-39506

SB-3744R

SB-3746R

CBT-65

MARK Ⅱ 4WD

&CRESTA,CHASER

93-96

96-00

96-00

LOWER R



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

SB-3742L 43340-29135

43340-29155

43340-29156

43340-39395

43340-39396

SB-3744L

SB-3746L

CBT-66

MARK Ⅱ 4WD

&CRESTA,CHASER

93-96

96-00

96-00

LOWER L

SB-3752R 43330-09160

43330-09180

43330-09560

43330-29405

43330-29615

CBT-57R

CAMRY

CAMRY USA

SIENNA

HIGH LANDER

HARRIER

LEXUS RX330

ESTIMA

ALPHARD G/V

ALPHARD HV

PREVIA

LOWER R

SB-3752L 43340-09010

43340-09020

43340-09160

43340-29405

43340-29175

43340-29215

CBT-57L

CAMRY

CAMRY USA

SIENNA

HIGH LANDER

HARRIER

LEXUS RX330

ESTIMA

ALPHARD G/V

ALPHARD HV

PREVIA

01-

02-

04-

01-

03-

04-

00-

02-

03-

00-

LOWER L

SA-3752R 48068-33050-1

(48068-33050+SB-

CAMRY 01-
LOWER R

SA-3752L 48069-33050-1

(48069-33050+SB-

CAMRY 01-
LOWER L

SB-3762R 43330-59015

43330-59016

43330-59025

43330-59026

SB-3764R

SB-3766R

CBT-71

CELSIOR

LEXUS LS400

89-94

LOWER R

SB-3762L 43340-59015

43340-59016

43340-59025

43340-59026

SB-3764L

SB-3766L

CBT-72

CELSIOR

LEXUS LS400

89-94

LOWER L

SB-3772 43330-29395

CBT-73

43330-29555

TOWN ACE 4WD

LITE

TOWNACE

96-

04-

04-

LOWER

SB-3812 43340-60010

43340-60020

For Arm

48620-60010

48640-60010

48620-60020

48640-60020

LAND CRUISER

LAND CRUISER PRADO

98-

05-

02-
LOWER R/L



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

SB-3831 43310-29065

43310-39025

43310-39045

43310-59025

CBT-84

MARK Ⅱ

MARKⅡ BLIT

PROGRES

PROGRES

ALTEZZA

ALTEZZA

ALTEZZA GITA

ALTEZZA GITA

VEROSSA

CROWN

CROWN MAJESTA

96-

92-95

00-05

00-05

98-01

01-05

98-03

03-

98-03

03-

01-04

99-05

LOWER R/L

SB-3841 43310-60010

43310-60020

43310-60030

43310-60040

43310-60050

43310-60060

43310-60070

43310-0C011

For Arm

48610-60050

48630-60020

48610-60070

48630-60040

48610-60060

48630-60030

48610-0C011

48630-0C011

48610-60030

48630-60010

LAND CRUISER PRADO

4 RUNNER

LAND CRUISER

HILUX SURF

HILUX

LAND CRUISER PRADO

LEXUS GX460

LEXUS GX470

SEQUOIA

TUNDRA

LAND CRUISER PRADO

LEXUS LX450D/570

02-

03-05

10-

98-

07-

05-

02-

02-04

03-

10-

17-

15-

UP R/L

SB-3842 43330-60010

For Arm

48068-60010

48069-60010

LAND CRUISER PRADO

HILUX SURF

LEXUS GX470

02-

02-

03-

LOW R/L

SB-3862R 43330-39605 TUNDRA

SEQUOIA

03-

03-
UP R

SB-3862L 43340-39485 TUNDRA

SEQUOIA

03-

03-
UP L

SB-3864R 43330-39655

43330-39805

43330-39825

K-80521

TUNDRA

SEQUOIA

04-

05- LOE R

SB-3864L 43340-39515

43340-39575

43340-39595

K-80522

TUNDRA

SEQUOIA

04-

05- LOE L

SB-3872 43330-BZ010

For Arm

48068-BZ010

48069-BZ010

CBT-87

AVANZA

X-ENIA

03-

03-
LOW R/L

SB-3603

(SB-3874)

43330-BZ220

43330-BZ221

FOR ARM

48068-BZ220

48069-BZ220

CALYA (TOYOTA)

SIGRA (DAIHATSU)

AXIA (PERODUA)

BEZZA (PERODUA)

17-

19-

14-

15-

LOW R/L



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

SB-3881 43310-09015

43310-09017

43310-09030

43310-0K010

43310-0K040

48610-04020-1

48630-04020-1

CBT-63

For ARM ASSY

48610-04020

48630-04020

HILUX VIGO

HILUX

FORTUNER

KIJANG INNOVA exc/GL

INNOVA

TACOMA

FORTUNER

TACOMA

04-

17-

05-

05-

04-

04-

15-

17-

UPPER R/L

SB-3882 43330-09295

43330-09490

43330-09510

CBT-64

48068-04040-1

48068-0K090-BJ

48069-0K090-BJ

HILUX VIGO

HILUX

FORTUNER

KIJANG INNOVA exc/GL

TACOMA (GRN225)

HILUX GGN125

04-

04-

05-

05-

04-15

15-

LOWER R/L

SA-3932R 48068-02021-1

(48068-02021+SB-

USA COROLLA 02-
LOW R

SA-3932L 48069-02021-1

(48069-02021+SB-

USA COROLLA 02-
LOW L

SA-3962R 48068-02021-2

(48068-02021+SB-

MATRIX 03-05
LOW R

SA-3962L 48069-02021-2

(48069-02021+SB-

USA COROLLA 02-
LOW L

SB-3962 43330-09190

43330-09210

43330-09680

43330-29425

CBT-60

MATRIX

VOLTZ

AVENSIS

ALTIS

WISH

CALDINA

Scion Tc

03-05

02-

03-

08-

03-

02-

05-

LOWER R/L

SB-3972 43330-29565

CBT-68

HIACE 04-

13-
LOWER R/L

SB-3973 43330-29565+20 GRAND HIACE 04- LOWER R/L

SB-3974R 43330-29569 GRAND HIACE+ 04- LOWER R/L

SB-3974L 43340-29570 GRAND HIACE+ 04- LOWER R/L

SB-3982R 43330-59065

43330-59066

43330-59135

SB-3984R

SB-3986R

CBT-69

MARK2

ALTEZZA

ALTEZZA GITA

VEROSSA

00-06

00-

00-

01-04
LOWER R

SB-3982L 43340-59065

43340-59066

43340-59135

SB-3984L

SB-3986L

CBT-70

MARK Ⅱ

ALTEZZA

VEROSSA

00-06

00-

00-

01-04
LOWER L

SB-T054 43330-09360 AVENSIS UK

COROLLA VERSO

03-06

04-
LOWER R/L

SB-T073R 43330-59075

43330-59115

43330-59125

CELSIOR

LS430(LEXUS)

00-

LOWER RH

SB-T073L 43340-59075

43340-59115

43340-59125

CELSIOR

LS430(LEXUS)

00-
LOWER LH



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

SB-T082 43330-BZ120

43330-BZ060

43330-B4010

43330-B4011

43308-BZ080

43308-BZ090

For Arm

48068-BZ080

48069-BZ080

48068-BZ060

48069-BZ060

48068-B4010

48068-B4011

48069-B4010

48069-B4011

48068-BZ090

TERIOS

GRAN MAX

TERIOS

TERIOS / VIGO

07-

07-

06-

LOWER R/L

SB-T092 43330-29575

CBT-81

HIACE 4WD 04-
LOWER R/L

SB-T112 43330-29255

For ARM

48068/9-29255

48068/9-29265

48068/9-49045

NOAH

VOXY

NOAH 4WD

VOXY 4WD

VOXY

PICNIC

01-

01-

07-

03-

LOWER

SB-T172R 43330-09330

43330-09580

43330-09590

43330-09810

43330-39775

43330-39845

CBT-82

SB-A312R

AVALON

CAMRY CHINA

CAMRY

CAMRY HYBRID

AVALON GSX40

05-07

07-

06-

11-

16-
LOWER R

SB-T172L 43340-09040

43340-09100

43340-09110

43340-09170

43340-39545

43340-39775

43340-39605

CBT-83

SB-A312L

AVALON

CAMRY CHINA

CAMRY

CAMRY HYBRID

AVALON GSX40

05-07

07-

06-

11-

16- LOWER L

SA-T222R 48068-42060-1

(48068-42060+SB-

RAV4 06-
LOW R

SA-T222L 48069-42060-1

(48069-42060+SB-

RAV4 06-
LOW l

SB-T215 43330-09B60 HIGHLANDER

SIENNA

19-

20-
LOWER



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

SB-T222 43330-49095

43330-09630

43330-09631

43330-09650

43330-09651

43330-09720

43330-09A30

43330-09A40

43330-19245

43330-19275

43330-49195

43330-49205

43330-49215

43330-19255

43330-49255

CBT-74

RAV4

CORROLLA

AURIS

ESTIMA

ALPHARD

COROLLA RUMION

JPN TAXI

CAMRY

AVALON

BLADE

C-HR

HARRIER

MARK X Zio

PREVIA

PRIUS V

RUKUS

SCION

VANGUARD

VERSO

ZELAS

LEXUS ES350

LEXUS HS250h

LEXUS NX200t

CH-R

CAMRY HYBIRD

06-07

07/6-

06-08

08-

07-

14-

17-

18-

18-

06-12

16-

14-17

07-13

06-18

12-

10-

07-

07-13

09-13

10-

18-

09-12

14-

16-

17-

LOWER

SB-A182 SU003-00358

SU003-00357

20206-CA000

CBSU-7

SB-6659

FOR ARM

20202-CA000

20202-CA010

SU003-00354

SU003-00355

86 (ZN6) TOYOTA

BRZ (ZC6) SUBARU

Scion FR-S

12-

12-

12-

LOWER R/L

SA-A182R SU003-00354 86 (ZN6) TOYOTA

BRZ (ZC6) SUBARU

12-

12-
LOWER R

SA-A182L SU003-00355 86 (ZN6) TOYOTA

BRZ (ZC6) SUBARU

12-

12-
LOWER L

SB-A303 48610-60090

48630-60060

Land Cruiser 300 21-
UP R/L

SB-A392

43330-49225

43330-09A80

43330-09A90

RAV4 HYBRID 2WD

HARRIER

HOAH/VOXY

SOLTERRA(SUBARU)

BZ4(TOYOTA)

RAV4 2WD

19-

18-

22-

22-

22-

20-

LOWER R/L

SB-T224 43330-09770 AVENSIS 08- LOWER R/L

SB-A462 43330-49235

43330-09A90

RAV4(NAP)

HARRIER

VENA

LEXUS NX450h+

NX350,NX350h,NX250

SOLTERRA(SUBARU)

BZ4(TOYOTA)

CROWN

LEXUS NX250/350/450

18-

18-20

20-

21-

20-

22-

22-

22-

21-

LOW R/L

SB-A526 43330-09B60 HIGH LANDER 19- LOWER R/L
SB-A602 43330-59175 GR YARIS 20- LOWER R/L



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

SB-T234 43330-39765 DYNA XZU 320

DYNA RZU 300

DYNA XZU 500

DYNA XKU 308

99-02

99-07

06-11

03-11

LOWER

SB-T273R 43330-39625

43330-09550

43330-0N010

SB-A052R

GS300/350

IS200/250

CROWN

MARK X(GRX120)

REIZ

05-11

06-13

08-13

09-14

05-

LOWER R

SB-T273L 43340-39505

43340-09090

43340-0N010

SB-A052L

GS300/350

IS200/250

CROWN

MARK X(GRX120)

REIZ

05-11

06-13

08-13

09-14

05-

LOWER L

SB-T282R 43330-39535

SB-T286R

CBT-75

LEXUS GS300

CROWN

CROWN MAJESTA

ARISTO

SOARER

LEXUS SC430

98-05

99-04

99-04

99-

01-05

01-05

LOWER R

SB-T282L 43340-39415

SB-T286L

CBT-76

LEXUS GS300

CROWN

CROWN MAJESTA

ARISTO

SOARER

LEXUS SC430

98-05

99-04

99-04

99-

01-05

01-05

LOWER L

SB-T291 43310-39135

For Arm

48610-39135

LEXUS GS350 AWD

LEXUS GS300,430,460 AWD

LEXUS IS 250/350 AWD

06-08

06-08

06-08

UP R/L

SB-T402 43330-60040

43330-60050

For Arm

48068-60050

48069-60050

48068-60040

48069-60040

48068-60051

48069-60051

LAND CRUISER PRADO

4RUNNER

LEXUS GX460

09-

10-

10-

10- LOW R/L

SB-T432R 43330-49165

43330-49125

43330-09780

CBT-85

HIGHLANDER

KLUGER

VENZA

SIENNA

LEXUS RX350

08-

08-

09-

11-

15-

LOWER R

SB-T432L 43340-49035

43340-49015

43340-09140

CBT-86

HIGHLANDER

KLUGER

VENZA

SIENNA

LEXUS RX350

08-

08-

09-

11-

15-

LOWER L

SB-T442 43330-49055

43330-09670

43330-09700

CBT-67

PRIUS

PRIUS 3

03-

11- LOW R/L

SB-T502 43350-09090

43350-09100

43350-60030

48068-60060-1

48069-60060-1

For Arm

48069-09090

48068-09100

48069-60030

48068-60030

SEQUOIA

LAND CRUISER

TUNDRA

LEXUS LX450D/570

LEXUS LX450D/570

LAND CRUISER

08-

07-

06-

07-

15-

21-
LOW R/L

SA-T505R 48068-60060 LAND CRUISER 21- LOWER R



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

SA-T505L 48069-60060 LAND CRUISER 21- LOWER L

SB-T522 43330-49185 PRIUS

LEXUS CT200H

09-

10-
LOW R/L

SB-T552 43330-BZ160

48068-BZ160-BJ

48069-BZ160-BJ

48068-BZ170-1

48069-BZ170-1

48068-BZ200-BJ

48069-BZ200-BJ

48068-BZ390-BJ

48069-BZ390-BJ

NEW AVANZA

NEW XENIA

NEW RUSH

NEW TERIOS

12-

18-

17-

11-
LOWER R/L

SA-T782R 48068-33070-1

(48068-33070+SB-

CAMRY(ACV40) 06-
LOW R

SA-T782L 48069-33070-1

(48069-33070+SB-

CAMRY(ACV40) 06-
LOW L

SA-T882R 48068-12171-1

(48068-12171+SB-

COROLLA 96-
LOW R

SA-T882L 48069-12171-1

(48069-12171+SB-

CAMRY(ACV40) 06-11
LOW L

SA-T892R 48068-B1110 ※ PASSO

BOON(DAIHATSU) ※

10-

10-
LOWER R

SA-T892L 48069-B1110 ※ PASSO

BOON(DAIHATSU) ※

10-

10-
LOWER L

SB-T922 48069-BZ320-1

48069-BZ100-1

48068-BZ320-1

48068-BZ100-1

For ARM ASSY

48068-BZ220

48069-BZ220

TOYOTA CALYA

DAIHATSU SIGRA (B400/B401)

TOYOTA WIGO

TOYOTA ZEW RUSH

DAIHATSU NEW TERIOS

16-

16-

17-

17-

17-

LOWER R/L

SB-T931 48067-39065-1

48066-39065-1

48066-80002-1

48067-80003-1

TOYOTA  Dyna

HINO 300

DYNA/TOYOACE

TOYOACE HV

99-

00-

10-

17-

UPPER R/L

SA-T933R 48066-80002

48066-80003

TOYOACE HV 17-
UPPER R

SA-T933L 48067-80002

48067-80003

TOYOACE HV 17-
UPPER L

SA-T922R 48068-BZ220 CALYA

SIGRA (B400/B401)

16-

16-
LOWER R

SA-T922L 48069-BZ220 CALYA

SIGRA (B400/B401)

16-

16-
LOWER R

SB-A212 43330-59155 ALPHARD (AGH 30)

VELLFIRE HV

LEXUS LM350/LM300H

15-

15-

20-

LOWER R/L

SB-A372 48068-26180-1

48069-26180-1

HIACE GDH300 19-
LOWER R/L

CBT-54 43330-39375 PICK UP

T-100

93-98

92-
LOWER R/L

CBT-78 43330-59035

43330-59036

43330-59045

CELSIOR 94-99

99-00

LOWER R

CBT-79 43340-59035

43340-59036

43340-59045

CELSIOR 94-99

99-00

LOWER L

CBT-80 43330-39635 LEXUS GS300

LEXUS GS350

LEXUS IS250

06-

07-

06-

LOWER R/L

CBT-89 43350-09030 HILUX TIGER 01-04
CBT-90 43330-49185 PRIUS

LEXUS CT200h

10-

11-13
CBT-93 43330-09770
CBT-94 43330-09130



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

CBT-95 43330-59155
CBT-96R 43330-39486
CBT-96L 43340-39376
CBT-97R 43330-39545

CBT-97L 43340-39425

CBT-98R 43330-39335

CBT-98L 43340-29125

SB-4B00 40160-0B000 QUEST 93- LOW R/L

SB-4071 40110-18000

40110-18001

40111-18000

SUNNY

SUNNY TRUCK

66-69

66-70 UP R/L

SB-4072 40160-18000 SUNNY

SUNNY TRUCK

66-69

66-70
LOW R/L

SB-4092 40160-H1000

BJ-92

BJ-920

K-9023

CBN-4

SUNNY

SUNNY TRUCK

70-73

73-75

73-75

71-75

LOW R/L

SB-4102 10291

40160-A8600

40160-A8610

40160-A8625

40160-U7000

BJ-85

K-9011

CBN-3

BLUEBIRD

SILVIA,GAZELLE

VIOLET

SUNNY

68-76

75-79

73-77

71-77

75-77

LOWER R/L

SB-4105 40160-U7220 LUXGEN U7

LUXGEN M7

13-
LOWER R/L

SB-4122 10016

40160-H7400

40160-H7427

BJ-176

CBN-5

SUNNY

SUNNY TRUCK

75-77

75-77

77-81

75-

LOWER R/L

SB-4142 10341

40160-W5000

40161-W5000

BJ-163

K-9073

CBN-6

SILVIA,GAZELLE

AUSTER,STANZA

VIOLET

SUNNY

79-81

77-81

77-81

77-81
LOWER R/L

SB-4172 10019

10356

40160-W1000

40160-W1001

40160-W2200

40160-W2210

BJ-178

K-9097

NIS-910-BIRD

CBN-26

LEOPARD

BLUEBIRD

SILVIA,GAZELLE

80-86

79-83

83-

SB-4181 40110-G0300

BJ-208

NISSAN-C20

CBN-8

VANETTE 75-78

78-81

81-82
UP R/L

SB-4182 40160-G0300

BJ-309

CBN-12

VANETTE 75-78
LOW R/L

NISSAN
BALL  JOINT



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

SB-4191 10400

40110-G3700

40110-G5100

BJ-210

K-9460

CBN-23

VANETTE

VANETTE

81-82

82-85

85-

82-86

86-

UPPER R/L

SB-4192 104235

10453

40160-G2500

40160-G2525

40160-G4010

40160-G5100

40160-G5400

BJ-211

BJ-284

K-9639

CBN-9

VANETTE

VANETTE LARGO

78-85

85-

82-86

86-

LOWER R/L

SB-4262 40160-21000

40160-78500

40160-A3405

40160-A3406

BJ-146

CBN-2

BLUEBIRD 67-68

LOW R/L

SB-4291 40110-73000

40110-E0100

40110-F1700

40110-P0110

CBN-14

CEDRIC,GLORIA 69-77

UP R/L

SB-4292R 40160-73000

40160-E0100

40160-P0110

CBN-1R

CEDRIC,GLORIA 69-75

LOW R

SB-4292L 40161-73000

40161-E0100

40161-P0110

CBN-1L

CEDRIC,GLORIA 69-75

LOW L

SB-4312 10340

40160-P6525

40160-S0104

40160-S0105

40160-S0106

40160-S0125

40160-S0126

40160-S0127

40160-S0128

BJ-151

K-9292

CBN-19

FAIRLADY-Z

LAUREL

SKYLINE

BLUEBIRD

78-83

72-80

72-81

76-79

79-83

LOWER R/L

SB-4342 10351

40160-M3025

K-9075

CBN-15

CHERRY 74-78

LOW R/L

SB-4372 10014

10417

40160-M7025

K-9286

CBN-18

PULSAR

LANGLEY

78-82

80-82
LOW R/L



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

SB-4391 10389

10424

40110-0F000

40110-01G00

40110-01G25

40110-01G26

40110-B9500

40110-T3060

40110-T6000

40110-T6025

40110-V0100

K-9022

CBN-11

CEDRIC,GLORIA

ATLAS

HOMER,CABSTAR

CARAVAN,HOMY

CARAVAN,HOMY 4WD

JUNIOR

DATSUN PICK UP

DATSUN PCIK UP 4WD

TERRANO

VENETTE LARGO 4WD

77-83

82-

78-81

78-

87-

78-84

77-85

85-

80-85

85-

86-

86-

UPPER R/L

SB-4392R 40160-V0100

CBN-22R

CEDRIC,GLORIA 79-83
LOW R

SB-4392L 40161-V0100

CBN-22L

CEDRIC,GLORIA 79-83
LOW L

SB-4431 34004-6402P

34005-6402P

40110-J0100

40110-J0125

40111-J0100

40111-J0125

BJ-138

CBN-27

HOMER,CABSTAR

CARAVAN,HOMY

JUNIOR

65-75

73-75

7076

UP R/L

SB-4432 34006-6401

34006-6401P

40160-J0100

40160-J0125

CBN-28

HOMER,CABSTAR

CARAVAN,HOMY

JUNIOR

65-75

73-75

70-76 LOW R/L

SB-4461 40110-T3002

40110-T3025

40111-T3002

40111-T3025

CBN-16

HOMER,CABSTAR

CARAVAN,HOMY

JUNIOR

76-78

75-78

75-78 UP R/L

SB-4462 40160-T3002

40160-T3025

40160-T3026

CBN-17

HOMER,CABSTAR

CARAVAN,HOMY

JUNIOR

76-78

75-78

75-78
LOW R/L

SB-4472R 10382

10422

40160-48W00

40160-48W25

40160-B9500

40160-F1700

40160-T3060

BJ-183

BJ-184

BJ-205

BJ-206

K-9043

CEDRIC,GLARIA

ATLAS

HOMER,CABSTAR

CARAVAN,HOMY

JUNIOR

DATSUN PICK UP

DATSUN PICK UP 4WD

75-79

82-

78-81

78-86

78-84

77-85

80-83
LOWER R

SB-4472L 10381

40161-48W00

40161-48W25

40161-B9500

40161-F1700

40161-T3060

BJ-207

K-9045

CBN-7L

CEDRIC,GLARIA

ATLAS

HOMER,CABSTAR

CARAVAN,HOMY

JUNIOR

DATSUN PICK UP

DATSUN PICK UP 4WD

75-79

82-

78-81

78-86

78-84

77-85

80-83

LOWER L



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

SB-4482R 10017

40160-D0125

K-9149

CBN-13R

AUSTER,STANZA 81-85

LOW R

SB-4482L 40161-D0125

CBN-13L

AUSTER,STANZA 81-85
LOW L

SB-4492 10415

40160-N8400

K-9087

CBN-20

SILVIA,GAZELLE 81-83

LOW R/L

SB-4512 10015

40160-01A00

40160-01A25

40160-A03G0

40160-A06G0

BJ-242

BJ-304

K-9153

CBN-10

SUNNY

LAUREL SPIRIT

PULSAR,LANGELY

& LIBERTA VILLA

PRAIRIE

SUNNY, PULSAR

& DATSUN AD VAN

81-85

82-86

82-86

82-

82-

LOWER R/L

SB-4532 40160-29R25 PRAIRIE 85-88 LOW R/L

SB-4562 10423

40160-0F000

40160-50W00

40160-50W01

40160-50W25

40160-93G25

40160-93G26

40160-50W10

40160-93G00

BJ-956

FA1530

K-9347

DATSUN PICK UP

PATHFINDER

TERRANO

VANETTE LARGO 4WD

DATSUN PICK UP 4WD

FORD MAVERICK

83-85

85

85-

86-

86-

93-95

93-96
LOWER R/L

SB-4572 40160-V5002

CBN-25

CEDRIC,GLARIA 83-87
LOWER R/L

SA-4592R 54500-65A00 SLNNY 85 LOWER R

SA-4592L 54501-65A00 SLNNY 85 LOWER L

SB-4592

CBN-30

(CBN-38)

(CBN-39)

104145

260-1357

40160-4M400

40160-4M410

40160-4M411

40160-4M700

40160-4Z011

40160-50A00

40160-50J25

40160-60Y60

40160-69C00

40160-6M000

40160-70J00

40160-86M00

40160-EE500

40160-EE530

40160-F4600

40160-J7500

BJ-261

K-9633

SUNNY

SUNNY 4WD

LAUREL SPIRIT

LAUREL SPIRIT 4WD

PULSAR,LANGLEY

& LIBERTA VILLA

PULSAR,LANGLEY 4WD

LIBERTA VILLA 4WD

PRIMERA

ALMERA

SENITRA

GRAND LIVINA

85-90

94-

99-

85-90

98-

86-

87-

86-

86-

90-

99-

00-

07-

LOWER R/L



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

SB-4602 40160-01P00

40160-01P81

40160-21P00

40160-26P00

CBN-37

FAIRLADY-2 83-

LOW R/L

SB-4622 40160-41L00

40160-67L00

BJ-274

CBN-32

LEOPARD

LAUREL

SKYLINE

86-

84-

85-
LOWER R/L

SB-4672 104139

40160-01G00

40160-01G25

40160-01G26

40160-01G50

40160-01G90

40160-01N25

40160-27N25

40160-2S485

40160-3S550

40160-55G90

40160-92G90

BJ-244

BJ-24672

BJ-958

K-9609

CBN-31

E4502-2S485-BJ

E4503-2S485-BJ

54502-2S485-BJ

54503-2S485-BJ

CARAVAN,HOMY

DATSUN PICK UP

PICK UP

FRONTER

NISSAN TRUCK D22

NP300 PICK UP

86-

85-

97-

98-00

98-

08-

LOWER R/L

SB-4692 10418

260-1297

40160-01E00

40160-50E00

40160-51E00

40160-85E00

BJ-241

BLUEBIRD

BLUEBIRD 4WD

AUSTER,STANZA

83-87

87-

87-

85- LOWER R/L

SB-4712 40160-10V00

40160-17V00

40160-45V00

CBN-29

CEDRIC,GLORIA 87-

LOWER R/L

SB-4722 40160-18V00

40160-18V01

40160-A8V00

CBN-33

CEDRIC,GLORIA 87-

LOWER R/L



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

SB-4742 104196

1N00-99-356

40160-0M010

40160-0M020

40160-0M060

40160-50Y00

40160-50Y02

40160-50Y0R

40160-50Y10

40160-50Y20

40160-52Y00

40160-52Y10

40160-52Y20

40160-52Y60

40160-60Y00

40160-60Y10

40160-60Y20

40160-69Y00

40160-69Y10

40160-F4200

40160-Y02G0

FA2082

SUNNY

SENTRA

SENTRA

ALMERA

90-94

92-95

92-95

97-

LOWER R/L

SA-4791R 54524-2F010

54524-2J001

54524-3F010

54524-3J201

54524-50J00

54524-65J00

54524-90J00

CQN-51

PRIMERA 91-

RHD/LHD

SA-4791L 54525-2J001

54525-3F010

54525-3J201

54525-50J00

54525-65J00

54525-90J00

CQN-52

PRIMERA 91-

RHD/LHD

SB-4812 40160-01B25

40160-4F105

CBN-46

CBN-53

MARCH 92-

LOWER R/L

SA-4821R 54524-2S486

SA-11126

D22 PICKUP

DATSUN 720

NAVARA

97-
RH

SA-4821L 54525-2S486

SA-11127

D22 PICKUP

DATSUN 720

NAVARA

97-
LH

SB-4815 40160-1HJ0A+2 MARCH+ 09- LOWER R/L

SB-4821 40110-2S485

40110-2S486

40110-2S685

40110-2S686

40110-3S600

40110-8B425

40110-8B525

40110-8B550

40110-9Z050

40110-VJ200

CBN-62

NISSAN PICK UP

FRONTIER

FRONTIER 4WD

97-

01-02

98-00

01-04

UPPER R/L



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

SB-4832 40160-2S601

40160-2S685

40160-2S686

40160-9Z510

CBN-63

NISSAN PICK UP 4WD

FRONTIER 4WD

98-

98-00

01-04

LOWER R/L

SB-4842 40160-0W025

40160-0W000

D0160-0W025

CBN-64

TERRANO 95-

LOWER R/L

SA-4872R 54500-41U02 MAXIMA

CEFIRO

96-

95-
RH

SA-4872L 54501-41U02 MAXIMA

CEFIRO

96-

95-
SB-4872 40160-31U00

40160-39U00

40160-41U00

40160-41U01

40160-41U02

40161-41U00

40161-41U01

40161-41U02

CBN-54

CEFIRO 94-98

LOWER R/L

SB-4882 40160-2Y000

40160-2Y411

40160-2Y412

40160-5Y720

40160-4N000

40160-AV600

40160-AV605

40160-AV606

40160-AV60A

40161-2Y411

40161-2Y412

40161-5Y720

CEFIRO

PRIMERA

SERENA

99-02

99-

02-

99-05

LOWER R/L



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

SB-4942 40160-9W200

40160-9W20C

40160-9Y000

40160-CA010

40160-CC40A

40160-CC40B

40160-JG000

For ARM

54500-9Y000

54501-9Y000

54500-9W20C

54501-9W20C

54500-CA010

54501-CA010

54500-0C40A

54501-C40A

54500-0C40B

54501-0C40B

54500-JG000

54501-JG000

54500-JD000

54501-JD000

TEANA

MURANO

DUARUS

QUASHQAI

X-TRAIL

X-TRAIL(T32)

ROGUE SPORT (J11)

QUASHQAI

03-

03-04

04-07

04-07

07-

13-

17-

13-

LOWER R/L

SA-4952R 54500-1FU0B

54500-1JY0A

54500-EL00A

54500-EL000

MQ-702523

MQ-703552

MQ-704127

MQ-711149

TIIDA

CUBE

VERSA

NV200 VANETTE

AD/AD EXPERT

LANCER CARGO

DELICA D:3 WAGON/VAN

04-

09-

07-

13-

13-

14-

03-

11-

SA-4952L 54501-1FU0B

54501-1JY0A

54501-EL00A

54501-EL000

MQ-702524

MQ-703553

MQ-704128

MQ-711150

MQ-711566

TIIDA

CUBE

VERSA

NV200 VANETTE

AD/AD EXPERT

LANCER CARGO

DELICA D:3 WAGON/VAN

04-

09-

07-

13-

13-

14-

08-

11-

SA-4951R 54524-EF80A

54524-EL000

54524-EN000

54524-AX001

VERSA

TIIDA

LIVINA

LATIO

04-

04-

07-

06-12

UPPER R/L

SA-4951L 54525-EF80A

54525-AX001

54525-EL000

54525-EN000

VERSA

TIIDA

LIVINA

LATIO

04-

04-

07-

06-12

UPPER L

SA-N072R 54500-AX600

54500-BC42A

MICRA(K12E) 02-10
LOW R

SA-N072L 54501-AX600

54501-BC42A

MICRA(K12E) 02-10
LOW L

SA-N612R 54500-JG000

54500-JG00A

SA-N202R

DUALIS

QASHQAI

ROGUE

X-TRAIL

RENAULT KOLEOS

07-14

06-14

11-15

08-14

08-16

LOWER R



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

SA-N612L 54501-JG000

54501-JG00A

SA-N202L

DUALIS

QASHQAI

ROGUE

X-TRAIL

RENAULT KOLEOS

07-14

06-14

11-15

08-14

08-16

LOWER L

SB-N721 40110-22T26 ATLAS 92-
SB-N722 40160-3T426 ATLAS 92-
SA-C112R 54500-6LB0A SENTRA 21- LOWER R

SA-C112L 54501-6LB0A SENTRA 21- LOWER L

SA-N582R 54500-4CA0A X-TRAIL

ROGUE(J11)

16-

17-
LOWER R

SA-N582L 54501-4CA0A X-TRAIL

ROGUE(J11)

16-

17-
LOWER L

SA-N812R 54500-8Y50A

54500-AX00E

54500-AX00D

54500-AX00C

54500-AX00B

54500-AX00A

54500-AX000

CUBE (Z11)

NOTE(E11)

03-

05-

LOWER R

SA-N812L 54501-8Y50A

54501-AX00E

54501-AX00D

54501-AX00C

54501-AX00B

54501-AX00A

54501-AX000

CUBE (Z11)

NOTE(E11)

03-

05-

LOWER R

SA-S032R 54529-4A00A

54529-4A00B

54529-4A00C

54529-4A00F

45201-58J10

45201-58J00

45201-58J01

1A11-34-300

1A11-34-300A

1A11-34-300B

1A15-34-300

PINO

ROOX

FLAIR WAGCN(2WD)

FLAIR WAGCN(4WD)

CAROL (2WD)

CAROL (4WD)

AZ WAGCL (2WD,4WD)

07-

09-

06-

12-

04-

06-

03-

07-

SA-S032L 54530-4A00A

54530-4A00B

54530-4A00C

54530-4A00F

45202-58J10

45202-58J00

45202-58J01

1A05-34-300

1A05-34-300A

1A05-34-300B

1A09-34-300

PINO

ROOX

FLAIR WAGCN(2WD)

FLAIR WAGCN(4WD)

CAROL (2WD)

CAROL (4WD)

AZ WAGCL (2WD,4WD)

07-

09-

06-

12-

04-

06-

03-

07-

SA-N932R 54500-1HJ0A

54500-9KS1D

MARCH(K13)

ALMERA

VARSA SEDAN

10-

12-

11-

LOWER R

SA-N932L 54501-1HJ0A

54501-9KS1D

MARCH(K13)

ALMERA

VARSA SEDAN

10-

12-

11-

LOWER L

SA-N842R 54500-EN001

54500-EN00B

42320-51Z01

45201-50Z00

SERENA

LAFESTA

LANDY(AUZUKI)

05-

13-

04-

07-

LOWER R



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

SA-N842L 54501-EN001

54501-EN00B

42330-51Z01

45202-50Z00

SERENA

LAFESTA

LANDY(AUZUKI)

05-

13-

04-

07-
LOWER L

SB-4952 40160-3SB0A

40160-ED00A

40160-EL000

40160-EE500

40160-EE530

40160-EN001

40160-ET000

40160-1KA0B

40160-1KA0A

40160-5SN1A

40160-6LA0A

54500-6LB0A-1

54501-6LB0A-1

54500-1KA1B-1

54501-1KA1B-1

54500-3DN0A-1

54501-3DN0A-1

54500-4FU0A-1

54501-4FU0A-1

54500-9AM1A-1

54501-9AM1A-1

54500-6LA0A

54501-6LA0A

MQ-711566-1

MQ-704128-1

MQ-711149-1

MQ-704127-1

TIIDA(C10/C11)

VERSA(C11)

GRAND LIVINA(L10/L11)

SERENA(C25/C26)

SENTRA(B17)

JUKE(F15)

SENTRA(B17U/B18)

LEAF(ZF0)

AD Expert(VY12)

SYLPHY(G11)

CUBE(Z12)

NISSAN ESQ(JF15)

LAFESTA(B30)

LATIO(C11)

NV200(M20)

WINGROAD(Y12)

RENAUTL CLIO

RENAUTL MODUS

LEAF

SENTRA(B18)

04-12

04-12

07-

07-

06-19

07-09

10-

14-

11-

06-16

05-12

08-

14-

04-12

06-12

10-

05-18

05-13

04-12

12-17

20-

LOWER R/L

SB-4972 40160-VW000

5-86130-484-0

CBN-66

CARAVAN

URVAN

COMO

01-

01-

01-
LOWER R/L



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

SB-4981 40110-EA000

40110-EB70A

40110-EB70D

40110-4KH0A

54524-4KH0A-1

54525-4KH0A-1

54524-4JA0A-1

54525-4JA0A-1

54524-4JA2C-1

54525-4JA2C-1

For ARM

54524-EA000

54525-EA000

54524-EB70A

54525-EB70A

54524-EB70D

54525-EB70D

5452-4JA0A

54525-4JA0A

54524-4JA2C

54525-4JA2C

54524-EA00A

FRONTIER

PATHFINDER

FRONTIER(D40BB)

NP300

FRONTIER

FRONTIER

NP300 NAVARA

01-

01-

12-

14/11

18-

21-

14-

UPPER R/L

SB-4982 40160-EA00A

40160-ZG90A

40160-ZG90B

40160-ZR00A

40160-ZQ00A

54500-9CD0C-1

54501-9CD0C-1

For ARM ASSY

54500-9CD0C

54501-9CD0C

54500-EA00A

54501-EA00A

54500-ZG90A

54501-ZG90A

54500-ZG90B

54501-ZG90B

54500-EZ00B

54501-EZ00B

54500-9CD0A

New FRONTIER

FRONTIER

INFINITI QX80

FRONTIER

PATHFINDER

21-

05-

10-

09-

05-09

LOWER R/L

SA-7692R 54529-4A00H

54529-4A00G

AZ WAGON(MAZDA) 08-
LOW R

SA-7692L 54530-4A00H

54530-4A00G

AZ WAGON(MAZDA) 08-
LOW L

SB-RN03 40160-1952R

54501-1952R-1

RENAULT

LAGUNA III

LATITUDE

07-

07-

10-

LOWER R/L

SB-N024 40160-00QAB

7700312851

JB725

4500254

RENAULT

MASTER II

05-10

05-11 LOWER R/L

SB-N026 40160-00Q0D

FOR ARM

54504-00Q0D

54505-00Q0D

JUKE 19-

LOWER R/L

SA-N026R 54504-00Q0D JUKE 19- LOWER R

SA-N026L 54505-00Q0D JUKE 19- LOWER L

SB-N062R 40160-5C000

CBN-68

SERENA 94-
LOWER R



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

SB-N062L 40161-5C000

CBN-69

SERENA 94-
LOWER L

SB-N112 40160-00QAA PLATINA 02- LOWER R/L

SB-N162 40160-AX000

40160-AX00A

40160-AX00B

40160-AX00C

40160-AX00D

40160-AX00E

For ARM

54500-AX000

54500-AX00A

54500-AX00B

54500-AX00C

54500-AX00D

54500-AC00E

54501-AX000

54501-AX00A

54501-AX00B

54501-AX00C

54501-AX00D

54501-AX00E

54500-8Y50B

54501-8Y50B

NOTE

MARCH

NV150AD

05-

02-10

16-

LOWER R/L

SB-N211 40110-9X50A CABSTAR 07- UP R/L

SB-N212 40160-MB40C CABSTAR 06- LOW R/L

SB-N252 40160-EB70A

40160-EB71A

54500-4KH1A-1

54501-4KH1A-1

For Arm

54500-EB70A

54500-EB71A

54501-EB70A

54501-EB71A

NAVARA

NP300 FRONTIER

NP300

07-

14-

14/11-

LOW R/L

SB-N281 40110-EB30A

For Arm

54525-EB30A

54524-EB30A

PATHFINDER 05-

UP R/L

SB-N282 40160-EB300

For Arm

54501-EB31A

54501-EB300

54501-EB30C

54500-EB30C

PATHFINDER 05-

LOW R/L

SB-N322 40160-WL00A

For Arm

54500-WL00A

54500-WL000

54501-WL000

ELGRAND 02-

LOWER R/L

SB-N332 40160-1HM0A

40160-1HJ0A

40160-3VA0A

54500-5RL1B

For Arm

54500-1HJ0A

54501-1HF0A

54500-9KS1D

54501-9KS1D

54500-5EK0B

54501-5EK0B

MARCH K13

LATIO

ALMERA(N17L)

KICKS(P15X)

VERSA(N17X)

10-

12-

13-

18-

17-
LOWER R/L



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

SB-N343 40160-00Q0D

FOR ARM

50504-00Q0D

54505-00Q0D

JUKE (F16) 19-

LOWER

SA-N343R 54504-00Q0D JUKE (F16) 19- LOWER R

SA-N343L 54505-00Q0D JUKE (F16) 19- LOWER L

BH-N343L 54570-00Q0D JUKE (F16) 19- BIG

BH-N343B 54560-00Q0D JUKE (F16) 19- SMALL

SB-N362 54055-HA001

40160-HA001

40160-HA00B

S4YP-34-55X

S47P-34-550

S47P-34-550B

MQ-913309

MQ-904460

CBN-75

CBMZ-47

VANETTE 2WD

MITSUBISHI DELICA VAN

99-

99-

LOW R/L

SB-N441 40110-ZR00A

40110-ZQ00A

FOR ARM

54524-ZR00B

54525-ZR00B

ARMADA

TITAN(A61)

04-

15-
UP R/L

SB-N522 40015-AL550-1

FOR KNUCKLE

40015-AL550

40014-AL550

FAIRLADY Z 02-04

SB-N722 5-86106-099-0

5-86106-100-0

ELF100 (F23) 95-
LOWER R/L

SB-NA31 40160-52F00

40160-35F00

SKY LINE

200SX

88-94

88-94
LOWER R/L

SB-350Z 40160-AL710 350Z

G35

02-
R/L

CBN-67 40160-7F000 MISTRAL 94-98.7 LOWER R/L

CBN-79 40160-9X50B

SB-7072 MA-150801

MA-150807

MB-001695

GALANT 69-73
LOW R/L

SB-7081 MB-002433

MT-141175

MT-141176

DELICA (L300) 68-76
UP R/L

SB-7082 MB-109993

MT-141195

MT-141196

DELICA (L300) 68-79
LOW R/L

SB-7102 10348

BJ-122

K-9077

MB-001686

MB-001396

MB-001699

MB-001715

MB-002588

SB-7282

CBM-2

CRM-5

CRM-17

GALANT

GALANT Σ,Λ

& ETERNA Σ,Λ

LANCER

LANCER VAN

LANCER-CELESTE

LANCER-EX

73-76-

76-83

73-79

77-84

75-80

78-87

80-86

80-84

LOWER R/L

MITSUBISHI
BALL  JOINT



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

SB-7142R 10350

54503-21000

54540-21000

54540-21100

54540-21A00

K-9089

MB-109169

CBM-6R

CBKH-2R

LANCER-FIORE

MIRAGE

82-83

80-83

LOWER R 

SB-7142L 10349

54502-21000

54530-21000

54530-21100

54530-21A00

K-9091

MB-109168

CBM-6L

CBKH-2L

LANCER-FIORE

MIRAGE

82-83

80-83

LOWER L

SB-7151 10012

10377

BJ-212

BJ-214

BJ-217

K-9044

K-9372

MB-002475

MB-002476

MB-109585

MB-176309

MB-241155-01

MB-241156-01

MB-349475-01

MR-418803X

SB-7153

CBM-3

DELICA(L300)

FORTE(L200)

76-79

79-83

78-80

UPPER R/L

SB-7152 10013

10059

10362

104105

BJ-216

BJ-218

K-9296

K-9346

MB-109587

MB-109588

DELICA (L300)

FORT (L200)

83-86

86-

80-

86-

LOWER R/L

SB-7155 K-9470

MB-527157-01

MB-527161-01

MB-527511-01

MB-527512-01

MB-860408-01

MR-241023

MR-241024

CBM-20

FORTE（200）2WD

FORTE(L200) 4WD

86-

UPPER R/L

SB-7172 10011

10387

BJ-172

K-9143

MB-185329

CBM-10

STARION

GALANT Σ,Λ

&ETERNA Σ,Λ

LANCER-EX

82-

80-84

81-86

83-87
LOWER R/L



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

SB-7232 10371

AW-311699

MB-241883

MB-303521-01

MB-303522-01

MB-303771-01

MB-303772-01

MB-349463-01

MB-349464-01

MB-349963-01

MB-349964-01

MB-430311-01

MB-430312-01

MB-430406-01

MB-430407-01

MB-430408-01

MB-430409-01

MB-518205-01

MB-518712-01

MB-518713-01

MB-518960-01

MB-518961-01

MB-573093-01

MB-573094-01

MB-573098-01

MB-860817-01

MB-860818-01

MN-133617-01

MN-133618-01

MN-179479-01

GALANT Σ,Λ

&ETERNA Σ,Λ

GALANT

LANCER

CORDIA,TREDIA

CHARIOT

MIRAGE

MIRAGE

MINICAB

MAGNA

CARISMA

CARISMA

COLT

83-87

87-

87-

88-93

88-89

888-91

82-

83-

87-

89-

90-

85-88

95-

02-

LOWER R/L

SB-7252 10384 PAJERO (MONTERO) 82- LOWER R/L

SA-7262R MB-349944
SA-7262L MB-349943
SB-7233 MR-598034-1 SAVRIN 04- LOW R/L

SB-7234 4013A033-1 COLT OLUS 12 LOW R/L

SB-7235 MR-25E213 VERYCA 11- LOW R/L

SB-7281 MB-002583-01

MB-002584-01

CBM-16

MINICAB 80-82
UP R/L

SB-7283 MB-241913-01

MB-241914-10

MINICAB 82-84
UP R/L

SB-7292R MB-303412 MINICAB 84- LOW R  DISCONTINUED

SB-7292L MB-303411 MINICAB 84- LOW L DISCONTINUED

SB-7294R MB-349908 MINICAB 84-
LOW R

SB-7294L MB-349907 MINICAB 84- LOW L



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

SB-7311

SB-7761

54401-4A000

54401-4A600

54417-43A00

54417-4AA00

54417-43000

54457-43001

BJ-275

K-9664

MB-527349

MB-527350

MB-598547-01

MB-598548-01

MR-241623

MR-178817

MR-273689-1

MR-273690-1

MR-376527-1

MR-376528-1

SB-7761

CBM-13

CBKH-17

SPACE GEAR 2WD

SPACE GEAR 4WD

DELICA (L300)

DELICA (L300) 4WD

DELICA 4WD

STARE(HYUNDAI)

GRACE(HYUNDAI) ※

94-

86-

86-

86-

UPPER R/L

SB-7312 104123

54510-43152-01

54540-43152-01

BJ-276

K-9665

MB-527383-01

MB-527384-01

54417-44000

CBM-14

CBKH-11

DELICA (L300)

GRACE(HYUNDAI)※

GALLOPER

INOVATION

86-

94-

00/5-03/6

LOWER R/L

SB-7322R MB-527352 DELICA (L300) 4WD 86-
LOW R

SB-7322L MB-527351 DELICA (L300) 4WD 86-
LOW L

SB-7721 104249

BJ-820

K-9753

MB-860829

MB-860830

CBM-22

PAJERO (MONTERO)

STRADA

90-

UPPER R/L

SB-7722R 104247

BJ-823

K-9755

MB-831038

MR-296270

CBM-23R

MR-208664

PAJERO (MONTERO)

STRADA

MONTERO SPORT(NATIVA)

90-

95-00
LOWER R

SB-7722L 104248

K-9754

MB-831037

MR-296269

CBM-23L

MR-208663

PAJERO (MONTERO)

STRADA

MONTERO SPORT(NATIVA)

90-

95-00 LOWER L

SB-7751 MB-912505-1

MB-912506-1

MR-162803-1

MR-162804-1

CBM-27

GALANT 92-

96-00

00- UPPER R/L

SA-7752R MB-912512 GALANT 92-89
LOWER R

(ARM ASSY)



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

SA-7752L MB-912511 GALANT 92-89 LOWER L

(ARM ASSY)
SA-7754R K-90265

MB-912510

MR-162580

MR-296269

MR-325576

MR-972466

CBM-24

GALANT 92-

96-00

00-
LOWER R

SA-7754L K-90266

MB-912509

MR-162579

MR-325005

MR-325577

MR-972465

SA-7755L

CBM-25

GALANT 92-

96-00

00-

LOWER L

SB-7762 MR-162699 SPACE GEAR 94-
LOWER R/L

SB-7782 MR-210432

MR-210438

CBM-26

ADVENIURE

KUDA

FREECA

JOLIE

98-

98-

98-

98-

LOWER R/L

SB-7841 4010A013T

4010A013T-1

4010A014T

4010A014T-1

4010A015T

4010A056

4010A099

MR-496792

CBM-32

PAJERO

MONTERO

TRITON 4WD

TRITON 2WD

PAJER

PAJER SPORT

99-

01-

05-

05-

06-

06-

09-

FRONT UP

SB-7842 MR-496799

4013A087T-1

4013A088T-1

4013A090

4013A211

4013A314

MR-992299

ForM

4013A087T

4013A088T

CBM-33

PAJERO

MONTERO

TRITON 4WD

L200

PAJERO SPORT

PAJERO

ZINGER

NATIVA

99-

00-

05-

06-

09-

06-

05-

08-

FRONT

LOWER R/L

SB-7845 MR-508130

4110A073

CBM-34

PAJERO

MONTERO

99-

00-

00-

REAR

UPPER

SB-7852 3895A021

MR-392200

CBM-35

MINICA 93-98

88-93 LOWER

SA-7872R 4013A462 LANCER 00-
SA-7872L 4013A461 LANCER 00-



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

SB-7872 4013A499-1

4013A500-1

MR-403419-1

MR-403420-1

4013A009-1

4013A010-1

MR-961392-1

MN-101742-1

MR-961391-1

MN-101741-1

4013A427-1

4013A428-1

For ARM

MR-403420

MR-403419

4013A009

4013A010

MR-961392

MN-101742

MR-961391

MN-101741

LANCER

OUTLANDER (GF8W)

OUTLANDER

OUTLANDER CHINA

00-

03-

15-

03-05

LOWER

SB-7873 4013A281-2

4013A429

4013A430

4013A443

4013A444

4013A544

4013A543

LANCER

LANCER(G.EXP)

ECLIPSE CROSS

16-

17-

17-
LOW R/L

SB-7902 MR-589033-1

MR-589034-1

For ARM

MR-589033

MR-589034

CHARIOT GRANDIS 96-

LOW R/L

SB-7911 MK-471886-01

MK-471887-01

MK-471888-01

MK-471889-01

For ARM

MK-471887

MK-471886

MK-471888

MK-471889

CANTER 93-

UPPER R/L

SB-7912 MK-332303

MC-120887

MK-469291

CANTER 93-
LOWER R/L

SB-7913 MK-469290

MK469290

CANTER(FA,FB) 86-

93-

06-

UPPER R/L

SB-7921 MK-471892-01

MK-471893-01

For ARM

MK-471893

MK-471892

CANTER 99-02

UPPER R/L

SB-7922 MK-332302

MC-120018

CANTER 99-
LOWER R/L



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

SB-7941 4010A017T-1

4010A018T-1

4010A020-01

4010A019-01

4010A101-1

4010A102-1

For ARM

4010A018T

4010A017T

4010A020

4010A019

TROTIN 2WD

L200

TRITON

ZINGER

ZINGER PICK UP

05-

15-

15-

14-

20-
UPPER R/L

SB-7982 MN-161705-1

MN-161706-1

MN-186655-1

MN-186656-1

For ARM

MN-161706

MN-161705

MN-186656

MN-186655

CBM-38

GALANT 04-08

LOWER R/L

SB-7992 MR-241345-01

MR-241346-01

For ARM

MR-241345

MR-241346

CBM-39

MIRAGE 95-

LOWER R/L

SB-B322 4013A491-1

4013A492-1

SB-B012

XPANDER

LIVINA

17-

19- LOWER R/L
LH

RH

SB-B351 MK469290 CANTER 04- UP R/L

SB-B383
4013A583-1

4013A584-1

OUTLAND 21-
LOWER R/L

SA-B012R 4013A492 XPANDER

LIVINA

17-

19-
LOWER R RH

SA-B012L 4013A491 XPANDER

LIVINA

17-

19-
LOWER L LH

SA-B252R 4013A065

54504-6A0A1

MINICAB VAN

NV100 CLIPPER

99-

12-
LOWER R

SA-B252L 4013A064

54505-6A0A1

MINICAB VAN

NV100 CLIPPER

99-

12-1
LOWER L

SA-B383L 4013A583 OUTLAND 21- LOWER L
SA-B383R 4013A584 OUTLAND 21- LOWER R

SB-B022 PW-861149 SAGA 08- LOWER R/L

SB-B024 PW-868258 GEN 2 12-
SB-B072 4013A235-1

4013A236-1

For ARM

4013A235

4013A236

GRANDIS 03-

LOWER R/L

SB-B082 MR-589035-1

MR-589036-1

For ARM

MR-589035

MR-589036

CHARIOT GRANDIS 98-

LOWER R/L

SB-B142 4013A314 TRITON KB9T

L200(MEXICO)

PAJERO KS1

06-

15-

19-

R/L

SB-B172 4013A309-1

4013A310-1

MIRAGE(A05A) 12-
LOWER R/L

SB-B405 4110A073 PAJERO(V93W) 06- REAR UP R/L

SA-B181R MR-162804 GALANT 94-
SA-B181L MR-162803 GALANT 94-



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

SB-P215 PW-868294 GEN 2
LOWER R/L

CBM-19 AW-330961

AW-345993

MAGNA

DIAMANTE

94-

99-04
LOWER R/L

CBM-31 MR-369795

MR-369796

MR-455737

MR-455738

MR-554375

MR-554376

GALANT,ECLIPSE

STRATUS(DODGE)

SEBRING(CHRYSLER)

00-01

00-01

01-02

CBM-40 MR-241027

SB-1091 10330

0603-34-540

0603-99-354A

0603-99-354B

3874-99-354

3874-99-354B

BJ-99

D27Z-3049A

D77Z-3049A

K-9026

CBMZ-1

LUCE

PROCEED (COURIER)

   (B1600,B1800)

   (B2000,B2200)

68-73

65-80

UPPER R/L

SB-1092 10331

0603-34-510

0603-99-356

3874-99-356

BJ-100

D27Z-3050A

D77Z-3050A

K-9049

CBMZ-2

LUCE

PROCEED (COURIER)

   (B1600,B1800)

   (B2000,B2200)

68-73

65-80

LOWER R/L

SB-1122 0259-99-356

0305-99-356A

BJ-83

CBMZ-3

CAPELLA(616,618)

CAPELLA-RE(RX-2)

FAMILIA-PRESTO

70-77

70-77

70-76
LOW R/L

SB-1131 0662-34-550C

0662-99-354

0662-99-354A

0662-99-354B

BJ-96

CBMZ-4

BONGO

FAMILIA TRUCK

68-77

68-79

UP R/L

SB-1132 0662-34-510A

0662-99-356

BJ-197

CBMZ-5

BONGO

FAMILIA TRUCK

68-77

68-79 LOWER R/L

SB-1212 0866-99-356

0866-99-356A

BJ-126

MAZDA-808

CBMZ-6

LUCE

LUCE-RE

SAVANNA (RX-3)

GRAND FAMILIA

     (808,818)

72-77

72-77

71-77

71-77

LOW R/L

SB-1214 KT6C113K209 TOURNEO 14- LOW R/L

SB-1252 1243-99-354

BJ-247

CBMZ-15

COSMO

COSMO-RE

75-77

75-77 LOW R/L

SB-1262 8038-99-356

8650-99-356

BJ-249

CBMZ-16

LUCE (929,929L)

LUCE-RE (RX-4,RX-9)

CAPELLA (616,618)

77-78

77-78

75-77

LOW R/L

MAZDA/FORD
BALL  JOINT



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

SB-1282 10001

10493

8173-99-356

8531-99-356

BJ-149

K-9095

RX7

CBMZ-7

CAPELLA (626)

SAVANNA (RX-7)

FAMILIA (GLC)

78-82

78-85

76-85

LOWER R/L

SB-1312 10005

8559-99-354

BJ-248

CBMZ-18

LUCE (929,929L)

LUCE-RE (RX-4,RX-9)

COSMO

COSMO-RE

77-81

77-81

77-81

77-81

LOWER R/L

SB-1331 0131-34-540A

1391-99-354

1391-99-354A

BJ-198

CBMZ-9

BONGO 77-83

UPPER R/L

SB-1332 1391-99-356

1391-99-356A

8AS3-34-510

BJ-199

CBMZ-10

BONGO 77-83

LOWER R/L

SB-1371 10009

10430

10431

BJ-194

E17Z-3049A

UA01-99-354

CBMZ-11

PROCEED (COURIER)

    (B1600,B1800)

    (B2000,B2200)

80-

UPPER R/L

SB-1372 10010

BJ-195

E17Z-3050A

K-9099

UA01-99-356

CBMZ-12

PROCEED (COURIER)

    (B1600,B1800)

    (B2000,B2200)

80-

LOWER R/L

SB-1382 104184

H001-99-356

H2Y0-99-356

CBMZ-19

LUCE 81-

LOWER R/L



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

SB-1392 1041441

B25D-99-350D

C100-99-300B

C100-99-350B

C145-99-300A

C145-99-350A

E112-99-300C

G030-34-300B

G030-34-300C

G030-34-350B

G030-34-350C

G030-99-356

GA6A-99-356

GA6B-99-300E

GA6B-99-350E

GA6B-99-356

GA6B-99-356A

K-9615

LC62-99-300C

M001-99-356A

ZZC1-34-320

C5Y0-34-350-1

54500-HA00B-1

54501-HA00B-1

CBMZ-17

CBMZ-29

CBMZ-30

CBMZ-34

CAPELLA 626

TELSTAR

PERSONA

CRONOS,MS-6

MX-6

TRIBUTE

MPV

AXELA

LAFESTA HIGHWAY STAR(NISSAN)

82-87

90-

91-

91-

02-

05-06

00-

09-

11-

LOWER R/L

SB-1411 10065

01391-32-280

01391-34-510

BJ-250

OK710-34-540

S083-99-354

S47P-34-540A

40110-HA00A

40110-HA000

CBMZ-13

CBKK-4

BONGO

TITAN DASH

BONGO BRAWNY

BONGO 4WD

BESTA(KIA)

BONGO

83-

00-

99-

84-

UPPER R/L

SB-1412 OK710-34-510

S083-34-510

S083-99-356

40160-HC025

40160-HC026

CBMZ-14

BJ-251

BONGO

BONGO 4WD

BEST (KIA)

NISSAN VANETTE CAN

83-

00-

99-

94- LOWER R/L

SB-1442 10002

10320

10388

B001-34-550

B092-34-550

K-9288

K-9607

OK201-34-550C

OK201-34-550D

OK201-34-550E

CBMZ-8

CBMZ-22

FAMILIA (323)

& LASER(FORD)

FAMILIA,LASER 4WD

SEPHIA (KIA)          ※

80-85

84-

85-

85-

94-※

LOWER R/L



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

SB-1462 8AS1-34-510A

S231-34-510A

40160-HC525

40160-HC526

CBMZ-38

BONGO

VANETTE VAN

84-85

94-
LOWER R/L

SB-1464 8AS2-34-510

8AS2-34-510A

S247-34-510A

40160-HC425

40160-HC426

VANETTE VAN

NISSAN

94-

SB-1521 104122

8AU1-34-540

K-9554

UB39-99-354

UH71-34-540

CBMZ-20

CBMZ-44

PROCEED (COURIER)

    (B1600,B2000)

    (B2200,B2500)

    (B2600,B2900)

RANGER(FORD)

BT-50

84-

02-

98-

06-

UPPER R/L

SB-1522 104164

8AU2-34-510

BJ-3965

FA1787

K-9597

UB39-99-356

UH71-34-550

CBMZ-21

PROCEED (COURIER)

    (B1600,B2000)

    (B2200,B2500)

    (B2600,B2900)

RANGER(FORD)

84-

02-

98- LOWER R/L

SB-1542 104146

8AU3-34-510

K-9553

UH74-34-550

3665787

SB-1532

CBMZ-24

PROCEED (COURIER)

      (B2200,B2500)

      (B2600,B2900)

RANGER(FORD)

87-

02-

98-
LOWER R/L

SB-1552 104147

B455-34-550

BJ-340

E016-34-550

K-8619

CBMZ-26

CBMZ-35

FAMILIA 89-

LOWER R/L

SB-1572 10318

104185

AMC1011B

B01A-34-550

B01A-34-550A

BTDA-34-550

F7CZ-3050A

FB01-34-550

K-8773

K-9427

KKY-013-431-0

CBMZ-27

FAMILIA

FAMILIA(323)

94-

LOWER R/L

SB-1601 YC1A-3395CA FORD TRANSIT LOWER R/L

SB-1602 YC1A3395CA TRANSIT 06- LOWER R/L

SB-1607 9013331227 BENZ SPRINTER LOWER R/L

SB-1617 MS40516 TRANSIT 06- LOWER R/L

SB-1653 9F6A-3395CA FOCUS USA 08- LOWER R/L

SB-1658R BV61-3386AB FOCUS 10-15 LOWER R

SB-1658L BV61-3386BB FOCUS 10-15 LOWER L



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

SB-1631 GG3P-34-200A/B

GG3P-34-250A/B

GK3A-99-200C

GK2A-99-200C

GK2A-99-250C

GR8C-99-200

GR8C-99-250

G39A-34-200-1

G39A-34-250-1

ATENZA

MAZDA 6

ATENZA SPORT WAGON

02-

03-05

12-

UPPER R/L

SA-1631R GV2W-34-200

GJ6A-34-200B

MAZDA

MAZDA 6

02-

02-
UP R

SA-1631L GV2W-34-250 MAZDA

MAZDA 6

02-

02-
UP L

SB-1633 N068-34-250-1

N068-34-200-1

MAZDA MX-5

MIATA

ROADSTER

98-07

98-07

97-

UPPER R/L

SB-GOLF5R 1K0407366B

1K0407366C

5Q0407366E

AUDI A3 /Q3

SEAT LEON

SEAT TOLEDO

SKODA OCTAVIA

SKODA YETI

VOLKSWAGEN  GOLF

VOLKSWAGEN  GOLF

VOLKSWAGEN  JETTA

VOLKSWAGEN  BEETLE

VOLKSWAGEN  SCIROCCO

VOLKSWAGEN  TIGUAN

VOLKSWAGEN  TOURAN

10-

15-

09-

08-

10-

08-

13-

14-

12-

11-

11-

09-

LOWER R

SB-GOLF5L 1K0407365B

1K0407365C

5Q04073665E

AUDI A3 /Q3

SEAT LEON

SEAT TOLEDO

SKODA OCTAVIA

SKODA YETI

VOLKSWAGEN  GOLF

VOLKSWAGEN  GOLF

VOLKSWAGEN  JETTA

VOLKSWAGEN  BEETLE

VOLKSWAGEN  SCIROCCO

VOLKSWAGEN  TIGUAN

VOLKSWAGEN  TOURAN

10-

15-

09-

08-

10-

08-

13-

14-

12-

11-

11-

09-

LOWER L

SB-3199 K-3199 Jeep Liberty 02-04 LOWER R/L

CBG-7 K-6129 Chevrolet P30 97- LOWER R/L

CBG-11 K-5273 GM 2000 86- LOWER R/L

SI-2831 RIA-8C01 Great Wall Deer 08- LHD

SI-2832 RIA-8C02 Gonow TRUCK 05- LHD

SB-6136 K-6136 Chevrolet Blazer Blazer

Chevrolet C10

Chevrolet G10

73-74

75-86

73-74

UPPER R/L

SB-6292 K-6292 Chevrolet Astro

Chevrolet Blazer Blazer

Chevrolet C1500

90-05

92-94

88-95

UPPER R/L

SB-6645 K-6645 Chevrolet Corvette 84-87 FRONT

SB-6812 20206-XA002 ASCENT 18- LOWER R/L

SB-0772 K-772 Chrysler 300

Chrysler Cordoba

62-71

75-83
LOWER R/L

SB-3134 K-3134 Dodge Ram 1500 4WD

Jeep Cherokee

94-01

84-97
UPPER R/L

SB-5208 K-5208 Buick Apollo

Buick Centurion

Buick Electra

75-

71-92

71-89

UPPER R/L

SB-5263 K-5263 Buick Century

Chevrolet Citation

82-96

80-83
LOWER R/L

SB-6122 K-6122 Chevrolet C20

Chevrolet G30

75-86

79-96
LOWER R/L



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

SB-6141 K-6141 Buick Centurion

Buick Lesabre

71-75

71-76
LOWER R/L

SB-6454 K-6454 Chevrolet C10

Chevrolet C20

75-86

75-86
LOWER R/L

SB-6540 K-6540 Cadillac Escalade ESV 2WD 03-06 UPPER R/L

SB-6541 K-6541 Cadillac Escalade 2WD 02-06 LOWER R/L

SB-6664 K-6664 Buick Rainier

GMC Envoy 2WD

04-07

02-09
UPPER R/L

SB-6696 K-6696 Chevrolet Avalanche 2500 2WD

Chevrolet Express 2500 2WD

Chevrolet Silverado 1500

02-

03-19

07-

UPPER R/L

SB-7147 K-7147 Chrysler Daytona

Chrysler E Class

84-90

84-
LOWER R/L

SB-7392 K-7392 Dodge Durango 2WD 00-04 UPPER R/L

SB-8411 K-8411 Ford Bronco II 2WD

Ford Explorer 4WD

FORD F100

FORD F150

84-90

91-99

81-92

91-97

LOWER R/L

SB-9695 K-9695 Mazda 929 88-91 UPPER

SB-9913 K-9913 Volkswagen Corrado

Volkswagen GOLF

Volkswagen Jetta III

92-95

95-99

94-99

LOWER R/L

SB-80008 K-80008 Ford Explorer 2WD

Lincoln Aviator

Mercury Mountaineer

02-05

03-05

02-05

UPPER R/L

SB-T950 59266-1080 KAWASAKI MULE 600 12- R/L

SB-1634 K500210 MAZDA MX-5

MIATA

ROADSTER

90-97
LOWER R/L

SB-1142 NA01-34-550

NA01-34-550B

MX-5 90-97
LOWER R/L

SB-1657 1090730S FOCUS 98- LOWER R/L

SB-1S71 1S713395AE METROSTAR 97- LOWER R/L

SB-1642 ZZPO-34-550B

7L5Z3050A

CBMZ-36

PICK UP

FORD RANGER

98-05

01-05

06-

LOWER R/L

SB-1652 BK3P-34-300D

BLEFP-34-300

BLEFP-34-350

C513-99-300

C513-99-350

For ARM

B32H-34-300B

B32H-34-350B

B32H-34-300C

B32H-34-350C

BBM2-34-300

BBM2-34-350

B39D-34-300

B39D-34-350

AXELA

MAZDA 3

03-

04-06

09-

LOWER R/L

SB-1672 S47S-34-550A

40160-HA00A

40160-HA200

CBMZ-41

BONGO 4WD

      4WD

07-

02- LOWER R/L

SB-1673 S47P-34-550

S47P-34-550A
SA-1712R D201-34-300E DEMIO 00- LOWER R

SA-1712L D201-34-350A DEMIO 00- LOWER L

SB-1711 JX61-3395AA FOCUS 18- R/L

SA-1711R JX61-3A423AEB

2203137

FOCUS 18-
R

SA-1711L JX61-3A424AEB

2203138

FOCUS 18-
L



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

SB-1722 UR58-34-550

CBMZ-42

BT-50 06-
LOWER R/L

SB-1732 UR61-34-550

SB-1742

CBMZ-43

NEW RANGER 4WD 06-
LOWER R/L

SB-1763R LX613395AA

KX613A423AEC

FOCUS ATE

KUGA

20-

19-
LOWER R

SB-1763L LX613395BA

KX613A424AEC

FOCUS ATE

KUGA

20-

19-
LOWER L

SB-1762

JX613A424AEB

JX613A424CEB

JX613A423AEB

JX613A424CEB

FOUCS 5D

FOCUS TURBO

19-

20- LOW R/L

SB-1772 TB11-34-350

TB11-34-300B

TB11-34-300

TB11-34-350B

ER3P-34-300

ER3P-34-300D

ER3P-34-350

ER3P-34-350D

For Arm

TE69-34-350

TD11-34-300B

TD11-34-350B

EG21-34-300D

EG21-34-350D

EH44-34-300

CX9

CX-7

07-

07-

LOWER R/L

SB-1774 TK48-34-300A

TK48-34-350A

MAZDA CX-9 (CX9) 16-
LOW R/L

SB-1802 DE5F-34-300BCD

DE5F-34-350BCD

DA6A-34-300C

DA6A-34-350C

D651-34-300BCD

D651-34-350BCD

DG7R-34-300-1

DA7H-34-300-1

MAZDA 2

DEMIO

DEMIO(DJ3FS)

MAZDA2

MAZDA CX-3

07-

11-

14-

17-

17-
LOW R/L

SB-1803 CN15-3042AB ESCOSPORT 15-
SB-1822 SGEW-34-350

SGEW-34-350A

SGEW-34-300

SGEW-34-300A

For Arm

S10H-34-350

S10H-34-350A

S10H-34-300

S10H-34-300A

BONGO FRIENDEE 96-

LOW R/L

SB-1862 KD35-34-300D

B60P-34-300G-1

B60P-34-350G-1

B60S-34-300G-1

B60S-34-350G-1

KB7W-34-300D-1

KB7W-34-350D-1

D10E-34-300C

D10E-34-350C

GHP9-34-300C

GHP9-34-350C

G46C-34-300/350

GHP9-34-300/350

BCKE-34-300/350

MAZDA CX5

MAZDA CX3

AXELA (BM2FP)

AXELA (BM5FP)

CX-5

ATENZA (MAZDA6)

MAZDA3

MAZDA3

11-

14-

15-

13-

15-

14-

16-

19-
LOW R/L



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

SA-1862R KD35-34-300S CX5 11- LOWER R

SA-1862L KD35-34-350S CX5 11- LOWER L

SA-1872R B25D-34-300D FAMILIA 98- LOWER R

SA-1872L B25D-34-350D FAMILIA 98- LOWER L

SA-1882R E112-34-300C TRIBUTE 00- LOWER R

SA-1882L E112-34-350C TRIBUTE 00- LOWER L

SA-4052R 1N12-34-300

1N13-34-300

1N14-34-300

1N15-34-300

1N16-34-300

FAMILIA VAW 94

LOWER R

SA-4052L 1N12-34-350

1N13-34-350

1N14-34-350

1N15-34-350

1N16-34-350

FAMILIA VAW 94

LOWER L

SB-1892 BCKE-34-300-BJ

BCKE-34-350-BJ

MAZDA3 19-
LOWER R/L

SA-7492 45200-50E00

45200-69D00

45200-69DV0

45200-78002

45200-84000

P100-28-310

LAY0-34-300

(SA-7442)

ALTO

CULTUS

AZ WAGON

FRONTE

CERVO

CERVO MODE

WAGON R

AZ WAGON(MAZDA)

79-84

84-88

91/1-

79/5-84/9

84-88

82/6-

83-

90/7-

93/9-98

97/4-98/6

93/9-98

LOW R/L

(ARM ASSY)

CBMZ-28 LA12-34-550 MPV 96- LOWER R/L

CBMZ-39 NA01-34-550

NA01-34-550B

MIATA

MX-5

90-97

98-05
LOWER R/L

CBMZ-40 T001-34-550B MILLENIA 95-02
LOWER R/L

SB-1654R BV6Z-3078E FOCUS III 13-
LOWER R

SB-1654L BV6Z-3079E FOCUS III 13-

LOWER L

SA-6022 10874

51350-659-010

51350-659-325

K-9298

CQHO-2

CIVIC 75-79

LOW R/L

(ARM ASSY)

SA-6032 10821

51350-634-003

51350-671-003

51360-634-003

51360-671-003

K-9063

CQHO-1

ACCORD 76-81

LOW R/L

(ARM ASSY)

SA-6042 10873

51350-SA0-000

51350-SA0-010

51350-SA0-030

K-9605

CQHO-3

BALLADE

CIVIC

80-83

79-83
LOW R/L

(ARM ASSY)

HONDA
BALL  JOINT



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

SA-6052R 10859

51350-SA5-003

51350-SA5-013

K-9403

ACCORD,VIGOR 81-83
LOW R

(ARM ASSY)

SA-6052L 10857

51360-SA5-003

51360-SA5-013

K-9405

ACCORD,VIGOR 81-83
LOW L

(ARM ASSY)

SA-6054R 51350-SA5-801

51350-SA5-802

ACCORD,VIGOR 81-83 LOW R

(ARM ASSY)
SA-6062R 10867

51351-SB2-013

51361-SB2-003

51351-SB2-672

51351-SB6-931

K-9593

CQHO-22R

BALLADE

CR-X

CIVIC

83-86

83-87

83-87 LOW R

(ARM ASSY)

SA-6062L 10870

51361-SB2-003

51361-SB2-013

51361-SB2-672

51361-SB6-931

K-9413

K-9595

CQHO-22L

BALLADE

CR-X

CIVIC

83-86

83-87

83-87

83-87 LOW L

(ARM ASSY)

SA-6072R 10862

51350-SA5-010

51350-SA5-020

K-9407

CQHO-23R

ACCORD,VIGOR 83-85

LOW R

(ARM ASSY)

SA-6072L 10861

51360-SA5-010

51360-SA5-020

K-9409

CQHO-23L

ACCORD,VIGOR 83-85

LOW L

(ARM ASSY)

SA-6074R 51350-SA5-803

51350-SA5-804

ACCORD,VIGOR 83-85 LOW R

(ARM ASSY)
SA-6092 10871

51350-692-000

51350-692-010

51350-692-020

51350-692-050

K-9145

PRELUDE

QUINT

78-83

80-85
LOW R/L

(ARM ASSY)

SB-6101 10457

51270-SB0-003

51270-SB0-013

BJ-280S

K-9404

CBHO-5

PRELUDE 82-87

UPPER R/L

SB-6102 10427

260-1355

ACCORD,VIGOR

PRELUDE

85-

82-87
LOWER R/L

SA-6111R 51459-SE0-000

51459-SE0-003

CQHO-7R

ACCORD,VIGOR 85- UPPER R

(ARM ASSY)

SA-6111L 51469-SE0-000

51469-SE0-003

CQHO-7L

ACCORD,VIGOR 85- UPPER L

(ARM ASSY)

SA-6351R 51450-SDA-A01 ACCORD (USA) 03- RH

SA-6351L 51460-SDA-A01 ACCORD (USA) 03- LH

SB-6115 51270-SE0-043

CBHO-15

ACCORD,VIGOR 85-
UPPER R/L

SA-6115 52390-SE0-013

52390-SE0-043

ACCORD 85- UPPER R/L

(REAR ARM



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

SB-6161 51270-SF1-003

K-9750

CBHO-19

PRELUDE 87-

87-
UPPER R/L

SB-6165R 52391-SF1-003

CBHO-35

PRELUDE 87-

87-
LOWER R

SB-6165L 52401-SF1-003

CBHO-36

PRELUDE 87-

87-
LOWER L

SA-6166R 52355-SF1-023

52355-SF1-033

PRELUDE 87- LOW R

(ARM ASSY)
SA-6166L 52365-SF1-023

52365-SF1-033

PRELUDE 87- LOW L

(ARM ASSY)
SA-6171R 51450-SH3-000

51450-SH3-010

51450-SH3-020

51450-SH3-023

51450-SH3-030

CQHO-20R

CR-X

CIVIC

87-

87-
UP R

(ARM ASSY)

SA-6171L 51460-SH3-000

51460-SH3-010

51460-SH3-020

51460-SH3-023

51460-SH3-030

CQHO-20L

CR-X

CIVIC

87-

87-
UP L

(ARM ASSY)

SA-6181R 51450-SM1-A03

51450-SM4-003

51450-SM4-013

51450-SM4-023

CQHO-21R

ACCORD 89-

UP R

(ARM ASSY)

SA-6181L 51460-SM1-A03

51460-SM4-003

51460-SM4-013

51460-SM4-023

CQHO-21L

ACCORD 89-

UP L

(ARM ASSY)

SB-6182

CBHO-26

(CBHO-6)

104170

51220-S0A-J01

51220-S4K-A00

51220-S84-A01

51220-S84-A02

51220-SF1-003

51220-SM1-A01

51220-SM1-A02

51220-SM4-003

51220-SM4-013

BJ-558

ACCORD

ODYSSEY

PRELUDE

ACCORD

ACCORD INSPIRE

ACCORD SEDAN

89-

94-99

89-

97-

98-

98-02 LOWER R/L

SB-6185 51270-SM4-A04

CBHO-27

ACCORD 89-
REAR

 UPPER R/L

SA-6185R 52390-SM1-A03

52390-SM1-A04

52390-SM4-033

52390-SM4-043

ACCORD 89- REAR

UPPER R

(ARM ASSY)

SA-6185L 52400-SM1-A03

52400-SM1-A04

52400-SM4-033

52400-SM4-043

52400-SM4-A04

CQHO-17L

ACCORD 89-

REAR

 UPPER L

(ARM ASSY)



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

SB-6191 51270-S01-013

51270-S01-023

51270-S04-013

51270-S04-023

51270-S0A-003

51270-S10-020

51270-S30-003

51270-S3N-003

51270-S84-A01

51270-SFE-003

51270-SR3-013

51270-SR3-023

51270-TA0-A03

For Arm

51460-S10-020

51450-S10-020

51450-SFE-003

51460-SFE-003

51450-S3N-003

51460-S3N-003

51510-TA0-A03

51520-TA0-A03

51450-S84-A01

51460-S84-A01

CIVIC

CIVIC COUPE

CIVIC SEDAN

ACCORD

PRELUDE

CR-V

ODYSSEY

ACCORD USA

ACCORD 4D00R

INSPIRE

92-

96-98

96-99

96-00

96-00

96-98

97-

97-

97-01

03-

99-03

08-

08-09

08-

UPPER R/L

SA-6191R 51450-SR3-003

51450-SR3-013

51450-SR3-023

CIVIC 92- UP R(ARM

ASSY)

SA-6191L 51460-SR3-003

51460-SR3-013

51460-SR3-023

51460-ST7-020

CIVIC 92-
UP L(ARM

ASSY)

SB-6192 104216

51220-S03-003

51220-S04-003

51220-SR0-A01

51220-SR3-003

BJ-556

K-9802

CBHO-16

CBHO-18

CIVIC 91-

96-

LOWER R/L

SB-6202 51220-SS0-010

51220-SS0-901

51220-SL5-003

51220-SW5-J60

51220-SD4-023

51220-SD4-013

51220-SD4-004

51215-S30-902-1

51210-S30-902-1

For KNUKLE ARM

51210-SW5-J60

51215-SW5-J60

51215-S30-902

51210-S30-902

SB-6132

PRELUDE

ACURA 3.2L

INSPIRE

91-

95-98

LOW R/L

SA-6211R 51450-SV4-000

51450-SV4-A00

ACCORD

ODYSSEY

94-

94-99
UPPER R

(ARM ASSY)

SA-6211L 51460-SV4-000

51460-SV4-A00

ACCORD

ODYSSEY

94-

94-99
UPPER L

(ARM ASSY)

SA-6221R 51450-S10-020 CR-V 97- RH



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

SA-6221L 51460-S10-020 CR-V 97- LH

SB-6242 51220-S5A-003

51220-S5A-J10

51220-S5A-J20

51220-S5A-J30

For Arm

51210-S5A-J20

51215-S5A-J20

CBHO-30

CIVIC

CIVIC SEDAN

CIVIC FERIO

00-

00-

00-

LOWER R/L

SA-6261R 51450-S04-023 CIVIC 96-99
SA-6261L 51460-S04-023 CIVIC 96-99
SB-6272 51220-S5T-Z00

51220-S6F-E01

51220-S9A-003

51220-S9A-982

51220-SCV-000

51220-SCV-980

K-80223

For ARM

51215-S6F-E01

51210-S6F-E01

51215-S5T-Z00

51210-S5T-Z00

51210-S9A-020

51215-S9A-020

51210-SCA-000

51215-SCA-000

51210-SCA-981

51215-SCA-981

51210-S9A-982

51215-S9A-982

CBHO-32

CR-V

CIVIC

CIVIC HATCH BACK

01-

02-06

02-03

04-05

LOWER R/L

SB-6302 51220-S2H-013

51220-SAA-013

51220-SAA-E01

51220-SAE-T01

51220-SEL-T01

51220-SLN-A02

For ARM

51350-SLN-A02

51360-SLN-A02

51350-SEL-T01

51360-SEL-T01

51350-SAA-E01

51360-SAA-E01

51350-SAA-013

51360-SAA-013

51350-S2H-013

FIT ARIA

FIT

CITY

JAZZ

HR-V 2WD

HR-V 4WD

USA FIT

FIT

02-

01-

03-

03-

98-

99-

07-

06- LOWER

SB-6307 51220-SB6-307 ACURA 17- LOWER R/L

SB-6312 51220-SDA-A02

51220-SZ3-010

51210-SLE-000-1

51215-SLE-000-1

For KURCKLE ARM

51215-SZ3-010

51210-SZ3-010

04510-SZ3-000

CBHO-33

ACCORD

LEGEND

ODYSSEY

03-05

97-

08-

LOWER R/L

SB-6320 51210-SJK-000-JB

51210-SJK-030-JB

51215-SJK-000-BJ

51215-SJK-030-BJ

ELYSION 04-13

LOWER R/L



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

SB-6382R 51220-SNA-A03

51220-SNA-A02

51220-SNL-T01

CBHO-37

CIVIC

CIVIC COUPE

CIVOC SEDAN

05-

06-

06-

06-

LOWER R

SB-6382L 51320-SNA-A03

51320-SNA-A02

51320-SNL-T01

CBHO-38

CIVIC

CIVIC COUPE

CIVOC SEDAN

05-

06-

06-

06-

LOWER L

SB-6412 51220-S3V-A01

51220-S3V-A03

51220-S3V-A10

For Arm

51350-S3V-A01

51360-S3V-A01

51350-S3V-A03

51360-S3V-A03

51350-S3V-A10

51360-S3V-A10

CBHO-45

ACURA MDX 01-

02-

LOWER R/L

SB-H022 51220-STK-A01

51220-SWA-A01

51220-TV0-E01

CBHO-44

51220-3M0-J01

FOR ARM

51350-T7J-H01

51360-T7J-H01

51350-TA7-003

51360-TA7-003

CR-V

ACURA RDX

HRV

VEZEL HYBRID

CIVIC

VEZEL(HRV)

06-14

07-

15-

13-

12-

21-
LOWER R/L

SA-H022R 51350-SWA-A01 CR-V 07- LOWER R

SA-H022L 51360-SWA-A01 CR-V 07- LOWER L

SA-H185L 54500-L1100 SONATA (HYUNDAI)

KIA K5

19-

19-
LOWER L

SA-H185R 54501-L1100 SONATA (HYUNDAI)

KIA K5

19-

19-
LOWER R

SB-H025 51230-S2A-000 S2000 HONDA 09- LOWER R/L

SB-H026 51220-T2A-305
SB-H029 51220-TMJ-T51 CRV 16- LOWER R/L

SB-H072 51220-TA0-A02 INSPIRE

ACURA TSX

08-

09-10
LOWER R/L

SB-H082 51220-TA0-A02TL

CBHO-41

ACURA TL 09-
LOWER R/L

SB-H112 51220-TK6-A01

51220-TG0-T02

51220-SYY-010

For Arm

51350-TK6-A01

51360-TK6-A01

51350-TG0-T02

51360-TG0-T02

51350-TF0-030

51360-TF0-030

51350-TH9-000

51360-TH9-000

FIT

CITY

FREED

09-

09-

10-

LOWER R/L

SB-H292 51350-S50-023

51360-S50-023

LOGO(GA3) 96-00
LOW R/L

SB-H322 51215-S7A-020

51210-S7A-020

STREAM(RN1) 00-
LOW R/L

SB-H332 51360-SMA-050-1

51360-SMA-040-1

FOR ARM ASSY

51360-SMA-050

51360-SMA-040

STREAM(RN3)

STREAM(RN9)

10-

13-
LOW R/L

SA-H362R 51350-TY0-010 N BOX 11-



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

SA-H362L 51360-TY0-010 N BOX 11-
SB-H362 51360-TY0-010-1

51350-TY0-010

FOR ARM ASSY

51360-TY0-010

51350-TY0-010

N BOX 11-

SB-H412 51220-S0X-A02

FOR ARM

51350-S0X-A02

51360-S0X-A02

USA CDYSSEY 99-

LOW R/L

SB-H442 51360-TG1-T02-1

51350-TG1-T02-1

FOR ARM ASSY

51360-TG1-T02

51350-TG1-T02

51350-TE7-K00-1

51360-TE7-K00-1

For ARM ASSY

51350-TE7-K00

51360-TE7-K00

JAZZ

MOBILIO

09-13

14-

LOW R/L

SB-H482 51220-T6A-305

51220-T6A-306

ODYSSEY (CR1)

ACURA TLX

13-

12-
LOW R/L

SB-H484 51220-TPA-J01 51220TPAJ01CR-V Hybrid 20- LOW R/L
SB-H486 51220-3M0-J01 VEZEL RV3~RV6 21- LOW R/L

SB-H487
51220-TGH-315

51220-TGH-305

CIVIC TYPE R 17-
LOW R/L

SB-H522 51360-T5A-J11-1

51350-T5A-J11-1

FOR ARM ASSY

51350-T5A-A01

51360-T5A-A01

FIT(KG3) 14

LOW R/L

SB-H542 51210-SCV-A90 ELEMENT 07 LOW R/L

SB-H572 51220-TR0-A01

CBHO-51

SB-6384

USA CIVIC

ACURA ILX

12-

13- LOW R/L

SB-H574 51220-TS9-A01 USA CIVIC 14- LOW R/L

SB-H642 51350-TTA-010-1

51220-TTA-A01

N-BOX(JF3) 17-
LOW R/L

SB-H712 51350-TDK-J02-BJ

51360-TDK-J02-BJ

FREED (GB5) 16-
LOW R/L

SB-H762 51220-T50-J01 STEP WGN 22- LOWER R/L

SB-H772 51220-TNY-J01

51220-TMJ-T51

51220-3W0-A01

51220-3V0-J01

CRV(RW1)

CRV

CRV

ZR-V

ZR-V E:HEV

16-

17-

23-

23-

23-

LOW R/L

SB-H832 06510-TBA-A00

51220-TBA-A01

51220-TLA-A51

SB-H028

CBHO-58

CIVIC(FK7)

CRV

18-

17-
LOW R/L

SB-H842 51220-TEA-T01

51220-T24-T01

CIVIC(FC1)

CIVIC 5D

18-

22-
LOW R/L

SB-H862 51350-SJC-A03-BJ

51360-SJC-A03-BJ

51350-TK8-A00-BJ

51360-TK8-A00-BJ

51350-SHJ-A01-BJ

51360-SHJ-A01-BJ

RIDGELINE

ODYSSEY(USA)

06-

11-

LOW R/L

SB-H972 51220-TVA-A01 ACCORD

ACCORD HYBRID

18-

19-
LOW R/L

SB-6SJC 51220-SJC-A02 RIDGELINE 06- LOW R/L

SB-6166 51220-S30-N21 PRELUDE 97- LOW R/L

SB-6191A 51270-S3N-T01 ACCORD 96- UP R/L



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

SB-6193 51220-S04-T01 CIVIC 98- LOW R/L

SB-6305 43330-3962F TOYOTA MARK X 04- LOW R/L

SB-6306 43340-3950F TOYOTA MARK XI 10- LOW R/L

SA-H114R 51350-T5R-A00 1 15- LOWER R

SA-H114L 51360-T5R-A00 FIT 15- LOWER L

SA-H642R 51350-TTA-010 N-BOX(JF3) 17- LOW R

SA-H642L 51360-TTA-010 N-BOX(JF3) 17- LOW L

SB-G072R 51220-TPA-J01 CR-V HYBRID 20- LOW R

SB-G072L 51230-TPA-J01 CR-V HYBRID 20- LOW L

CQHO-8R 51450-SP0-A01

51450-SP0-A02

51450-SP0-A04

LEGEND,ACURA 91-
UPPER R

CQHO-8L 51460-SP0-A01

51460-SP0-A02

51460-SP0-A04

LEGEND,ACURA 91-
UPPER L

CBHO-14 B/J of CQHO-8R/L

51450-S84-A01

51460-A84-A01

(CBHO-29)

LEGEND,ACURA

ACCORD

91-

98-02
UPPER R/L

UPPER R

UPPER L

CBHO-31 51350-S0X-A02

51360-S0X-A02

ODYSSEY 2WD 99- LOWER R

LOWER L
CBHO-42 51220-S30-N21 PRELUDE 99-01 LOWER

CBHO-43 51230-S2A-000 S2000 00-08
LOWER

CBHO-53 51120-T2A-305

CBHO-54R 51220-SWA-A01
CBHO-54L 51230-SWA-A01

SB-5081 10343

94021716

94025984

5-51220-003-0

5-51220-029-1

5-51220-029-2

K-9028

CBIS-1

FASTER

(CHEVROLET-LUV)

FASTER 4WD

(CHEVROLET-LUV)

72-81

79-18

UP R/L

SB-5121 10326

94200320

8-94200-320-1/2

8-94242-123-1

8-94250-316-0

BJ-117

K-5292

CBIS-3

GEMINI 74-85

UPPER R/L

SB-5122 10324

94200316

8-94200-316-1

8-94255-456-0

BJ-118

K-6273

CBIS-4

GEMINI 74-85

LOWER R/L

ISUZU
BALL  JOINT



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

SB-5281 10052

10342

104154

94224550

94243234

94459453

8-94224-550-1/2

8-94224-550-3

8-94224-550-4

8-94224-550-5

8-94243-234-0

8-94459-453-2

8-94459-453-3

8-94459-453-4

8-94472-255-0

8-94472-255-2

8-97940-625-0

FA1285

K-9042

SB-5141

SB-5143

CBIS-5

BIGHORN

PANEL TRUCK

FARGO

FARGO 4WD

FASTER

(CHEVROLET-LUV)

FASTER 4WD

(CHEVROLET-LUV)

81-

83-

81-

83-

82-

81-

UPPER R/L

SB-5144 10055

10355

94224552

94246475

94452104

8-94224-552-1/2

8-94246-104-1

8-94246-475-0/1

8-94452-104-1/1

BJ-204

K-9551

SB-5142

CBIS-6

CBIS-10

PANEL TRUCK

FASTER

(CHEVROLET-LUV)

83-

82-

LOWER R/L

SB-5154 10054

10345

94020795

94028101

94224551

94243236

94452106

5-51270-033-0

8-94109-704-1

8-94224-551-1/2

8-94243-236-0

8-94452-106-0/1

8-94452-107-0/1

9-51227-704-1

K-9051

K-9547

SB-5154

SB-5152

CBIS-8

CBIS-2

CBIS-11

BIGHORN

FASTER

(CHEVROLET-LUV)

FASTER 4WD

(CHEVROLET-LUV)

81-

72-81

79-

LOWER R/L



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

SB-5162 8-94452-110-1

8-94452-110-2

8-94226-967-2

94452110

8-94452-110-1

8-94452-110-2

8-94226-967-2

94452110

FARGO 81-

LOWER R/L

SB-5222 104158

94133798

8-94133-798-0

8-94133-798-1

K-9389

CBIS-12

GEMINI 85-

LOWER R/L

SB-5282 104153

94459464

8-94459-464-1

8-94459-464-2

8-94459-464-3

8-97940-612-0

BJ-464

K-9463

CBIS-9

CBIS-15

FASTER

PANTHER

88-

01-

LOWER R/L

SB-5287 8-97096-819-0 ELF NKR
SB-5292R 8-94365-164-0

CBIS-16R

PANTHER 91-
LOWER R 

SB-5292L 8-94365-165-0

CBIS-16L

PANTHER 91-
LOWER L

SB-5302 104120

10816

94452102

94459465

352-828

8-94452-102-0

8-94452-102-1

8-94459-463-0

8-94459-465-1

8-94459-465-2

8-97235-776-0

8-97365-020-0

8-97365-021-0

8-98005-874-0

8-98005-875-0

K-9459

BIGHORN

RODEO 2WD

RODEO 4WD

PASSPORT 2WD

PASSPORT 4WD

D-MAX

OPEL FRONTERA

MU-X

86-

88-

02-

06-

03-

91-04

91-04

14- LOWER R/L

SB-5311 8-94374-424-0

8-94374-424-1

8-94374-424-2

8-94374-424-4

8-97365-019-1

8-98005-826-0

CBIS-17

BIGHORN

RODEO 2WD

RODEO 4WD

PASSPORT 2WD

PASSPORT 4WD

D-MAX（4×4）2WD

               4WD

               4WD

92-

96-04

98-04

96-02

96-02

03-09

03-09

07-

UPPER R/L

SB-5312 8-97103-437-0

CBIS-19

BIGHORN 97-
LOWER R/L

SB-5321 8-97107-328-0

8-97107-328-2

8-97076-003-1

ELF

TITAN

ELF

94-

07-

99-

UPPER R/L



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

SB-5322 8-97031-370-3

8-98010-523-0

8-98025-499-0

CBIS-18

5-89915-592-0 ※

8-97031-370-2 ※

8-97031-370-1 ※

8-97108-748-0 ※

ELF ROUTE VAN

ELF

88-

93-03

LOWER R/L

SB-5361 8-97235-777-0

8-97365-018-0

8-98005-827-0

CBIS-20

D-MAX（4×2）

D-MAX

MU-X

02-

03-05

15-
UPPER R/L

SB-5363 8-98480-997-0 D-MAX

MU-X

MAZDA BT-50

20-

20-

20-
UP R/L

SB-5392 8-97142-452-1

8-97069-814-0

8-97021-753-0

1K00-34-006

8-97203-085-0-1

8-97203-085-2-1

8-97203-086-0-1

8-97203-086-2-1

8-98001-259-0-1

8-98001-260-0-1

8-98035-043-0-1

8-98035-044-0-1

8-98330-120-0-1

8-98330-121-0-1

ELF

MAZDA TITAN

NISSAN CONDOR

(BMR 85)

99-

05-

11-

LOWER R/L

SB-5441 1K02-33-022

8-97327-369-0

8-97237-369-1

43042-89T0B

MAZDA TITAN

ELF NHR

NISSAN CONDOR

05-

07-

11-
UPPER R/L

CBIS-21 8-94466-461-1 IMPULSE,STYLUS 90-93 LOWER R/L

SB-2041 43310-29015

CBT-1

DELTA 750 71-79
UP R/L

SB-2042 43330-29035

43340-29015

CBT-2

DELTA 750 71-79
LOW R/L

SB-2142 43308-12020

CBT-5

CHARMANT 74-81
LOW R/L

SB-2162 43308-12030

43308-19035

CBT-9

CHARMANT 81-
LOWER R/L

SB-2212 43330-29095

43340-29075

43340-29035

CBT-8

DELTA 750 79-82

LOW R/L

SB-2281 43310-29025

CBT-23

DELTA WIDE VAN

&WAGON

76-82
UP R/L

SB-2282 43330-29085

43340-29065

CBT-31

DELTA WIDE VAN

&WAGON

76-82
LOW R/L

DAIHATSU
BALL  JOINT



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

SB-2381 43350-29035

43350-29036

43350-29076

43350-29085

43360-29055

43360-29056

CBT-29

KIJANG（BUV）

TOWNACE,MASTERACE

VAN-WAGON

TOWNACE,LITEACE

TRUCK

LITEACE VAN-WAGON

86-

96-

82-

82-86

86-

79-82

85-85

85-

UPPER R/L

SB-2381C 43350-29035 LITEACE (For Philippines) 86- UPPER R/L

SB-2381-3P 43350-29036 KIJANG (For Indonesia) 86- UPPER R/L

SB-2502 43330-29115

43330-29175

43330-29245

43330-0B020

43340-29095

CBT-25

KIJANG（BUV）

TOWNACE,MASTERACE

VAN-WAGON

TOWNACE,LITEACE

TRUCK

LITEACE VAN-WAGON

86-

82-

82-86

86-

82-85

85-

LOWER R/L

SB-3071R 2001-4531

43350-87501

43370-87501

CBD-2R

HIJET 68-81

79-83 UP R 

SB-3071L 2001-4532

43360-87501

43380-87501

CBD-2L

HIJET 68-81

79-83 UP L

SB-3072R 2001-4541

43330-85401

43330-87580

CBD-3R

HIJET 68-76

LOW R 

SB-3072L 2001-4542

43340-87501

43340-87580

CBD-3L

HIJET 68-76

LOW L

SB-3074R 43330-87581

CBD-1R

HIJET 76-81
LOW R

SB-3074L 43340-87581

CBD-1L

HIJET 76-81
LOW L

SB-3076R 43330-87582

CBD-5R

HIJET 79-83
LOW R

SR-3076L 43340-87582

CBD-5L

HIJET 79-83
LOW L

SA-3162 48068-87705

CBD-4

CHARADE 83-86 LOW R/L

(ARM ASSY)
SA-3222 48068-87206 CUORE MIRA

MIRA 4WD

LEEZA

85-

85-

86-

LOW R/L

(ARM ASSY)

SB-3262 43330-87602

CBD-6

RUGGER

TAFT

93-97

95-
LOW R/L

SB-3291 43350-87680 ROCK 89-99 UP R/L

SB-3292 43330-87680

CBD-5

ROCK 89-99
LOW R/L

SA-3302R 48068-87209 CUORE

MOVE

94-98

95-98
SA-3302L 48069-87209 CUORE

MOVE

94-98

95-98
SA-3322R 48068-97203 MOVE 02- RH

SA-3322L 48069-97203 MOVE 02- LH

SA-3342R 48068-B2160

48068-B2161

48068-B2041

MIRA e:S 11-
LOW R

SA-3342L 48069-B2160

48069-B2161

48069-B2041

MIRA e:S 11-
LOW L



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

SA-3472R 48068-B2011

48068-B2050

ESSE 05-
LOW R

SA-3472L 48069-B2011

48069-B2050

ESSE 05-
LOW L

SB-3872 43330-BZ010

For Arm

AVANZA

X-ENIA

03-

03-
LOW R/L

SB-T082 43330-BZ120

43330-BZ060

43330-B4010

43330-B4011

43308-BZ080

TERIOS

GRAN MAX

TERIOS

TERIOS / VIGO

07-

07-

06-

LOW R/L

SB-T552 43330-BZ160

43330-BZ170

For Arm

48068-BZ160

48069-BZ160

48068-BZ170

48069-BZ170

XENIA

ALL NEW AVANZA

12-

11-

LOWER R/L

SB-6612 10068

10370

260-1235

7210-67000

7210-67001

7210-67002

7210-67003

7210-67004

72106-7004

BJ-257

FA1269

K-9081

LEONE

LEONE 4WD

SAMBER

79-84

84-

79-84

84-

98-

LOWER R/L

SB-6632 104197

7210-67020

7210-67021

7210-67022

FA2053

K-9567

CBSU-4

20206-TC010

JUSTY 84-

LOWER R/L

SB-6642 104141

20206-AJ000

21067-GA050

BJ-4141

K-6693

CBSU-3

20206-SJ000

20206-AN00A

LEGACY

FORESTER

IMPREZA

LEGACY

OUTBACK

XV

OUTBACK ※

FORESTER

XV ADVANCE

OUTBACK

90-

11-

11-

11-

10-

12-

09-14

15-

18-

20-

LOWER R/L

SB-6752 20206-FL000 SUBARU  Impreza 16- R/L

SB-M081 UC3C-34-200D

UC3C-34-540

SB-UC3C

BT-50

FORD RANGER

13-

12- UP

SB-M082 UC2R-34-300E

UC2R-34-550

1D01-34-300C

1D01-34-350C

SB-UC2R

MAZDA BT-50

FORD RANGER

MAZDA BT-50

13-

12-

15- LOW

SB-M102 TK48-34-300C-1

TK48-34-350C-1

CX-9(TC) 16-

SUBARU
BALL  JOINT



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

CBSU-1 6232-20043 LEONE 71-79 LOWER R/L

CBSU-5 20206-XA000

20206-XA001

B9 TRIBECA 06-
LOWER R/L

SB-7432 45700-67001

CBS-1

CARRY 72-79
LOW R/L

SA-7452 45200-79001

CQS-2

CARRY,EVERY 79-85 LOWER R/L

(ARM ASSY)
SA-7454 45200-79001 W/B CARRY,EVERY 79-85 LOWER R/L

(ARM ASSY)
SA-7462 45200-82000

CBS-4

CULTUS

(CHEV-FORSA)

83-88 LOWER R/L

(ARM ASSY)

SA-7442 45200-69DV1

45200-69DV0

45200-69D00

45200-50E00

45200-78002

45200-84000

45200-84001

(SA-7492)

ALTO

FRONTE

CERVO

CERVO MODE

EAGON R

79-84

9/1-

79/5-84/9

82/6-

90/-

93/9-98

97/4-98/6

93/9-98

93/9-98

LOWER R/L

SA-7492 1AY0-34-300

45200-50E00

45200-69D00

ALTO

CULTUS

FRONTE

84-88

83-

84-88

LOWER R/L

(ARM ASSY)

SA-7512 45200-85001

CQS-5

CARRY,EVERY 85-
LOWER R/L

SA-7532 45200-77500 CARRY FUTURA 91- LOW R/L

(ARM ASSY)
SA-7534 45200-77500

45200-77500B

45200-77500W

CARRY FUTURA 91- LOW R/L

(ARM ASSY)

SB-7542 45700-60A00

45700-60A01

61-BJ-0104-F

CBS-7

ESCUDO (VITARA) 88-

LOWER R/L

SB-7562 45700-63J00

45700-72K00

For ARM

45201-63J00

45202-63J00

45201-72K00

45202-72K00

SWIFT 3

SPLASH

05-07

08-

LOWER R/L

SA-7612 45200-75F00

45200-75F10

45200-75F20

1A07-34-300A

WAGON R WIDE

WAGON R PLUS

KARIMUN

MAZDA LAPUTA

97-

99-

00-

99-

R/L

SA-7662R 45201-78K00 GRAND VITARA 08-
SA-7662L 45202-78K00 GRAND VITARA 08-
SAK-7682R 45201-77A10

45201-77A11

45201-77A12

CARRY 05-08
LOW R

SAK-7682L 45202-77A10

45202-77A11

45202-77A12

CARRY 05-08
LOW L

SAK-8072R 54501-G2100 Ioniq 16- R
SAK-8072L 54500-G2100 Ioniq 16- L

SUZUKI
BALL  JOINT



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

SB-S012 45700-71L00

45201M60M00-1

45202M60M00-1

45201-64P00

SB-S202

For ARM

45201-71L00

45202-71L00

45201M60M00

45202M60M00

SWIFT 10-

LOWER R/L

SB-S014 45700-61M00

For ARM

45201-61M00

45202-61M00

VITARA

SX-4 CROSS

16-

15- LOWER R/L

SA-S014R 45201-61M00 SX-4 CROSS 15- LOWER R

SA-S014L 45202-61M00 SX-4 CROSS 15- LOWER L

SB-S016 45700-62R00 IGNIS 16- LOWER R/L

SB-S028 45700-52S00

45201-52S00-BJ

45202-52S00-BJ

CARRY 18-
LOWER R/L

SB-S172 45201-74P10-1

MQ-510849-1

45201-62R00-1

45201M62S00-1

45202M62S00-1

ALTO

SOLIO

WAGON R

SPACIA

DELICA D2

CAROL-MAZDA

IGNIS

S-PRESSO

14-

15-

17-

17-

15-

15-

16-

19-

LOW R/L

SB-S203 45201M68K00-BJ

45202M68K00-BJ

45201M79M00-BJ

45202M79M00-BJ

45201-68P10-BJ

45202-68P10-BJ

45201-77M00-BJ

45202-77M00-BJ

45700-52R00

45700-54M00

45700-64P00

45700-68R00

45700-72L00

45700-82M00

45700-68P00

BALENO(WB32S)

ERTIGA(AV413D)

CELERIO

CIAZ

16-

17-

13-

18-

LOW R/L

SA-S082R 45201-55F00 CARRY 91-95 LOW R

SA-S082L 45201-55F00 CARRY 91-95 LOW L

SA-S092R 45201-55FA2

1A01-34-310B

CARRY

MAZDA SCRUM

95-98

95-
LOW R

SA-S092L 45202-55FA2

1A01-34-350B

CARRY

MAZDA SCRUM

95-98

95-
LOW L

SA-S102 45200-76G22

45200-76G21

45200-76G20

54504-4A00A

54504-4A00B

54504-40A0A

1A10-34-300

1A10-34-300A

1A10-34-300B

SOLIO

AZ WAGCN

CAROL

LAPUTA

SPIANO

04-

01-

98-

02-

02-

LOW R/L

SA-S132R 1A12-34-300B

MQ-505807

54500-4A00A

45201-68H02

45201-68H01

SCRUM VAN

SCRUM WAGON

05-

05-
LOWER R/L



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

SA-S132L 1A06-34-350C

MQ-505809

54501-4A00A

45202-68H03

45202-68H02

SCRUM VAN

SCRUM WAGON

05-

05-
LOWER R/L

SB-S132 1A12-34-300B-1

1A06-34-350C-1

45202-68H03-1

45201-68H02-1

FOR ARM ASSY

45202-68H03

45201-68H02

SCRUM VAN

SCRUM WAGON

05-

05-

LOWER R/L

SA-S152R 45201-59J00 AERIO 04- LOW R

SA-S152L 45202-59J00 AERIO 04- LOW L

SA-S172R 45201-74P10

45201-74P00

1A02-34-310

ALTO

CAROL(MAZDA)

SPACIA

14-

15-

17-

LOW R

SA-S172L 45202-74P10 ◎

45202-74P00

1A14-34-350

ALTO

CAROL(MAZDA)

SPACIA

14-

15-

17-

LOW L

SB-S172 45201-74P10-1

MQ-510849-1

45201-62R00-1

45201M62S00-1

45202M62S00-1

ALTO

SOLIO

WAGON R

SPACIA

DELICA D2

CAROL-MAZDA

IGNIS

S-PRESSO

14-

15-

17-

17-

15-

15-

16-

19-

LOW R/L

SA-S192R 45201-64P00

MQ-508456

54500-4A00C

1A18-34-300

EVERY

MINICAB VAN(MITSUBISHI)

MV100 CLIPPER(NISSAN)

SCRUM VAN(MAZDA)

SCRUM WAGON(MAZDA)

15-

15-

15-

15-

15-

LOWER L

SA-S192L 45202-64P00

MQ-508457

EVERY

MINICAB VAN(MITSUBISHI)

15-

15-
LOWER R

SA-S212R 45201-82M00

54500-4A00B

MQ505808

1A16-34-300

CARRY

NT100 CLIPPER(NISSAN)

MINICAB TRUCK(MITSUBISHI)

SCRUM TRUCK(MAZDA)

13-

13-

14-

13-

LOWER R

SA-S212L 45202-82M00

54501-4A00B

MQ505810

1A10-34-350

CARRY

NT100 CLIPPER(NISSAN)

MINICAB TRUCK(MITSUBISHI)

SCRUM TRUCK(MAZDA)

13-

13-

14-

13-

LOWER L

SB-S202 45700-52R00

45700-54M00

45700-64P00

45700-68R00

45700-72L00

45700-82M00

45201M72R00-1

45202M72R00-1

FOR ARM

45201-52R01

45202-52R01

SWIFT

SWIFT SPORT

CARRY

EVERY

SOLIO

MNNICAB

NV100

SCRUM VAN

ERTIGA

17-

11-

13-

15-

11-

14-

15-

15-

18-22

LOWER R/L

CBS-8 45700-85Z00 FORENZA

RENO

04-

05-

LOWER R/L

CBS-9 45221-86Z00 VERONA 04-06
LOWER R/L



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

CBKD-1 94786917

94788122

CHEVROLET Lanos

DAEWOO Espero

97-02

95-99
LOWER

CBKD-13 96852964 CHEVROLET Captiva

OPEL Antara

06-11

07-17
LOWER

CBKK-27 54530-G6000

54530-2K000

MORNING 11-
LOWER

CBKH-1 54520-11011

54520-14200

54530-11000

PONY Ⅰ

PONY Ⅱ

75-85

82-90 LOWER

CBKH-6 54530-31000

54530-31300

STELLAR 77-88
LOWER

SB-8012 54503-22A00

54503-25000

54503-25A00

54503-25A01

54503-31600

54503-38A00

54520-31600

54530-25A00

54530-25000

54530-31600

54500-2F000

CBKH-7

CBKH-21

SONATA

ACCENT

TIBURON(COUPE)

EF SONATA-FOR REAR

AVANTE(LANTRA,ELANTRA

AVANTE TOURING

AVANTE XD(LANTRA,ELANTRA)

VERNA(ACCENT,BRIO)

LAVITA(MATRIX)

CLICK(GETS)

CERATO(SPECTRA)

TUSCANI(TIBURON,COUPE

i20/GETZ

88-93

94-99

96-01

98-04

95-00

96-01

00-06

99-02

01-

02-

03-

01-

08-

LOWER

SB-8014 54530-P2000 SANTAFE 20-
LOWER

SB-8022 54530-24A00

54530-24000

54530-24010

CBKH-3

EXCEL Ⅱ（PONY）

SCOUPE

89-94

90-96
LOWER

SB-8032 54530-28A00

54530-28000

54530-28020

CBKH-4

ELANTRA（LANTRA） 90-95

LOWER

SBK-8522 51760-2E000

54530-2K000

CBKK-27

SB-8042

TUCSON

SPORTAGE KM

05-

LOW R/L

SBK-8402 96535089 KALOS 02- LOW R/L

SBK-8662 95032440-1

95319215-1

95032441-1

95319216-1

For ARM ASSY

95032440

95319215

95032441

95319216

MATIZ(DAEWOO)

SPARK(CHEVROLET)

09-

09-

LOW R/L

SBK-8772R 54530-D3100 TUCSON(HYUNDAI) 15- LOW R

SBK-8772L 54530-D3000 TUCSON(HYUNDAI) 15- LOW L

SAK-8952R 54501-25000 VERNA(HYUNDAI) 00- LOW R

SAK-8952L 54500-25000 VERNA(HYUNDAI) 00- LOW L

SAK-8956R 55202-25000 VERNA(HYUNDAI) 00- REAR

FRONT R
SAK-8956L 55201-25000 VERNA(HYUNDAI) 00- REAR

FRONT L

HYUNDAI
BALL  JOINT



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

SAK-8957R 55220-25000 VERNA(HYUNDAI) 00- REAR

FRONT R
SAK-8957L 55210-25000 VERNA(HYUNDAI) 00- REAR

FRONT L
SAK-8958R 55120-25000 VERNA(HYUNDAI) 00- REAR R

SAK-8958L 55110-25000 VERNA(HYUNDAI) 00- REAR L

SAK-8962R 54501-1E000 VERNA(HYUNDAI) 06- REAR R

SAK-8962L 54500-1E000 VERNA(HYUNDAI) 06- REAR L

SAK-8125R 54502-26000 SANTA FE(HYUNDAI) 00- LIW R

SAK-8125L 54501-26000 SANTA FE(HYUNDAI) 00- LIW L

SAK-8442R 54501-2B500 SANTA FE(HYUNDAI) 06 LIW R

SAK-8442L 54500-2B000 SANTA FE(HYUNDAI) 06 LIW L

SAK-8444R 54501-2B000 SANTA FE(HYUNDAI) 06- LIW R

SAK-8444L 54500-2B000 SANTA FE(HYUNDAI) 06- LIW L

SAK-8622R 54501-ZW000 SANTA FE(HYUNDAI) 12- LIW R

SAK-8622L 54500-ZW000 SANTA FE(HYUNDAI) 12- LIW L
SBK-8774 54530-CG000 STARIA 22- LOWER R/L

SB-8814 706201575 MAVERICK 1000 13- R/L

SLK-8040 54830-2E200

54830-2E100

54830-2E000

54830-1F000

CLKH-23

TUCSON (HYUNDAI)

SPORTAGE KM (KIA)

05-

FRONT R/L

SLK-8060R 54830-17020

54830-25020

CLKH-18R

ACCENT (HYUNDAI) 00-06
FRONT R

SLK-8060L 54830-17010

54830-25010

CLKH-18L

ACCENT (HYUNDAI) 00-06
FRONT L

SLK-8070 54830-2D000

54830-34500

54830-34000

54830-36010

54850-36010

CLKH-3

ELANTRA (HYUNDAI) 00-06

FRONT R/L

SLK-8100 54830-3K010 SONATA

AZERA

ANANTI

06-10

06-11

07-09

FRONT R/L

SLK-8105 55530-3K002 SONATA

AZERA

ANANTI

06-10

06-11

07-09

REAR R/L

SLK-8270 96300627

CLKD-2

NUBIRA(DAEWOO) 97-
FRONT R/L

SLK-8275 96300222

CLKD-1

NUBIRA(DAEWOO) 97-
FRONT R/L

SLK-8280 96391875

CLKD-8
SLK-8290R 96403100

CLKD-9

NUBIRA

LACETTI

05-

03-12
FRONT RH

SLK-8290L 96403099

CLKD-10

NUBIRA

LACETTI

05-

03-12
FRONT LH

SLK-8295 95651754

CLKD-11

CHEVROLET (GM) Lacetti

CHEVROLET (GM) Lacetti Hatchback

CHEVROLET (GM) Nubira

CHEVROLET (GM) Optra

DAEWOO Gentra Hatchback

01-

01-

01-

02-

01-

REAR R/L

SLK-8300R 96639905

CLKD-13R

TOSCA(EPICA) 06-
FRONT RH

SLK-8300L 96639904

CLKD-13L

TOSCA(EPICA) 06-
FRONT LH

SLK-8305 96639910

CLKD-14

TOSCA(EPICA) 06-
REAR R/L



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

SLK-8310R 96996451

22744119

4806305

95942520

95488871

96626248

03 50 232

CLKD-15R

WINSTORM (CAPTIVA, ANTARA)

CHEVROLET (GM) Tracker/Trax

CHEVROLET (GM) Captiva

OPEL   »   Antara

06-

06-

16-

10- FRONT RH

SLK-8310L 96996450

22744118

4806304

95488870

95942519

96626247

03 50 231

CLKD-15L

WINSTORM (CAPTIVA, ANTARA)

CHEVROLET (GM) Tracker/Trax

CHEVROLET (GM) Captiva

OPEL   »   Antara

06-

06-

16-

10- FRONT LH

SLK-8313L 55530-N9000 TUCSON

SPORTAGE

22-

22-
REAR L

SLK-8313R 55531-N9000 TUCSON

SPORTAGE

22-

22-
REAR R

SLK-8320 44750-05000 MUSSO 96- FRONR R/L
SLK-8774 54830-CG000 STARIA 22- R/L
SLK-8116 55530-AAAA0 KIA NIRO 21- REAR R/L
SLK-8956L 55530-N9000 TUCSON 16-20 REAR L
SLK-8956R 55531-N9000 TUCSON 16-20 REAR R

CLKD-16 96626150

96996460

CAPTIVA 07-

07-
REAR R/L

CLKD-19 95182126

95299172

95465758

CHEVROLET (GM)Aveo (T250/T255)

CHEVROLET (GM)Aveo (T300)

CHEVROLET (GM)   »   Cobalt

01-

01-

06-

FRONR R/L

CLKD-20 22737680

20911128

8 01 837

48 08 136

40 94 3532

CHEVROLET CAPTIVA

OPEL     Antara

11-

11-
REAR R/L

SLK-8320 44750-05000
CLG-24 94717081

94763424

CHEVROLET (GM) Colorado

CHEVROLET (GM) Trail Blazer

12-

14- FRONT R

CLG-25 94717080

94763423

CHEVROLET (GM) Colorado

CHEVROLET (GM) Trail Blazer

12-

14- FRONT L

SL-3401 04694 855

04743 021AA

04743 454AA

4743669AC

CLKD-18

5087.60

13327928

90498745

14 94 1031

CHEVROLET Cruze

CHEVROLET Malibu

CHRYSLER Town & Country

CHRYSLER Voyager

CITROEN   C5

DODGE Caravan

PEUGEOT   607

03-

01-

01-

02-

11-

95-

10-

FRONT

R/L



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

CLKD-18 0350617

13219141

0350176

0350611

0350614

13169439

13327928

90498745

BUICK LaCrosse

BUICK Verano

BUICK Regal

CHEVROLET CRUZE

CHEVROLET Malibu

CHEVROLET Orlando

CHEVROLET VOLT

DAEWOO Alpheon

OPEL Ampera

OPEL Astra

OPEL Insignia

OPEL Meriva

OPEL Zafira

PONTIAC G5

SAAB 9-5

VAUXHALL ASTRA

11-

12-

11-

08-

08-12

11-

11-

10-

11-

98-12

08-

10-

99-

06-

11-

10-

R/L M12X1.25

SL-UA61 8K0-411-317E AUDI A4/A5/A6/A7/A8

AUDI Q5/Q7/SQ5

AUDI S4/S5/S8

05-

06-

05-

FRONT

R/L

CLF-3 6960036

1661237

CLF-4

FORD Escort 96-
FRONT

R/L

CBKH-10 54524-43000

54524-43001

54524-43002

GRACE

PORTER NEW MODEL

PORTER Ⅱ

87-03

96-04

04- LOWER

CBKH-12 54524-44000

54524-44001

54554-44000

PORTER     D2E,D2T 87-96

LOWER

CBKH-13 ZB212100

HB212100

HB212200

GALLOPER 91-98

98-03
LOWER

CBKH-14 54503-34A00

54503-34A01

SONATA Ⅱ

SONATA Ⅲ

93-96

96-98
FRONT LOWER

SONATA Ⅱ

SONATA Ⅲ

93-96

96-98
NEW GRANDEUR

DYNASTY

ECUUS(CENTENNIAL)

92-98

96-05

99-

XG GRANDEUR

SONATA Ⅱ,Ⅲ

98-04

93-98
CBKH-16 54530-4AA00

54530-4A000

STAREZ（4×2）

LIBERO

97-

00-

CBKH-18 54528-4A800

54528-4AA10

STAREX 4WD 97-

CBKH-19 54530-4A800

54530-4AA10

STAREX 4WD 97-

CBKH-20 51760-38000

51761-38A00

EF SONATA

GRANDEUR XG

98-04

98-05

SBK-8442 54530-3B000

54530-3BA00

54530-2B000

CBKH-22

TRAJET XG

ECUUS (CENTENNIAL)

SANTAFE

99-01

99-

00-07

SBK-8076 55130-34A00

55130-34A01

55130-37000

CBKH-15



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

CBKH-23 54530-02000

54530-02050

ATOZ（ATOS,SANTRO）

VISTO

97-02

97-03

CBKH-24 54550-H1000

54550-H1010

TERACAN 00-06

CBKH-25 54440-H1000 TERACAN 00-06
CBKH-28 54403-38A00 EF SONATA

XG GRANDEUR

98-04

98-04

CBKH-31 54530-3A200

54530-3A000

TRAJET XG 01.11-

CBKH-32 51760-3M000 GENESIS

EQUUS

07-

09-

SBK-8101 54430-3F600

54403-38A00

54430-3K000

NF SONATA

TG GRANDEUR(AZERA)

06-07.4

06.7-

CBKH-34 55130-37010 REAR UPPER 86-98

96-

CBKH-35 54530-M2000 SANTAMO 96-02

FRONT LOWER

CBKH-36 51760-2E010 TUCSON

SPORTAGE KM

05-

06-
LOWER RH

CBKH-37 51770-2E010 TUCSON

SPORTAGE KM

05-

06-
LOWER LH

CBKH-40

SBK-8122

54530-3S100

54530-2P100

54530-2T010

54530-B2100

SANTAFE

Azera

Grandeur

Sonata

KIA Cadenza

KIA Carens

KIA Ceed

KIA Optima

KIA ProCeed

KIA Sorento

KIA Soul

13-

10-

11-

09-

13-

13-

12-

10-

14-

11-

14-

LOWER

R/L
M12X1.25

CBKH-41 55130-4D000 GENESIS

GENESIS COUPE

12-

08-CBKH-42R 54530-C1100 SONATA

SONATA HYBRID

14-

14-
CBKH-42L 54530-C1000 SONATA

SONATA HYBRID

14-

14-

CBKH-43R

54530-F2100 KONA

Avante

Elantra

Kauai

17-

15-

15-

17-

L M12X1.25

CBKH-43L

54530-F2000 KONA

Avante

Elantra

Kauai

17-

15-

15-

17-

R M12X1.25

CBKH-44

54530-2S500 IX35

SONATA

Tucson

Tucson ix

KIA Cadenza

KIA Sportage

09-13

10-

09-13

09-13

10-

10

LOWER R/L



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

CBKH-45R 54530-J3BA0 Veloster 17- LOWER R M12X1.25
CBKH-45L 54530-J3AA0 Veloster 17- LOWER L M12X1.25

CBKH-46 54530-S1000 Santa Fe 18 LOWER R/L

CBKH-47R 54530-S0100 i30

i30 Fastback

17-

18-
LOWER R M12X1.25

CBKH-47L 54530-S0000 i30

i30 Fastback

17-

18-
LOWER L M12X1.25

CBKH-48 54530-L1000 SONATA (HYUNDAI)

KIA K5

19-

19-
LOWER R/L

CBKH-49 54530-CG000 Staria 21-
LOWER R/L

CBKK-16 54530-07000

54530-0X000

i10

BLUE ON

08-

11-
LOWER

CBKK-22 54530-3J000 VERACRUZ

STAREX

GRAND STAREX

06-

07-

07-

LOWER

CBKK-1 OK030-32-550A

0G030-34-550A

0G030-34-550B

CAPITAL

CONCORD

CREDOS(CLARUS)

87-96

87-96

95-98

98-00

LOWER

CBKK-3 01391-34-540 BONGO 80-87
UPPER

CBKK-4 01391-34-510

01391-32-280

BONGO 80-87

LOWER

CBKK-5 OK71-34-540 BESTA

WIDE BONGO

TOPIC/TOPIC VAN/HI-TOPIC

FRONTIER

86-96

96-97

87-

97-03

UPPER

CBKK-6 OK710-34-510

OKX43-34-510

BESTA 2WD

WIDE BONGO

TOPIC/TOPIC VAN/HI-TOPIC

FRONTIER 2WD

86-96

96-97

87-

97-03

LOWER

CBKK-8 OK011-34-510B SPORTAGE

RETONA

93-02

97-03 LOWER

CBKK-10 OK2A1-34-550A

OK2FA-34-550

SEPHIA Ⅱ(MENTOR,TIMOR)

SHUMA Ⅰ

97-00
LOWER

CBKK-12 OK72A-34-510A PREGIO

BONGO Ⅲ COACH,VAN

95-

04-
LOWER

CBKK-13 51760-38000

51760-3F000

(CBKH-20)

OPTIMA（MAGENTIS）

REGAL

OPIRUS(AMANTI)

00-05/9

02-05/9

03-06/5 LOWER

CBKK-14 54570-3E000

54570-3E001

SORENTO 02-
LOWER

CBKK-15 OR247-34-510A

OS247-34-510A

BESTA 4WD

FRONTIER 4WD

86-96

97-03
LOWER

SBK-8082 51760-1G000

51760-1G001

PRIDE（RIO）

PRIDE HYBRID

05-

05-
LOWER

SBK-8092

CBKK-21

51760-2G000

51760-2H000

LOTZE(MAGENTIS,OPTIMA）

CARENS(RONDO)

05- LOWER

KIA
BALL  JOINT



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

CBKK-22 54530-4D000 GRAND CARNIVAL

(SEDONA,ENTOURAGE)

05- LOWER

CBKK-23 51760-2J000 MOHAVE(BORREGO) 07-

LOWER

CBKK-24 54524-4E000

54524-4E00A

BONGOⅢ(1TON) 2WD 04-

FRONT LOWER

CBKK-25 54524-4E400 BONGOⅢ(1TON) 4WD 04- FRONT LOWER

CBKK-26 54430-2J100 MOHAVE(BORREGO) 07- UPPER

CBKK-28 54530-2T010

54830-2P100

54530-B2100

K5

K7(FR SUSPENSION TYPE)

10-

10-12 LOWER

CBKH-39 54530-3S000

54530-3R000

(CBKK-29)

YF SONATA

TUCSON IX

09.09-10.07

00.06- LOWER R/L

CBKK-30 54530-A9000 CARNIVAL 14- LOWER

CBKK-31 54530-C5100 SORENTO 14-
LOWER

CBKH-7 54530-31600

54530-2F000

CERATO(SPECTRA)

MORNING(PICANTO)

03-

08/08-
LOWER

CBKH-22 54530-2B000 SORENTO R 09-
LOWER

CBKH-23 54530-02050 VISTO（ATOS） 97-03

LOWER

SBK-8102 51760-3K000

CBKH-26

OPIRUS（AMANTI） 06-
LOWER

CBKH-28 54403-38A00 OPTIMA（MAGENTIS）

REGAL

OPIRUS(AMANTI)

00-

02-05

03-06

UPPER

SBK-8092 51760-2G000

51760-2H000

51760-0Q000

CBKK-21

CBKH-30

LOTZE(MAGENTIS,OPTIMA）

CARENS(RONDO)

CEE'D

FORTE/FORTE COUPE

05-

06-

06-

LOWER

CBKH-32 51760-3M000 GENESIS

EQUUS

07-

09-
SBK-8101 54430-3F600

54403-38A00

NF SONATA

TG GRANDEUR(AZERA)

06-07.4

06.7-
CBKH-35 54530-M2000 CARSTAR（JOICE） 99-03 FRONT LOWER

SBK-8142 54530-0U000

54530-3X000

CBKH-38

ACCNET

SOLARIS

i30

AVANTE

VELOSTER

CERATO (KIA)

11-

11-

12-

11-

11-

14-

LOWER L/R

SC-2110 45450-26021 HIACE 72-75 RHD

SC-2111 45450-26022

CCT-3

HIACE 75-77
RHD

SC-2180 45450-29035

45450-29065

ES-2521

CCT-6

HIACE

HIACE TRUCK

77-82

77-85 RHD

TOYOTA
CROSS ROD



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

SC-2300 45450-39015

45450-39016

45450-39055

45450-39065

CCT-1

HILUX 78-83

RHD

SC-2305 45450-39025

45450-39026

45450-39027

45450-39075

CCT-2

HILUX 78-83

LHD

SC-2306 45450-29085

45450-39037

HILUX

TAMARAW (BUV)

78-83

81-86

LHD

SC-2470 45450-39105

45450-39115

DS1060

HILUX 83-

83- RHD

SC-2475 45450-39125 HILUX 83- LHD

SC-2476 45450-39135

45450-39175

HILUX 83-
LHD

SC-2477 45450-39145

CCT-13

HILUX 83-
LHD

SC-2480 45450-29095

45450-29145

CCT-11

HIACE VAN.COMMUTER 82-
RHD

SC-2485 45450-29155

CCT-12

HIACE VAN.COMMUTER 82- LHD

SC-2495 45450-39095 COASTER 82- LHD

SC-2610 45450-60012

45450-60021

LAND CRUISER 64-75

74-84
RHD/LHD

SC-2635 45450-69055

45450-69035

LAND CRUISER 80- LHD

SC-2730 45450-69075 LAND CRUISER 84- RHD

SC-2735 45450-69085 LAND CRUISER 84- LHD

SC-2740 45450-69095 LAND CRUISER 84- RHD

SC-2745 45450-69105 LAND CRUISER 84- LHD

SC-2790 45450-29165 HIACE TRUCK 85- RHD

SC-2830 45450-39155 HILUX 2WD 88- RHD

SC-2835 45450-39165

CCT-10

HILUX 2WD 88-
LHD

SC-2950 45450-69115 LAND CRUISER 90- RHD

SC-2955 45450-69125 LAND CRUISER 90- LHD

SC-3140 45450-87608

45450-87609

45450-87680

BLIZZARD 80-84
RHD

SC-3145 45450-87610

45450-87681

BLIZZARD 80-84
LHD

SC-3190 45450-87682 BLIZZARD 84-
RHD

SC-3555 45450-39225 COASTER 93-
LHD

SC-3620 45450-39245

45450-39295

HILUX 97-

01-
RHD

SC-3625 45450-39305

45450-39255

HILUX 97-
LHD

SC-3915 45451-39145

45451-39015

4RUNNER

PICK UP

85-95

85-95
LHD

SC-4090 48560-H1000 SUNNY

SUNNY TRUCK

70-73

71-
RHD

SC-4095 48560-H1600 SUNNY

SUNNY TRUCK

70-73

71-
LHD

NISSAN
CROSS ROD



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

SC-4100 48560-21000

48560-U0100

48560-U5100

BLUEBIRD

VIOLET

67-76

73-77 RHD

SC-4105 48560-21400

48560-U2000

48560-U5200

BLUEBIRD

VIOLET

67-76

73-77 LHD

SC-4110 48560-B9525

48560-B5000

CCN-1

DATSUN PICK UP 72-79
RHD/LHD

SC-4120 48560-H5000

48560-H5025

CCN-6

SUNNY 73-77
RHD

SC-4125 48560-H6100

48560-H6125

SUNNY 73-77

75-77

LHD

SC-4126 48560-H6200 SILVIA,GAZELLE

SUNNY

75-79

71-77

75-77

LHD

SC-4130 48560-U7401

48560-U7425

BLUEBIRD 76-79
RHD

SC-4135 48560-U8801

48560-U8825

BLUEBIRD 76-79 LHD

SC-4140 48560-W5000

48560-W5025

ES-2449

CCN-7

AUSTER,STANZA

VIOLET

SUNNY

77-81

77-81

77-81
RHD

SC-4145 48560-W5700

48560-W5725

AUSTER,STANZA

VIOLET

77-81

77-81
LHD

SC-4160 48560-01W00

CCN-2

DATSUN PICK UP 79-83
RHD

SC-4161 48560-09W00 DATSUN PICK UP 83-85 RHD

SC-4165 48560-03W00

48560-03W25

CCN-5

DATSUN PICK UP 79-83
LHD

SC-4166 48560-09W10 DATSUN PICK UP 83-85 LHD

SC-4190 48560-G2500

48560-G3700

48560-G3725

48560-G4000

48560-G4025

CCN-8

VANETTE 78-85

RHD

SC-4310 48560-Q0125

48560-S0102

48560-S0125

LAUREL

SKYLINE

72-80

72-81 RHD

SC-4320 48560-J0100

48560-J012

48560-J0127

JUNIOR 70-76
RHD/LHD

SC-4330 48560-Y0100 CEDRIC,GLORIA 75-79 RHD

SC-4390 48560-V0125

48560-V0100

CEDRIC,GLORIA 79-83 RHD

SC-4395 48560-V1400

48560-V1425

CCN-11

CEDRIC,GLORIA 79-83
LHD

SC-4470 48560-J0126

CCN-9

JUNIOR 76-84
RHD/LHD

SC-4500 48560-C6000 SAFARI 80-87 RHD/LHD

SC-4501 48560-C6005 SAFARI 80-87
RHD/LHD

SC-4520 48560-01L25 LAUREL

SKYLINE

80-84

81-85
RHD

SC-4525 48560-21L25

CCN-14

LAUREL

SKYLINE

80-84

81-85
LHD

SC-4555 48560-43W00

CCN-4

DATSUN PICK UP 4WD 80-83
LHD *plan only



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

SC-4570 48560-V6025

48560-V6625

CEDRIC,GLORIA 83-87
RHD

SC-4575 48560-V6225

48560-V6226

CEDRIC,GLORIA 83-87 LHD

SC-4630 48560-01N25 CARAVAN,HOMY 86- RHD

SC-4640 48560-G5125

48560-G6125

CCN-10

VANETTE 85-
RHD

SC-4650 48560-11C25

48560-21C25

VANETTE LARGO 86- RHD

SC-4670 48560-15G25 DATSUN PICK UP 85- RHD

SC-4671 48560-15G10

48560-15G28

PICK UP 89-97

SC-4675 48560-09G25

CCN-13

DATSUN PICK UP 85-
LHD

SC-4680 48560-35G25 DATSUN PICK UP 4WD 85- RHD

SC-4681 48560-43G25 TERRANO 86- RHD

SC-4685 48560-31G25 DATSUN PICK UP 4WD 85- LHD

SC-4755 48560-61G25 PICK UP 92- LHD

SC-4820 48560-2S485

D8560-VK91B

PICK UP 97-99
RHD

SC-4825 48560-3S125

48560-3S185

48560-8B485

D8560-VK91A

D8560-VK92A

NISSAN PICK UP

FRONTIER

97-

01-02

03-04 LHD

SC-4830 48560-2S625

D8560-VK90B

PICK UP 4WD 97-
RHD

SC-4835 48560-3S525

D8560-VK90A

NISSAN PICK UP 4WD

FRONTIER

97-

01-04
LHD

SC-N190 48560-2S420B PICK UP 01- RHD

SC-N405 48560-F4010 PICK UP 02- LHD

SC-1090 0603-32-250

0660-32-250

2464-32-250

CCMZ-1

PROCEED (COURIER)

   (B1600,B1800)

   (B2000,B2200)

65-82

RHD

SC-1095 2541-32-250A

2677-32-250

8637-32-250

D77Z-3304B

CCM-3

PROCEED (COURIER)

   (B1600,B1800)

   (B2000,B2200)

65-82

LHD

SC-5140 94237366

94237367

5-44350-118-0

8-94237-366-0

8-94237-366-1

8-94237-367-0

8-94237-367-1

CCIS-2

BIG HORN

PANEL TRUCK

FASTER

(CHEVROLET-LUV)

FASTER 4WD

81-

83-

81-

81-

RHD/LHD

RHD

SC-5155 94241467

8-94241-467-0

CCIS-1

FASTER 4WD

(CHEVROLET-LUV)

81-
LHD

SC-5160 8-94225-485-1

8-94370-366-0

FARGO 81-
RHD

ISUZU
CROSS ROD

MAZDA
CROSS ROD



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

SC-5280 8-94459-474-0

CCIS-3

FASTER 88-

RHD

SC-5285 8-94459-475-0

8-94459-475-1

8-94459-475-2

CCIS-4

FASTER 88-

LHD

SC-5286 8-94389-210-1

8-94459-477-0

8-94459-477-2

FASTER 88-
LHD

SC-5331 8-94389-221-2

8-94389-221-3

8-94459-489-3

FASTER

BIG HORN

88-

01-

90-

RHD

SC-5335 8-94419-379-1

8-94459-490-0

8-94459-490-2

8-97020-951-2

FASTER

BIGHORN

RODEO 2WD

      4WD

88-89

86-91

91-

96-97

LHD

SC-5336 8-94389-222-0

8-94389-222-2

8-94419-381-1

8-97102-701-0

8-97102-701-1

FASTER

BIGHORN

RODEO

89-

86-88

88-95

91-95

LHD

SC-5340 8-94389-209-0

8-94389-209-1

8-94389-2092

PANIHER 01-
RHD

COIS-2 8-94241-767-0 TROOPER

BIG-HORN

81-
LHD

SC-3140 45450-87608

45450-87609

TAFT 79-84
RHD

SC-3145 45450-87610

45450-87681

TAFT 79-84
LHD

SC-3190 45450-87682 RUGGER 84- RHD

SC-3195 45450-87683 RUGGER 84-
LHD

SC-3182 45440-87322 TAFT 92-

SC-7540 48850-60A00 SUZUKI ESCUDO

VITARA

Apr-99
R

SC-7070 MA-159887

MA-181340

GALANT 69-76 RHD

SC-7075 MA-151985

MA-169605

CCM-1

GALANT 69-76
LHD

SD-2110 45440-29016

45440-29017

HIACE 67-71
RHD DISCONTINUED

MITSUBISHI
CROSS ROD

TOYOTA
DRAG LINK

DAIHATSU
CROSS ROD

SUZUKI
CROSS ROD



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

SD-2180 45440-29035

45440-29065

45440-29115

DS-2522

CDT-3

HIACE

HIACE TRUCK

71-82

77-85 RHD

SD-2185 45440-29045

45440-29125

DS-2523

HIACE

HIACE TRUCK

71-82

77-85

LHD

SD-2240 45440-29025 LITEACE 70-79 RHD

SD-2380 45440-29095

CDT-1

LITEACE 79-82
RHD

SD-2381 45440-29097

45440-29096

CDT-2

TOWNACE,LITEACE

TRUCK

LITEACE VAN,WAGON

82-86

81-85

RHD

SD-2480 45440-29175 HIACE VAN.WAGON 82-
RHD

SD-2485 45440-29185

CDT-4

HIACE VAN.WAGON

& COMMUTER

82-
LHD

SD-2490 45440-39015 COASTER 82- RHD

SD-2495 45440-39025 COASTER 82-
LHD

SD-2790 45440-29195 HIACE TRUCK 85-
RHD

SD-2795 45440-29205 HIACE TRUCK 85- LHD

SD-T230 45440-39206

45440-37092

DYNA 04-

21-
RHD

SD-T980 45440-39425 DYNA XZU404 06- RHD

SD-4190 48660-G2725

48660-G2500

VANETTE 78-81

81-85
RHD/LHD

SD-4191 48660-G3625 VANETTE 81-85 RHD 

SD-4192 48660-G3725 VANETTE 81-85 RHD

SD-4201 48660-01C25 VANETTE LARGO 82-86 RHD

SD-4500 48680-C6001 SAFARI 80-87 RHD

SD-4505 48680-C6061 SAFARI 80-87 LHD

SD-4630 48680-01N00 CARAVAN,HOMY 86-
RHD

SD-4640 48680-G5125

48680-G5100

VANETTE 85-
RHD

SD-4650 48680-11C00 VANETTE LARGO 86- RHD

SD-4651 48680-11C10 VANETTE LARGO 86- RHD

SD-4891 48681-VB025 SAFARI(Y61) 97- RHD

SD-7160 MB-166420

CDM-4

DELICA (L300) 79-83
RHD

SD-7165 MB-166422

MB-369241

DELICA (L300) 79-83 LHD

SD-7260 MB-315771 DELICA (L300) 83-86

86-
RHD

SD-7265 MB-315772 DELICA (L300) 83-86

86-
LHD

SD-7335 MB-347595 DELICA (L300) 92- LHD

SD-B220 MK-383956 MITSUBISHI  Canter 02-

MITSUBISHI

DRAG LINK

ISUZU

NISSAN

DRAG LINK



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

SD-5160 8-94225-492-1 FARGO 81- RHD

SD-5320 8-97107-322-0

8-97107-322-1

8-97142-099-0

8-97034-284-0

8-97108-733-0

8-97222-500-0

ELF NKR-CNG

ELF NKR-LPG

ELF NKR-HYBRID

ELF NKR-LPG

98-09

00-04

05-06

05-06
RHD

SD-5323 8-97175-323-0 ISUZU NHR 3.5T

ISUZU NKR 6.3T

97-

94-
R/L

SD-2240 45440-29025 DELTA 750 71-79 RHD

SD-2380 45440-29095

CDT-1

DELTA 750 79-82 RHD

SD-3180 45440-87320
SD-3182 45440-87322

SD-3186 45440-87326

SD-3188 45440-87328

SD-A185 SU003-00361

SU003-04490

86 (ZN6) TOYOTA

BRZ (ZC6) SUBARU

12-

12-

REAR

R/L
SD-A186 SU003-00362 86 (ZN6) TOYOTA

BRZ (ZC6) SUBARU

12-

12-

REAR

R/L
SD-A260 45440-39315 DYNA (WU342)

DYNA (WU340)

02-

09-
RHD

SD-7430 48900-67002 CARRY 72-79 RHD

SD-7450 48900-79001 CARRY 79-85 RHD

SD-7451 48900-77300 JIMNY RHD

SD-7455 48900-79011

48900-79010

CARRY 79-85
LHD

SD-7470 48900-63202 JIMNY (LJ80) 77-82 RHD

SD-7475 48900-63621 JIMNY (LJ80) 77-82 LHD

SD-7480 48900-80001

48900-80000

JIMNY 82-
RHD

SD-7485 48900-80060 JIMNY 82-
LHD

SD-7750A 48900-77500 FUTURA 80- RHD

SD-8500A 48900-85000 Carry/Every 82- RHD

SD-1861 KD35-34-500D MAZDA CX-5 12-

SUZUKI

DRAG LINK

MAZDA

DRAG LINK

TOYOTA
IDLER ARM

DRAG LINK

DAIHATSU

DRAG LINK



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

SI-2100 45490-39015

45490-35010

HILUX 68-72
RHD DISCONTINUED

SI-2105 45490-39026

45490-39205

HILUX 68-72
LHD DISCONTINUED

SI-2130 45490-29035

45490-29045

45490-29055

45490-29065

CORONA 64-73

RHD

SI-2135 45490-29045

45490-29075

CORONA 64-73
LHD

SI-2140 45490-19085

45490-87180

CAT-10

COROLLA,SPRINTER

STARLET

70-74

73-78 RHD

SI-2145 45490-19095

45490-89102

CAT-4

COROLLA,SPRINTER

STARLET

70-74

73-78 LHD

SI-2160 45490-19105 CARINA,CELICA 70-75 RHD

SI-2161 45490-19106 CARINA,CELICA 75-77 RHD

SI-2165 45490-19115

CAT-2

CARINA,CELICA 70-75
LHD

SI-2166 45490-19116

CAT-5

CARINA,CELICA 75-77
LHD

SI-2170 45490-39035

45490-39065

45490-39135

CAT-20

CROWN 67-74

74-83 RHD

SI-2175 45490-39045

45490-39165

48490-39075

CAT-28

CROWN 67-74

74-83 LHD

SI-2180 19005

45490-29095

45490-29235

45490-29236

CAT-17

HIACE

HIACE TRUCK

72-82

77-85 RHD

SI-2185 19006

45490-29245

CAT-35

HIACE

HIACE TRUCK

72-82

77-85

LHD

SI-2190 45490-29105

45490-29155

MARK II 72-76
RHD DISCONTINUED

SI-2195 45490-29125

45490-29115

MARK II 72-76
LHD

SI-2200 45490-39095 HILUX 72-73 RHD

SI-2201 45490-39096

45490-39105

CAT-11

HILUX 73-78
RHD

SI-2205 45490-39085

CAT-25

HILUX 72-73
LHD DISCONTINUED

SI-2206 45490-39086

45490-39115

CAT-7

HILUX 73-78
LHD

SI-2210 45490-29135

45490-29145

CAT-18

CORONA 73-78
RHD/LHD

SI-2220 45490-19125

CAT-1

COROLLA,SPRINTER 74-79
RHD

SI-2225 45490-19135

CAT-12

COROLLA,SPRINTER 74-79
LHD

SI-2230 45490-39125

45490-39145

CAT-19

CROWN 74-83
RHD

SI-2235 45490-39155

CAT-6

CROWN 74-83
LHD

SI-2240 45490-29086 LITEACE 70-79 RHD



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

SI-2260 45490-29175

CAT-13

KIJANG (BUV)   -80

81-86
RHD

SI-2265 45490-29185

CAT-21

TAMARAW (BUV)   -80

81-86
LHD

SI-2270 45490-29265 TOWNACE TRUCK 78-82 RHD DISCONTINUED

SI-2280 45490-29165 TOWNACE VAN.WAGON 76-82 RHD

SI-2290 45490-29195 MARK II (CRESSIDA)

CHASER

76-80

77-80
RHD

SI-2295 45490-29205

45490-29225

45490-29235

CAT-22

MARK II (CRESSIDA)

CHASER

76-80

77-80 LHD

SI-2300 45490-35100

45490-35110

45490-35090

45490-35080

SI-2305

CAT-8

HILUX

KIJANG (BUV)

78-83

81-86 RHD/LHD

SI-2310 45490-19155

45490-19185

45490-29275

45490-29285

CAT-16

CAMRY

CORONA

CARINA,CELICA

80-82

78-82

77-81 RHD

SI-2315 45490-19165

45490-19175

45490-29295

45490-29305

CAT-9

CAMRY

CORONA

CARINA,CELICA

80-82

78-82

77-81 LHD

SI-2350 45490-19215

CAT-26

COROLLA,SPRINTER 79-81

82-83

79-87

81-83

RHD

SI-2355 45490-19225

CAT-29

COROLLA,SPRINTER 79-81

82-83

79-87

81-83

LHD

SI-2380 45490-29375

45490-29315

CAT-37

LITEACE 79-82
RHD

SI-2381 45490-29376

CAT-38

TOWNACE,LITEACE

TRUCK

LITEACE VAN.WAGON

82-86

82-85

RHD

SI-2390 45490-29415

45490-29395

45490-29345

45490-29335

CAT-47

MARK II (CRESSIDA)

CRESTA

CHASER

80-84

80-84

80-84 RHD

SI-2395 45490-29425

45490-29405

45490-29365

45490-29355

CAT-14

MARK II (CRESSIDA)

CRESTA

CHASER

80-84

80-84

80-84 LHD

SI-2430 45490-19255

CAT-29

CORONA

CARINA VAN

82-

82-87

81-

RHD

SI-2435 45490-19265

CAT-31

CORONA

CARINA VAN

82-

82-87

81-

LHD

SI-2470 45490-35130

CAT-39

HILUX 83-
RHD

SI-2475 45490-35140

CAT-15

HILUX 83-
LHD



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

SI-2480 45490-29455

CAT-34

HIACE VAN.WAGON

& COMMUTER

82-
RHD

SI-2485 45490-29465

CAT-36

HIACE VAN.WAGON

& COMMUTER

82-
LHD

SI-2490 45490-39195 COASTER 82- RHD

SI-2500 45490-29435 TOWNACE,MASTERACE

VAN,WAGON

82-85
RHD

SI-2505 45490-29445 TOWNACE,MASTERACE

VAN,WAGON

82-85
LHD

SI-2580 45490-39205

45490-39225

CAT-42

CROWN 83-87
RHD

SI-2585 45490-39215

45490-39235

CAT-24

CROWN 83-87
LHD

SI-2595 45490-27060

CAT-30

TAMARAW 81-86
LHD

SI-2690 45490-29485

CAT-27

KIJANG (BUV) 86-
RHD

SI-2720 45490-39255

45490-39335

45490-39345

CAT-44

HILUX 4WD 85-

RHD

SI-2725 190101

45490-39245

45490-39325

45490-39355

K-9424

CAT-45

HILUX 4WD 85-

LHD

SI-2790 45490-29475

CAT-43

HIACE TRUCK 85-
RHD/LHD

SI-2791 45490-29515

CAT-46

HIACE TRUCK 91-
RHD

SI-2810 45490-39265

45490-39285

CAT-32

CROWN 87-
RHD

SI-2815 45490-39275

45490-39395

CROWN 87-
LHD

SI-2830 45490-39305

45490-39466

CAT-41

HILUX 2WD 88-
RHD

SI-2835 45490-39315

CAT-40

HILUX 2WD 88-
LHD

SI-2860 45490-39375 HILUX 4WD 91- RHD

SI-2865 45490-39365

CAT-51

HILUX 4WD 91-
LHD

SI-2880 45490-39375 HILUX

HILUX

88-97

91-
RHD

SI-2900 45490-39385

CAT-48

CROWN 91-
RHD

SI-2985 45490-29505 TAMARAW 93- LHD

SI-3551 45490-39425 COASTER BB40 93- RHD

SI-3555 45490-39435 COASTER BB40 93- LHD

SI-3260 45490-87602 RUGGER

TAFT

93-97

95-
RHD

SI-3266 45490-97000 OWSCAR 05-
LHD

SI-3630 45490-39445

45490-39446

HILUX 4WD May-97
RHD

SI-3635 45490-39455

45490-39456

HILUX 4WD 97-
LHD

SI-OWSCAR 45490-OWSCAR OWSCAR 95- LHD

SI-19066



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

SI-4050 48530-21000

CAN-4

BLUEBIRD

SILVIA,GAZELLE

VIOLET

SUNNY

67-76

75-79

73-77

71-77

RHD

SI-4055 48530-21400

CAN-1

BLUEBIRD

SILVIA,GAZELLE

VIOLET

SUNNY

67-76

75-79

73-77

71-77

LHD

SI-4060 48530-20500

48530-20600

48530-B0105

48530-B2000

SI-4065

CAN-5

DATUN PICK UP 65-77

RHD

SI-4090 48530-H1000 SUNNY

SUNNY TRUCK

70-73

71-
RHD

SI-4095 48530-H1600 SUNNY

SUNNY TRUCK

70-73

71-
LHD

SI-4110 48530-B9500

48530-B9510

SI-4115

CAN-2

DATUN PICK UP 77-79

RHD

SI-4120 48530-H5000

48530-H5025

CAN-29

AUSTER,STANZA

VIOLET

SUNNY

77-81

77-81

63-77

77-81

RHD

SI-4125 18805

48530-H6100

CAN-6

AUSTER,STANZA

VIOLET

77-81

77-81

63-77

77-81

LHD

SI-4130 48530-U7401

48530-U7402

BLUEBIRD 76-79

79-83 RHD

SI-4135 48530-U8801

CAN-12

BLUEBIRD 76-79

79-83
LHD

SI-4150 48530-U7701 FAIRLADY-Z

LAUREL

SKYLINE

BLUEBIRD

78-81

77-80

77-81

76-79

RHD

SI-4155 48530-U8701

48530-P7100

FAIRLADY-Z

LAUREL

SKYLINE

BLUEBIRD

78-81

77-80

77-81

76-79

LHD

SI-4160 48530-01W05

48530-01W06

48530-01W07

CAN-15

DATSUN PICK UP 79-83

RHD

SI-4161 48530-09W00 DATSUN PICK UP 83-85 RHD

SI-4165 48530-03W07

48530-03W06

48530-03W05

D8530-03W05

CAN-3

CAN-14

DATSUN PICK UP 79-83

LHD

SI-4166 48530-09W10

CAN-32

DATSUN PICK UP 83-85
LHD

NISSAN

IDLER ARM



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

SI-4180 48530-G5701

CAN-28
SI-4190 48530-G2501 VANETTE 78-81 RHD

SI-4191 48530-G3700

CAN-24

VANETTE 81-85
RHD

SI-4195 48530-G2701

CAN-21

VANETTE 78-81
LHD

SI-4196 48530-G3701

CAN-22

VANETTE 81-85 LHD

SI-4290 48530-P0300 CEDRIC,GLORIA 69-75 RHD

SI-4310 48530-S0103

48530-S0102

LAUREL

SKYLINE

72-76

72-77
RHD DISCONTINUED

SI-4315 48530-S2103

48530-S2102

LAUREL

SKYLINE

72-76

72-77
LHD

SI-4330 48530-Y0100 CEDRIC,GLORIA 75-79 RHD/LHD

SI-4390 48530-V0100

48530-V0125

CAN-8

CEDRIC,GLORIA 79-83
RHD/LHD

SI-4495 48530-N8500

CAN-16

SILVIA,GAZELLE 79-83
LHD

SI-4520 48530-01L00 LAUREL

SKYLINE

80-84

81-85
RHD

SI-4525 48530-21L00

CAN-13

LAUREL

SKYLINE

80-84

81-85
LHD

SI-4550 48530-41W01

48530-41W00

DATSUN PICK UP 4WD 80-83 RHD

SI-4555 48530-43W01

48530-43W00

DATSUN PICK UP 4WD 80-83 LHD *plan only

SI-4560 48530-50W01 DATSUN PICK UP 4WD 83-85 RHD

SI-4561 48530-50W00 DATSUN PICK UP 4WD 83-85 RHD

SI-4565 48530-50W11 DATSUN PICK UP 4WD 83-85 LHD

SI-4566 48530-50W10 DATSUN PICK UP 4WD 83-85 LHD

SI-4570 48530-V5410 CEDRIC,GLORIA 83-87 RHD

SI-4571 48530-V5001 CEDRIC,GLORIA 83-87 RHD

SI-4572 48530-V5401 CEDRIC,GLORIA 83-87 RHD

SI-4575 48530-V6600 CEDRIC,GLORIA 83-87 LHD

SI-4577 48530-V6201

CAN-25

CEDRIC,GLORIA 83-87
LHD

SI-4640 48530-G5101

CAN-27

VANETTE

VANETTE LARGO

85-

86-
RHD

SI-4820 48530-15G25

48530-2S420

48530-2S485

D8530-VK91B

SI-4670

CAN-17

DATSUN PICK UP

PICK UP

85-

97-

RHD

SI-4825 48530-01G00

48530-01G25

DATSUN PICK UP 85-
LHD

SI-4680 48530-35G25

48530-2S625

DATSUN PICK UP 4WD

TERRANO

85-

86-
RHD

SI-4685 19068

48530-31G25

48530-3S525※

D8530-VK90A

CAN-20

DATSUN PICK UP 4WD

TERRANO

85-

86-
LHD

SI-4720 48530-18V00

48530-20V00

CAN-26

CEDRIC,GLORIA 87-
RHD

SI-7070 MA-159885 GALANT 69-76 RHD

MITSUBISHI

IDLER ARM



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

SI-7075 MA-151987

MA-169606

MA-169607

GALANT 69-76

LHD

SI-7080 MB-006303

MB-006306

MT-142323

DELICA (L300) 68-79
RHD

SI-7085 MB-006307

MT-142323

DELICA (L300) 68-79
LHD

SI-7100 MB-006570

MB-241496

MT-402860

CAM-1

LANCER 73-79

RHD

SI-7105 10944

MB-006571

MB-241497

MB-241498

MT-401862

MT-402861

MT-402862

CAM-2

LANCER

LANCER VAN

LANCER-CHELESTE

73-79

77-84

75-80
LHD

SI-7110 MB-005820

MB-192297

MB-241495

CAM-3

GALANT Σ,Λ

& ETERNA Σ, Λ

76-86

RHD/LHD

SI-7130 MB-122400

MB-241499

MB-241500

CAM-6

LANCER-EX 79-87

RHD

SI-7150 MB-122000

MB-241420

CAM-4

FORTE (L200) 78-80
RHD/LHD

SI-7151 MB-241421

MB-241422

CAM-5

FORTE (L200) 80-
RHD/LHD

SI-7152 MB-527228

K-9486

CAM-14

FORTE  86-
RHD

SI-7160 MB-166428

CAM-7

DELICA (L300) 79-83
RHD

SI-7165 MB-166429

CAM-11

DELICA (L300) 79-83
LHD

SI-7250 MB-241425

CAM-9

FORTE (L200) 4WD 80-

86-
RHD

SI-7255 MB-241423

K-9378

CAM-10

FORTE (L200) 4WD 80-

86- LHD

SI-7260 MB-315769

CAM-12

DELICA (L300) 83-86

86-
RHD

SI-7265 MB-315770

CAM-13

DELICA (L300) 83-86

86-

LHD

SI-7335 MB-347589 DELICA (L300) 92- LHD

SI-7350 MB-241830

MB-698532

CAM-8

PAJERO (MONTERO) 82-90
RHD/LHD

SI-7540 48721-85C00

48721-60A00

ESCUDO (SUZUKI)

VITARA (SUZUKI)

Proceed Levante(MAZDA)

95-

94-

94-

RHD

SI-7720 MB-831042

CAM-15

PAJERO (MONTERO) 90-
RHD/LHD



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

SI-7770 MR-241030

CAM-16

STRADA 96-98
RHD

SI-7775 MR-296271

SI-B315

L200(K62T) 96-
LHD

SI-7800 MR-296273

MR-296509

STRADA

L200

CHALLENGER

KUDA

96-98

97-99

96-97

98-

RHD

SI-7805 MR-296272

MR-344654

CAM-19

STRADA 96-98

97-99 LHD

CIM-1 MT-141247 DELICA 76-79 UP R/L

SI-2140 45490-19085

45490-87180

CAT-10

CHARMANT 74-81
RHD

SI-2145 45490-19095

45490-89102

CAT-4

CHARMANT 74-81
LHD

SI-2240 45490-29086 DELTA 750 71-79
RHD

SI-2280 45490-29165 DELTA WIDE VAN

& WAGON

76-82
RHD

SI-2350 45490-19215

CAT-26

CAHRMANT 81-83
RHD

SI-2355 45490-19225

CAT-29

CHARMANT 81-83
LHD

SI-2380 45490-29375

45490-29315

DELTA 750 79-82
RHD

SI-2500 45490-29435 DELTA WIDE VAN

& WAGON

82-86
RHD

SI-2505 45490-29445 DELTA WIDE VAN

& WAGON

82-85
LHD

SI-3260 45408-87602

45490-87602

RUGGER

TAFT

93-97

95-
RHD

SI-1090 0603-49-120

0603-32-320

PROCEED (COURIER) 65-80
RHD

SI-1095 2541-32-320

2844-49-120

D27Z-3350A

CAMZ-2

PROCEED (COURIER) 65-80

LHD

SI-1240 18933

1011-32-320B

1011-32-320C

1011-32-320D

LUCE (929,929L)

LUCE-RE(RX-4,RX-9)

COSMO

COSMO-RE

72-78

27-78

75-81

75-81

RHD

SI-1270 8021-32-320

8021-32-320A

CAMZ-4

CAPELLA-RE(RX-2)

FAMILIA-PRESTO

75-77

75-76 RHD/LHD

MAZDA

IDLER ARM

DAIHATSU

IDLER ARM



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

SI-1280 0866-32-320

8037-32-320

8173-32-320

8173-32-320F

8173-32-320D

8531-32-320

CAMZ-8

SAVANNA (RX-3)

GRAND-FAMILIA

     (808,818)

FAMILIA (323,GLC)

71-77

71-78

RHD

SI-1285 3958-32-320

CAMZ-6

SAVANNA (RX-3)

GRAND-FAMILIA

     (808,818)

FAMILIA (323,GLC)

71-77

71-78 LHD

SI-1305 8871-32-320A SAVANNA (RX-7) 78-85 LHD

SI-1315 8957-32-320A LUCE (929,929L)

LUCE-RE(RX-4,RX-9)

77-81

77-81
LHD

SI-1320 8173-32-320D

8173-32-320E

CAMZ-9

CAPELLA (626) 78-82
RHD

SI-1370 UA01-32-320

CAMZ-3

PROCEED (COURIER)

    (B1600,B1800)

    (B2000,B2200)

80-
RHD

SI-1375 E17Z-3350A

UA04-32-320

CAMZ-5

PROCEED (COURIER)

    (B1600,B1800)

    (B2000,B2200)

80-

LHD

SI-1520 UB93-32-320

UB93-32-320A

UB93-32-320B

UE53-32-320

SI-1530

CAMZ14

CAMZ-15

PROCEED (COURIER)

    (B1600,B1800)

    (B2200)

84-87

87-

89- RHD

SI-1525 UB39-32-320A

UB39-32-320B

UE38-32-320

SI-1535

CAMZ-10

CAMZ-13

PROCEED (COURIER)

    (B1600,B2000)

    (B2200,B2600)

84-87

87-

02- LHD

SI-1620 UH71-32-320 RANGER(FORD)

B2200,2500,

2600,2900

98-

99- RHD

SI-1725 UA3N-32-320A BT-50

NEW RANGER

06-
LHD

SI-1720 UR56-32-320A BT-50

NEW RANGER

06-
RHD

SI-1855 UJ06-32-320

4050675

B2200

EVEREST(FORD)

02-

03-
LHD

SI-9440 UR56-32-320A RANGER 08- RHD

SI-UM46 UM46-32-320 BT-50 06-

SI-5140 8-94241-766-0

8-97028-967-0

8-97028-967-2

8-97039-325-1

COIS-1

FASTER

(CHEVROLET-LUV)

81-86

RHD

SI-5145 8-94237-800-0

CAIS-1

FASTER

(CHEVROLET-LUV)

81-86
LHD

SI-5290 8-94366-124-0

8-97116-048-0

PANTHER 90-94
RHD

SI-5310 8-97028-969-0

8-97028-971-0

BIG HORN 90-
RHD

ISUZU

IDLER ARM



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

SI-5315 8-97028-970-0

8-97028-970-1

8-97028-970-2

8-97028-972-0

8-97102-823-0

FASTER

(CHEVROLET-LUV)

RODEO

TROOPER

AMIGO

PICK UP

PASSPORT

90-

90-95

90-92

86

86-87

87

88

87

93-95

LHD

SP-2003
PA-HX-2003

45401-35271

HILUX TOYOTA 02-
LHD

SP-2040 45401-20010

45401-20013

45401-21010

45401-21011

45401-29035

CORONA 64-69

RHD/LHD

SP-2060 45401-19026 COROLLA,SPRINTER 66-70 RHD/LHD

SP-2130 45401-29045

CPT-1

CORONA 70-73
RHD/LHD

SP-2140 45401-19045

CPT-3

COROLLA,SPRINTER

STARLET

70-74

73-78
RHD 

SP-2145 45401-19055

CPT-12

COROLLA,SPRINTER

STARLET

70-74

73-78
LHD

SP-2160 45401-19065

CPT-4

CARINA,CELICA 70-75
RHD/LHD

SP-2161 18983

45401-19066

45401-19125

CAMRY

CORONA

CARINA,CELICA

80-82

78-82

75-81

RHD/LHD

SP-2200 45401-39115

45401-39125

CPT-9

HILUX 72-73
RHD/LHD

SP-2201 45401-39116

45401-39126

45401-39135

HILUX 73-78
RHD/LHD

SP-2210 45401-29095

CPT-13

CORONA 73-78
RHD/LHD

SP-2216 45401-29155

CPT-7

CORONA 77-78
LHD

SP-2220 45401-19085

CPT-5

COROLLA,SPRINTER 74-79
RHD

SP-2221 45401-19105

CPT-20

COROLLA,SPRINTER 76-79
LHD

SP-2225 45401-12050

45401-19095

COROLLA,SPRINTER 74-79
LHD

SP-2230 45401-39155

CPT-14

CROWN 74-79
RHD

SP-2235 45401-39165

CPT-17

CROWN 74-79
LHD

SP-2260 45401-29115

45401-29125

CPT-8

KIJANG,TAMARAW

        (BUV)

-80

81-86 RHD/LHD

SP-2280 45401-29105

CPT-22

TOWNACE VAN.WAGON 76-82 RHD

SP-2350 45401-19175

CPT-15

COROLLA,SPRINTER

COROLLA VAN

79-81

79-82
RHD

SP-2351 45401-19205

CPT-19

COROLLA,SPRINTER

COROLLA VAN

79-81

82-83

82-87

RHD/LHD

TOYOTA

PITMAN ARM



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

SP-2355 45401-19195

45401-19185

CPT-16

COROLLA,SPRINTER

COROLLA VAN

79-81

79-82 LHD

SP-2370 45401-39175 CROWN 79-83 RHD

SP-2375 45401-39185

CPT-26

CROWN 79-83
LHD

SP-2390 45401-29165

45401-29135

CPT-25

MARK II (CRESSIDA)

CRESTA

CHASER

76-80

80-84

80-84

77-80

80-84

RHD

SP-2395 45041-29175

45401-29145

MARK II (CRESSIDA) 76-80

80-84
LHD

SP-2430 45401-19225

CPT-21

CORONA

CARINA VAN

82-

82-87

81-

RHD/LHD

SP-2495 45496-36020P CAOSTER YOYOTA 93- LHD

SP-2580 45401-39275

45401-39215

CPT-28

CROWN 83-87

87- RHD

SP-2581 45401-39235 CROWN 83-87 RHD

SP-2585 45401-39225

45401-39285

CPT-27

CROWN 83-87

87- LHD

SP-2690 45401-29195

CPT-23

KIJANG(BUV) 86- RHD

SP-2720 190100

45401-35180

45401-35190

45401-35220

HILUX 85-

RHD

SP-2811 45401-39255

45401-39295

CROWN 87- RHD

SP-2816 45401-39205

45401-39265

45401-39305

CPT-29

CROWN 87-

LHD

SP-2985 45401-27041

SP-3630 45401-35260 HILUX 4WD 97-
RHD

SP-3635 45401-35270 HILUX 4WD 97- LHD

CPT-36 45401-35240 HILUX 4WD 91- LHD

SP-4560 48501-50W01 DATSUN PICK UP 4WD 83-85
RHD/LHD

SP-4561 48501-50W00

CPN-1

DATSUN PICK UP 4WD 83-85
RHD/LHD

SP-4720 48501-18V00 CEDRIC,GLORIA 87- RHD 

SP-4721 48501-20V00 CEDRIC,GLORIA 87- RHD

SP-7080 MB-006302

MB-006304

MT-142320

DELICA (L300) 68-79
RHD

SP-7085 MB-006305 DELICA (L300) 68-79 LHD

SP-7100 18945

MB-241499

MT-402870

MT-402871

CPM-1

LANCER

LANCER VAN

LANCER-CELESTE

73-79

77-84

75-80

75-77

RHD/LHD

RHD

LHD

NISSAN

PITMAN ARM

MITSUBISHI
PITMAN ARM



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

SP-7110 MB-076010

MB-241165

CPM-2

GALANT Σ,Λ

& ETERNA Σ,Λ

76-80
RHD/LHD

SP-7111 18951

MB-076009

MB-166566

MB-241446

CPM-3

GALANT Σ,Λ

& ETERNA Σ,Λ

76-86

78-80

RHD/LHD

SP-7120 MB-076032

MB-241445

CPM-5

LANCER-CELESTE 78-80
LHD

SP-7121 MB-076030

MB-241444

CPM-7

LANCER-CELESTE 78-80
RHD/LHD DISCONTINUED

SP-7130 18947

MB-122396

MB-241448

CPM-4

LANCER-EX 79-87

RHD/LHD

SP-7131 MB-241447

CPM-6

LANCER-EX 80-87
RHD/LHD

SP-7150 MB-241166

MB-166281

CPM-9

FORTE (L200) 80-

86- RHD/LHD

SP-7160 18954

MB-166423

COM-3

DELICA (L300) 79-83
RHD

SP-7161 MB-166425

SA-7160

L300 92-
*plan only

SP-7165 18990

MB-166424

COM-6

DELICA (L300) 79-83
LHD

SP-7250 MB-241168

CPM-8

FORTE (L200) 4WD 80-

86-
RHD/LHD

SP-7251 K-9507

MB-527227

MB-907272

MR-592810

MR-907272

CPM-13

CPM-16

FORTE（L200）4WD

FORTE（L200）4WD

STRADA

95-

86-91

91-
RHD/LHD

SP-7260 MB-315773 DELICA (L300) 83-86

86-
RHD

SP-7265 MB-315774 DELICA (L300) 83-86

86-
LHD

SP-7335 MB-347585 DELICA (L300) 92- LHD

SP-7350 MB-241884

CPM-11

PAJERO (MONTERO) 82-83
RHD/LHD

SP-7351 190111

MB-241973

CPM-10

PAJERO (MONTERO) 83-89
RHD/LHD

SP-7710 190144

MB-598489

CPM-14

PAJERO (MONTERO) 89-90
RHD/LHD

SP-7720 190160

MB-831040

CPM-12

PAJERO (MONTERO) 90-
RHD/LHD

SP-7770 MR-241029

CPM-15

STRADA

SP-7790 MR-296508

MR-376996

STRADA

SP-7901 MK-470362 CANTER

SP-7902 MK-469790 CANTER
SP-7903 MK-382600 CANTER



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

SP-1130 0662-32-220 FAMILIA TRUCK 68-71 RHD

SP-1131 0778-32-220

1308-49320

FAMILIA TRUCK 71-79

RHD

SP-1132 1308-32-220

1308-32-220A

FAMILIA TRUCK 68-71
LHD

SP-1136 2469-32-220A

CPMZ-13

FAMILIA TRUCK 71-79
LHD

SP-1137 2461-32-220A

CPMZ-10

FAMILIA TRUCK
LHD

SP-1200 0305-32-220A

0317-32-220

0483-49-320

2404-32-220

CPMZ-5

CAPELLA (616,618)

FAMILIA-PRESTO

70-74

70-75

RHD

SP-1201 1931-32-220

CPMZ-8

CAPELLA (616,618) 74-75 RHD

SP-1205 2350-32-220A

2350-32-220

FAMILIA-PRESTO 70-75 LHD

SP-1210 0370-32-220 GRAND-FAMILIA

     (808,818)

71-75 RHD

SP-1250 1175-32-220

1757-32-220

1757-32-220A

8559-32-220

CPMZ-6

LUCE (929,929L)

LUCE-RE (RX-4,RX-9)

COSMO

COSMO-RE

SAVANNA RX-7

74-78

74-78

75-81

RHD/LHD

SP-1270 8021-32-220A FAMILIA-PRESTO 75-76 RHD

SP-1280 8531-32-220 FAMILIA (323,GLC) 76-85 RHD

SP-1285 3958-32-220 FAMILIA (323,GLC) 76-85 LHD

SP-1290 8038-32-220

1273-32-220A

1273-32-220

GRAND-FAMILIA

     (808,818)

75-78
RHD

SP-1320 8173-32-220

8239-32-220

CAPELLA (626) 78-82
RHD/LHD

SP-1370 UA01-32-220 PROCEED (COURIER)

    (B1600,B1800)

    (B2000,B2200)

80-
RHD

SP-1375 UA04-32-220

E172-3590A

PROCEED (COURIER)

    (B1600,B1800)

    (B2000,B2200)

80-
LHD

SP-1520 UB39-32-220

UB39-32 -220A

PROCEED (COURIER)

    (B1600,B1800)

84-87

87-90
RHD/LHD

SP-1531 UB39-32-220B

CPMZ-14

PROCEED (COURIER)

    (B1600,B2000)

90-
RHD/LHD

SP-1620 UH71-32-220 RANGER（FORD）

B2200,2500,

B2600,2900

98-

99- RHD

MAZDA

PITMAN ARM



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

SP-1720 UR56-32-220 BT-50

NEW RANGER

06-
RHD

SP-1855 UM46-32-220 B2200

EVEREST(FORD)

02-

SP-6534 K-6534 GM SAVANA 3500 03- LHD

SP-6536 K-6536 GM TRUCK 99-03 LHD

SP-6654 K-6654 CHEVROLET EXPRESS 2500

CHEVROLET AVAIANCHE 1500

CHEVROLET AVAIANCHE 2500

03-

05-

06-

LHD

SP-8290 K8290 LINCOLN TOWNCAR 82-94 R/L

SP-2140 45401-19045

CPT-3

74-81
RHD

SP-2145 45401-19055

CPT-12

74-84
LHD

SP-2280 45401-29105

CPT-22

76-82
RHD

SP-3260 45401-87606 RUGGER 93- RHD

SP-3290 45401-87605 ROCKY 91- RHD

SK-2042R 04486-20010

CIT-2R

CORONA 64-69
LOW R

SK-2042L 04487-20010

CIT-2L

CORONA 64-69
LOW L

SK-2081 04485-35020

04485-30030

CIT-5

CROWN

HILUX

KIJANG,TAMARAW

        (BUV)

67-83

78-

81-86

UP R/L

SK-2101 04485-26020

04485-35010

04485-26010

04485-30021

CIT-4

HILUX

HIACE

HIACE TRUCK

68-78

67-82

77-85 UP R/L

SK-2112 04486-30030

04486-26010

CIT-8

HIACE

HIACE TRUCK

KIJANG,TAMARAW

        (BUV)

TOWNACE VAN˙WAGON

TOWNACE TRUCK

LITEACE

67-82

77-85

  -80

81-86

76-82

78-82

70-79

LOW R/L

SK-2131 04485-20030

04485-20020

CIT-1

CORONA

KIJANG,TAMARAW

        (BUV)

TOWNACE VAN,WAGON

LITEACE

64-73

-80

81-86

76-78

70-79

UP R/L

SK-2132R 04486-20030

04486-20020

CIT-3R

CORONA 70-73
LOW R

SK-2132L 04487-20030

04487-20020

CIT-3L

CORONA 70-73
LOW L

SK-2202R 04486-35020

04486-35010

HILUX 68-78
LOW R

DAIHATSU

PITMAN ARM

TOYOTA

INNER ARM SHAFT KIT



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

SK-2202L 04487-35020

04487-35010

HILUX 68-78
LOW L

SK-2281 04485-28010

CIT-10

TOWNACE VAN.WAGON

TOWNACE TRUCK

78-82

78-82
UP R/L

SK-3711 04485-28050 KIJANG

LITE ACE

96-

99-04
UP R/L

SK-4061 53536-B5000

53536-B0125

53536-20500

DATUSN PICK UP 65-77
UP R/L

SK-5201 8-94225-450-3 FARGO 84- UP R/L

SK-5202 8-94225-479-4 FARGO 84- LOW R/L

SK-7151 MB-109539

MB-109586

FORTE (L200) 78-
UP R/L

SK-7161 MT-141247-01 DELICA (L300) 79-86 UP R/L

SK-7251 MB-109539-01

CIM-3

PAJERO (MONTERO)

DELICA (L300) 4WD

FORTE (L200) 4WD

82-

82-

80-

UP R/L

SK-1131 0662-34-411 BONGO

FAMILIA TRUCK

68-77

68-79
UP R/L

SK-1181 0223-34-411

0603-34-411

D27Z-3056A

CIMZ-1

LUCE

PROCEED (COURIER)

    (B1600,B1800)

    (B2000,B2200)

68-73

65-88 UP R/L

SK-1541 UC86-34-411 PROCEED  87-
UP R/L

SK-6135 K6135 GM TRUCK 73-96
R/L

SK-5081 9-51241-609-1

9-51241-609-0

94021522

FASTER

(CHEVROLET-LUV)

FASTER 4WD

72-81

79-81

UP R/L

SK-2112 04486-30030 DELTA 750

DELTA WIDE VAN

71-79

76-82
LOW R/L

SK-2131 04485-20030 DELTA 750

DELTA WIDE VAN

71-79

76-78
UP R/L

SK-2281 04485-28010 DELTA WIDE VAN

& WAGON

78-82
UP R/L

ISUZU
INNER ARM SHAFT KIT

DAIHATSU
INNER ARM SHAFT KIT

TOYOTA

ISUZU
INNER ARM SHAFT KIT

MITSUBISHI
INNER ARM SHAFT KIT

MAZDA/FORD
INNER ARM SHAFT KIT

NISSAN
INNER ARM SHAFT KIT



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

SL-2715
LG160622 HIACE 77-

SL-2751R 48820-60010

CLT-26

LAND CRUISER 90-96
FRONT R

SL-2751L 48810-60010

CLT-27

LAND CRUISER 90-96
FRONT L

SL-2756 48830-60010

CLT-28

LAND CRUISER 90-96

90-
REAR

SL-2800 48820-20010

48830-30060

CLT-1

COROLLA EE90 AE92 87-
FRONT

SL-2805 48830-12060

48830-20010

K-9545

CLT-2

CLT-9

COROLLA

COROLLA HB/LB

CARINA

COROLLA HB/LB

87-

98-01

96-

98-01

REAR M10×1.25

SL-2805H 48830-32020 COROLLA AE9 93-
REAR

SL-2820R 48820-20030

CLT-5

CORONA 87-92
FRONT R M10×1.25

SL-2820L 48810-20010

CLT-6

CORONA 87-92
FRONT L M10×1.25

SL-2830 48819-35020 HILUX YN85 90-95

SL-2880 48820-35010

CLT-48

HILUX 90-95

91-95
FRONT R/L

M12×1.25

M10×1.25
SL-2885 48830-35010

CLT-30

HILUX 89-95
REAR M12×1.25

SL-2900R 48820-30010

48820-30050

CLT-3

CLT-73

CROWN

CROWN MAJESTA

87-99

91-95 FRONT R M12×1.25

SL-2900L 48810-30020

48810-30030

48810-30010

48820-30020

CLT-74

CROWN

CROWN MAJESTA

87-99

91-95
FRONT L M12×1.25

SL-2935 48830-06020

48830-06313

48830-33010

K-90313

CLT-16

CAMRY USA

CAMRY

AVALON

HARRIER

LEXUS RX300(2WD)

SOLARA

91-

91-

96-

96-

96-00

97-

99-03

98-

REAR M10×1.25

SL-2937 48830-AA010 SOLARA 04-08 REAR

SL-2940 48820-10010 STARLET 89/12- FRONT R/L

SL-2954

(SL-T990)

48802-60050

48802-60120

LAND CRUISER

Land Cruiser 100

90-

98-07
FRONT R/L

SL-2955 48802-60030 LAND CRUISER 90- REAR R/L

SL-2956 48802-60060 LAND CRUISER 90- REAR R/L

SL-2959 48802-60070 LEXUS LX470

LAND CRUISER

LAND CRUISER J100

98-07

90-04

98-07

STABILIZER LINK



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

SL-2960 48820-33010

48820-02010

K-90124

K-9475

MB-518892

MB-573043

MB-892982

MB-892983

SL-7755

CLT-5

CLM-1

COROLLA

CAMRY

CELICA

AVALON

96-02

92-96

94-98

95-96

FRONT M10×1.25

SL-2965 48830-12050

CLT-18

COROLLA

SPRINTER CARIB

91-

95-

95-

REAR M10×1.25

SL-2971A 90101-10090 HIACE II(H5) 03-

R/L

SL-2990R 48820-05012

48820-20040

CLT-8

CORONA

AVENSIS

CARINA

CARINA 4WD

92-

98-

96-

96-

FRONT R M10×1.25

SL-2990L 48810-05012

48820-20020

CLT-7

CORONA

AVENSIS

CARINA

CARINA 4WD

92-

98-

96-

96-

FRONT L M10×1.25

SL-3280R 48821-B1010

48821-B1030

48821-B1031

MYVI(PERODUA)

SIRION

05-07

11-※ FRONT R M10X1.25

SL-3280L 48831-B1010

48831-B1020

48831-B1021

CLD-2

MYVI(PERODUA)

SIRION

05-07

11-※ FRONT L M10X1.25

SL-3285 48821-B1020 MYVI 05-07 REAR

SL-3268 48821-BZ117 MINI CAR 17- R/L

SL-3311 48822-97503 DAIHATSU

GRAN MAX

LUXIO

07-
R/L

SL-3331
48820-BZ090

SL-3288

MYVI MK3(M800)

(※PERODUA)

NEW Sirion

17-

19- FRONT R/L M12X1.25

SL-3340 48820-B2010

48820-B2011

48820-32010

MOVE

TANTO

06-

07- FRONT R/L

SL-3360 48820-BZ020

SL-3872

PERODUA ALZA 09-
FRONT R/L

SL-3361 48820-B1020

CLT-122

TOYOTA PASSO SETTE

DAIHATSU BOON LUMINAS

08-12

08-12
FRONT R/L

SL-3500R 48820-22010

48820-22011

K-90334

CLT-11

MARK2

CHASER

CRESTA

88-95

88-03

90-93

88-92

88-92

FRONT R M12×1.25

SL-3500L 48810-22011

K-90314

CLT-10

MARK2

CHASER

CRESTA

88-95

88-03

90-93

88-92

88-92

FRONT L M12×1.25

SL-3520R 48820-28010

48820-28030

K-90678

CLT-31

ESTIMA 90-99

FRONT R M12×1.25



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

SL-3520L 48810-28010

48810-28020

K-96674

CLT-32

ESTIMA 90-99

FRONT L M12×1.25

SL-3545 48830-32030

CLT-72

CAMRY

VISTA

90-94
REAR M10×1.25

SL-3555A 48830-36020

CLT-88

COASTER(BB40) 93-

SL-3560 48820-34020

48820-35030

48820-AD010

K-90360

CLT-40

LAND CRUISER PRADO

4RUNNER

TUNDRA

96-

96-02

01-02 FRONT
M10×1.25

M12×1.25

SL-3565 48830-35020

K-90619

CLT-13

LAND CRUISER PRADO

4RUNNER

96-

96-02 REAR M12×1.25

SL-3586 48830-05020 AVENSIS 98- FRONT

SL-3587 48830-05021 AVENSIS 98- FRONT

SL-3600 48820-52010

48819-52010

48819-70010LR

90948-02178

48821-52040

SL-T420

VIT

VIOS (NCP150)

AYGO

ETIOS

YARIS

99-01

13-

01-

16-

14-

FRONT

ROD KIT

SL-3640 48820-02030

48820-02040

48820-02050

48820-02060

48820-02100

48820-47010

48820-58010

K-90433

CLT-29

CLT-20

COROLLA FIELDER

COROLLA RUNX

COROLLA ALEX

COROLLA SPACIO

COROLLA US

COROLLA S. US

USA COROLLA

COROLLA VERSO

WILL VS

WISH

PREMIO

ALLION

CALDINA

IPSUM

NOAH

VOXY

PRIUS

VOLTZ

MATRIX

VOXY 4WD

NOAH 4WD

ALTIS

Scion Tc

ALPHARD G/V

ALPHARD HV

00-

01-

01-

03-05

02-

08-

04-

01-

03-

01-

02-

01-

01-

97-

03-

02-

03-05

01-

01-

02-

05-

R/L M12×1.25

SL-3655 48830-01010

48830-32050

CLT-67

COROLLA

COROLLA FIELDER 4WD

COROLLA RUNX 4WD

COROLLA ALEX 4WD

COROLLA SPACIO 4WD

SIENTA 4WD

00-

00-

01-

01-

01-

03-

REAR R/L M10×1.25

SL-3646 48820-24010

CLT-47

SUPRA 93-98
REAR M10×1.25

SL-3660 48820-35020

48820-35021

CLT-21

TACOMA 4WD 95-
FRONT M12×1.25

SL-3661R 48820-04020 TACOMA 05-16 FRONT R

SL-3661L 48810-04010 TACOMA 05-16 FRONT L



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

SL-3690R 48820-06030

48820-33020

K-90312

CLT-15

CAMRY USA

CAMRY

HARRIER

LEXUS RX300

AVALON

SOLARA

97-01

97-

99-03

99-02

96-

98-

FRONT R M10×1.25

SL-3690L 48810-06030

48810-33010

48810-33020

K-90311

CLT-14

CAMRY USA

CAMRY

HARRIER

LEXUS RX300

AVALON

SOLARA

97-01

97-

99-03

99-02

96-

98-

FRONT L M10×1.25

SL-3740R 48820-30070 ARISTO TOYOTA

LEXUS GS300

91-
FRONT R

SL-3740L 48810-30050 ARISTO TOYOTA

LEXUS GS300

91-
FRONT L

SL-3750 48820-06040

48820-28050

48820-0E010

K-90344

CLT-19

CAMRY

CAMRY USA

HIGH LANDER

HIGH LANDER 4WD

HARRIER

LEXUS RX330

VENZA

AVALON

ESTIMA

ALPHARD G/V

PREVIA

01-

02-

01-

01-

03-

04-

99-

05-10

00-

02-

00-

FRONT M12×1.25

SL-3755 48810-48010

48830-06030

48830-06050

48830-48010

K-90345

CLT-17

48830-0E020

CAMRY

CAMRY USA

HIGH LANDER

HARRIER

LEXUS RX330

GZ CAMRY

01-

02-

01-

03-

04-

07-

REAR M10×1.25

SL-3760R 48820-50010

48820-50011

K-90682

CLT-33

CELSIOR 89-94

FRONT R M12×1.25

SL-3760L 48810-50010

48810-50011

K-90676

CLT-34

CELSIOR 89-94

FRONT L M12×1.25

SL-3765 48830-50010

48830-50020

CLT-35

CELSIOR

LEXUS LS400

89-94

90-94 REAR R/L M10×1.25

SL-3770R 48820-28040-R

FOR STABILIZER LINK

48820-28040

TOWNACE 98-

SL-3770L 48820-28040-R

FOR STABILIZER LINK

48820-28040

TOWNACE 98-

SL-3775 48810-28030L

SL-T205

TOWN ACE

LITEACE(CR50)

96-
REAR R/L

SL-3790R 48820-35040

K-90704

CLT-22

TACOMA 4WD

TACOMA PRERUNNER

01-

01- FRONT R M12×1.25

SL-3790L 48810-35020

K-90705

CLT-23

TACOMA 4WD

TACOMA PRERUNNER

01-

01- FRONT L M12×1.25

SL-3810 48820-60032

48820-60031

SL-3813

LEXUS LS470

LAND CRUISER

98-07

98-07 FRONT R/L BUSHING



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

SL-3816 48802-60090 LAND CRUISER 99-04
SL-3830 48820-22040

48820-22041

CLT-41

MARK Ⅱ

& CRESTA,CHASER

VEROSSA

CROWN

ALTEZZA

ALTEZZA GITA

PROGRES

BREVIS

96-00

95-96

00-

01-04

99-01

01-03

01-03

98-

98-

98-

01-

FRONT
M10×1.25

M12×1.25

SL-3835 48830-22040

48830-22041

CLT-86

K-80372

MARK Ⅱ

CHASER

CRESTA

96-

REAR

SL-3845 48830-60030

CLT-43

LAND CRUISER PRADO

4RUNNER

HILUX SURF

LEXUS GX470

LAND CRUISER PRADO

02-

03-05

10-

03-

17-

REAR
M12×1.25

M8×1.25

SL-3860 48820-34010

K-90680

CLT-44

TUNDRA 03-
FRONT

SL-3861R 48820-26030 HIACE 95- FRONT R

SL-3861L 48810-26030 HIACE 95- FRONT L

SL-3865 43330-AF010

CLT-38

TUNDRA 03-04
REAR M12×1.25

SL-3870 48820-B0010

CLT-82

AVANZA 03-
FRONT R/L M12XP1.25

SL-3880 48820-OK010

CLT-53

HILUX VIGO

KIJANG INNOVA

HILUX GGN1##

04-

04-

15-
FRONT R/L

M12×1.25

M10×1.25

SL-3890R 48820-60050

48820-04020

48820-OK030

48820-OK040

SL-3840R

CLT-45

HILUX VIGO

FORTUNER

HILUX SURF

LAND CRUISER PRADO

4RUNNER

TACOMA

04/8-

05-

02-

05-

02-04

05-

FRONT R M12×1.25

SL-3890L 48810-60040

48810-04010

48810-OK010

48820-60040

SL-3840L

CLT-46

HILUX VIGO

FORTUNER

HILUX SURF

LAND CRUISER PRADO

4RUNNER

TACOMA

04/8-

05-

02-

05-

02-04

05-

FRONT L M12×1.25

SL-D010 48820-BZ060

SL-3874

TOYOTA CALYA

DAIHATSU SIGRA

PERODUA AXIA

16-

17-

15-

FRONT R/L M12XP1.25

SL-D011 48820-BZ090 PERODUA MYVI M800 18-22 FRONT R/L

SL-3890R 48820-OK030

48820-60050

48820-OK040

HILUX VIGO

HILUX

FORTUNER

HILUX SURF

LAND CRUISER PRADO

4RUNNER

HILUX

LEXUS GX470

FORTUNER

04/8-

04-

05-

02-

05-

02-04

09-

03-05

15-

FRONT R



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

SL-3890L 48810-OK010

48810-60040

HILUX VIGO

HILUX

FORTUNER

HILUX SURF

LAND CRUISER PRADO

4RUNNER

HILUX

LEXUS GX470

FORTUNER

04/8-

04-

05-

02-

05-

02-04

09-

03-05

15-

FRONT L

SL-3910R 48820-22050

48820-22051

MARK Ⅱ 4WD

CHASER 4WD

CRESTA 4WD

MARK Ⅱ

MARK Ⅱ BLIT

CROWN

CROWN MAJESTA

PROGRES

BREVIS

ALTEZZA

ALTEZZA GITA

VEROSSA

96-

96-

96-

93-96

00-

00-

99-03

99-03

99-

01-

01-

01-

01-04

FRONT R

SL-3910L 48810-22040

48810-22041

MARK Ⅱ 4WD

CHASER 4WD

CRESTA 4WD

MARK Ⅱ

MARK Ⅱ BLIT

CROWN

CROWN MAJESTA

PROGRES

BREVIS

ALTEZZA

ALTEZZA GITA

VEROSSA

96-

96-

96-

93-96

00-

00-

99-03

99-03

99-

01-

01-

01-

01-04

FRONT L

SL-3920 48820-42020

48820-02020

48820-B2030

CLT-50

RAV-4

CAST

MOVE

COPEN

TANTO

HIJET

TAFT

00-

20-

20-

22-

19-

19-

20-

FRONT R/L M10×1.25

SL-3925R 48830-42010

CLT-70

RAV-4 00-
REAR R M10×1.25

SL-3925L 48840-42010

CLT-71

RAV-4 00-
REAR L M10×1.25

SL-3970 48820-26050

CLT-51

HIACE 04-
FRONT

SL-3976 48830-26040 HIACE

GRANVIA

19-

19-
REAR R/L

SL-3985 48830-51010 MARK Ⅱ 00-02 REAR R/L

SL-3990 48820-08020

CLT-52

SIENNA

HARRIER HV

04-

05-13
FRONT R/L

SL-T010 48820-42010

CLT-49

RAV-4 95-00

95-00
FRONT R/L M12×1.25

SL-T020 48820-0D020

48820-0D080

48820-52030

48820-52070

CLT-69

VITZ

RACTIS

BELTA

YARIS

VIOS

SIENTA

COROLLA/AXIO

05-

05-

05-

05-

02-

15-

15-

R/L M12×1.25



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

SL-T022 48820-0D040 SIENNA 16- FRONT R/L M12×1.25

SL-T030 91112-61080

90948-02004

90948-01002

90948-02034

90101-10140

90440-14003

94120-61000

CLT-98

DAIHATSU Delta

TOYOTA  Hilux

TOYOTA  4Runner

LAND CRUISER

PICK UP

TOYO T100

TACOMA

TOYOYA VAN

94-

89-

88-

91-97

85-95

93-98

95-04

85-89

FRONT R/L M10X1.25

SL-T040 48820-20060

CLT-68

CELICA

CARINA ED

CORONA EXIV

CURREN

93-98

93-98

93-98

94-98

FRONT R/L M10×1.25

SL-T055R 48830-21020

CLT-64

AVENSIS

CALDINA

Scion Tc

03-05

03-

02-

05-

REAR R M10×1.25

SL-T055L 48840-21010

CLT-65

AVENSIS

CALDINA

Scion Tc

03-05

03-

02-

05-

REAR L M10×1.25

SL-T070 48820-50020 CELSIOR

LEXUS LS430

00-

00-
FRONT R/L

SL-T075R 48830-50030

CLT-36

CELSIOR

LEXUS LS430

00-

00-
REAR R M10×1.25

SL-T075L 48840-50010

CLT-37

CELSIOR

LEXUS LS430

00-

00-
REAR L M10×1.25

SL-T080 48820-B0020

48820-BZ070

CLT-93

TERIOS

TOYOTA RUSH

07-

08-18 FRONT R/L

SL-T105 48802-52050

CLT-80

SUCCED

PROBOX WAGON

SUCCEED VAN

PROBOX VAN

02-

02-

02-

02-

REAR R/L M12XP1.25

SL-T123R 48820-60070

48820-60071

48820-60080

48820-60081

48820-60082

LEXUS LX450d

LEXUS LX460

LEXUS LX570

LAND CRUISER 200

15-

12-

13-

07-

FRONT R

SL-T123L 48810-60050

48810-60051

LEXUS LX450d

LEXUS LX460

LEXUS LX570

LAND CRUISER 200

15-

12-

13-

07-

FRONT L

SL-T124 48810-60060 LAND CRUISER 200 07- FRONT R/L

SL-T130R 48820-50030

CLT-78

LEXUS LS460

LEXUS LS600H

LEXUS LS600HL

06-

07- FRONT R

SL-T130L 48810-50020

CLT-79

LEXUS LS460

LEXUS LS600H

LEXUS LS600HL

06-

07- FRONT L

SL-T155 48830-24010 ARISTO 91- REAR R/L

SL-T165 48830-0C010

CLT-63

SEQUOIA 07-
REAR R/L M12×1.25

SL-T180R 48820-0C010 TUNDRA

SEQUOIA

07-

08-
R

SL-T180L 48810-0C010 TUNDRA

SEQUOIA

07-

08-
L



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

SL-T220 48820-42030

48820-02070

48820-02080

48820-0R010

48820-47020

CLT-62

RAV4

AURIS

ESTIMA

PREVIA

PRIUS

LEXUS CT200H

LEXUS HS250H

LEXUS NX

RAV4

LEXUS LM350/LM300H

ALPHARD

VELLFIRE

PROTON X70

06-

07-

06-08

06-

09-

10-

15-

14-

13-

20-

08-

15-

19-

FRONT R/L M12×1.25

SL-T225 48830-42022

48830-42021

48830-42020

48830-0R010

(CLT-95)

RAV-4

RAV4

06-08

13-
REAR R/L

SL-A220R

48820-53020 LEXUS IS200t

LEXUS IS300

LEXUS IS300h

LEXUS IS250

LEXUS IS350

15-

15-

13-

13-

13-

RH M12XP1.25

SL-A220L

48810-53020 LEXUS IS200t

LEXUS IS300

LEXUS IS300h

LEXUS IS250

LEXUS IS350

15-

15-

13-

13-

13-

LH M12XP1.25

SL-A410 48820-42040

48820-0R030

48820-0R050

SL-T222

CLT-137

RAV4

RAV4 4WD

HIGH LANDER

19-

19-

19- FRONT R/L M12X1.25

SL-A415 48830-42030

48830-0R030

SL-T224

CLT-136

RAV4

HARRIER

VEMZA

19-

20-

20-
REAR R/L M12X1.25

SL-A440 48820-K0020

48820-0D060

YARIS CROSS

YARIS

SIENTA

20-

17-

22-

FRONT R/L

SL-A450 48820-48010

48820-78010

LEXUS RX500h, 450h

LEXUS RX350h, 300h

22-
FRONT R/L M12X1.25

SL-A515 48830-06090

48830-06100

48830-47010

48830-F4020

COROLLA

COROLLA (MEXICO)

GR YARIS

COROLLA/

COROLLA TOURING

COROLLA SPORT

PRIUS

PRIUS PHV

LEXUS ES300h

CAMRY HYBRID

C-HR

C-HR

LEXUS UX250h/200

19-

19-

20-

19-

19-

18-

15-

16-

18-

17-

16-

19-

18-

REAR R/L M12X1.25

SL-A525 48830-0E050 HIGHLANDER 20- REAR M12XP1.25
SL-A530R 48820-WAA02 SUPRA 19- FRONT R
SL-A530L 48820-WAA01 SUPRA 19- FRONT L
SL-A535R 48830-WAA01 SUPRA 19- REAR R
SL-A535L 48840-WAA01 SUPRA 19- REAR L

SL-A540 48820-28021 TOWNACE HOAH

LITEACE/TOWNACE NOAH

97-

97-
FRONT R/L



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

SL-A570 48820-08040 SIENNA 2.5h 20- R/L

SL-T225 48830-42021

48830-42020

(CLT-95)

RAV-4

RAV4

06-08

13- REAR R/L

SL-T226 48830-42022 RAV-4

RAV4

06-08

13-
REAR R/L

SL-T270L 48810-30070

CLT-58

LEXUS GS300/350/430

LEXUS IS250/350

06-
FRONT R M12XP1.25

SL-T270R 48820-30090

CLT-59

LEXUS GS300/350/430

LEXUS IS250/350

06-
FRONT L M12XP1.25

SL-T275 48830-30090 LEXUS GS350 05- REAR R/L

SL-T281R 48820-30030 LEXUS CS430 01-05 FRONT R

SL-T281L 48810-30010 LEXUS CS430 01-05 FRONT L

SL-T285 48830-30080 LEXUS GS300 98-05 REAR

SL-T290R 48820-30100

CLT-61

LEXUS GS350 AWD

LEXUS GS200/300

LEXUS GS430

LEXUS GS460

LEXUS IS250/350

LEXUS RC350

06-13

16-

06-07

08-11

06-

15-

FRONT R M12×1.25

SL-T290L 48810-30080

CLT-60

LEXUS GS350 AWD

LEXUS GS200/300

LEXUS GS430

LEXUS GS460

LEXUS IS250/350

LEXUS RC350

06-13

16-

06-07

08-11

06-

15-

FRONT L M12×1.25

SL-T296R 48830-50040 LEXUS 460 07-16 REAR R

SL-T296L 48840-50020 LEXUS 460 07-16 REAR L

SL-T340 48820-06050

48820-06060

48820-06070

48820-33040

48820-33070

CLT-75

(SL-T780)

CHINA CAMRY

CAMRY

07-

06-

06-

07- FRONT R/L M12XP1.25

SL-T341 48820-33090 CAMRY 18- FRONT R/L

SL-T380R 48820-53010

CLT-76

LEXUS IS F

LEXUS IS 250

LEXUS IS 350

08-

06-

06-

FRONT R M12XP1.25

SL-T380L 48810-53010

CLT-77

LEXUS IS F

LEXUS IS 250

LEXUS IS 350

08-

06-

06-

FRONT L M12XP1.25

SL-T455 48830-33040

48830-06060

48830-06070

CLT-57

CAMRY

LEXUS ES350

AVALON

06-

06-

06-
REAR R/L M10×1.25

SL-T470 48820-28060 ESTIMA 03- FRONT R/L

SL-T490 48820-44020

CLT-56

AVENSIS VERSO

IPSUM

NOAH/VOXY

01-

01-

01-

07-

FRONT R/L M12×1.25

SL-T491 48820-U7/M7 LEXGEN U7/M7 06- FRONT R/L

SL-T505R 48830-0C020

CLT-83

SEQUOIA 08-
REAR R M12XP1.25

SL-T505L 48840-0C010

CLT-84

SEQUOIA 08-
REAR L M12XP1.25

SL-T590R 48820-44010

48820-05010

48820-05011

48820-05012

48820-20040

SL-2990R

CLT-8

IPSLM

NADIA

GAIA

AVENSIS

CALDINA

CORONA

96-014

98-

01-

97-

92-

92-

FRONT R



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

SL-T590L 48810-44010

48810-05010

48810-05011

48810-05012

48810-20040

SL-T2990L

CLT-7

IPSLM

NADIA

GAIA

AVENSIS

CALDINA

CORONA

96-014

98-

01-

97-

92-

92-

FRONT L

SL-T605 48830-30020

48830-30010

CLT-96

CROMN 91-95
REAR R/L

SL-T615L 48840-14030 CROMN 92-95
SL-T615R 48830-14050 CROMN 92-95 REAR R

SL-T625 48830-21010 CAMRY 01-06 REAR R/L

SL-T630 48820-17050

CLT-90

MR-S 99-
FRONT R/L

SL-T635 48830-17070

CLT-66

MR2 00-04
REAR R/L M10×1.25

SL-T645 48830-12070

CLT-94

LEXUS CT200H

LEXUS HS250H
REAR R/L

SL-T650 48822-97503 RUSH(J210E) 06- FRONT R/L

SL-T665 48830-07010 PRONARD 00- REAR R/L

SL-T670R 48820-37031 QUICK DELIVERY 02- FRONT R

SL-T670L 48810-37011 QUICK DELIVERY 02- FRONT L

SL-T675 48830-37020

48830-36021

QUICK DELIVERY

COASTER

02-

17-
REAR R/L

SL-T680 48820-26051 HIACE 12- FRONT R/L

SL-T700R 48820-26020

CLT-24

HIACE 95-01
FRONT R M12×1.25

SL-T700L 48810-26020

CLT-25

HIACE 95-01
FRONT L M12×1.25

SL-T710R 48820-08010 SIENNA 97-
SL-T710L 48810-08010 SIENNA 97-
SL-T730 48820-17040

48820-17030

MR2 91-
FRONT R/L

SL-T770R 48820-30110 LEXUS GS250 12 FRONT R

SL-T770L 48810-30090 LEXUS GS250 12 FRONT L

SL-T775R 48830-30100

CLT-97R

LEXUS GS250 12-
REAR R

SL-T775L 48840-30030

CLT-97L

LEXUS GS250 12-
REAR L

SL-T780 48820-33050 CAMRY 06-11 FRONT R/L

SL-T800 48820-08030

CLT-87

SIENNA(GLS30) 10-13
FRONT R/L

SL-SC43 48830-30070 LEXUS GS300

TOYOTA CROWN

97-

99-
REAR R/L

SL-KR20 48820-28020

48820-28021

LITEACE(TOYOTA) 96-08
FRONT R/L

SL-3330 48821-B2010 DAIHATSU CUORE

DAIHATSU MOVE

DAIHATSU TERVIS

PERODUA VIVA

06-

02-

06-

07-14

FRONT R/L

SL-T810 48820-47030 PRIUS V (ZVW40) 11- FRONT R/L

SL-T920 48820-BZ030

48820-BZ040

TOYOTA AGYA

TOYOTA WIGO

PERODUA AXIA

PERODUA BEZZA

14-

14-

14-

14-

FRONT R/L

SL-T940 48820-33090

48820-33100

48820-06100

48820-06110

48820-06130

CLT-134

CAMRY

CAMRY Hybrid

AVALON

LEXUS ES350

LEXUS ES300

LEXUS ES250

17-

18-

19-

19-

18-

18-

FRONT R/L M12X1.25

SL-T950 48820-37020 TOYOTA Dyna 99-06 FRONT R/L



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

SL-T990 48802-60050 LEXUS LX450

LAND CRUISER

95-98

9-04
FRONT R/L

CLT-81 48820-32010 FRONT R/L 97-03 FRONT R/L M10X1.25

CLT-85 48820-47030 PRIUS V 12- FRONT R/L M12XP1.25

SL-A110 48820-47040

48820-02110

48820-42050

54830-M5000

48820-F4010

48820-F4020

CLT-123

LEXUS UX250H

CHR

PRIUS

PRIUS PHV

COROLLA SPORT

ALTIS

COROLLA SEDAN

CROLLLA CROSS

HYUNDAI NEXO

BZ4(TOYOTA)

SOLTERRA(SUBARU)

LEVIN

18-

16-

15-18

16-

18-

19-

19-

20-

18-

22-

22-

19-

FRONT R/L M12XP1.25

SL-A115 48830-06090

48830-06100

48830-47010

48830-F4020

SL-A515

CAMRY

AVALON

LEXUS ES350

LEXUS UX200

LEXUS UX250H

CHR

PRIUS

COROLLA

GR YARIS

17-

18-

18-

18-

18-

16-

15-

19-

21-

REAR R/L

SL-A165 48802-52030 PROBOX 02-
SL-A175R 48802-48010

48802-0E020

CLT-89R

VELLFIRE/ALPHARD

LEXUS RC F

LEXUS GS F

LEXUS RX270/350

LEXUS RH450H/200T

LEXUS LM350/LM300H

HIGHLANDER

15-

14-

15-

08-15

15-

20-

15-

REAR R

SL-A175L 48803-48010

48803-0E020

CLT-89L

VELLFIRE/ALPHARD

LEXUS RC F

LEXUS GS F

LEXUS RX270/350

LEXUS RH450H/200T

LEXUS LM350/LM300H

HIGHLANDER

15-

14-

15-

08-15

15-

20-

15-

REAR L

SL-A180 SU003-00394

20420-CA000

CLT-91

86(TOYOTA)

BRZ(SUBARUI)

12-

12- FRONT R/L M12X1.25

SL-A185 SU003-00398

20470-AJ000

20470-FG000

55530-L1200

CLS-8

86(TOYOTA)

BRZ(SUBARU)

IMPRMZA(SUBARU)

LEGACY(SUBARU)

OUTBACK(SUBARU)

Scion FR-S

SONATA (HYUNDAI)

KIA K5

12-16

12-16

10-

09-

10-

12-

19-

19-

REAR R/L M12X1.25

SL-A195R 48802-48020 LEXUS RX350 08-
SL-A195L 48803-48020 LEXUS RX350 08-
SL-A200 48820-74010

CLT-102

IQ(SCION) 08
FRONT R/L

SL-A245 48830-0K010

48830-AD020

FORTUNER

TACOMA

15-

04-
REAR R/L

SL-A250 48820-B1010 PASSO

ROOMY/TANK

16-

16-
FRONT R/L

SL-A300 48820-36022 COASTER 17-
FRONT R/L

SL-A590 48820-60120

SL-A301

Land Cruiser 300 21-
FRONT R/L



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

SL-A595R
48830-60070

SL-A306R

LAND CRUISER 300 21-
REAR R

SL-A595L
48840-60010

SL-A306L

LAND CRUISER 300 21-
REAR L

SL-A335 48821-BZ030 RUSH (F800)

TERIOS (F800)

18-

17- REAR R/L

SL-A370R 48820-26060

SL-3972R

HIACE

GRANVIA

19-

19-
FRONT R M14X1.5

SL-A370L 48810-26050

SL-3972L

HIACE

GRANVIA

19-

19
FRONT L M14X1.5

SL-A375 48830-26040

SL-3976

HIACE

GRANVIA

19-

19-
REAR R/L M12X1.25

SL-A395

48830-42030

48830-42050

48830-0R040

48830-0R030

SOLTERRA (SUBARU)

BZ4(TOYOTA)

RAV4(NAP)

RAV4(CHINA) ※

VENZA

HARRIER

22-

22-

20-

19-

20-

20-

REAR R/L M12XP1.25

SL-A410 48820-42040

48820-0R030

48820-0R050

SL-T222

CLT-137

RAV4

RAV4 4WD

HIGH LANDER

19-

19-

19- FRONT R/L M12X1.25

SL-40U6 54618-SN120 QX-56 INFINITI 04-

SL-4330
54616-B9700

54618-B9700

SL-B9700

PICK UP(720) 79-84
FRONT R/L

SL-4390

54618-01G00

SL-D21F

54618-01G0A

FRONTIER

HARDBODY

KING CAB

NP300

97-

06-

98-

08-

FRONT R/L

SL-4403
54618-U0100

54618-W5000

SILVIA 79-

SL-4581
54618-02E00

54618-02E0A

SL-02E00

NAVARA

NP300

TERRANO

03-

03-

93-
SL-4740 42420-60A00

42420-60B01

46630-60B00

46630-60B10

54618-4M400

54618-50Y00

54618-60U05

54618-D5000

54618-D5010

54618-D5015

K-8643

K-90119

K-90128

K-9543

K-9827

K-9830

CLN-1

SUNNY

SUNNY 2WD

SUNNY 4WD

ALMERA

90-

98-

98-

99-

FRONT M10×1.25

NISSAN

STABILIZER LINK



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

SL-4745 54618-57C00

54618-57C10

54618-57C20

54618-57C60

54618-58Y00

54618-58Y10

54618-58Y20

54618-58Y21

54618-58Y60

K-9826

CLN-4

SUNNY

PRIMERA

BLUEBIRD

PRIMERA WAGON

PULSAR

PRESEA

90-

95-

96-

95-

90-

90-
REAR

SL-4790 54618-50J10

54618-50J11

54618-50J20

54618-50J21

54618-50J60

54618-57C21

54618-90J10

54618-90J11

56260-01J10

K-9831

CLN-5

PRIMERA

SAFARI

90-95

97-

FRONT R/L

FRONT
M10×1.25

SL-4810 54618-47B00

B029-34-159K

B097-34-158K

MARCH K11

MAZDA 323

MAZDA 323

92-

85-

85-

FRONT R/L

SL-4840 9010517005

54618-0W000

54618-0W001

K-9828

CLN-16

TERRANO 95-01

FRONT

SL-4845 56260-0B000

56260-0F001

56260-0W001

56260-41G11

K-8648

K-9892

CLN-17

CLN-70

TERRANO 96-

95-96

REAR M10×1.25

SL-4846 56260-0F001 TERRANO

QX-4 INFINITI

97-

96-
REAR R/L M10X1.25

SL-4855 56260-60Y60

56260-60Y20

CLN-49

SUNNY 98-04
REAR R/L M10X1.25

SL-4870 54618-0E000

54618-0Z000

54618-WA000

K-90126

K-9824

CLN-15

CEFIRO

AVENIR

94-98

98/8-98/11 FRONT M10×1.25

SL-4880R 54618-2Y000

54618-33P00

K-90431

K-9829

CLN-13

CEFIRO 99-

FRONT R M10×1.25

SL-4880L 54668-2Y000

54668-33P00

K-90432

K-9833

CLN-14

CEFIRO 99-

FRONT L M10×1.25

SL-4890 54618-VB000

CLN-64

SAFARI

PATROL

97-

97-
FRONT R/L

SL-4891 54618-VC300 PATROL

SAFARI (Y61)

97-
FRONT R/L



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

SL-4895L 56260-VB010

(CLN-75)

SAFARI 97-

REAR L

SL-4896 56260-VC300 SAFARI

PATROL

97-

97-
REAR R/L

SL-4910R 54618-8H300

CLN-22

X-TRAIL 00-
FRONT R M10×1.25

SL-4910L 54668-8H300

CLN-23

X-TRAIL 00-
FRONT L M12×1.25

SL-4915 56261-90J01

56261-50J00

56261-86J00

56261-86J25

CLN-3

X-TRAIL 00-03

REAR R/L M10X1.25

SL-4916 56261-EQ000

(CLN-50)

X-TRAIL 00-
REAR R/L M10×1.25

SL-4930 54618-4Z000

K-90354

CLN-9

X-TRAIL 03-
REAR R/L M10×1.25

SL-4945R 54618-CA010

CLN-26

TEANA 03-
REAR R M12×1.25

SL-4945L 54668-CA010

CLN-25

TEANA 03-
REAR L M12×1.25

SL-4950AL 54618-1FE0A

54618-3U800

54618-3U801

54618-9U00A

54618-AX400

54618-AX401

54618-AX600

54618-BC40A

54618-ED000

54618-ED00A

54618-JX00A

54618-JX30A

47750-34000

AD Expert & Van

ALMERA

BLUEBIRD (SYLPHY)

CUBE

LATIO

LIVINA

MARCH (MICRA)

NOTE

NV200

TIIDA (VERSA)

WINGROAD

Clio III(RENAULT)

Modus (RENAULT)

Scenicl (RENAULT)

01-

11-

08-

08-

09-

08-

07-

12-

01-

08-

07-

05-

04-

99-

FRONT R/L M10×1.25

SL-4950T 54618-JA00AT TIIDA 08- FRONT R/L M10×1.25

SL-4990 54618-2F010

CLN-39

PRIMERA 96-98
FRONT R/L M10×1.25

SL-N010 54618-86J00

54618-86J25

54618-90J11

CLN-5

PRIMERA 91-96

FRONT R/L

SL-N016 54619-U5000

54619-S3000

54619-U6000

SL-7631

LUXGEN U5

LUXGEN S3

LUXGEN U6T

12-15

16-

14-17
FRONT R/L M10×1.25

SL-N020R 54618-AU000

54618-4U000

CLN-40

PRIMERA 01-
FRONT R M10×1.25

SL-N020L 54668-4U000

54668-AU000

CLN-41

PRIMERA 01-
FRONT L M10×1.25



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

SL-N025 56261-4F701

56261-4F702

56261-4F710

56261-4F725

56261-0E000

56261-0Z800

56261-47B01

56261-6F600

CLN-6

MARCH,MICRA

ALTIMA

CEFIRO

MAXIMA

ALTIMA

PRIMERA

BLUE BIRD

01-04

91-95

REAR R/L M10×1.25

SL-N026 56261-AW000 PRIMERA 04-
REAR R/L

SL-N030 54618-0F000

54618-2B000

54618-MB40A

MISTRAL

CABSTAR

94-96

07-
FRONT R/L

SL-N040 54618-0C011 SERENA

IARGO

91-99

93-99
FRONT R/L

SL-N045 55061-0C700

55061-5V201

SERENA

RNESSA

91-99

97-01
REAR R/L

SL-N050R 54618-1C101

CLN-42

SERENA 4WD

LARGO 4WD

91-99

93-9
FRONT R M12×1.25

SL-N050L 54668-1C101

CLN-43

SERENA 4WD

LARGO 4WD

91-99

93-9
FRONT L M12×1.25

SL-N090R 54618-4N001

CLN-47

SERENA 99-05
FRONT R M12×1.25

SL-N090L 54668-4N001

CLN-48

SERENA 99-05
FRONT L M12×1.25

SL-N095R 54618-4N010

CLN-45

SERENA 99-05
REAR R M10×1.25

SL-N095L 54668-4N010

CLN-46

SERENA 99-05
REAR L M10×1.25

SL-N100 54618-56S11

54618-56S10

CLN -2

180SX

200SX

CDRIC

LAUREL

LEOPARD

SILVIA

SKYLINE

STAGEA

89-

94-

01-

88-

86-

99-

89-

96-

FRONT R/L M10×1.25

SL-N120R 54618-CA000

54618-CK000

CLN-56

MURANO 04-
FRONT R M12X1.25

SL-N120L 54668-CA000

54668-CK000

CLN-57

MURANO 04-
FRONT L M12X1.25

SL-N130R 56261-7S010

54618-EB71A

54618-EA000

54618-EA010

CLN-30

XTERRA

NAVARA

PATHFINDER

05-

07-

05-09 FRONT R M12×1.25

SL-N130L 56261-7S000

54668-EB71A

54668-EA000

54668-EA010

CLN-31

XTERRA

NAVARA

PATHFINDER

05-

07-

05-09 FRONT L M12×1.25

SL-N131R 54618-4JA0A NAVARA

NP300

14-

14-
FRONT R M12×1.25

SL-N131L 54668-4JA0A NAVARA

NP300

14-

14-
FRONT L M12×1.25

SL-N135 56261-EA000

56261-7Z000

CLN-32

XTERRA

FRONTIER(2WD)

05-

98-07 REAR M10×1.25

SL-N136 54618-4FA0A NV200 14- REAR R/L



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

SL-N140 56261-CK000 QUEST 04- REAR

SL-N150R 54618-1AA0A

54618-JA000

54618-JD00A

54618-1AA0E

54618-4BA0C

54618-4CB0A

CLN-35

SL-N830R

54618-6AZ0A

ALTIMA

DUARIS

QASHQAI

X-TRAIL

ROUGE

MURANO

ELGRAND(E52)

PATHFINDER

07-

08-

09-

08-

07-08

13-

08-

21-

FRONT R M12×1.25

SL-N150L 54668-1AA0A

54668-JA000

54668-JD00A

54668-1AA0E

54668-4BA0C

54668-4CB0A

CLN-36

SL-N830L

54668-6AZ0A

ALTIMA

DUARIS

QASHQAI

X-TRAIL

ROUGE

MURANO

ELGRAND(E52)

PATHFINDER

07-

08-

09-

08-

07-08

13-

08-

21-

FRONT L M12×1.25

SL-N155R 56261-JA000

56261-1AD0A

CLN-37

ELGRAND

ALTIMA

MURANO 2WD

10-

07-

08-

REAR R

SL-N155L 56261-JA005

56261-1AD0B

CLN-58

ELGRAND

ALTIMA

MURANO 2WD

10-

07-

08-

REAR L

SL-N156R 55618-JD00A ROGUE

X-TRAIL

DUARIS

QUASHQAI

08-

07-

07-

07-

REAR R

SL-N156L 55619-JD00A ROGUE

X-TRAIL

DUARIS

QUASHQAI

08-

07-

07-

07-

REAR L

SL-N170 54618-3W400

CLN-16

54617-VE700

54667-VE700

PATHFINDER

TERRANO

ERGRAND

02-

95-

99-
FRONT R/L M12×1.25

SL-N171R 54618-JK53C INFINITY EX35

INFINITY EX37

INFINITY G25/35

INFINITY M37/56

INFINITY Q40/50/70

08-12

13-

07-

11-

14-

FRONT R

SL-N171L 54668-JK53C INFINITY EX35

INFINITY EX37

INFINITY G25/35

INFINITY M37/56

INFINITY Q40/50/70

08-12

13-

07-

11-

14-

FRONT L

SL-N172R 54618-JK03B 370Z 08-14 FRONT R

SL-N172L 54668-JK03B 370Z 08-14 FRONT L

SL-N180R 54618-AL501

54618-AL502

CLN-77R

STAGEA

SKYLINE

FAIR LADY Z

INFINITY G35 SEDAN(RWD)

INFINITY G35 COUPE

01-04

01-07

05-

02-

03-06

03-07

FRONT R

SL-N180L 54668-AL501

54668-AL502

CLN-77L

STAGEA

SKYLINE

FAIR LADY Z

INFINITY G35 SEDAN(RWD)

INFINITY G35 COUPE

01-04

01-07

05-

02-

03-06

03-07

FRONT L



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

SL-N220 54618-EN000

54618-ET00A

54618-CY00A

54618-1VA0A

54618-BA60A

42420-50Z00

54618-3NF0A

42420-50Z01

CLN-38

SERENA C2

SENTRA B16

JUKE YF15

SERENA

LANDY (SUZUKI SC25 )

QASHQAI

SENTRA

LEAF(EM57)

06-

07-

10-

08-

07-

14-

12-

17-

FRONT R/L M12X1.25

SL-N235R 56261-1AA0A ELGRAND

MURANO（AWD）

10-

08-
REAR R

SL-N235L 56261-1AA0B ELGRAND

MURANO（AWD）

10-

08-
REAR L

SL-N242R 54618-4CB0A SUPER ROGUE 18- FRONT R

SL-N242L 54668-4CB0A SUPER ROGUE 18- FRONT L

SL-N246R 55618-JY00B SUPER ROGUE 18- REAR R

SL-N246L 55619-JY00B SUPER ROGUE 18- REAR L

SL-N250 54618-EB70A NAVARA 07- FRONT R/L

SL-N260 54618-EB70A NAVARA 08- FRONT R

SL-N270 54618-9U00A

54618-ED000

54618-ED00A

54618-JX00A

54618-1FE0A

MQ-704130

MQ-702536

SL-N271

CLN-54

1N04-34-150

CUBE

MARCH

BLUEBIRD SYLPHY

CUBE USA

TIIDA

VERSA SEDAN

VERSA NOTE

FAMILIA VAN

09-

02-

05-

09-

05-

11-

13-

07-

FRONT R/L M10X1.25

SL-N770 54618-3LH0A

SL-N271

TIIDA 15-
FRONT R/L M10X1.25

SL-N285R 56261-7S001

56261-EA500

56261-1LB0A

CLN-67R

PATHFINDER

NV350

URVAN

PATROL

INFINITI QX80

INFINITI QX56

05-

06-

12-

10-

10-

10-

REAR R M12×1.25

SL-N285L 56261-7S011

56261-EA510

56261-1LB1A

CLN-67L

PATHFINDER

NV350

URVAN

PATROL

INFINITI QX80

INFINITI QX56

05-

06-

12-

10-

10-

10-

REAR L M12×1.25

SL-N320 54617-WL010

54617-WL000

54667-WL010

ELGERAND 02-

FRONT R/L

SL-N341 54618-5RB0A KICKS 16- FRONT R/L

SL-N325R 54618-WL01A

54618-WL010

ELGERAND 02 REAR R

SL-N325L 54668-WL01A

54668-WL010

ELGERAND 02 REAR L

SL-N350 54617-VW000

54618-WF101

54667-VW000

SL-4970

CLN-71

5-86130-823-0

5-86130-822-0

EXPERT(4WD)

LIBERTY

CARAVAN

COMO

01-

98-

99-

01-
FRONT R/L

SL-N370 54617-0G000 INFINITI FX35 02- FRONT R/L

SL-N390R 54618-2Y00A MAXIMA 00-03 FRONT R

SL-N390L 54668-2Y00A MAXIMA 00-03 FRONT L

SL-N435R 54618-1MA0A FUGA 09- FRONT R

SL-N435L 54668-1MA0A FUGA 09- FRONT L



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

SL-N436R 54618-1MA0B INFINITY Q50

INFINITY M35h

INFINITY M37

14-

13-

13-

REAR R

SL-N436L 54668-1MA0B INFINITY Q50

INFINITY M35h

INFINITY M37

14-

13-

13-

REAR L

SL-N440 54618-7S000

CLN-29

ARMADA

TITAN

04-

04-
FRONT R/L M12×1.25

SL-N450R 54618-AR00B CIMA 09- FRONT R

SL-N450L 54668-AR00B CIMA 09- FRONT L

SL-N460 54618-6A0A1 OTTI 06- FRONT R/L

SL-N475R 54618-9W200 TEANA 04- REAR R

SL-N475L 54668-9W200 TEANA 04- REAR L

SL-N476R 56261-3TA0B

56261-3TA0D

56261-3TS0B

CLN-74R

ALTIMA

MAXIMA

TEANA

12-

15-

14-
REAR R

SL-N476L 56261-3TA0C

56261-3TA0A

56261-3TS0A

CLN-74L

ALTIMA

MAXIMA

TEANA

12-

15-

14-
REAR L

SL-N540R 54618-1CA4A INFINITI QX70/FX
SL-N540L 54668-1CA4A INFINITI QX70/FX
SL-N545R 54618-1CA3B

CLN-68R

FX35

INFINITI QX70

08-

08-
REAR R

SL-N545L 54668-1CA3B

CLN-68L

FX35

INFINITI QX70

08-

08-
REAR R

SL-N550R 54618-EG001

54618-EG02C

GT-R

FUGA

INFINITI M35

INFINITI M45

07-

07-

04-

05-

FRONT R

SL-N550L 54668-EG001

54668-EG02C

GT-R

FUGA

INFINITI M35

INFINITI M45

07-

07-

04-

05-

FRONT L

SL-N555 54618-JF00D GT-R 07 REAR R/L

SL-N570R 54618-JK52A

54618-JK52C

54618-JK53A

54618-JK53C

54618-JK53D

54618-JK53E

NISSAN GT-R

SKYLINE(4WD)

SKYLINE CROSSOVWE

INFINITI Q50

INFINITI Q60

INFINITI Q70

INFINITI QX50

13-

06-

09-

13-

17-

13-

13-

FRONT R

SL-N570L 54668-JK52A

54668-JK52C

54668-JK53A

54668-JK53C

54668-JK53D

54668-JK53E

NISSAN GT-R

SKYLINE(4WD)

SKYLINE CROSSOVWE

INFINITI Q50

INFINITI Q60

INFINITI Q70

INFINITI QX50

13-

06-

09-

13-

17-

13-

13-

FRONT R

SL-N595R 56261-3JA0C

56261-3JA0A

PATHFINDER

INFINITI QX60

13-

12-
REAR R

SL-N595L 56261-3JA0D

56261-3JA0B

PATHFINDER

INFINITI QX60

13-

12-
REAR L

SL-N606R 56261-4RA0A

56261-4RK0A

ALTIMA L33

TEANA L34

17-

18-
REAR R

SL-N606L 56261-4RA0B

56261-4RK0B

ALTIMA L33

TEANA L34

17-

18-
REAR L

SL-N650 54618-05U00 SKYLINE 89-
SL-N690R 54618-AD000 PRESAGE 98-
SL-N690L 54668-AD000 PRESAGE 98-
SL-N735 54618-4FA0A

54618-JX05A

54618-JX05B

NV200 VANETTE (M20)

NV200 VAN

13-

12- REAR R/L



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

SL-N790R 54668-85E00 SKYLINE(2WD) 93-
SL-N790L 54618-85E00 SKYLINE(2WD) 93-
SL-N800R 54618-4KH0A

54618-4JA0A

NP300

FORNTIER

NAVARA

14-

14-

14-

FRONT R

SL-N800L 54668-4KH0A

54668-4JA0A

NP300

FORNTIER

NAVARA

14-

14-

14-

FRONT L

SL-N805 56261-4KH0A

56261-4JA1A

56261-5XA0A

4703260100

NP300

FORNTIER

NAVARA

TERRA

RENAULT AIASKAN

BENZ X CLASS 250D

14-

14-

14-

16-

17-

17-

REAR R/L

SL-N825R 56261-AG000

SL-4836R

CLN-86R

Q45(F50)

CEDRIC(Y34)

CIMA(F50)

PRESIDENT

01-

01-

01-

01-

REAR R

SL-N825L 56261-AG010

SL-4836L

CLN-86L

Q45(F50)

CEDRIC(Y34)

CIMA(F50)

PRESIDENT

01-

01-

01-

01-

REAR L

SL-N830R 54618-3JA0A

54618-9N00A

54618-3JA0C

CLN-63R

MAXIMA

MURANO

PATHFINDER

12-

16-

12-
FRONT R M12X1.25

SL-N830L 54668-3JA0A

54668-9N00A

54668-3JA0C

CLN-63L

MAXIMA

MURANO

PATHFINDER

12-

16-

12-
FRONT L M12X1.25

SL-N880 54618-5RB0A KICKS P15X 16- FRONT R/L

SL-N900 54618-1LA0A ARMADA Y62J

QX80/QX56

16-

10-
FRONT R/L

SL-N913 54618-3913R RENAULT LAGUNA

RENAULT LATITUDE

11-

10-
SL-N980 54618-7MA0B

MQ721931

SAKURA(BA6W)

EK-XEV(BA5W)

DELICA MINI

DAYZ

DAYZ HIGHWAYSTRA

EK WAGON(MITSUBISHI)

EK X(MITSUBISHI)

22-

22-

23-

13

14-

14-

13-

R/L

SL-C025R 56261-6CC0A ALTIMA 18- REAR R
SL-C025L 62621-6CC0B ALTIMA 18- REAR L
SL-C030R 54618-1LB0A PATROL Y62 10- FRONR R
SL-C030L 54668-1LB0A PATROL Y62 10- FRONT L

SL-C045R 56261-5BC0B MURANO Z52Z 15- REAR R

SL-C045L 56261-5BC0A MURANO Z52Z 15- REAR L

SL-C050R 54618-3TS0A TEANA L33Z 13- FRONT R

SL-C050L 54668-3TS0A TEANA L33Z 13- FRONT L

SL-C055R 56261-3TS0A TEANA L33Z 13- REAR R

SL-C055L 56261-3TS0B TEANA L33Z 13- REAR L

SL-C070 54618-EZ10A TITAN 16- FRONT R/L

SL-C071R 54618-EZ60A TITAN 15- FRONT R

SL-C071L 54668-EZ60A TITAN 15- FRONT L

SL-C075 56261-EZ50A TITAN 16- REAR R/L
SL-C110 54618-6LB0A SENTRA B18 20- FRONT R/L
SL-C125R 56261-6SA0A PATHFINDER R53 21- REAR R
SL-C125L 56261-6SA0B PATHFINDER R53 21- REAR L

SL-C135R
56261-6RR0A

56261-6RA0A

ARIYA

ROGUE

22-

21-
REAR R

SL-C135L
56261-6RR0B

56261-6RA0B

ARIYA

ROGUE

22-

21-
REAR L

SL-C145 56261-9BU0A FRONTIER(D41) 21- REAR R/L



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

SL-C160 54618-7DA0A SERENA(C28) 22- FRONT R/L

CLN-7 54668-9C000

546681C100

54660-9C000

SERENA 93-
M12×1.25

SL-4940R 54618-8J000

54618-CN01E

54618-CN011

44521-52010

CLN-10

ALTIMA

TEANA

MAXIMA

SM7

02-

06-

03-

04-

FRONT L M12×1.25

SL-4940L 54668-8J000

54668-CN011

54668-1CN01E

44520-52010

CLN-11

ALTIMA

TEANA

MAXIMA

SM7

02-

06-

03-

04-

FRONT R M12×1.25

CLN-12 56261-8J000 ALTIMA 02- REAR M10×1.25

CLN-19 54618-6P000

54618-6P001

INFINITY 93-99
FRONT R M12×1.25

CLN-20 54668-6P000

54668-6P001

INFINITY 93-99
FRONT L M12×1.25

CLN-21 54618-60U05

54618-D5015

INFINITY

300ZX

FAIRLADY Z

90-96

88-89 FRONT M10×1.25

CLN-27 54668-EG01B 350Z

FAIRLADY Z

03-04
REAR R

CLN-28 54668-EG01A 350Z

FAIRLADY Z

03-04
REAR R

CLN-51 54618-BC40A

54618-AX600

MICRA 03-
FRONT R/L M10×1.25

CLN-52 54618-4U000 ALMERA 00- FRONT R M10×1.25

CLN-53 54668-4U000 ALMERA 00- FRONT L M10×1.25

CLN-55 54668-CA010 MURANO

TEANA

03-07

03-
REAR L M10X1.25

CLN-59 54618-9C002 SERENA 93- FRONT R M12X1.25

CLN-61 56261-1AA0A SERENA 93- FRONT L M10X1.25

CLN-62 54261-1AA0B MURANO(AWD) 08- REAR L M10X1.25

CLN-65R 54618-EG03A

54618-EG010

54618-EG01A

54618-EG02A
CLN-65L 54668-EG03B

54668-EG02A

54668-EG01B

54668-EG02B
SL-N370 54617-CG000

0223-S50F

CLN-72

INFINITI     FX35

INFINITI     FX45

02-08

03-08 FRONT R/L M12X1.25

CLN-74R 56261-3TA0A

56261-3TA0C
CLN-74L 56261-3TA0B

56261-3TA0D
CLN-75 56261-1PA0A

SL-7390 4056A038

4056A040

42420-65D00

54830-36000

MB-518780

MB-518781

LANCER-FIORE

MIRAGE

LANCER

GRAND VITARA

AIR TREX

87-

87-

88-91

99-02

05-

FRONT R/L M10×1.25

MITSUBISHI

STABILIZER LINK



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

SL-7392 MN-125820

MN-125838

4056A119

COLT

COLT PLUS

COLT RALLIART VERSION R

02-11

04-12

06-

FRONT R/L
M8×1.25

M10×1.25

SL-7205 MB-527385 L300 86-94 FRONT R/L

SL-7680 42420-77A00

1A02-34-150

48822-97503

SL-3311

SL-T650

CARRY

CARRY/EVERY

DAIHATSU GRAN MAX

DAIHATSU LUXIO

MAZDA SCRUM

99-16

01-05

07-

07-

02-
SL-7344 MR-344624

MR-586053

PAJERO SPORT 96-
REAR

SL-7643 MR-267643

MR-151937

L200

PAJERO SPORT

STRADA

TRITON

96-

96-

97-

96-

FRONT

SL-7677R MK-632677 FUSO CANTER 11- RH

SL-7677L MK-632678 FUSO CANTER 11- LH

SL-7700 MB-809355 MITSUBISHI   Airtrek

MITSUBISHI Dingo

MITSUBISHI LANCER

94-96

98-02

01-13

REAR R/L M10×1.25

SL-7701 PW-521020

CLM-2

PROTON WIRA

PROTON WAJA

PROTON GEN 2

PROTON SATRIA

PROTON PERSONA

PROTON PREVE

PROTON PUTRA

PROTON SUPRIMA S

94-96

00-

03-

94-06

07-16

12-22

96-04

13-22

REAR R/L M10×1.25

SL-7705 MB-809354

MB-837400

CLM-3

LANCER

FTO

91-95

94- REAR R/L M10×1.25

SL-7720R MR-132552

MR-267877

CLM-15

PAJERO 92-00
FRONT R M12×1.25

SL-7720L MR-132551

MR-267876

CLM-16

PAJERO 92-00
FRONT L M12×1.25

SL-7750 MB-892981

CLM-6

GALANT 92-

96-00

00-

FRONT R/L M10×1.25

SL-7760 54830-48A00

54830-4A000

54830-4A002

54830-4A003

54830-4A600

54830-4A800

54830-4A802

54830-4A803

54830-4A850

MR-267873

MR-132707

SLK-8210

CLM-17

SPACE GEAR

H1

H200

LIBER0

SATELLITE

STAREX

VERYCAR

L300(DELICA)

L400

94-

97-07

97-07

99-07

99-02

97-09

95-

86-01

94-01

FRONT R/L M12×1.25

SL-7765 55530-48A00

55530-4A000

55530-4A001

55530-4A800

55530-4A801

MR-267875

SLK-8215

CLM-19

SPACE GEAR

H1

H200

SATELLITE

STAREX

94-

97-07

97-07

99-02

97-09
REAR R/L M12×1.25



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

SL-7755 4056A014

54618-6A0A0

K-90124

K-9475

MB-518892

MB-573043

MB-892982

MB-892983

CLT-4

CLM-1

GALANT

DIAMANTE

92-

96-00

95-

REAR R/L

SL-7820R 4056A016

MR-316369

CLM-9

CLM-30

LANCER

MIRAGE

FTO

AIRTREK

01-

96-

98-

95-

94-

01-

FRONT R M10×1.25

SL-7820L 4056A015

MR-316368

CLM-10

CLM-31

LANCER

MIRAGE

FTO

AIRTREK

01-

96-

98-

95-

94-

01-

FRONT L M10×1.25

SL-7825R 4056A028 LANCER 05-
SL-7825L 4056A027 LANCER 05-
SL-7840R K-90672

MR-374522

4056A105

CLM-11

PAJERO

MONTERO

99-

01- FRONT R M10×1.25

SL-7840L K-90671

MR-374521

4056A106

CLM-12

PAJERO

MONTERO

99-

01- FRONT L M12×1.25

SL-7845R MR-418053

4056A012

CLM-13

PAJERO

MONTERO

99-

06-

01-

REAR R M12×1.25

SL-7845L MR-418052

4056A111

CLM-14

PAJERO

MONTERO

99-

01- REAR L M12×1.25

SL-7854 MR-241349

4056A161

MR954887

CLM-37

SL-7871

AIRTREK

LANCER

MIRAGE

01-

95-

95- FRONT M10×1.25

SL-7855 4056A138 PAJERO

MONTERO

NATIVA

08-15

08-15

08-

REAR R/L M10×1.25

SL-7870 MR-954887 COLTPLUS 08- R/L

SL-7877 4056A050 COLT  PLUS 04- R/L

SL-7875 4056A037

MR-403771

CLM-18

LANCER 00-

03- REAR R/L M10×1.25

SL-7885 4056A019

MR-131732

MR-333762

CLM-32

GALANT

MIRAGE

ECLIPSE SPYDER

00-

95-

04-
REAR R/L M10×1.25

SL-7961A MR-161680A CARISMA

LANCER EVOLUTION

FTO

MIRAGE

95-01

94-95

94-00

95-

FRONT R/L M10×1.25

SL-7900R 4056A035

MR-316436

CLM-21

GRANDIS 4WD

GRANDIS

98-03

98-03 FRONT R M10×1.25



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

SL-7900L 4056A034

MR-316435

CLM-20

GRANDIS 4WD

GRANDIS

98-03

98-03 FRONT L M10×1.25

SL-7905 4056A053

4056A132

GRANDIS

PAJERO SPORT

03-

96-
REAR

SL-7950R MR-992310

4410A173

CLM-24

TRITON 05-
FRONT R M12×1.25

SL-7950L MR-992309

CLM-25

TRITON 05-
FRONT L M12×1.25

SL-7952 4056A048 ZINGER 07- FRONT M14X1.5

SL-7960 MR-131680

MR-272116

4056A031

CLM-29

CARISMA

LANCER EVOLUTION

FTO

MIRAGE

95-01

94-95

94-00

95-

FRONT R/L M10×1.25

SL-B360R 4056A199

SL-7953R

TRITON

L200

PAJERO

15-

15-

19-

FRONT R M12×1.25

SL-B360L 4056A198

SL-7953L

TRITON

L200

PAJERO

15-

15-

19-

FRONT L M12×1.25

SL-B382R 4156A169 OUTLAND 21- FRONT R
SL-B382L 4156A170 OUTLAND 21- FRONT L
SL-B386R 4156A165 OUTLAND 21- REAR R
SL-B386L 4156A166 OUTLAND 21- REAR L

SL-B040 4056A263 TRITON

NEW L200

PAJERO

15-

15-

19-

REAR R/L M10×1.25

SL-N100 MB-884359

SL-7967A

PICK UP

CARISMA

95-

95-00
FRONT

SL-7970R MK-382985

CLM-26

CANTER 02-
FRONT R M12×1.25

SL-7970L MK-382984

CLM-27

CANTER 02-
FRONT L M12×1.25

SL-7980 MR-589437

CLM-22

GALANT

ECLIPSE SPYDER

ECLIPSE COUPE

99-

02-

98-03

FRONT R/L M10×1.25

SL-7985 MR-589336

CLM-23

GALANT

ECLIPSE SPYDER

ECLIPSE COUPE

99-

02-

98-03

FRONT R/L M10×1.25

SL-B010 MN-101368

508758

CLM-28

SL-1680

LC62-34-170B

LC62-34-170A

OUTLANDER

OUTLANDER USA

XPANDER

LIVINA

ECLIPSE CROSS

DELICA

OUTLANDER

05-

07-

17-

19-

17-

19-

17-

FRONT R/L

SL-B015R MN-184194

517849

CLM-33

OUTLANDER

OUTLANDER USA

OUTLANDER

05-

07-

17-

REAR R M10X1.25

SL-B015L MN-184193

4056A014

517848

CLM-34

OUTLANDER

OUTLANDER USA

OUTLANDER

05-

07-

17-
REAR L M10X1.25

SL-B018 PW-861115 PROTON SAVVY 05-11 FRONT R/L

SL-B020 PW-827400 PROTON EXORA

PROTON EXORA BOLD

PROTON PREVE

PROTON SAGA BLM

PROTON SAGA FLX

PROTON SAVVY

PROTON SUPRIMA

08-11

11-22

12-22

08-11

11-16

05-11

13-22

FRONT R/L

SL-B021R PW922625 PROTON IRIZ

PROTON PERSONA

14-21

16-21
FRONT R M10X1.25



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

SL-B021L PW923436 PROTON IRIZ

PROTON PERSONA

14-21

16-21
FRONT L M10X1.25

SL-B022 PW922652 PROTON IRIZ

PROTON PERSONA

14-21

16-21
REAR R/L M10X1.25

SL-B040L 4056A133

MR-992191

PAJERO 06-
FRONT R

SL-B040R 4056A134

MR-992192

PAJERO 06-
FRONT L

SL-B070R MR-594340

SL-7594R

CLM-35R

GRANDIS 03-

SL-B070L MR-594339

SL-7594L

CLM-35L

GRANDIS 03-

SL-B090R MR-333763

CLM-7

GALANT

ECLIPSE

STRAUS(DODGE)

SEBRING(CHRYSLER)

99-02

00-

01-

01-

FRONT R M10×1.25

SL-B090L MR-297333

CLM-8

GALANT

ECLIPSE

STRAUS(DODGE)

SEBRING(CHRYSLER)

99-02

00-

01-

01-

FRONT L M10×1.25

SL-B100 MR-267874

MR-150705

DELICA SPACE GEAR

DELICA CARGO

94-

94-
FRONT R/L

SL-B170 4056A191 MIRAGE 12-
SL-B215 4156A031 LANCER EVOLUTION 07- REAR R/L

SL-B370L
MK-383707

SL-7383L

CANTER FE83 97
R M12X1.25

SL-B370R
MK-383708

SL-7383R

CANTER FE83 97
L M12X1.25

SL-P214 PW-868483M PROTON

SATRIA

07-

SL-8038 90101-08038 TOYOTA HILUX 84- R/L

SL-8684 PW-868479 PROTON SATRIA

PROTON NEO

03-

06-
FRONT R/L

SL-8214 PW-821497 PROTON GEN2

PROTON WAJA

04-

01-
FRONT R/L

SL-80244 K-80244 JEEP(JT) 06-
R/L

CLM-36 MR-589337 ENDEAVOR 01-
REAR R/L

CLM-37 4056A161

MR-241349

AIRTREK 01-
FRONT R/L

SL-0824 52088283 CHRYSLER
SL-0825 52088319 CHRYSLER

SL-BZ11R
1403201289

HSL-4011R

BENZ S350 92-96
R

SL-BZ11L
1403201189

HSL-4011L

BENZ S350 92-96
L

SL-W520 3355-1131-131 BMW 520 95- R/L

SL-7274
K-7274

52038736

DODGE DAKOTA

DODGE DURANGO

97-04

99-03
R/L

MAZDA/FORD/GM

STABILIZER LINK



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

SL-1089

4743021AA

4743669AA

4743454AA

4743454AC

TRC096089

K-7258

SL-6089A

4694855

DODGE CARAVAN

CHRYSLER CARAVAN

96-07

FRONT R/L

SL-1090 0603-34-157 PROCEED 65-80 FRONT R/L

SL-1106 1106269

1004018

6960036

93BB-3B438CA

YS71-3B438AA

1004018

1061631

1067818

1071336

1130273

1135077

1471446

1661237

6186082

6188004

1S613B438AA

89FB3B438A1E

96FB3B438AB

98AG3B438AB

YS413B428BB

YS413B438BA

1E00-34-170

1E01-34-170

MONDEO I

FOCUS 1

COUGAR

FIESTA IV

PUMA

94-96

FRONT R/L

SL-1546 5Q0505465C

SL-A546

AUDI A3

AUDI TT

AUDI S3

AUDI RS3

16-

21-

14-

15-

REAR R/L

SL-1190 DG9Z-5484D

DG9Z-5483G

Fusion 13-18
FRONT R/L

SL-1195 F2GZ-5C486A Fusion 13-18 REAR R/L

SL-7371 K-7371 DODGE DURANGO

DODGE ARM 2500 4W

DODGE ARM 3500 4W

98-

94-

94-

REAR R/L

SL-8631 K-8631 FORD CROWN VICTORIA

LINCOLN TOWN CAR

MERUCRY GRAND MARQUIS

92-

91-

92-

FRONT R/L

SL-8853 K-8853 FORD CROWN VICTORIA

LINCOLN TOWN CAR

MERUCRY GRAND MARQUIS

92-

91-

92-

REAR R/L

SL-1214 BK213B438AB FORD TOURNEO 14- FRONT R/L

SL-1221R N243-34-150 MX-5 15- FRONT R

SL-1221L N243-34-170 MX-5 15- FRONT L

SL-1226R N243-28-170 MX-5 15- REAR R

SL-1226L N243-28-190 MX-5 15- REAR L

SL-1282 B097-34158K NAZDA
SL-1330R KS1-3B438AA FORD TERRITORY 1.5 16- FRONT R M12X1.25

SL-1330L KS1-3B438BB FORD TERRITORY 1.5 16- FRONT L M12X1.25

SL-1341R W628-34-150A TITAN 00- FRONT R

SL-1341L W628-34-170A TITAN 00- FRONT L

SL-1390 G030-34-157K CAPELLA

626 MK2

82-87

83-87
FRONT R/L

SL-1395 G030-28-157K CAPELLA

626 MK2

82-87

83-87
REAR R/L



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

SL-1440 8AB1-34-100 FAMILIA

LASER

84-89

84-89
FRONT R/L

SL-1441 B092-34-159

B092-34-159K

FAMILIA

LASER
FRONT R/L

SL-1521 UB39-34-154 PROCEED (B2200) 02-
SL-1550 B455-28-157

S085-34-157

0710-28-775

99803-08120

8AB2-34-100B

MPV 98-

R/L

SL-1551R FD01-34-17X MAZDA RX-7 93-95 FRONT R

SL-1551L FD01-34-19X MAZDA RX-7 93-95 FRONT L

SL-1610R F151-34-150

GA2A-34-150A

GD1E-34-150

L206-34-150A

L206-34-150B

K-80157

KGA2A-34-150

CLMZ-2

CLMZ-6

CAPELLA

323/323F

626

CX-7

FAMILIA

MIATA

MPV

MX-5

MX-6

ROAPSTER

RX-8

XEPOS 6

94-97

94-98

91-97

07-15

94-98

98-15

06-16

98-15

91-98

03-15

03-12

92-99

FRONT R M10×1.25

SL-1610L F151-34-170

GA2A-34-170

GA2A-34-170A

L206-34-170A

L206-34-170B

K-80157

KGA2A-34-170

CLMZ-3

CLMZ-7

CLMZ-37

CAPELLA

323/323F

626

CX-7

FAMILIA

MIATA

MPV

MX-5

MX-6

ROAPSTER

RX-8

XEPOS 6

94-97

94-98

91-97

07-15

94-98

98-15

06-16

98-15

91-98

03-15

03-12

92-99

FRONT L M10×1.25

SL-1612 4519467 FORD TRANSIT
SL-1615 20470-AE001

20470-AE000

EA01-28-170D

GA2B-28-170

GA2B-170A

GA2B-170B

GA2C-28-170

GA2C-170A

GA2C-170B

K-90428

K-90693

KH380-34-170C

CLMZ-1

CAPELLA

IEGACY

94-97

03-

REAR R/L M10×1.25

SL-1630R GA6A-34-150A

GJ6A-34-150A

GK2A-34-150A

K-80250

CLMZ-9

ATENZA

MAZDA 6

02-

03-
FRONT R M10×1.25

SL-1630L GJ6A-34-170A

GK2A-34-170

CLMZ-10

ATENZA

MAZDA 6

02-

03- FRONT L M10×1.25

SL-1635 CK2A-28-170

GJ6A-28-170A

GJ6A-28-170B

CLMZ-11

ATENZA

MAZDA 6

02-

03- REAR R/L M10×1.25



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

SL-1650 BP4K-34-170D

BP4K-34-170C

BP4K-34-170B

BP4K-34-170A

BP4K-34-170

B37F-34-170A

CLMZ-12

B38W-34-170

54616-HA00A

MAZDA3 HATCHBACK

MAZDA3 2.3L W/TURBO

03-

07-

FRONT R/L M10×1.25

SL-1652 2M51-5E494AB FOCUS 08- REAR R/L

SL-1661 1F60-34-158

ZZP0-34-158

ZZPO-34-158A

MAZDA B2300

MAZDA B4000

07-

09- R/L

SL-1655 BP4K-28-170D

CLMZ-40

MAZDA3

MAZDA5

05-

06-
REAR R/L

SL-1657 6G9N-3B438BA FORD MONDEO 06-13 FRONT R/L M10X1.25

SL-1660 B26R-34-170

CLMZ-20

MAZDA 323

PREMACY

PROTÉGÉ

98-00

99-06

99-03

FRONT R/L

SL-1665 BJ0E-28-170

46650-86Z00

30884358

CLMZ-18

PROTÉGÉ 99-03

REAR R/L M10×1.25

SL-1675 6G91-5C486XAB FORD MONDEO 06-13 REAR R/L M8X1.25

SL-1685 B26R-28-170

CLMZ-21

MAZDA 323

PREMACY

FAMILIA

98-00

99-06

00-

REAR R/L

SL-1695 GE4T-28-170

CLMZ-22

CAPELLA 99-
REAR R/L M10X1.25

SL-1705 B30H-28-170B

CLMZ-15

PREMACY

PROTÉGÉ

PROTÉGÉ 5

01-

01-03

01-03

REAR R/L M10×1.25

SL-1711
DG9C-3B438ANC

5182780

FOCUS 18-
R/L

SL-1712 2216271 FOCUS 18- R/L

SL-1750 D350-34-170 DEMIO 05- FRONT R/L

SL-1760 BBM2-34-170A

B39D-34-170

669N3B438

AV61-3B438AA

42420-62J00

42420-62J01

CLMZ-30

MAZDA 3

MAZDA PREMACY

VOLVO S60/V60

FORD KUGA

SUZUKA SPLASH

09-

05-

08-

10-

06-

FRONT R/L M10X1.25

SL-1770R TD11-34-150A

CLMZ-31

CX-9 07-
FRONT R M12X1.25

SL-1770L TD11-34-170A

CLMZ-32

CX-9 07-
FRONT L M12X1.25

SL-1775 L206-28-170

CLMZ-26

CX-9

MPV(LY3P)

07-10

07-
REAR R/L M10X1.25

SL-1776 7T4Z-5A486AA FORD EDGE 07- REAR R/L M10X1.25

SL-1777 669N3B438 VOLVO V60 14-16
SL-1790R GS1D-34-150

CLMZ-27

MAZDA 6 07-
FRONT R

SL-1790L GS1D-34-170

CLMZ-28

MAZDA 6 07-
FRONT L

SL-1795 GS1D-28-170

CLMZ-29

MAZDA 6 07-
REAR R/L



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

SL-1800 1A04-34-150

8V51-3B438BB

BC1D-28-170

BC1D-28-170A

E112-34-150

E112-34-150A

EC01-34-150A

EC01-34-150A

D651-34-170

d651-34-170A

DA6A-34-170

DA7V-34-170

YL8Z-5K-483-AA

48820-WB002

48830-21010

48830-32040

48830-32041

42420-68H00

54618-4A00D

CLMZ-4

CLMZ-5

CLT-42

SL-1575

PROTÉGÉ,323

FAMILIA

ESCAPE(FORD)

TRIBUTE

MAZDA 3

DEMIO

SCRUM

USA YARIS Ia

MAZDA CX-3

95-98

9401-03

01-03

07-

11-

11-

05-

18-

16-

REAR R/L

FRONT
M10×1.25

SL-1801 1513343 MAZDA2

SL-1820 S10H-34-150

SU00300394

CLMZ-33

BONGO FRIENDEE

SCION FR-S

TOYOTA 86-

GT86-

96-

13-

12-

12-

FRONT R/L

SL-1825 S10H-28-170 BONGO FRIENDEE 96- REAR R/L

SL-1830 LC70-34-170

CLMZ-38

MPV 99-
Fr. R/L

SL-1860 KD35-34-170

CLMZ-36

CX-5

MAZDA 6

MAZDA CX-9

MAZDA CX-8

10

15-

17-

18-

FRONT R/L

SL-1865L KD31-28-190

CLMZ-35L

CX-5

MAZDA 6

MAZDA 3

MAZDA CX-8

10-

15-

15-

18-

REAR-L

SL-1865R KD31-28-170

CLMZ-35R

CX-5

MAZDA 6

MAZDA 3

MAZDA CX-8

10-

15-

15-

18-

REAR-R

SL-9214 92149170 GM MOTO
SL-9408 JX61-3B438AKC FORD FOCUS 19- FRONT R/L M12×1.25

SL-9409 LX61-3B438ANC FORD KUGA 20- FRONT R/L M12×1.25

SL-9420R E181-34-150 ESCAPE(FORD)

TRIBUTE

06-

03-
FRONT R

SL-9420L E181-34-170 ESCAPE(FORD)

TRIBUTE

06-

03-
FRONT L

SL-9430 EF91-34-150A

ZZCO-34-150

ZZC0-34-150A

7L8Z5K483B

2S65-3B438BA

2S613B438AC

1146150

ESCAPE(FORD)

TRIBUTE

05-

FRONT R/L

SL-S030 54616-4A00A

1A00-34-170

46630-58J00

MOCO(NISSAN)

WAGON R

06-

03-07 FRONT R/L



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

SL-M010R NC10-34-150

CLMZ-13

SL-1140R

MIATA(USA)

MX-5

ROADSTER

99-05

99-05

03-

FRONT R M10×1.25

SL-M010L NC10-34-170

CLMZ-14

SL-1140L

MIATA(USA)

MX-5

ROADSTER

99-05

99-05

03-

FRONT L M10×1.25

SL-M020 DD32-34-170B MAZDA 2 03
SL-M040R F189-34-150 RX8 08-
SL-M040L F189-34-170 RX8 08-
SL-M045 F151-28-170 RX8 08- REAR R/L M10×1.25

SL-M050R B45A-34-150

B45H-34-150

BADE-34-150

N4973034

CLMZ-34R

SL-1761R

AXELA

MAZDA 3

14-

16-

FRONT R

SL-M050L B45A-34-170

B45H-34-170

AXELA

MAZDA 3

14-

16-

FRONT L

SL-M081L UC7C-34-170

AB313053CA

SL-UC7CL

FORD RANGER

MAZDA BT50

13-

13- FRONT R M12X1.25

SL-M081R UC7C-34-150

AB313052CA

SL-UC7CR

FORD RANGER

MAZDA BT50

13-

13- FRONT L M12X1.25

SL-M080 UC2R-34-150

AB313052AA

SL-UC2R

FORD RANGER 2WD

MAZDA BT50 2WD

13-

13- FRONT R/L M12X1.25

SL-M085R EB3C-30-52BA MAZDA BT50 3.2

FORD RANGER 3.2

16-

16-

16-

16-

FRONT R M12X1.25

SL-M085L EB3C-30-53BA MAZDA BT50 3.2

FORD RANGER 3.2

16-

16-

16-

16-

FRONT L M12X1.25

SL-M087L JB3C-30-52AA MAZDA BT50 2.2

FORD RANGER 2.2

16-

16-

16-

16-

FRONT R/L M12X1.25

SL-M088 EB3C-5C486BA

EB3C-5C486AD

EB3C5C486BA

MAZDA BT50 2.2/3.2

FORD RANGER 2.2/3.2

16-

16-

16-

16-

REAR R/L M12X1.25

SL-M170R 1D01-34-150

UC7C-34-150

BT-50 4WD 15-
FRONT R M12X1.25

SL-M170L 1D01-34-170

UC7C-34-170

BT-50 4WD 15-
FRONT L M12X1.25

SL-M225 ZZD1-28-171 TRIBUTE 08- FRONT R/L

SL-Y312 68264312AA DODGE CHALLENGER

CHRYSLER 300

DODGE CHARGER

08-

11-

11-

IN R/L
M18×1.5

M16×1.5

SL-1725 UR58-28-170 BT50/RANGER 08- REAR R/L

SL-1735 UR61-28-170 BT50/RANGER 4WD 08-
REAR R/L

CLMZ-23 L206-34-150A CX-7
FRONT R M10×1.25

CLMZ-24 L206-34-170A CX-7 FRONT L M10×1.25

CLMZ-25 T001-28-170A

T001-28-170B

MILLENIA

XEDOS 9

95-02
RE

SUZUKI

STABILIZER LINK



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

SL-1760 BBM2-34-170A

B39D-34-170

42420-62J00

CLMZ-30

MAZDA 3

SPLASH(SUZUKI)

09-

08- FRONT R/L M10X1.25

SL-7390 4056A038

4056A040

42420-65D00

54830-36000

MB-518780

MB-518781

MR-319147

CLKH-2

CLM-4

CLS-1

LANCER-FIORE

MIRAGE

LANCER

GRAND VITARA

AIR TREX

87-

87-

88-91

99-02

05- FRONT R/L M10×1.25

SL-7462A 46630-60B01

CLS-12
AERIO

BALENO

CULTUS

LIANA

SWIFT

02-

95-

96-

01-

89-
SL-7540 42420-60A00

54830-S6101

ESCUDO

(VITARA)

88-

SL-7560 42420-63J00

4709702

CLS-8

SWIFT

SWIFT SPORT

04-

05- FRONT M10×1.25

SL-7560A 6G9N-3B438BA FORD GALAXY

FORD MONDEO S

06-15

07-15
R/L

SL-7562 42420M68K00

42420-68K00

2S65-3B438BA

ALTO

FORD FIESTA

08-

02-

FRONT R/L

SL-7620 42420-67D00

CLS-2

ESCUDO

VITARA

99-04

99-04
FRONT R/L

SL-7630 42420-59J00

42420-80J00

42420-77M00

42420-77M01

42420-55K02

42420-55K10

42420M55K10

BDTS-34-170A

BCKE-34-170

MQ501010

MQ513900

SL-S040

SL-S140

CLS-3

CLS-16

ALTO A-Star

CIAZ

AERIO

CELERIO

ERTIGA

ESCUDO

KIZASHI

LIANA

SOLIO

SWIFT 4

SWIFT 5

VITARA

SX-4

SX-4 S-Cross

MAZDA CX-30

MAZDA 3

MITSUBISHI DELICA D:2

CX-50

S CROSS

MAZDA3 MEXICO

MAZDA MX-30

08-

14-

07-

14-

12-

17-

09-

01-

11-

10-

17-

18-

11-

17-

19-

19-

15-

23-

20-

19-

20-

FRONT R/L M10×1.25

SL-7635 46630-59J00

20420-KG000

CLS-4

AERIO

BALENO

SUBARU R1/R2

03-

04-

01-

REAR M10×1.25

SL-7660 42420-65J00

CLS-9

GRAND VITARA 08-
FRONT R/L M10×1.25

SL-7670 42420-61J00 APV

SUPER CARRY(TW)

04-

17-
FRONT R/L

SL-7673 42420-81A18 JIMNY 17- FRONT R/L



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

SL-7682R 42420-78J00

15779961

96844892

K950189

CHEVROLET EQUINOX

CHEVROLET CAPTIVA SPORT

SUZUKI XL-7

12-

FRONT R

SL-7682L 42430-78J00

K750188

CHEVROLET EQUINOX

CHEVROLET CAPTIVA SPORT

SUZUKI XL-7

12-
FRONT L

SL-777A 42420-77A00

SL-7680

CARRY 05-08

11-
FRONT R/L

SL-7690 42420-85K00

42420-85K01

54616-4A00C

54616-4A00E

1A05-34-150A

WAGON R

MR WAGON

MOCO(NISSAN)

08-

11-

11- FRONT R/L

SL-S030 54616-4A00A

1A00-34-170

46630-58J00

MOCO(NISSAN)

WAGON R

06-

03-07 FRONT R/L

SL-S040 42420-77M00

42420-77M01

BCKE-34-170

BDTS-34-170A

SUZUKI ERTIGA

MAZDA CX-30

SX4 CROSS

ESCUDO

MAZDA3 MEXICO

MAZDA MX-30

12-

18-

15-

15-

19-

20-

FRONT R/L

SL-S050 42420-81A10

52320-S2A-003

1A03-34-150

CLS-10

JIMNY AZ-OFFROAD(JM23W)

JIMNY

01-

18- REAR R/L

SL-S060 42420-81A00 JIMNY 98- FRONT R/L

SL-S075 46620-57L00

48820-24010

KIZASHI 09-
REAR R/L

SL-S140 42420-80J01

42420-55K10

42420M55K10

42420M55K02

MQ-501010

MQ-513900

SOLIO(MA15S)

DELICA D2 (MB15S)

S-CROSS

SWIFE SPORT

SWIFE DZIRE

10-

11-

15-

11-

12-

FRONT R/L

SL-S030 54616-4A00A

1A00-34-170

46630-58J00

MOCO(NISSAN) 06-
FRONT R/L

SL-S170 42420-74P00

1A07-34-150

42420M66R00

ALTO

DELICA D2

CAROL

IGNIS

14-

15-

15-

17-

FRONT R/L

SL-S180 42420-68R00

42420-68R01

42420M68P00

42420-68P00

42420-53R00

42420-53R01

42420M60M60

SWIFT SPORT (ZC33S)

SWIFT DZIRE

ERTIGA(ARL415)

BALENO(A1K412)

17-

17-

18-

16- FRONT R/L M10X1.25

SL-S200
42420-52R00

42420-52R01 (ZC83S)

SWIFT 17-
FRONT R/L

SL-S330 42420-82M01

42420-82M00

SUPER CARRY 18-
R/L

CLS-5 46630-85Z00 FORENZA 04-
FRONT R M10×1.25

CLS-6 46640-85Z00 FORENZA 04-
FRONT L M10×1.25

CLS-7 46650-85Z00 FORENZA 04- REAR R/L M10×1.25



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

SL-7463R 46630-80F00

CLS-13R

AERIO

BALENO

CAPPUCCINO

CULTUS

LIANA

01-

95-

91-

96-

01-

REAR R M10×1.25

SL-7463L 46640-80F00

CLS-13L

AERIO

BALENO

CAPPUCCINO

CULTUS

LIANA

01-

95-

91-

96-

01-

REAR R M10×1.25

SL-5315 8-97018-125-2

CLIS-3

BIG HORN（TROOPER）

MU(AMIGO,RODEO SPORT)

WIZZARD(RODEO)

92-02

89-

98-

FRONT R/L M10×1.25

SL-5360 8-97944-575-0

8-97214-822-0

D-MAX 02-
FRONT R/L

SL-5365 8-98044-517-0

8-97235-922-0

8-97235-922-1

D-MAX 02-
REAR R/L

SL-5392R 8-98390-134-0 D-MAX

MU-X

MAZDA BT-50

20-

20-

20-

FRONT R

SL-5392L 8-98390-135-0 D-MAX

MU-X

MAZDA BT-50

20-

20-

20-

FRONT L

SL-5400R 8-97944-568-0

8-97235-786-0

D-MAX 4WD

MU-X

02-

14-
FRONT R

SL-5400L 8-97944-569-0

8-97235-787-0

8-97235-787-1

D-MAX 4WD

MU-X

02-

14- FRONT L

SL-5430R 8-97018-227-1

8-97018-227-2

8-97289-819-0

CLIS-2

8-97125-013-0

SL-5310R

BIG HORN（TROOPER）

MU(AMIGO,RODEO SPORT)

WIZZARD(RODEO)

92-02

89-

98- FRONT R M10×1.25

SL-5430L 8-97018-227-1

8-97018-228-2

8-97289-820-0

8-97125-014-0

CLIS-1

SL-5310L

BIG HORN（TROOPER）

MU(AMIGO,RODEO SPORT)

WIZZARD(RODEO)

92-02

89-

98- FRONT L M10×1.25

SL-5505 8-97253-956-1

CLIS-5

SL-5325

AMIGO

RODEO

RODEO SPORT

98-00

98-04

01-03

REAR R/L M10×1.25

SL-5361 8-97214-822-1

CLIS-4

D-MAX 02-
FRONT R/L M10×1.25

SL-3280R 48821-B1010

48821-B1030

48821-B1031

CLD-1

MYVI(PERODUA)

SIRION

05-07

11-※ FRONT R M10X1.25

SL-3280L 48831-B1010

48831-B1020

MYVI(PERODUA)

SIRION

05-07

11-※
FRONT L M10X1.25

SL-3330 48821-B2010 MOVE 02-
FRONT R/L

ISUZU

STABILIZER LINK

DAIHATSU

STABILIZER LINK



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

SL-3340 48820-B2010

48820-B2011

48820-32010

MOVE

TANTO

06-

07- FRONT R/L

SL-3351 48822-87560 DAIHATSU
SL-T080 48820-B0020

48820-BZ070

CLT-93

TERIOS 07-
FRONT R/L

SL-1615 20470-AE000

20470-AE001

LEGACY

LEGACY

99-03

03-04
FRONT

SL-6650 20470-SA000

20470-SA001

LEGACY

FORESTER

03-

05-
FRONT R/L M10×1.25

SL-6651 20420-AA001

20420-AA002

IMPREZA

LEGACY

92-07

98-03
FRONT R/L

SL-6656 20481-AA001 IMPREZA

LEGACY

92-07

98-03
REAR R/L

SL-6675 20470-SA011

CLSU-2

FORESTER 02-07
REAR R/L M10×1.25

SL-6685 20470-SC000

20470-AJ010

FORESTER

LEGACY

FORESTER(SJ5)

XV-(GP#)

08-

09-

12-

12-

REAR R/L

SL-6686 20470-SC00T FORESTER 08-
REAR R/L

SL-6700 20420-KE000

CLSU-6

PLEO 98-
FRONT R/L

SL-6710 20420-FA020

CLSU-5

LEGACY 99-
FRONT R/L

SL-6720 20420-AJ000

SL-6636

LEGACY 09-
FRONT R/L

SL-6730 20420-XA000

CLSU-4

OUTBACK

FORESTER

10-

10-
FRONT

SL-6750R 20420-FL000

20420-FL00A

IMPREZA SPORT

LEGACY

IMPREZA(USA)

16-

20-

16-

FRONT R

SL-6750L 20420-FL010

20420-FL01A

IMPREZA SPORT

LEGACY

IMPREZA(USA)

16-

20-

16-

FRONT L

SL-6755R 20470-FL000 IMPREZA SPORT 16-
REAR R

SL-6755L 20470-FL010 IMPREZA SPORT 16-
REAR L

SL-6770R 20420-FL020 FORESTER XV

LEVORG

17-

20-
FRONT R

SL-6770L 20420-FL030 FORESTER XV

LEVORG

17-

20-
FRONT L

SL-6845 20470-AN00A LEGACY BW9 20-
R/L

SL-6SL5R 52320-SL0-013 NSX (ACURA) 91-05 REAR R
SL-6SL5L 52330-SL0-013 NSX (ACURA) 91-05 REAR L
SL-6SS0 52320-SS0-003 PREIUDE 91- REAR R/L

SL-6110
90112-SE0-000 ACCORD

CIVIC

CRX

86-89

88-00

88-91

FRONT R/L M8X1.25

SUBARU

STABILIZER LINK

HONDA

STABILIZER LINK



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

SL-6151R
51320-S30-N21

CLHO-88R

PRELUDE (BB6) 96-00
FRONT R M10×1.25

SL-6151L
51321-S30-N21

CLHO-88L

PRELUDE (BB6) 96-00
FRONT L M10×1.25

SL-6155 52320-S30-003 PRELUDE 97- REAR R/L

SL-6230
90112-SX8-000

SL-6231

CITY 99-
FRONT R/L

SL-6235 52325-SX8-T30 CITY 99- REAR R/L

SL-6213 52306-SE0-A00

52306-SE0-030

ACCORD

INSPIRE

ODYSSEY

S-MX

89-

95-

97-

96-

REAR R/L

SL-6225R 52320-S10-003

CLHO-12

CR-V 95-

98-
REAR R M10×1.25

SL-6225L 52321-S10-003

CLHO-13

CR-V 95-

98-
REAR R M10×1.25

SL-6260 51320-S04-003

51320-S10-003

51321-S10-003

CLHO-2

CIVIC

CR-V

95-

95- FRONT R/L M10×1.25

SL-6265R 52320-S04-003

CLHO-14

CIVIC 95-
REAR R M10×1.25

SL-6265L 52321-S04-003

CLHO-15

CIVIC 95-
REAR L M10×1.25

SL-6270R 51320-S5A-003

51320-S9A-003

51320-SCV-A91

K-90455

CLHO-10

ELEMENT

CR-V

STREEM

07-11

01-

03- FRONT R M10×1.25

SL-6270L 51321-S5A-003

51321-S9A-003

51321-SCV-A91

K-90454

CLHO-11

ELEMENT

CR-V

STREEM

07-11

01-

03- FRONT L M10×1.25

SL-6275R 52320-S9A-003

52320-SCV-A00

CLHO-18

CR-V 01-
REAR R M10×1.25

SL-6275L 52321-S9A-003

52321-SCV-A00

CLHO-19

CR-V 01-
REAR L M10×1.25

SL-6280R 51320-S84-A01

51320-S84-A02

K-90340

CLHO-6

ACCORD

INSPIRE

97-

98- FRONT R M10×1.25

SL-6280L 51321-S84-A01

51321-S84-A02

K-90341

CLHO-7

ACCORD

INSPIRE

97-

98- FRONT L M10×1.25

SL-6285R 52320-S84-A01

52320-S84-A02

K-90342

CLHO-8

ACCORD

INSPIRE

97-

98- REAR R M10×1.25

SL-6285L 52325-S84-A01

52325-S84-A02

K-90343

CLHO-9

ACCORD

INSPIRE

ACURA TL

ACCORD HYBRID

97-02

98-

04-

05-

REAR L M10×1.25

SL-6292 OK72A-34-150A PRRGIO 95-
SL-6300R 51320-SEL-T01

51320-SEL-T02

CLHO-25

FIT ARIA

CITY

FIT

02-

03-

02-09
FRONT R M12×1.25



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

SL-6300L 51321-SEL-T01

51321-SEL-T02

52320-SEL-T01

CLHO-73

CLHO-26

FIT ARIA

CITY

FIT

02-

03-

02-09 FRONT L M12×1.25

SL-H501 51320-TBA-A01

51308-TBA-A00

CIVIC

CIVIC(USA)

16-

15-
FRONT R/L M10×1.25

SL-H506 52320-TBA-A01 CIVIC

CIVIC(USA)

16-

15-
REAR R/L M10×1.25

SL-H836 52320-T60-J01 CIVIC 23- REAR

SL-H860 51320-SJC-A01 RIDGELINE(YK1) 06- FRONT R/L

SL-H990R 51320-TDM-J01 FREED (GB6) 17- FRONT R

SL-H990L 51325-TDM-J01 FREED (GB6) 17- FRONT L

SL-H991R 51320-TRY-M01 WRV 1.2

WRV 1.5

20-

21-
FRONT R M10×1.25

SL-H991L 51325-TRY-M01 WRV 1.2

WRV 1.5

20-

21-
FRONT L M10×1.25

SL-H960R 51320-SMB-003

SL-H330R

STREAM(RN7,9) 07-
FRONT R

SL-H960L 51321-SMB-003

SL-H330L

STREAM(RN7,9) 07-
FRONT L

SL-6310R 51320-SDA-A04

51320-SEA-E01

51320-SDR-003

CLHO-27

ACCORD 03-

FRONT R M10×1.25

SL-6310L 51321-SDA-A04

51321-SEA-E01

52321-SDA-003

CLHO-28

ACCORD 03-

FRONT L M10×1.25

SL-6311R 51320-SDA-A05

K-90457

CLHO-29

ACCORD 04-05
FRONT R M10×1.25

SL-6311L 51321-SDA-A05

52320-SDA-A05

K-90456

CLHO-30

ACCORD 04-05

FRONT L M10×1.25

SL-6316R 52305-SP0-020

52305-SP0-A02

LEGEND 91-95
REAR R

SL-6316L 52306-SP0-020

52306-SP0-A02

LEGEND 91-95
REAR L

SL-6320R 51320-S2H-003

CLHO-21

HR-V

HR-V 4WD

99-
FRONT R M10×1.25

SL-6320L 51321-S2H-003

CLHO-22

HR-V

HR-V 4WD

99-
FRONT L M10×1.25

SL-6325R 52320-S2H-003

CLHO-43

HRV

HR-V 4WD

98-

99-

98-

99-

REAR R M10×1.25

SL-6325L 52321-S2H-003

CLHO-44

HRV

HR-V 4WD

98-

99-

98-

99-

REAR L M10×1.25

SL-6335R 52320-S5A-013

K-90452

CLHO-16

CIVIC 00-05
FRONT R M10×1.25

SL-6335L 52321-S5A-013

K-90453

CLHO-17

CIVIC 00-05
FRONT L M10×1.25

SL-6340R 51320-SAA-003

51320-SDA-P01

54830-3B000

54830-3B010

CLKH-72

FIT

EQUUS(CENTENNIAL)

02-

FRONT R M12×1.25



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

SL-6340L 51321-SAA-003

55580-3B000

55580-3B010

CLKH-26

FIT

EQUUS(CENTENNIAL)

99-

FRONT L M10×1.25

SL-6360R 51320-SAE-T01

CLHO-45

JAZZ 03-
FRONT R M12×1.25

SL-6360L 51321-SAE-T01

CLHO-46

JAZZ 03-
FRONT L M12×1.25

SL-6380R 51320-S2R-003

51320-SNA-A02

CLHO-47

CIVIC

CIVIC COUPE

CIVIC SEDAN

05-

06-

06-

FRONT R M10×1.25

SL-6380L 51321-S2R-003

51321-SNA-A02

CLHO-48

CIVIC

CIVIC COUPE

CIVIC SEDAN

05-

06-

06-

FRONT L M10×1.25

SL-6385R 52320-SNA-A01 CIVIC

CIVIC COUPE

CIVIC SEDAN

05-

06-

06-

REAR R

SL-6385L 52321-SNA-A01 CIVIC

CIVIC COUPE

CIVIC SEDAN

05-

06-

06-

REAR L

SL-6388R 51320-TR0-A01

CLHO-76R

CIVIC 11-
FRONT R M10X1.25

SL-6388L 51321-TR0-A01

CLHO-76L

CIVIC 11-
FRONT L M10X1.25

SL-6390 51320-SHJ-A02

CLHO-77

ODYSSEY USA

ODYSSEY

05-

10-
FRONT R/L M12×1.25

SL-6400 51320-S0X-A02

06513-S0X-A00

MR-V

ODYSSEY 2WD

03-

99-
FRONT M12×1.25

SL-6415R 52320-S3V-023

52320-S3V-013

PILOT

ACURA MDX

06-

06-
REAR R M10×1.25

SL-6415L 52325-S3V-023

52325-S3V-013

PILOT

ACURA MDX

06-

06-
REAR L

SL-H010 51320-SFE-003

51320-SFE-J01

CLHO-65

ODYSSEY 03-08
FRONT R/L M12X1.25

SL-H015R 52320-SFE-013

CLHO-66

ODYSSEY 03-08
REAR R M10×1.25

SL-H015L 52321-SFE-013

CLHO-67

ODYSSEY 03-08
REAR L M10×1.25

SL-H016R 52320-SFE-013

52320-SFJ-003

CLHO-66

ODYSSEY 09-13
REAR R M10×1.25

SL-H016L 52321-SFJ-013

52321-SFJ-003

CLHO-67

ODYSSEY 09-13
REAR L M10×1.25

SL-H020 51320-STK-A01

51320-T0A-A01

CLHO-64

CR-V

ACURA RDX

CR-V

08-

07-

12-

FRONT R/L M12×1.25

SL-H025R 52320-SWA-A01

CLHO-53

CR-V 08-
REAR R M10×1.25

SL-H025L 52321-SWA-A01

CLHO-63

CR-V 08-
REAR L M10×1.25

SL-H026R 51320-T2A-A01

CLHO-80R

ACCORD 13-
REAR R M10×1.25

SL-H026L 51325-T2A-A01

CLHO-80L

ACCORD 13-
REAR L M10×1.25

SL-H045 52320-S3N-013

CLHO-74

ODYSSEY 99-03
REAR R/L

SL-H060R 51320-SLA-003

CLHO-60

FIT

AIRWAVE

07-

05-10
FRONT R M10×1.25

SL-H060L 51321-SLA-003

CLHO-61

FIT

AIRWAVE

07-

05-10
FRONT L M10×1.25



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

SL-H070R 51320-TA0-A01

CLHO-49

INSPIRE

ACCORD USA SEDAN

ACCORD USA COUPE

ACCORD 4DDOR

ACURA TL

ACCORD TOURER

08-

08-

08-

08-09

09-

08-

FRONT R M10×1.25

SL-H070L 51325-TA0-A01

CLHO-50

INSPIRE

ACCORD USA SEDAN

ACCORD USA COUPE

ACCORD 4DDOR

ACURA TL

ACCORD TOURER

08-

08-

08-

08-09

09-

08-

FRONT L M10×1.25

SL-H075R 52320-TA0-A01

CLHO-51

INSPIRE

ACCORD USA SEDAN

ACCORD USA COUPE

ACCORD 4DDOR

ACURA TL

ACCORD TOURER

ACURA TSX

08-

08-

08-

08-09

09-

08-

09-

REAR R M10×1.25

SL-H075L 52325-TA0-A01

CLHO-52

INSPIRE

ACCORD USA SEDAN

ACCORD USA COUPE

08-

08-

08-

REAR L M10×1.25

SL-H080R 51320-SEP-A01

CLHO-38

ACURA TL 04-
FRONT R M12×1.25

SL-H080L 51321-SEP-A01

CLHO-39

ACURA TL 04-
FRONT L M12×1.25

SL-H095 52320-STK-A01

CLHO-71

ACURA RDX 07-09
REAR

SL-H105R 52320-STX-A01

52320-STX-A02

ACURA MDX 07-
REAR R

SL-H105L 52325-STX-A01

52325-STX-A02

ACURA MDX 07-
REAR L

SL-H110

51320-TF0-003

51320-TG0-T01

CLHO-70

CITY

CRZ

FIT

FIT(USA)

INSGIHT

JAZZ

BRV

08-13

10-17

08-13

08-14

09-14

15

16-

FRONT

R/L
M10X1.25

SL-H130

51320-SYY-J01

51320-SYY-003

51320-SCC-003

SL-H250

CLHO-75

54 61 800 04R

35057 01

4419291

93197325

JTS930

CLRE-8

FREED

FREED SPIKE

MOBILIO 11-16

OPEL MOVANO

OPEL MOVANO M

RENAULT MASTER

08-14

11-16

10-16

99-10

10-

10-18
FRONT

R/L
M10X1.25

SL-H140 51320-SMG-E01

CLHO-62

EURO CIVIC

CIVIC TYPE-R EURO

07-

09- FRONT R/L M10×1.25

SL-H160 51320-S2K-003 LIFE 99- FRONT R/L

SL-H170R 51320-SFA-005 LIFE

ZEST

04-

06-
FRONT R

SL-H170L 51321-SFA-005 LIFE

ZEST

04-

06-
FRONT L

SL-H180R 51320-SED-013

CLHO-29

ACCORD WAGON 03-07
FRONT R M10X1.25

SL-H180L 51321-SED-013

CLHO-30

ACCORD WAGON 03-07
FRONT L M10X1.25

SL-H185 52320-SED-003 ACCORD WAGON 03-07 Rr. R/L



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

SL-H190R 51320-S3C-003

CLHO-78R

VAMOS 99-
FRONT R

SL-H190L 51321-S3C-003

CLHO-78L

VAMOS 99-
FRONT L

SL-H200R 51320-SAA-J01 FIT 04- FRONT R

SL-H200L 51321-SAA-J01 FIT 04- FRONT L

SL-H210 51320-S7S-003 STEP WAGON 01- FRONT R/L

SL-H230R 51320-SZH-004 LIFE 10-
SL-H230L 51321-SZH-004 LIFE 10-
SL-H245R 52320-SFY-J01

52320-SDR-003

52320-SDA-A01

ACCORD 06-
REAR R

SL-H245L 52325-SFY-J01

52325-SDR-003

52325-SDA-A01

ACCORD 06-
REAR L

SL-H250 51320-SCC-003 MOBILIO 02- FRONT R/L

SL-H260 90112-S47-000LR STEPWGN 96-01
SL-H261R 51320-S2A-A03 CAPA

INTERGA

LOGO

S2000

XEDOS9

98-

01-

96-

99-

93-

FRONT R M10X1.25

SL-H261L 51321-S2A-A03 CAPA

INTERGA

LOGO

S2000

XEDOS9

98-

01-

96-

99-

93-

FRONT L M10X1.25

SL-H266 52320-S2A-003

CLHO-79

S2000 99-
REAR R/L M10X1.25

SL-H270R 51320-SLJ-003 STEP WAGON 05-09 FRONT R

SL-H270L 51321-SLJ-003 STEP WAGON 05-09 FRONT L

SL-H280R 51320-SZW-003 STEP WAGON 09- FRONT R

SL-H280L 51321-SZW-003 STEP WAGON 09- FRONT L

SL-H290L T001-34-170A

51320-S2A-003

51320-S2G-003

CLMZ-16

SL-T001L

MILLENIA

S2000

95-02

99-09
FRONT R M10×1.25

SL-H290R T001-34-17XA

51321-S2A-003

51321-S2G-003

CLMZ-17

SL-T001R

MILLENIA

S2000

95-02

99-09
FRONT L M10×1.25

SL-H300R 51320-S1F-003 LIFE 97-98 FRONT R

SL-H300L 51321-S1F-003 LIFE 97-98 FRONT L

SL-H310 51320-ST7-003

CLHO-1

CIVIC 92-97
FRONT M10×1.25

SL-H325R 52320-S7A-003

SL-6277R

STEP WAGON 01-
FRONT R/L

SL-H325L 52321-S7A-003

SL-6277L

STEP WAGON 01-
FRONT R/L

SL-H330R 51320-SMA-003

51320-SMB-003

51320-SYP-003

CLHO-91R

HONDA STREAM

CROSSROAD

06-

02-08 FRONT R

SL-H330L 51321-SMA-003

51321-SMB-003

51321-SYP-003

CLHO-91L

HONDA STREAM

CROSSROAD

06-

02-08 FRONT L

SL-H335R 52320-SMA-J01 HONDA STREAM 06-
SL-H335L 52321-SMA-J01 HONDA STREAM 06-
SL-H345R 52320-SJF-003 DELX 07- FRONT R

SL-H345L 52321-SJF-003 DELX 07- FRONT L



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

SL-H350 51320-SS0-003

CLHO-54

PRELUDE 92-96
FRONT R/L M12×1.25

SL-H360 51320-TY0-005 N BOX

N ONE

N WGN

11-

11-

11-

FRONT R/L

SL-H430 51320-TG2-T01

SL-6TG0

MOBILIO

BRIO

14-

14-
FRONT R/L

SL-H470R 51320-T7A-003

SL-6321R

VE2EL HYBRID 14-
FRONT L M10×1.25

SL-H470L 51325-T7A-003

SL-6321L

VE2EL HYBRID 14-
FRONT L M10×1.25

SL-H480R 51320-T6A-J01 ODYSSEY (RC1) 13- FRONT R

SL-H480L 51325-T6A-J01 ODYSSEY (RC1) 13- FRONT L

SL-H515R 52320-S5T-J01 CIVIC EP3 01- REAR R

SL-H515L 52321-S5T-J01 CIVIC EP3 01- REAR L

SL-H520R 51320-T5A-003

51320-T00-T01

SL-6303R

CITY 14-

FIT

14-

20- FRONT R M10×1.25

SL-H520L 51321-T5A-003

51325-T00-T01

SL-6303L

CITY 14-

FIT

14-

20- FRONT L M10×1.25

SL-H530R 51320-TDJ-J01 S660 JW5 15- FRONT R

SL-H530L 51325-TDJ-J01 S660 JW5 15- FRONT L

SL-H535R 52320-TDJ-J01 S660 15-
SL-H535L 52325-TDJ-J01 S660 15-
SL-H540R 51320-T2A-A01

CLHO-80R

ACCORD 11-
FRONT R

SL-H540L 51325-T2A-A01

CLHO-80L

ACCORD 11-
FRONT L

SL-H570R 51320-TR0-A01

CLHO-76R

ACURA ILX

CIVIC

JADE

16-

12-

13-

FRONT R

SL-H570L 51321-TR0-A01

CLHO-76L

ACURA ILX

CIVIC

JADE

16-

12-

13-

FRONT L

SL-H600R 51320-S3Y-003 INSIGHT 99- FRONT M10×1.25

SL-H600L 51321-S3Y-003 INSIGHT 99- FRONT M10×1.25
SL-H610 51320-S30-003 PRELUDE 96-01 FRONT R/L

SL-H615 52320-S30-003

CLHO-55

PRELUDE 96-00
REAR R/L M12×1.25

SL-H625R 52320-SCV-A01

SL-6276R

ELEMENT 11-
REAR R M10×1.25

SL-H625L 52321-SCV-A01

SL-6276L

ELEMENT 11-
REAR L M10×1.25

SL-H635R 52320-STX-A02 PILOT (YF3) 09- REAR R
SL-H635L 52325-STX-A02 PILOT (YF3) 09- REAR L

SL-H640R

51320-TTA-003 N-BOX

N-BOX 4WD

N-WAG

N-WAG 4WD

N-VAN

17-

17-

19-

19-

19-

FRONT R

SL-H640L

51325-TTA-003 N-BOX

N-BOX 4WD

N-WAG

N-WAG 4WD

N-VAN

17-

17-

19-

19-

19-

FRONT L

SL-H670R 51320-SZ3-003

51320-SZ3-013

SL-6312R

LEGEND

ACURA RL

91-95
FRONT R

SL-H670L 51321-SZ3-003

51321-SZ3-013

SL-6312L

LEGEND

ACURA RL

91-95
FRONT L

SL-H675 52320-SZ3-003 LEGEND

ACURA RL

95-
REAR R/L



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

SL-H680 51320-SJA-013 LEGEND

ACURA RL

05-
FRONT R/L

SL-H685R
52320-SJA-013

52320-SJA-003

LEGEND

ACURA RL

05-
REAR R

SL-H685L
523201-SJA-013

52321-SJA-003

LEGEND

ACURA RL

05-
REAR L

SL-H710R 51320-TDK-J01 FREED(GB5,GB6,GB7,GB8) 16- FRONT R

SL-H710L 51325-TDK-J01 FREED(GB5,GB6,GB7,GB8) 16- FRONT L

SL-H740R 51320-TGH-A01 CIVIC TYPE R 17- FRONT R

SL-H740L 51325-TGH-A01 CIVIC TYPE R 17- FRONT L

SL-H770 51320-TRN-H02

SL-6389

CRV(RW2) 18-
FRONT R/L M10X1.25

SL-H775 52320-TLB-A00

52320-TBA-A01

CRV(RW2)

CIVIC

CIVIC TYPE R

18-

19-

20-

REAR R/L M10X1.25

SL-H810R 51320-TG7-A01

CLHO-95R

PILOT(YF5)

RIDGELINE

PASSPORT

16-

19-

19-

FRONT R M12×1.25

SL-H810L 51325-TG7-A01

CLHO-95L

PILOT(YF5)

RIDGELINE

PASSPORT

16-

19-

19-

FRONT L M12×1.25

SL-H815R 52320-TG7-A01 PILOT(YF5)

RIDGELINE

PASSPORT

16-

19-

19-

REAR R M12×1.25

SL-H815L 52325-TG7-A01 PILOT(YF5)

RIDGELINE

PASSPORT

16-

19-

19-

REAR L M12×1.25

SL-H830 51320-TBA-A01

51320-TBA-A02

51320-TVA-A01

CR-V HYBRID

ZRV(RZ3)

HRV

CRV

CIVIC

ACCORD

20-

23-

22-

23-

21-

20-

FRONT R/L M12×1.25

SL-H935 52320-TRT-A01 CRV 4W (RW2)

ZRV(RZ3)

17-

23-
REAR R/L

CLHO-94R 52320-T6Z-A01 RIDGELINE 17- REAR R M12×1.25

CLHO-94L 52325-T6Z-A01 RIDGELINE 17- REAR L M12×1.25

SL-H820R 51320-TX4-A01 ACURA RDX 13- FRONT R

SL-H820L 51325-TX4-A01 ACURA RDX 13- FRONT L

SL-H880 51320-T4G-003 N-ONE(JG1) 15- FRONT R/L

SL-G025R 52320-T6Z-A01 RIDGELINE 17- REAR R

SL-G025L 52325-T6Z-A01 RIDGELINE 17- REAR L

SL-G055R 52320-TY2-A01 RIDGELINE 14- REAR R

SL-G055L 52325-TY2-A01 RIDGELINE 14- REAR L

CLHO-3 51320-SP0-003 LEGEND,ACURA 91- FRONT M12×1.25

CLHO-31 51320-S0X-C01 PILOT

ACURA MDX

06-

06-
FRONT R/L M12×1.25

CLHO-33 52325-S3V-013 PILOT

ACURA MDX

06-

06-
REAR L M10×1.25

CLHO-36 52320-SNA-A01 CIVIC

CIVIC COUPE/SEDAN

CIVIC HYBRID

05-

06-

06-

REAR R M10×1.25

CLHO-37 52321-SNA-A01 CIVIC

CIVIC COUPE/SEDAN

CIVIC HYBRID

05-

06-

06-

REAR L M10×1.25

CLHO-40 51320-SJC-A01 RIDGELINE 06- FRONT R/L M12×1.25

CLHO-41 52320-SJC-A03 RIDGELINE 06- REAR R M12×1.25

CLHO-42 52325-SJC-A03 RIDGELINE 06- REAR L M12×1.25

CLHO-58 51320-SAA-J01 JAZZ 04- FRONT R M10×1.25

CLHO-59 51321-SAA-J01 JAZZ 04- FRONT L M10×1.25

CLHO-65 51320-SFE-003 ODYSSEY 03-08 FRONT R/L M10X1.25

SL-6SL0R 51320-SL0-003

CLHO-68

ACURA NSX 99-05
FRONT R M12×1.25



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

SL-6SL0L 51330-SL0-003

CLHO-69

ACURA NSX 99-05
FRONT L M12×1.25

CLHO-75 51320-SYY-003 FREED 08- FRONT R/L M10X1.25

SL-6303 51320-T9A-T01 CITY 14- FRONT R/L

CLHO-81R 51320-TX4-A01
CLHO-81L 51325-TX4-A01
CLHO-82R 52320-TZ5-A01
CLHO-82L 52325-TZ5-A01
SL-H735R 52320-TY2-A01

CLHO-83R

LEGEND HYBRID (KC2) 15-
REAR R

SL-H735L 52325-TY2-A01

CLHO-83L

LEGEND HYBRID (KC2) 15-
REAR L

CLHO-84R 51320-TZ5-A01
CLHO-84L 51325-TZ5-A01

CLHO-86R 52320-TP6-A01  

CLHO-86L 52325-TP6-A01
CLHO-87R 52320-S5T-J01
CLHO-87L 52321-S5T-J01

SLK-8030 54830-28000

54830-37010

54830-37020

54830-37030

CLKH-1

ELANTRA（LANTRA）

GRANDEUR

DYNASTY

90-95

92-98

96-05 FRONT M10×1.25

SLK-8032 0S085-34-150

0KX43-34-150

81365

KIA K2500

KIA K2700

01-04

99-05
FRONT

R/L

CLKH-2 56830-36000

56830-36100

56830-36101

SONATA 88-93
FRONT M10×1.25

SLK-8400 95994977 KALOS 02- FRONT

SLK-8411 54830-CG000 STARIA 22-

SLK-8415 55580-37020

54850-37000

CLKH-4

SONATA Ⅱ

SONATA Ⅲ

MARCIA

93-96

96-98

95-97
REAR M10×1.25

SLK-8135 55530-29000

55530-29300

55530-29500

CLKH-5

55530-17010

AVANTE(LANTE(LANTRA,ELANTRA)

AVANTE(LANTE(LANTRA,ELANTRA)

XD

TIBURON(COUPE)

TUSCANI(TIBURON,COUPE)

95-00

00-06

96-01

01-

REAR M10×1.25

SLK-8130 54830-29000

54830-29500

CLKH-6

AVANTE(LANTRA,ELANTRA)

TIBURON(COUPE)

95-00

96-01 FRONT M10×1.25

CLKH-7R 54840-M2000 SANTAMO 96-02 RH M10×1.25

CLKH-7L 54830-M2000 SANTAMO 96-02 LH M10×1.25

SLK-8211 54830-4A002

54830-4A003

54830-4A600

54830-4A800

54830-4A802

54830-4A803

STAREX(H-1)

LIBERO(H-1 TRUCK)

97-07

00-

FRONT M12×1.25

SLK-8216 55530-4A001

55530-4A800

55530-4A801

CLKH-9

STAREX(H-1) 97-07

REAR M12×1.25

HYUNDAI

STABILIZER LINK



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

SLK-8217 55530-AAAA0 NIRO 21-
REAR

CLKH-10 54840-3A000 TRAJET XG 99- FRONT RH M12×1.25

CLKH-12 54830-3A000 TRAJET XG 99- FRONT LH M12×1.25

SLK-8110 54830-38100

54830-38110

CLKK-16

CLKH-13

EF SONATA, NEW EF SONATA

XG GRANDEUR

98-04

98-04
FRONT M12×1.25

SLK-8115 55530-38000

55530-38010

CLKH-14

CLKH-11

EF SONATA

XG GRANDEUR

98-00

98-04 REAR M10×1.25

SLK-8150R 54840-26000

54840-26010

54840-26100

CLKH-15R

SANTAFE 00-05

FRONT RH M12×1.25

SLK-8150L 54830-26000

54830-26010

SANTAFE 00-05 FRONT LH M12×1.25

CLKH-16R 54823-H1000 TERACAN 00-06 FRONT RH M12×1.25

CLKH-16L 54822-H1000 TERACAN 00-06 FRONT LH M12×1.25

SLK-8155R 55540-26600

55540-26700

CLKH-17R

SANTAFE 00-05
REAR RH M10×1.25

SLK-8155L 55530-26600

55530-26700

CLKH-17L

SANTAFE 00-05
REAR LH M10×1.25

SLK-8455 55823-H1000

CLKH-19

TERACAN 00-
REAR R/L M12×1.25

SLK-8180R 54840-1C000

54840-1C100

CLKH-20R

CLICK(GETS) 02-11
FRONT RH M10×1.25

SLK-8180L 54830-1C000

54830-1C100

CLKH-20L

CLICK(GETS) 02-11
FRONT LH M10×1.25

CLKH-21 54830-3K000

54830-3L000

CLKH-29

NF SONATA

TG GRANDEUR(AZERA)

04-

05- FRONT M12×1.25

CLKH-22 55530-3K000

55530-3K001

NF SONATA

TG GRANDEUR(AZERA)

04-

05-
REAR M10×1.25

SLK-8045 55530-2E000

55530-1F000

CLKH-24

TUCSON 04-
REAR M12×1.25

SLK-8065 55830-25000

CLKH-27

VERNA(ACCENT,BRIO) 99-06.3
REAR M10×1.25

SLK-8460R 54840-2C000

54840-1E000

54840-1E100

CLKH-28R

TUSCANI(TIBURON,COUPE)

VERNA(ACCENT,RIO)

01-

06- FRONT RH M10×1.25

SLK-8460L 54830-2C000

54830-1E000

54830-1E100

CLKH-28L

TUSCANI(TIBURON,COUPE)

VERNA(ACCENT,RIO)

01-

06- FRONT LH M10×1.25

SLK-8090 54830-2H000

54830-2H001

54830-2H100

54830-2H200

CLKH-30

ELANTRA SEDAN

ELANTRA WAGON

FORTE SEDAN(KIA)

CEED(KIA)

07-10

09-11

10-11

06-※

FRONT M12×1.25

SLK-8095 55530-2H200

55530-1H000

55530-2H000

CLKH-31

HD AVANTE(ELANTRA)

i30

06-

06- REAR M10×1.25



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

SLK-8160R 54840-2B000

54840-2B200

CLKH-32R

VERACRUZ

NEW SANTAFE

06-

06-12 FRONT RH M12×1.25

SLK-8160L 54830-2B000

54830-2B200

CLKH-32L

VERACRUZ

NEW SANTAFE

06-

06-12 FRONT LH M12×1.25

SLK-8165 55530-2B000

55530-2B200

CLKH-33

VERACRUZ

NEW SANTAFE

06-

06-12 REAR M12×1.25

SLK-8435 55530-38600

CLKH-34

NEW EF SONATA

XG GRANDEUR

00-06

00-06
REAR R/L M10×1.25

SLK-8740R 54840-3M000

54840-3N000

CLKH-35R

GENESIS

EQUUS

07-

09- FRONT RH M12X1.25

SLK-8740L 54830-3M000

54830-3N000

CLKH-35L

GENESIS

EQUUS

07-

09- FRONT LH M12X1.25

SL-2404 54820-02000

CLKH-36

ATOS 97-02
FRONT

SL-2405 54820-22000 ACCENT

EXCEL

94-99
FRONT

SL-2406 54825-24010 EXCEL 90-94 FRONT

SL-2482R 48810-26010

SL-2870R

HIACE RZH135 81-
FRONT R

SL-2482L 48820-26010

SL-2870L

HIACE RZH135 81-
FRONT L

CLKH-37 55530-3M000 HYUNDAI EQUUS

HYUNDAI GENESIS

10-15

08-14
REAR

SLK-8170R 54840-4H000

54840-4H200

CLKH-38R

STAREX GRAND 07-
FRONT RH M12X1.25

SLK-8170L 54830-4H000

54830-4H200

CLKH-38L

STAREX GRAND 07-
FRONT LH M12X1.25

SLK-8175R 55540-4H000

55540-4H200

CLKH-39R

STAREX GRAND 07-
REAR RH M12X1.25

SLK-8175L 55530-4H000

55540-4H200

CLKH-39L

STAREX GRAND 07-
REAR LH M12X1.25

CLKH-40 54830-2M000

54830-2M001

GENESIS COUPE 08-
FRONT M12X1.25

SLK-8755R 55540-2M000

CLKH-41R

GENESIS COUPE 08-
REAR RH M12X1.25

SLK-8755L 55530-2M000

CLKH-41L

GENESIS COUPE 08-
REAR LH M12X1.25

SLK-8190R 54840-0X000

54840-B4000

CLKH-42R

i10

BLUE ON

08-

11- FRONT RH M10X1.25

SLK-8190L 54830-0X000

54830-B4000

CLKH-42L

i10

BLUE ON

08-

11- FRONT RH M10X1.25

SLK-8200R 54840-1J000

CLKH-43R

i20 08-
FRONT RH M10X1.25

SLK-8200L 54830-1J000

CLKH-43L

i20 08-

FRONT LH M10X1.25

SLK-8120R 54840-3R000

CLKH-44R

YF SONATA 10-
FRONT RH M12X1.25

SLK-8120L 54830-3R000

CLKH-44L

YF SONATA 10-
FRONT LH M12X1.25



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

SLK-8125 55540-3R000

53540-2Z000

55540-3Z001

CLKH-45R

YF SONATA

YF HYBRID

HG GRANDRUR

I40(SOFT SUSPENSION)

10-

11-

11-

11-

REAR-RH

SLK-8125 55530-3R000

55530-2Z000

55530-3Z001

YF SONATA

YF HYBRID

HG GRANDRUR

10-

11-

11-

REAR-LH

SLK-8140 54830-0U000

54830-2V000

54830-4L000

ACCENT(SOLARIS)

VELOSTER

AVANTE MD

11-

11-

10.07-12-02

FRONT M12X1.25

SLK-8220R 54840-2T000

CLKH-52R

YF SONATA(FR SUSPENSION TYPE)

YF HYBRID

10-12/04

11-12/04
FRONT RH M12X1.25

SLK-8220L 54830-2T000

CLKH-52L

YF SONATA(FR SUSPENSION TYPE)

YF HYBRID

10-12/04

11-12/04
FRONT RH M12X1.25

SLK-8480 54830-3Z000

CLKH-47

I40(VF) 11-
FRONT M12X1.25

SLK-8470 54830-2S000

54830-2S200

54830-3W300

TUCSON IX

KIA SPORTAGE

09-

10- FRONT M12X1.25

SLK-8545 55530-2S100

55530-2S200

CLKH-49

TUCSON IX 4WD 09-
REAR M12X1.25

SLK-8570R 54830-FD000 RIO(KIA) 02-04 FRONT R

SLK-8570L 54820-FD000 RIO(KIA) 02-04 FRONT L

SLK-8710 54830-3Q000

CLKH-51

YF SONATA

YF HYBRID

12/04-

12/04-
FRONT M12X1.25

SLK-8620 54830-2W000

54830-3W000

54830-4Z000

CLKH-53

Grand Santa Fe

Maxcruz

Santa Fe

Sorento

13-

13-

12-

09-

R/L M12X1.25

SLK-8990R 54840-4H250 GRAND STAREX(HYUNDAI) 13- FRONT R

SLK-8990L 54830-4H250 GRAND STAREX(HYUNDAI) 13- FRONT L

CLKH-50 55540-3Z000

55530-3Z000

i40(HARD SUSPENSION) 11- REAR M12X1.25

CLKH-54 55530-2W000

55540-2W000

SANTAFE DM(2WD)

MAXCRUZ(2WD)

Santa Fe

Sorento

12-

13-

12-

09-

REAR M12×1.25

CLKH-55R 55540-2W100

55540-2W110

SANTAFE DM(4WD)

MAXCRUZ(4WD)

Grand Santa Fe

Maxcruz

Santa Fe

Sorento

12-

13-

13-

13-

12-

09-

REAR RH M12×1.25

CLKH-55L 55550-2W100

55530-2W110

SANTAFE DM(4WD)

MAXCRUZ(4WD)

Grand Santa Fe

Maxcruz

Santa Fe

Sorento

12-

13-

13-

13-

12-

09-

REAR LH M12×1.25

CLKH-56 54830-2S500

54830-2Y500

TUCSON 13-
FRONT M12×1.25

SLK-8675R 55540-C1100

CLKH-57R

SONATA

SONATA HYBRID

14-

14-
REAR R M12×1.25

SLK-8675L 55530-C1100

CLKH-57L

SONATA

SONATA HYBRID

14-

14-

REAR L M12×1.25

SLK-8670R 54840-C1000

54840-E6000

SONATA

SONATA HYBRID

14-

14-

REAR R M12×1.25

SLK-8670L 54830-C1000

54830-E6000

SONATA

SONATA HYBRID

14-

14-

REAR L M12×1.25

CLKH-59R 54840-B1000 GENESIS 2WD 14- FRONT R M12×1.25

CLKH-59L 54830-B1000 GENESIS 2WD 14-
FRONT L M12×1.25

CLKH-60R 54840-B1500 GENESIS 4WD 14- FRONT R M12×1.25

CLKH-60L 54830-B1500 GENESIS 4WD 14- FRONT L M12×1.25

CLKH-61R 55540-B1000 GENESIS 14- REAR R M12×1.25



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

CLKH-61L 55530-B1000 GENESIS 14- REAR L M12×1.25

CLKH-62 55530-D3000

55540-D3000

TUCSON 15- REAR M12×1.25

CLKH-63R 54840-4H250 GRAND STAREX(2WD) 15- FRONT R

CLKH-63L 54830-4H250 GRAND STAREX(2WD) 15- FRONT L

CLKH-64R 54840-4H400 GRAND STAREX(4WD) 15- FRONT R

CLKH-64L 54830-4H400 GRAND STAREX(4WD) 15- FRONT L

CLKH-65

54830-F2000

54830-J9000

Ioniq

AVANTE

Elantra

IONIQ HYBIRD

i30

Kauai

KIA Ceed

KIA e-Niro

KIA e-Soul

KONA

16-

15-

15-

17-

18-

18-

18-

18-

19-

17-

R/L M12X1.25

CLKH-66R 55540-4H400 GRAND STAREX(4WD) 15- REAR R

CLKH-66L 55530-4H400 GRAND STAREX(4WD) 15-

REAR L

CLKH-67R 54792-59000 SOLATI 15-

FRONT R

CLKH-67L 54791-59000 SOLATI 15- FRONT L

CLKH-71

55530-G2000 	Elantra

	IONIQ HYBIRD

i30

Kauai

KIA Ceed

KIA e-Niro

KIA e-Soul

15-

16-

17-

18-

18-

18-

19-

REAR R/L M12X1.25

CLKH-72R
55540-J9500 Kauai

KONA

17-

17-
R M12X1.25

CLKH-72L
55530-J9500 Kauai

KONA

17-

17-
L M12X1.25

CLKH-73
54840-4K000

SONATA 12-14
FRONT R/L M12X1.25

CLKH-76 55530-T1000 GENESIS G80 21- REAR R/L M12X1.25

CLKH-78 54830-AA000 AVANTE

AVANTE HYBRID

AVANTE N

NIRO HEV

NIRO HYBRID

20-

20-

21-

22-

22-

FRONT R/L M12X1.25

CLKH-79R 54831-GI000 IONIQ 5 21- FRONT R M12X1.25

CLKH-79L 54830-GI000 IONIQ 5 21- FRONT L M12X1.25

SLK-8135 55530-17000

55530-17010

55530-29000

55530-29300

55530-29500

52320-SJK-003

52320-SYK-003

CLKH-5

CLKK-20

CERATO KIA

SPECTRA KIA

COUPE HYUNDAI

MATRIX HYUNDAI

ELANTRA (HYUNDAI)

ELYSION HONDA

03-06

04-

01-

01-

96-00

06-

REAR R/L M10X1.25

SLK-8080R 54840-1G000

54840-1G500

54840-1E000

54840-1E100

CLKK-28R

PRIDE(RIO) 05-06

FRONT RH M10X1.25



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

SLK-8080L 54830-1G000

54830-1G500

54830-1E000

54830-1E100

CLKK-28L

PRIDE(RIO) 05-06

FRONT LH M10X1.25

CLKK-44 54830-D3000

54830-D7000

54830-D9000

54830-H8000

54830-A6000

54830-4V000

ACCENT

TUCSON

CRETA

IX35

SOLARIS

KIA RIO

KIA SPORTAGE

18-

15-

15-

15-

17-

14-

17-

FRONT M12X1.25

CL-3289L 20420-CAE15 SUBARU BRZ 17- L M12X1.25

CL-3289R 20420-CAE10 SUBARU BRZ 17- R M12X1.25

CL-3290L 20420-CAE25 SUBARU BRZ 17- L M12X1.25

CL-3290R 20420-CAE20 SUBARU BRZ 17-
R M12X1.25

SLK-8425 GA2C-28-170A

KGA2C-28-170A

CLKK-1

CREDOS 95-96
REAR R/L M10X1.25

CLKK-2R GA2A-34-150

KGA2A-34-150

CREDOS

CREDOS Π

95-98

98-00
FRONT RH M10X1.25

CLKK-2L GA2A-34-170

KGA2A-34-170

CREDOS

CREDOS Ⅱ

95-98

98-00
FRONT LH M10X1.25

CLKK-3 OK9A3-28-170A

OK9A3-28-170B

CREDOS

CREDOS Ⅱ

96-98

98-00 REAR M10X1.25

SLK-8555 OK2A1-34-150A

OK2A1-34-150B

OK2M2-28150AS

CLKK-4

SEPHIAⅡ

SHUMA

SPECTRA

CARENS

CARENSⅡ(XTREK)

97-00

97-03

00-03

99-02

02-03

REAR M10X1.25

SLK-8550 OK2A5-34-150

OK2A5-34-150A

OK2A5-34-150B/C

CLKK-5

SEPHIAⅡ(MENTOR,TIMOR)

SHUMI

97-00

97-00 FRONT M10X1.25

CLKK-6 KH380-34-170C

KH380-34-170D

FRONT

M10×1.25

97-02

CLKK-7 KH380-28-170B

KH380-28-170C

REAR

M10×1.25

97-02

SLK-8102 0K552-34-150B CARNIVAL(SEDONA) 98-
CLKK-8 OK552-34-160B CARNIVAL(SEDONA) 98-05/6 DROP  LINK

M12X1.25

CLKK-9 OK011-34-150A

OK011-34-160A

SPORTAGE

PREGIO

RETONA

93-02

95-

99-03

DROP  LINK M16XP1.5

SLK-8500R OK2N1-34-150A

CLKK-10

CARENS

SPECTRA

SHUMA Ⅱ

99-02

00-03

00-03

FRONT  RH M10X1.25

SLK-8500L OK2N1-34-170A

CLKK-11

CARENS

SPECTRA

99-02

00-03
FRONT  LH M10X1.25

SLK-8580R 54840-M2000

CLKK-12

FRONT  RH

M10×1.25

99-03

SLK-8580L 54830-M2000

CLKK-13

FRONT  LH

M10×1.25

99-03

SLK-8560R OK33C-34-150A

CLKK-14R

RIO 99-02
FRONT  RH M10X1.25

SLK-8560L OK33C-34-160A

CLKK-14L

RIO 99-02 FRONT  LH M10X1.25

SLK-8530 54810-3E000

CLKK-15

SORENTO 02-04 FRONT  R/L M12X1.25

KIA

STABILIZER LINK



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

CLKK-18R 54830-FD000 RIO NEW 00-04
FRONT  RH M10X1.25

CLKK-18L 54820-FD000 RIO NEW 00-04
FRONT  LH M10X1.25

SLK-8240R 54840-2F000

CLKK-19R

CERATO(SPECTRA) 03- FRONT  RH M10X1.25

SLK-8240L 54830-2F000

CLKK-19L

CERATO(SPECTRA) 03- FRONT  LH M10X1.25

CLKK-21R 54840-07000 MORNING(PICANTO) 04- FRONT RH M10X1.25

CLKK-21L 54830-07000 MORNING(PICANTO) 04- FRONT  LH M10X1.25

SLK-8510R OK2FA-34-150

CLKK-22R

CARENS Ⅱ(XTREK) 02-03
FRONT RH M10X1.25

SLK-8510L OK2FA-34-170

CLKK-22L

CARENS Ⅱ(XTREK) 02-03
FRONT  LH M10X1.25

SLK-8250R 54811-3E060

54811-3E160

CLKK-23R

SORENTO 04-06

06-09 FRONT RH M12X1.25

SLK-8250L 54811-3E010

54811-3E110

CLKK-23L

SORENTO 04-06

06-09
FRONT RH M12X1.25

SLK-8255R 55580-3E050

CLKK-24R

SORENTO 04-
FRONT RH M12X1.25

SLK-8255L 55580-3E000

CLKK-24L

SORENTO 04-
FRONT  LH M12X1.25

SLK-8512R OK2M2-34-150

CLKK-26

CARENS Ⅱ(XTREK) 03-
FRONT RH M10X1.25

SLK-8512L OK2M2-34-170

CLKK-27

CARENS Ⅱ(XTREK) 03-
FRONT  LH M10X1.25

CLKK-27 OK2M2-28-150 CARENS Ⅱ(XTREK)

SHUMA

SPECTRA

03-

03-

00-03

REAR R/L M10X1.25

SLK-8230 54830-2G000

CLKK-29

LOTZE(MAGENTIS,OPTIMA）

CARENS(RONDO)

05-

06-
FRONT  R/L M12X1.25

SLK-8235 55530-2G000

55530-1D000

55530-2G500

CLKK-30

LOTZE(MAGENTIS,OPTIMA）

CARENS(RONDO)

05-

06.3- REAR R/L M10X1.25

SLK-8236R 55530-2G200

CLKK-31R

LOTZE(ECS)(MAGENTIS,OPTIMA） 05-
REAR  RH M10X1.25

SLK-8236L 55530-2G100

CLKK-31L

LOTZE(ECS)(MAGENTIS,OPTIMA） 05-
REAR  LH M10X1.25

SLK-8260R 54840-4D000

CLKK-32R

GRAND CARNIVAL

(SEDONA,ENTOURAGE)

05-
FRONT  RH M12X1.25

SLK-8260L 54830-4D000

CLKK-32L

GRAND CARNIVAL

(SEDONA,ENTOURAGE)

05-
FRONT  LH M12X1.25

SLK-8265 55530-4D000

CLKK-33

GRAND CARNIVAL

(SEDONA,ENTOURAGE)

05.7-
REAR R/L M10X1.25

CLKK-24R 55580-3E050

CLKK-24R

SORENTO 04-
REAR R

CLKK-24L 55580-3E000

CLKK-24L

SORENTO 04-
REAR L

CLKK-34R 54840-2J000 MOHAVE(BORREGO) 07- FRONT  RH M12X1.25

CLKK-34L 54830-2J000 MOHAVE(BORREGO) 07- FRONT  LH M12X1.25

CLKK-35 55530-3F000 OPIRUS(AMANTI) 08- REAR M10X1.25

CLKK-36 55530-17010 REAR 06-
CLKK-38R 54840-A4000 CARNES RP 13- FRONT  RH

CLKK-38L 54830-A4000 CARNES RP 13- FRONT  LH

CLKK-39 54830-A9000

54840-A9000

CARNIVAL 14-
FRONT  LH

CLKK-40 55530-A9000

55540-A9000

CARNIVAL 14-
REAR R/L

CLKK-41 54830-C5000 SORENTO 14- REAR R

CLKK-42 55530-C5000 SORENTO 14- REAR L

CLKK-45R 54840-A41000 CARENS RP 13- FRONT  RH



555/CTR No. OEM/CTR/MOOG/AUS. NO. CAR NAME YEAR POSITION REMARK

CLKK-45L 54830-A41000 CARENS RP 13- FRONT  LH

CLKK-46 54830-G6000 PICANTO 17 FRONT R/L

CLKK-47R 54840-J5000 GENESIS G70

KIA Stinger

17-

17-
FRONT  RH M12X1.25

CLKK-47L 54830-J5000 GENESIS G70

KIA Stinger

17-

17-
FRONT  LH M12X1.25

CLKK-48R 55531-J5000 GENESIS G70

KIA Stinger

17-

17-
REAR R M12X1.25

CLKK-48L 55530-J5000 GENESIS G70

KIA Stinger

17-

17-
REAR L M12X1.25

SLK-8520R 54840-2K000

CLKK-37R

SOUL 08-
FRONT  RH M12X1.25

SLK-8520L 54830-2K000

CLKK-37L

SOUL 08-
FRONT  LH M12X1.25

CLKH-7R 54840-M2000 CARSTAR 99-03 FRONT RH M10X1.25

CLKH-7L 54830-M2000 CARSTAR 99-03 FRONT LH M10X1.25

CLKH-21 54830-3L000 OPIRUS(AMANTI) 06- FRONT M12X1.25

CLKH-22 55530-3K000

55530-3K001

OPIRUS(AMANTI) 06-
REAR M10X1.25

CLKH-23 54830-1F000 SPORTAGE KM 04- FRONT R/L M12X1.25

CLKH-24 55530-1F000 SPORTAGE KM 04- REAR R/L M12X1.25

CLKH-28R 54840-1E000 PRIDE(RIO)

PRIDE HYBRID

07-

06/11-
FRONT RH M10X1.25

CLKH-28L 54830-1E000 PRIDE(RIO)

PRIDE HYBRID

07-

06/11-
FRONT LH M10X1.25

CLKH-30 54830-1H000

54830-2H000

54830-2H100

CEE'D

FORTE

06-

08- FRONT M12X1.25

CLKH-31 55530-1H000

55530-1H100

CEE'D 06-
REAR R/L M12X1.25

SLK-8495R 45751-09001 KYRCN 05- REAR R

SLK-8495L 45750-09001 KYRCN 05-
REAR L

CLKH-35R 54840-3M000 K9

GENESIS EQUUS

12-

07-15
FRONT RH

CLKH-35L 54830-3M000 K9

GENESIS EQUUS

12-

07-15
FRONT LH

CLKH-45R 55540-3R000

55540-3U800

K5

K5 HYBRID

K7

TUCSON IX 2W

HYUNDAI I40

SONATA

GRANDER

10-

11-

10-

10-

09-

09-

09-

REAR RH

CLKH-45L 55530-3R000

55530-3U800

K5

K5 HYBRID

K7

TUCSON IX 2W

HYUNDAI I40

SONATA

GRANDER

10-

11-

10-

10-

09-

09-

09-

REAR LH

CLKH-55R 55540-2W100 SORENTO(4WD) 12- REAR LH

CLKH-55L 55530-2W100 SORENTO(4WD) 12- REAR LH


